Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 01030 County ADAMS

Muni Type TOWN

ROME

Municipality

Account No. 0015

Total Equalized TID Value Increment 53,469,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ADAMS	\$4,868,367.09	/	774,484,100.00	=	0.006285948	X	827,953,300.00	=	\$5,204,471.39	\$336,104.30
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
ROME	\$3,423,067.00	/	774,484,100.00	=	0.004419803	Х	827,953,300.00	=	\$3,659,390.48	\$236,323.48
4. School Districts										
SCH D OF NEKOOSA	\$7,899,243.48	/	774,155,823.00	=	0.010203687	Х	827,625,023.00	=	\$8,444,826.69	\$545,583.21
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$692,408.51	/	774,484,100.00	=	0.000894025	Х	827,953,300.00	=	\$740,210.95	\$47,802.44
6. Tax Increment Total										
	\$16,883,086.08								\$18,048,899.51	\$1,165,813.43

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information									
Name Amy Reuteman	Title Clerk/Treasurer								
Email reuteman@romewi.com	Phone (715) 325-8022								
Comments									
Cimpature Ctatement									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 01030

Submission date: 11-24-2021 01:22 PM

Confirmation: TIW20210015O1637781692708

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 01126 County A

ADAMS

VILLAGE

Municipality FRIENDSHIP

Account No. 0018

Total Equalized TID Value Increment 5,181,100

	Col. A	Col. B	Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	= Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County								
ADAMS	\$190,594.38	29,276,000.00	= 0.00651026	Х	34,457,100.00	=	\$224,324.68	\$33,730.30
2. Special Districts (metro,	sanitary, lake)							
FRIENDSHIP LAKE DISTRICT	\$20,861.40	5,702,718.00	= 0.00365815	Х	5,877,018.00	=	\$21,499.01	\$637.61
3. Tax District (town, villag	e, city)							
FRIENDSHIP	\$141,948.00	29,276,000.00	= 0.004848613	Х	34,457,100.00	=	\$167,069.14	\$25,121.14
4. School Districts								
SCH D OF ADAMS FRIENDSHIP AREA	\$222,580.34	29,276,000.00	= 0.007602826	Х	34,457,100.00	=	\$261,971.34	\$39,391.00
5. Technical College Distri	cts							
MID-STATE TECHNICAL COLLEGE WRAP	\$26,173.49	29,276,000.00	= 0.000894025	Х	34,457,100.00	=	\$30,805.51	\$4,632.02
6. Tax Increment Total								
	\$602,157.61						\$705,669.68	\$103,512.07

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Linda Hogan	Title Clerk/Treasurer								
Email Ihogan@maqs.net	Phone (608) 339-3243								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 01126

Submission date: 12-07-2021 10:14 AM

Confirmation: TIW20210018O1638566983616

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 01201

County **ADAMS** Muni Type

Municipality

CITY

ADAMS

0019

Total Equalized TID Value Increment Account No. 23,937,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F	
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment	
1. County										
ADAMS	\$439,577.33	67,520,700.00	=	0.00651026	Х	91,458,200.00	=	\$595,416.66	\$155,839.33	
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
ADAMS	\$360,475.00	67,520,700.00	=	0.005338733	Х	91,458,200.00	=	\$488,270.91	\$127,795.91	
4. School Districts										
SCH D OF ADAMS FRIENDSHIP AREA	\$513,348.14	67,520,700.00	=	0.007602826	Х	91,458,200.00	=	\$695,340.78	\$181,992.64	
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$60,365.23	67,520,700.00	=	0.000894026	Х	91,458,200.00	=	\$81,766.01	\$21,400.78	
6. Tax Increment Total										
	\$1,373,765.70							\$1,860,794.36	\$487,028.66	

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name JANET WINTERS	Title Clerk-Treasurer									
Email jwinters@cityofadams-wi.gov	Phone (608) 339-6516									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 01201

Submission date: 12-07-2021 12:32 PM

Confirmation: TIW20210019O1638901966452

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 01291

County Muni Type

ADAMS

CITY

Municipality WISCONSIN DELLS Account No. 0020

Total Equalized TID Value Increment 65,593,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ADAMS	\$173,279.74	/	27,588,100.00	=	0.00628096	X	93,181,500.00	=	\$585,269.27	\$411,989.53
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
WISCONSIN DELLS	\$260,085.47	/	27,588,100.00	=	0.009427451	Х	93,181,500.00	=	\$878,464.03	\$618,378.56
4. School Districts										
SCH D OF WISCONSIN DELLS	\$214,109.96	/	27,588,100.00	=	0.007760953	Х	93,181,500.00	=	\$723,177.24	\$509,067.28
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$22,256.85	/	27,588,100.00	=	0.000806755	Х	93,181,500.00	=	\$75,174.64	\$52,917.79
6. Tax Increment Total										
	\$669,732.02								\$2,262,085.18	\$1,592,353.16

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Sarah L Brown	Title Clerk/Treasurer						
Email sbrown@dellscitygov.com	Phone (608) 254-2012						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES _NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 01291

Submission date: 11-30-2021 12:13 PM

Confirmation: TIW20210020O1638296036029

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 02201

County **ASHLAND** Muni Type

CITY

Municipality ASHLAND Account No. 0036

Total Equalized TID Value Increment 23,954,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ASHLAND	\$2,914,327.40 /	419,921,000.00	=	0.00694018	Х	443,875,600.00	=	\$3,080,576.56	\$166,249.16
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ASHLAND	\$4,513,702.00 /	419,921,000.00	=	0.010748931	Х	443,875,600.00	=	\$4,771,188.20	\$257,486.20
4. School Districts									
SCH D OF ASHLAND	\$3,648,970.00 /	419,921,000.00	=	0.008689658	X	443,875,600.00	=	\$3,857,127.16	\$208,157.16
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$134,775.78 /	419,921,000.00	=	0.000320955	X	443,875,600.00	=	\$142,464.09	\$7,688.31
6. Tax Increment Total									
	\$11,211,775.18							\$11,851,356.01	\$639,580.83

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Julie Vaillancourt	Title Finance Director					
Email jvaillancourt@coawi.org	Phone (715) 682-7190					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 02201

Submission date: 12-10-2021 01:06 PM

Confirmation: TIW20210036O1639163179543

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 03111 County

Muni Type

Municipality

BARRON VILLAGE

CAMERON

Account No. 0065

Total Equalized TID Value Increment 23,511,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BARRON	\$507,164.14 /	113,530,300.00	=	0.004467214	Х	137,041,400.00	=	\$612,193.26	\$105,029.12
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CAMERON	\$588,462.00 /	113,530,300.00	=	0.005183303	Х	137,041,400.00	=	\$710,327.10	\$121,865.10
4. School Districts									
SCH D OF CAMERON	\$1,074,862.29 /	113,530,300.00	=	0.009467625	X	137,041,400.00	=	\$1,297,456.58	\$222,594.29
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$36,438.13 /	113,530,300.00	=	0.000320955	Х	137,041,400.00	=	\$43,984.12	\$7,545.99
6. Tax Increment Total									
	\$2,206,926.56							\$2,663,961.06	\$457,034.50

F	0	rı	n	١
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information						
Name Roger Olson	Title Clerk-Treasurer					
Email rogero@chibardun.net	Phone (715) 458-2117					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03111

Submission date: 12-06-2021 01:58 PM

Confirmation: TIW20210065O1638820698875

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 03116 County BARRON
Muni Type VILLAGE

DALLAS

Municipality

Account No. 0066

Total Equalized TID Value Increment 1,874,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BARRON	\$73,294.91	/	15,780,100.00	=	0.004644768	Х	17,654,100.00	=	\$81,999.20	\$8,704.29
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
DALLAS	\$51,058.00	/	15,780,100.00	=	0.003235594	Х	17,654,100.00	=	\$57,121.50	\$6,063.50
4. School Districts										
SCH D OF BARRON AREA	\$161,352.97	/	15,780,100.00	=	0.010225092	Х	17,654,100.00	=	\$180,514.80	\$19,161.83
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$5,064.70	/	15,780,100.00	=	0.000320955	Х	17,654,100.00	=	\$5,666.17	\$601.47
6. Tax Increment Total										
	\$290,770.58								\$325,301.67	\$34,531.09

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Lynn Anderson	Title Village Treasurer					
Email vdallas@chibardun.net	Phone (715) 837-1186					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03116

Submission date: 12-01-2021 08:44 AM

Confirmation: TIW20210066O1638369886498

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 03171 County BARRON

Muni Type VILLAGE

Municipality PRAIRIE FARM

Account No. 0069

Total Equalized TID Value Increment 2,128,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BARRON	\$102,016.77	21,963,800.00	=	0.004644769	Х	24,092,400.00	=	\$111,903.63	\$9,886.86
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PRAIRIE FARM	\$37,779.00 /	21,963,800.00	=	0.001720058	Х	24,092,400.00	=	\$41,440.33	\$3,661.33
4. School Districts									
SCH D OF PRAIRIE FARM	\$191,262.65 /	21,963,800.00	=	0.008708086	Х	24,092,400.00	=	\$209,798.69	\$18,536.04
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$7,049.39 /	21,963,800.00	=	0.000320955	Х	24,092,400.00	=	\$7,732.58	\$683.19
6. Tax Increment Total									
	\$338,107.81							\$370,875.23	\$32,767.42

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information								
Title Clerk Treasurer								
Email villagepf@chibardun.net Phone (715) 455-1714								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03171

Submission date: 11-24-2021 08:24 AM

Confirmation: TIW20210069O1637763858152

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 03186

County **BARRON** Muni Type

VILLAGE

Municipality TURTLE LAKE Account No. 0070

Total Equalized TID Value Increment 34,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BARRON	\$309,641.36	69,314,200.00	=	0.004467214	X	69,348,600.00	=	\$309,795.04	\$153.68
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
TURTLE LAKE	\$545,595.60	69,314,200.00	=	0.007871339	Х	69,348,600.00	=	\$545,866.34	\$270.74
4. School Districts									
SCH D OF TURTLE LAKE	\$514,297.84	69,314,200.00	=	0.007419805	Х	69,348,600.00	=	\$514,553.09	\$255.25
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$22,246.74	69,314,200.00	=	0.000320955	Х	69,348,600.00	=	\$22,257.78	\$11.04
6. Tax Increment Total									
	\$1,391,781.54							\$1,392,472.25	\$690.71

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Title Village Clerk								
Email clerk@turtlelakewi.com Phone (715) 986-2241								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03186

Submission date: 12-14-2021 01:47 PM

Confirmation: TIW20210070O1639082438233

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 03206 County BARRON

Muni Type CITY

Municipality BARRON

Account No. 0071

Total Equalized TID Value Increment 15,467,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BARRON	\$675,429.80	/	151,197,100.00	=	0.004467214	Х	166,664,200.00	=	\$744,524.65	\$69,094.85
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BARRON	\$1,369,498.00	/	151,197,100.00	=	0.0090577	Х	166,664,200.00	=	\$1,509,594.32	\$140,096.32
4. School Districts										
SCH D OF BARRON AREA	\$1,546,004.25	/	151,197,100.00	=	0.010225092	Х	166,664,200.00	=	\$1,704,156.78	\$158,152.53
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$48,527.48	/	151,197,100.00	=	0.000320955	Х	166,664,200.00	=	\$53,491.71	\$4,964.23
6. Tax Increment Total										
	\$3,639,459.53								\$4,011,767.46	\$372,307.93

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Title Clerk- Treasurer								
Email krasmussen@barronwi.us Phone (715) 537-5631								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03206

Submission date: 11-23-2021 01:58 PM

Confirmation: TIW20210071O1637697524314

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 03211 County BARRON

Muni Type CITY

CHETEK

Municipality

Account No. 0072

Total Equalized TID Value Increment 459,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BARRON	\$791,328.54	/	177,141,400.00	=	0.004467214	Х	177,601,300.00	=	\$793,383.01	\$2,054.47
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
СНЕТЕК	\$1,299,000.00	/	177,141,400.00	=	0.007333125	Х	177,601,300.00	=	\$1,302,372.53	\$3,372.53
4. School Districts										
SCH D OF CHETEK-WEYERHAEUSER AREA	\$1,376,600.21	/	177,141,400.00	=	0.007771194	Х	177,601,300.00	=	\$1,380,174.16	\$3,573.95
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$56,854.43	/	177,141,400.00	=	0.000320955	Х	177,601,300.00	=	\$57,002.03	\$147.60
6. Tax Increment Total										
	\$3,523,783.18								\$3,532,931.73	\$9,148.55

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
ame carmen newman Title clerk-treasurer								
Email cnewman@cityofchetek-wi.gov Phone (715) 924-4838								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03211

Submission date: 12-01-2021 12:12 PM

Confirmation: TIW20210072O1638382325494

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 03212 County BARRON

Muni Type CITY

Municipality CUMBERLAND

Account No. 0073

Total Equalized TID Value Increment 27,140,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BARRON	\$847,336.23	/	189,678,900.00	=	0.004467214	Χ	216,818,900.00	=	\$968,576.43	\$121,240.20
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
BEAVER DAM LAKE MANAGEMENT DISTRICT	\$133,728.67	/	184,507,410.00	=	0.000724788	X	208,874,810.00	=	\$151,389.96	\$17,661.29
3. Tax District (town, villag	e, city)									
CUMBERLAND	\$1,459,884.00	/	189,678,900.00	=	0.007696607	Х	216,818,900.00	=	\$1,668,769.86	\$208,885.86
4. School Districts										
SCH D OF CUMBERLAND	\$1,562,218.09	/	189,678,900.00	=	0.00823612	X	216,818,900.00	=	\$1,785,746.48	\$223,528.39
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$60,878.41	/	189,678,900.00	=	0.000320955	Х	216,818,900.00	=	\$69,589.11	\$8,710.70
6. Tax Increment Total										
	\$4,064,045.40								\$4,644,071.84	\$580,026.44

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information										
Name Kimberly Rieper	Title Clerk-Treasurer									
Email clerk@cityofcumberland.net	Phone (715) 822-2752									
Comments	Comments									
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
X YES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03212

Submission date: 12-03-2021 01:53 PM

Confirmation: TIW20210073O1638561239858

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 03276

County **BARRON** Muni Type

CITY

Municipality RICE LAKE Account No. 0074

Total Equalized TID Value Increment 54,017,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BARRON	\$3,389,235.93	/	758,691,200.00	=	0.004467214	Х	812,708,400.00	=	\$3,630,542.34	\$241,306.41
2. Special Districts (metro,	sanitary, lake)									
RICE LAKE IMPROVEMENT DISTRICT	\$161,857.37	/	758,691,098.00	=	0.000213338	Х	812,708,298.00	=	\$173,381.56	\$11,524.19
3. Tax District (town, villag	e, city)									
RICE LAKE	\$5,871,778.00	/	758,691,200.00	=	0.007739352	Х	812,708,400.00	=	\$6,289,836.38	\$418,058.38
4. School Districts										
SCH D OF RICE LAKE AREA	\$7,672,265.52	/	756,748,343.00	=	0.010138464	Х	810,765,543.00	=	\$8,219,917.27	\$547,651.75
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$243,505.80	/	758,691,200.00	=	0.000320955	Х	812,708,400.00	=	\$260,842.82	\$17,337.02
6. Tax Increment Total										
	\$17,338,642.62								\$18,574,520.37	\$1,235,877.75

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Kathleen V Morse	Title City Clerk-Treasurer								
Email kmorse@ricelakegov.org	Phone (715) 234-7089								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 03276

Submission date: 11-23-2021 12:35 PM

Confirmation: TIW20210074O1637692531130

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 04151 County BAYFIELD

Muni Type VILLAGE

Municipality MASON

Account No. 0101

Total Equalized TID Value Increment 1,069,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BAYFIELD	\$13,230.27	/	3,271,700.00	=	0.004043852	X	4,341,200.00	=	\$17,555.17	\$4,324.90
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, village	e, city)									
MASON	\$10,014.00	/	3,271,700.00	=	0.003060794	Х	4,341,200.00	=	\$13,287.52	\$3,273.52
4. School Districts										
SCH D OF DRUMMOND	\$8,895.03	/	3,271,700.00	=	0.002718779	X	4,341,200.00	=	\$11,802.76	\$2,907.73
5. Technical College Distric	cts									
NORTHWOOD TECHNICAL COLLEGE	\$1,050.07	/	3,271,700.00	=	0.000320955	Х	4,341,200.00	=	\$1,393.33	\$343.26
6. Tax Increment Total										
	\$33,189.37								\$44,038.78	\$10,849.41

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Marian Schraufnagel	Title Village of Mason Clerk								
Email marschrauf@gmail.com	Phone (715) 765-4554								
Comments									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 04151

Submission date: 12-06-2021 11:20 AM

Confirmation: TIW2021010101637693782420

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 04291 County BAYFIELD

Muni Type CITY

Municipality WASHBURN

Account No. 0103

Total Equalized TID Value Increment 13,890,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BAYFIELD	\$510,614.41	/	135,224,800.00	=	0.003776041	Х	149,115,300.00	=	\$563,065.49	\$52,451.08
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WASHBURN	\$1,091,011.00	/	135,224,800.00	=	0.008068128	Х	149,115,300.00	=	\$1,203,081.33	\$112,070.33
4. School Districts										
SCH D OF WASHBURN	\$982,384.64	/	135,224,800.00	=	0.007264826	Х	149,115,300.00	=	\$1,083,296.71	\$100,912.07
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$43,401.09	/	135,224,800.00	=	0.000320955	Х	149,115,300.00	=	\$47,859.30	\$4,458.21
6. Tax Increment Total										
	\$2,627,411.14								\$2,897,302.83	\$269,891.69

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name SCOTT KLUVER	Title Administrator/Clerk								
Email washburnadmin@cityofwashburn.org Phone (715) 373-6160									
Comments									
Signature Statement									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 04291

Submission date: 11-23-2021 12:42 PM

Confirmation: TIW20210103O1637692899191

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 05024 County BROWN

Muni Type

TOWN

Municipality LAWRENCE

Account No. 0112

Total Equalized TID Value Increment 30,975,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$3,142,489.67	/	817,224,900.00	=	0.003845318	Х	848,199,900.00	=	\$3,261,598.34	\$119,108.67
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	817,224,900.00	=	0	Х	848,199,900.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
LAWRENCE	\$1,809,661.00	/	817,224,900.00	=	0.002214398	Х	848,199,900.00	=	\$1,878,252.16	\$68,591.16
4. School Districts										
SCH D OF WEST DE PERE	\$6,865,604.00	/	753,309,997.00	=	0.009113916	X	784,284,997.00	=	\$7,147,907.58	\$282,303.58
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$603,426.01	/	817,224,900.00	=	0.000738384	Х	848,199,900.00	=	\$626,297.23	\$22,871.22
6. Tax Increment Total										
	\$12,421,180.68								\$12,914,055.31	\$492,874.63

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Cindy Kocken Title Clerk-Treasurer								
ail cindyk@townoflawrence.org Phone (920) 347-3719								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05024

Submission date: 11-29-2021 02:00 PM

Confirmation: TIW20210112O1638215940630

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 05025

County BROWN Muni Type

TOWN

Municipality LEDGEVIEW Account No. 0113

Total Equalized TID Value Increment 44,710,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$4,543,944.40	/	1,182,809,200.00	=	0.003841655	X	1,227,519,300.00	=	\$4,715,705.66	\$171,761.26
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	1,182,809,200.00	=	0	X	1,227,519,300.00	=	\$0.00	\$0.00
LEDGEVIEW SANITARY DISTRICT #2	\$361,550.00	/	1,182,809,200.00	=	0.000305671	Χ	1,227,519,300.00	=	\$375,217.05	\$13,667.05
3. Tax District (town, village	e, city)									
LEDGEVIEW	\$3,704,343.00	/	1,182,809,200.00	=	0.003131818	X	1,227,519,300.00	=	\$3,844,367.04	\$140,024.04
4. School Districts										
SCH D OF DE PERE	\$6,438,163.00	/	1,104,848,783.00	=	0.005827189	X	1,149,558,883.00	=	\$6,698,696.88	\$260,533.88
5. Technical College Distric	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$873,367.70	/	1,182,809,200.00	=	0.000738384	Х	1,227,519,300.00	=	\$906,380.61	\$33,012.91
6. Tax Increment Total										
	\$15,921,368.10								\$16,540,367.24	\$618,999.14

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Renae Peters	Title Treasurer							
Email rpeters@ledgeviewwisconsin.com Phone (920) 336-3360								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05025

Submission date: 11-23-2021 12:55 PM

Confirmation: TIW20210113O1637693723818

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 05102

County BROWN Muni Type

VILLAGE

Municipality ALLOUEZ Account No. 0121

Total Equalized TID Value Increment 35,543,700

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$4,295,320.08 /	/	1,190,486,200.00	=	0.003608039	Χ	1,226,029,900.00	=	\$4,423,563.69	\$128,243.61
sanitary, lake)									
\$0.00 /	/	1,190,486,200.00	=	0	Х	1,226,029,900.00	=	\$0.00	\$0.00
e, city)									
\$7,294,474.00 /	/	1,190,486,200.00	=	0.006127307	Х	1,226,029,900.00	=	\$7,512,261.59	\$217,787.59
\$10,744,593.00 /	/	1,190,486,200.00	=	0.009025382	Х	1,226,029,900.00	=	\$11,065,388.19	\$320,795.19
cts									
\$879,036.27 /	/	1,190,486,200.00	=	0.000738384	Х	1,226,029,900.00	=	\$905,280.86	\$26,244.59
\$23,213,423.35								\$23,906,494.33	\$693,070.98
	\$4,295,320.08 \$anitary, lake) \$0.00 e, city) \$7,294,474.00 \$10,744,593.00 cts \$879,036.27	\$4,295,320.08 / \$4,295,320.08 / \$anitary, lake) \$0.00 / e, city) \$7,294,474.00 / \$10,744,593.00 / cts \$879,036.27 /	Apportioned Levy / Equalized Value (less TID Value Increment) \$4,295,320.08 / 1,190,486,200.00 sanitary, lake) \$0.00 / 1,190,486,200.00 e, city) \$7,294,474.00 / 1,190,486,200.00 \$10,744,593.00 / 1,190,486,200.00 cts \$879,036.27 / 1,190,486,200.00	Apportioned Levy / Equalized Value (less TID Value Increment) = \$4,295,320.08 / 1,190,486,200.00 = \$\sanitary, lake) \$0.00 / 1,190,486,200.00 = \$\text{e}, city) \$7,294,474.00 / 1,190,486,200.00 = \$\text{cts} \$879,036.27 / 1,190,486,200.00 = \$\text{e}, city	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate \$4,295,320.08	Apportioned Levy / (less TID Value Increment) = Interim Rate X \$4,295,320.08 / 1,190,486,200.00 = 0.003608039 X sanitary, lake)	Apportioned Levy / Glass TID Value Interim Rate X	Apportioned Levy / (less TID Value Increment) = Interim Rate X (with TID Value Increment) =	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Julie Beauchamp	Title Finance Director							
Email julieb@villageofallouez.com Phone (920) 448-2800								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
▼YES □NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05102

Submission date: 11-29-2021 11:27 AM

Confirmation: TIW20210121O1638206866218

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 05104 County

Muni Type

BROWN

VILLAGE

Municipality ASHWAUBENON

Account No. 0122

Total Equalized TID Value Increment 310,116,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$9,723,039.67	/	2,554,463,200.00	=	0.003806295	X	2,864,580,100.00	=	\$10,903,436.91	\$1,180,397.24
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	2,554,463,200.00	=	0	Х	2,864,580,100.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
ASHWAUBENON	\$13,043,057.00	/	2,554,463,200.00	=	0.005105987	Х	2,864,580,100.00	=	\$14,626,508.75	\$1,583,451.75
4. School Districts										
SCH D OF ASHWAUBENON	\$17,320,720.00	/	2,274,451,885.00	=	0.007615338	Χ	2,546,586,685.00	=	\$19,393,118.35	\$2,072,398.35
SCH D OF WEST DE PERE	\$2,552,000.00	/	280,011,315.00	=	0.009113917	X	317,993,415.00	=	\$2,898,165.59	\$346,165.59
5. Technical College Distric	ots									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$1,886,175.43	/	2,554,463,200.00	=	0.000738384	Х	2,864,580,100.00	=	\$2,115,160.11	\$228,984.68
6. Tax Increment Total										
	\$44,524,992.10								\$49,936,389.71	\$5,411,397.61

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Greg Wenholz	Title Finance Director / Treasurer							
Email gwenholz@ashwaubenon.com	Phone (920) 593-4419							
Comments								
Simplifica Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true	e, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?								
XYES	SNO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05104

Submission date: 11-23-2021 11:37 AM

Confirmation: TIW20210122O1637689061840

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 05106 County

Muni Type

Municipality

BROWN VILLAGE

BELLEVUE

Account No. 0105

Total Equalized TID Value Increment 66,958,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$5,640,549.32	/	1,551,292,100.00	=	0.003636033	Х	1,618,251,000.00	=	\$5,884,014.04	\$243,464.72
2. Special Districts (metro, sanitary, lake)										
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	1,551,292,100.00	=	0	Х	1,618,251,000.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
BELLEVUE	\$4,412,877.00	/	1,551,292,100.00	=	0.002844646	Х	1,618,251,000.00	=	\$4,603,351.23	\$190,474.23
4. School Districts										
SCH D OF GREEN BAY AREA	\$12,686,565.00	/	1,405,654,013.00	=	0.009025382	Х	1,472,612,913.00	=	\$13,290,894.08	\$604,329.08
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$1,145,449.67	/	1,551,292,100.00	=	0.000738384	Х	1,618,251,000.00	=	\$1,194,890.65	\$49,440.98
6. Tax Increment Total										
	\$23,885,440.99								\$24,973,150.00	\$1,087,709.01

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Karen Simons	Title Director of Finance/Clerk-Treasurer								
Email karens@villageofbellevue.org	Phone (920) 593-5511								
Comments	Comments								
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?									
XYES	5 □NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05106

Submission date: 11-24-2021 10:25 AM

Confirmation: TIW20210105O1637771121312

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 05126 County BROWN

Muni Type VILLAGE

HOBART

Municipality

Account No. 0109

Total Equalized TID Value Increment 304,076,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$3,178,399.81	/	833,315,200.00	=	0.003814163	Χ	1,137,391,600.00	=	\$4,338,196.96	\$1,159,797.15
2. Special Districts (metro, sanitary, lake)										
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	833,315,200.00	=	0	Х	1,137,391,600.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
HOBART	\$3,136,846.46	/	833,315,200.00	=	0.003764298	X	1,137,391,600.00	=	\$4,281,480.93	\$1,144,634.47
4. School Districts										
SCH D OF PULASKI COMMUNITY	\$3,680,034.25	/	582,653,944.00	=	0.006315986	Х	792,907,444.00	=	\$5,007,992.32	\$1,327,958.07
SCH D OF WEST DE PERE	\$2,284,506.00	/	250,661,256.00	=	0.009113917	X	344,484,156.00	=	\$3,139,600.01	\$855,094.01
5. Technical College Distric	ots									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$615,306.83	/	833,315,200.00	=	0.000738384	Х	1,137,391,600.00	=	\$839,831.76	\$224,524.93
6. Tax Increment Total										
	\$12,895,093.35								\$17,607,101.98	\$4,712,008.63

F	0	rı	n	١
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information								
Name Erica Berger	Title Clerk-Treasurer							
Email erica@hobart-wi.org	Phone (920) 869-3802							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with t	he statement above?							
XYES	SNO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05126

Submission date: 11-23-2021 12:48 PM

Confirmation: TIW20210109O1637693300730

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 05136

County BROWN Muni Type

Municipality

VILLAGE

HOWARD

Account No. 0124

Total Equalized TID Value Increment 165,191,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$7,846,265.86	/	2,064,067,700.00	=	0.003801361	Х	2,229,258,800.00	=	\$8,474,217.46	\$627,951.60
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	2,064,067,700.00	=	0	Χ	2,229,258,800.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
HOWARD	\$7,344,221.00	/	2,064,067,700.00	=	0.00355813	Χ	2,229,258,800.00	=	\$7,931,992.61	\$587,771.61
4. School Districts										
SCH D OF HOWARD-SUAMICO	\$18,555,966.98	/	2,064,067,700.00	=	0.008989999	X	2,229,258,800.00	=	\$20,041,034.38	\$1,485,067.40
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$1,524,075.10	/	2,064,067,700.00	=	0.000738384	Х	2,229,258,800.00	=	\$1,646,049.03	\$121,973.93
6. Tax Increment Total										
	\$35,270,528.94								\$38,093,293.48	\$2,822,764.54

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Christopher Haltom	Title Director of Administratice Services					
Email chaltom@villageofhoward.com	Phone (920) 434-4640					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES	S NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05136

Submission date: 11-24-2021 10:21 AM

Confirmation: TIW20210124O1637770863652

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 05171 County BROWN

Muni Type VILLAGE

PULASKI

Municipality

Account No. 0125

Total Equalized TID Value Increment 39,318,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$823,401.12	/	217,023,400.00	=	0.003794066	Х	256,342,200.00	=	\$972,579.23	\$149,178.11
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	217,023,400.00	=	0	Х	256,342,200.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
PULASKI	\$1,609,465.50	/	217,023,400.00	=	0.007416092	Х	256,342,200.00	=	\$1,901,057.34	\$291,591.84
4. School Districts										
SCH D OF PULASKI COMMUNITY	\$1,370,716.79	/	217,023,400.00	=	0.006315986	Х	256,342,200.00	=	\$1,619,053.75	\$248,336.96
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$160,246.66	/	217,023,400.00	=	0.000738384	Х	256,342,200.00	=	\$189,278.98	\$29,032.32
6. Tax Increment Total										
	\$3,963,830.07								\$4,681,969.30	\$718,139.23

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information					
Name Jodi Przybylski - Karen Ostrowski	Title Treasurer - Clerk				
Email villagetres@villageofpulaski.org	Phone (920) 822-4851				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with	the statement above?				
XYE	S NO				

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05171

Submission date: 11-30-2021 02:01 PM

Confirmation: TIW20210125O1637695922188

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 05178

County BROWN Muni Type

Municipality

VILLAGE

SUAMICO

Account No. 0119

Total Equalized TID Value Increment 104,845,000

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$5,755,123.02	/	1,513,897,500.00	=	0.003801528	X	1,618,742,500.00	=	\$6,153,694.94	\$398,571.92
itary, lake)									
\$0.00	/	740,328,213.00	=	0	Х	845,173,213.00	=	\$0.00	\$0.00
ty)									
\$5,534,110.01	/	1,513,897,500.00	=	0.003655538	Χ	1,618,742,500.00	=	\$5,917,374.72	\$383,264.71
\$13,174,845.53	/	1,465,500,189.00	=	0.008989999	X	1,570,345,189.00	=	\$14,117,401.68	\$942,556.15
\$1,117,838.09	/	1,513,897,500.00	=	0.000738384	Х	1,618,742,500.00	=	\$1,195,253.56	\$77,415.47
\$25,581,916.65								\$27,383,724.90	\$1,801,808.25
	\$5,755,123.02 itary, lake) \$0.00 ty) \$13,174,845.53 \$1,117,838.09	\$5,755,123.02 / itary, lake) \$0.00 / ty) \$13,174,845.53 / \$1,117,838.09 /	\$5,755,123.02 / 1,513,897,500.00 itary, lake) \$0.00 / 740,328,213.00 tty) \$13,174,845.53 / 1,465,500,189.00 \$1,117,838.09 / 1,513,897,500.00	\$5,755,123.02 / 1,513,897,500.00 = itary, lake) \$0.00 / 740,328,213.00 = ity) \$13,174,845.53 / 1,465,500,189.00 = \$1,117,838.09 / 1,513,897,500.00 =	\$5,755,123.02 / 1,513,897,500.00 = 0.003801528 itary, lake) \$0.00 / 740,328,213.00 = 0 ty) \$13,174,845.53 / 1,465,500,189.00 = 0.008989999 \$1,117,838.09 / 1,513,897,500.00 = 0.000738384	\$5,755,123.02 / 1,513,897,500.00 = 0.003801528 X itary, lake) \$0.00 / 740,328,213.00 = 0.003655538 X ty) \$13,174,845.53 / 1,465,500,189.00 = 0.008989999 X \$1,117,838.09 / 1,513,897,500.00 = 0.000738384 X	\$5,755,123.02	\$5,755,123.02	Sportioned Levy

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information					
Name Jessica Legois	Title Director of Administrative Services				
Email jessical@suamico.org	Phone (920) 434-2212				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.				
Do you agree with the statement above?					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05178

Submission date: 11-29-2021 12:06 PM

Confirmation: TIW20210119O1638205349906

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 05191 County

Muni Type

BROWN

VILLAGE

Municipality WRIGHTSTOWN

Account No. 0126

Total Equalized TID Value Increment 21,261,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BROWN	\$1,077,115.90 /	280,142,300.00	=	0.003844888	Х	301,404,100.00	=	\$1,158,865.01	\$81,749.11
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WRIGHTSTOWN	\$2,072,392.98 /	280,142,300.00	=	0.007397644	Х	301,404,100.00	=	\$2,229,680.23	\$157,287.25
4. School Districts									
SCH D OF WRIGHTSTOWN COMMUNITY	\$2,479,351.43 /	280,142,300.00	=	0.008850329	Х	301,404,100.00	=	\$2,667,525.45	\$188,174.02
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$206,852.67 /	280,142,300.00	=	0.000738384	X	301,404,100.00	=	\$222,551.96	\$15,699.29
6. Tax Increment Total									
	\$5,835,712.98							\$6,278,622.65	\$442,909.67

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Michelle Seidl	Title Clerk/Treasurer					
Email mseidl@wrightstown.us	Phone (920) 532-5567					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05191

Submission date: 11-23-2021 11:43 AM

Confirmation: TIW20210126O1637689432554

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 05216

County Muni Type

Municipality

BROWN

CITY

DE PERE

Account No. 0127

Total Equalized TID Value Increment 159,863,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$8,816,770.10	/	2,349,682,900.00	=	0.003752323	X	2,509,546,300.00	=	\$9,416,628.30	\$599,858.20
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	2,349,682,900.00	=	0	Χ	2,509,546,300.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
DE PERE	\$14,406,637.00	/	2,349,682,900.00	=	0.006131311	Х	2,509,546,300.00	=	\$15,386,808.83	\$980,171.83
4. School Districts										
SCH D OF DE PERE	\$6,998,952.00	/	1,201,085,473.00	=	0.005827189	X	1,216,082,273.00	=	\$7,086,341.24	\$87,389.24
SCH D OF WEST DE PERE	\$10,468,219.00	/	1,148,597,427.00	=	0.009113915	Χ	1,293,464,027.00	=	\$11,788,521.20	\$1,320,302.20
5. Technical College Distric	ots									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$1,734,968.88	/	2,349,682,900.00	=	0.000738384	Х	2,509,546,300.00	=	\$1,853,008.84	\$118,039.96
6. Tax Increment Total										
	\$42,425,546.98								\$45,531,308.41	\$3,105,761.43

F	= 0	r	m	1
Р	C.	.2	'n	2

WI Dept of Revenue

Preparer Information								
Name Carey Danen	Title City Clerk							
Email cdanen@deperewi.gov	Phone (920) 339-4050							
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05216

Submission date: 12-20-2021 09:22 AM

Confirmation: TIW20210127O1640013068089

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 05231

County BROWN Muni Type

CITY

Municipality **GREEN BAY** Account No. 0128

Total Equalized TID Value Increment 590,452,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BROWN	\$26,974,127.77	/	7,460,794,500.00	=	0.00361545	Χ	8,051,247,100.00	=	\$29,108,881.33	\$2,134,753.56
2. Special Districts (metro,	sanitary, lake)									
GREEN BAY METRO SEWER DISTRICT	\$0.00	/	7,460,794,500.00	=	0	Х	8,051,247,100.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
GREEN BAY	\$58,064,514.47	/	7,460,794,500.00	=	0.007782618	Х	8,051,247,100.00	=	\$62,659,780.60	\$4,595,266.13
4. School Districts										
SCH D OF GREEN BAY AREA	\$67,336,526.00	/	7,460,794,500.00	=	0.009025383	X	8,051,247,100.00	=	\$72,665,588.71	\$5,329,062.71
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$5,508,933.25	/	7,460,794,500.00	=	0.000738384	Х	8,051,247,100.00	=	\$5,944,912.04	\$435,978.79
6. Tax Increment Total										
	\$157,884,101.49								\$170,379,162.68	\$12,495,061.19

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information ASSISTANT FINANCE								
Name Pamela Manley	DIRECTOR/TREASURER Title							
Email pamela.manley@greenbaywi.gov	Phone (920) 448-3015							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 05231

Submission date: 11-29-2021 11:05 AM

Confirmation: TIW20210128O1638205543138

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 06111

County **BUFFALO** Muni Type

VILLAGE Municipality COCHRANE Account No. 0147

Total Equalized TID Value Increment 5,529,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BUFFALO	\$153,674.37 /	28,013,000.00	=	0.005485823	Х	33,542,800.00	=	\$184,009.86	\$30,335.49
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
COCHRANE	\$137,164.00 /	28,013,000.00	=	0.004896441	Х	33,542,800.00	=	\$164,240.34	\$27,076.34
4. School Districts									
SCH D OF COCHRANE-FOUNTAIN CITY	\$244,560.75 /	28,013,000.00	=	0.008730259	Х	33,542,800.00	=	\$292,837.33	\$48,276.58
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$35,624.44 /	28,013,000.00	=	0.001271711	X	33,542,800.00	=	\$42,656.75	\$7,032.31
6. Tax Increment Total									
	\$571,023.56							\$683,744.28	\$112,720.72

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Diana Pronschinske Title Clerk/Treasurer							
Email cochraneclerk@outlook.com	Phone (608) 248-2737						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 06111

Submission date: 12-17-2021 11:29 AM

Confirmation: TIW20210147O1639762139652

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 06201 County BUFFALO

Muni Type CITY

Municipality ALMA

Account No. 0149

Total Equalized TID Value Increment 3,909,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BUFFALO	\$319,980.06 /	59,583,300.00	=	0.005370298	Х	63,492,600.00	=	\$340,974.18	\$20,994.12
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ALMA	\$357,242.00 /	59,583,300.00	=	0.005995673	Х	63,492,600.00	=	\$380,680.87	\$23,438.87
4. School Districts									
SCH D OF ALMA	\$680,785.05	59,488,323.00	=	0.011444011	X	63,397,623.00	=	\$725,523.09	\$44,738.04
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$48,236.02 /	59,488,323.00	=	0.000810849	Х	63,397,623.00	=	\$51,405.90	\$3,169.88
6. Tax Increment Total									
	\$1,406,243.13							\$1,498,584.04	\$92,340.91

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name LINDA M TORGERSON	Title City Clerk-Treasurer						
Email cityalma277@gmail.com	tyalma277@gmail.com Phone (608) 685-3330						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
bo you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 06201

Submission date: 11-23-2021 01:55 PM

Confirmation: TIW20210149O1637696609514

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 06251 County BUFFALO

Muni Type CITY

Municipality MONDOVI

Account No. 0152

Total Equalized TID Value Increment 26,399,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BUFFALO	\$837,388.91	/	155,929,700.00	=	0.005370298	X	182,328,700.00	=	\$979,159.45	\$141,770.54
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
MONDOVI	\$923,966.00	/	155,929,700.00	=	0.005925529	Х	182,328,700.00	=	\$1,080,394.00	\$156,428.00
4. School Districts										
SCH D OF MONDOVI	\$1,564,521.00	/	155,929,700.00	=	0.010033502	Х	182,328,700.00	=	\$1,829,395.38	\$264,874.38
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$126,435.37	/	155,929,700.00	=	0.000810849	Х	182,328,700.00	=	\$147,841.04	\$21,405.67
6. Tax Increment Total										
	\$3,452,311.28								\$4,036,789.87	\$584,478.59

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information	
Name Dawn Moy	Title Treasurer
Email dawn@mondovi.com	Phone (715) 926-3866
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	e, correct and complete to the best of my knowledge and belief.
Do you agree with	the statement above?
Do you agree with	the statement above?
XYES	SNO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 06251

Submission date: 11-24-2021 01:21 PM

Confirmation: TIW20210152O1637781532253

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 07131 County BURNETT

Muni Type VILLAGE

Municipality GRANTSBURG

Account No. 0175

Total Equalized TID Value Increment 4,103,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
BURNETT	\$302,612.39 /	77,245,700.00	=	0.003917531	Х	81,349,300.00	=	\$318,688.40	\$16,076.01
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
GRANTSBURG	\$474,855.00 /	77,245,700.00	=	0.006147332	Х	81,349,300.00	=	\$500,081.16	\$25,226.16
4. School Districts									
SCH D OF GRANTSBURG	\$562,177.76 /	77,245,700.00	=	0.007277787	Х	81,349,300.00	=	\$592,042.88	\$29,865.12
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$24,792.40 /	77,245,700.00	=	0.000320955	Х	81,349,300.00	=	\$26,109.46	\$1,317.06
6. Tax Increment Total									
	\$1,364,437.55							\$1,436,921.90	\$72,484.35

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information					
Name Sheila Meyer	Title Clerk/Treasurer				
Email clerk@grantsburgwi.net	Phone (715) 463-2405				
Comments					
Cimpotore Chalamant					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true	e, correct and complete to the best of my knowledge and belief.				
Do you agree with	the statement above?				
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 07131

Submission date: 12-08-2021 02:57 PM

Confirmation: TIW20210175O1638902917363

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 07181 County BURNETT

Muni Type VILLAGE

SIREN

Municipality

Account No. 0176

Total Equalized TID Value Increment 8,488,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BURNETT	\$272,854.99	/	69,009,200.00	=	0.003953893	Х	77,497,200.00	=	\$306,415.64	\$33,560.65
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SIREN	\$499,186.00	/	69,009,200.00	=	0.007233615	Х	77,497,200.00	=	\$560,584.91	\$61,398.91
4. School Districts										
SCH D OF SIREN	\$714,366.12	/	69,009,200.00	=	0.010351752	Х	77,497,200.00	=	\$802,231.80	\$87,865.68
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$22,148.85	/	69,009,200.00	=	0.000320955	Х	77,497,200.00	=	\$24,873.11	\$2,724.26
6. Tax Increment Total										
	\$1,508,555.96								\$1,694,105.46	\$185,549.50

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Ann L Peterson	Title Village Clerk Treasurer
Email alpeterson@sirentel.net	Phone (715) 349-2273

Comments

Amended because Burnett County had provided incorrect apportioned levy amount for original filing.

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 07181

Submission date: 12-08-2021 04:14 PM

Confirmation: TIW20210176A1639001667716

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 07191 County BURNETT

Muni Type VILLAGE

WEBSTER

Municipality

Account No. 0177

Total Equalized TID Value Increment 1,092,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	/ (le	ualized Value ess TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
BURNETT	\$137,477.67 /	/	35,419,500.00	=	0.003881412	X	36,512,400.00	=	\$141,719.67	\$4,242.00
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WEBSTER	\$397,562.00 /	/	35,419,500.00	=	0.011224382	Х	36,512,400.00	=	\$409,829.13	\$12,267.13
4. School Districts										
SCH D OF WEBSTER	\$168,708.81 /	1	35,419,500.00	=	0.004763162	Х	36,512,400.00	=	\$173,914.48	\$5,205.67
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$11,368.07 /	/	35,419,500.00	=	0.000320955	Х	36,512,400.00	=	\$11,718.84	\$350.77
6. Tax Increment Total										
	\$715,116.55								\$737,182.12	\$22,065.57

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information						
Name	Debra Kuhnly	Title Clerk/Treasurer					
Email	webstervillage@gmail.com	Phone (715) 866-4211					

Comments

Amended due to revised County Apportioned Levy

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 07191

Submission date: 12-08-2021 02:28 PM

Confirmation: TIW20210177A1638995298517

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 08131 County CALUMET

Muni Type VILLAGE

HARRISON

Municipality

Account No. 1987

Total Equalized TID Value Increment 53,473,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$6,346,056.57	/	1,298,513,200.00	=	0.004887171	X	1,351,986,400.00	=	\$6,607,388.73	\$261,332.16
2. Special Districts (metro,	sanitary, lake)									
HEART OF THE VALLEY METRO SEWER DISTRICT	\$0.00	/	669,111,855.00	=	0	Х	681,321,755.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
HARRISON	\$3,611,823.00	/	1,298,513,200.00	=	0.002781507	Х	1,351,986,400.00	=	\$3,760,559.64	\$148,736.64
4. School Districts										
SCH D OF KAUKAUNA AREA	\$1,465,826.29	/	208,310,598.00	=	0.007036734	Х	219,703,498.00	=	\$1,545,995.07	\$80,168.78
SCH D OF KIMBERLY AREA	\$5,175,564.64	/	854,279,988.00	=	0.006058394	X	896,360,288.00	=	\$5,430,503.79	\$254,939.15
5. Technical College Districts										
FOX VALLEY TECHNICAL COLLEGE APPL	\$1,172,436.24	/	1,298,513,200.00	=	0.000902907	Х	1,351,986,400.00	=	\$1,220,717.98	\$48,281.74
6. Tax Increment Total										
	\$17,771,706.74								\$18,565,165.21	\$793,458.47

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Vicki Tessen	Title Clerk - Treasurer

Email clerk@harrison-wi.org Phone (920) 989-1062

Comments

The Board amended the levy amount on December 14, 2021

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

X YES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08131

Submission date: 12-15-2021 04:34 PM

Confirmation: TIW20211987A1639607590411

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 08136 County CALUMET

Muni Type VILLAGE

HILBERT

Municipality

Account No. 0188

Total Equalized TID Value Increment 18,895,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$347,834.19	/	71,286,300.00	=	0.004879397	Х	90,181,700.00	=	\$440,032.32	\$92,198.13
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
HILBERT	\$448,015.00	/	71,286,300.00	=	0.006284728	Х	90,181,700.00	=	\$566,767.46	\$118,752.46
4. School Districts										
SCH D OF HILBERT	\$634,253.00	/	71,286,300.00	=	0.008897264	X	90,181,700.00	=	\$802,370.39	\$168,117.39
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$64,364.88	/	71,286,300.00	=	0.000902907	Х	90,181,700.00	=	\$81,425.69	\$17,060.81
6. Tax Increment Total										
	\$1,494,467.07								\$1,890,595.86	\$396,128.79

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Dennis DuPrey	Title Administrator Clerk Treasurer							
Email hilbertclerk@villageofhilbert.com	Phone (920) 853-3241							
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08136

Submission date: 11-23-2021 01:31 PM

Confirmation: TIW20210188O1637695918445

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 08179

County

Muni Type

CALUMET

VILLAGE

Municipality SHERWOOD

Account No. 0190

Total Equalized TID Value Increment 8,065,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$1,761,754.59	/	353,825,200.00	=	0.004979167	Х	361,890,600.00	=	\$1,801,913.73	\$40,159.14
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SHERWOOD	\$1,256,266.00	/	353,825,200.00	=	0.003550527	Х	361,890,600.00	=	\$1,284,902.35	\$28,636.35
4. School Districts										
SCH D OF KAUKAUNA AREA	\$2,393,230.52	/	340,105,294.00	=	0.007036734	X	348,170,694.00	=	\$2,449,984.56	\$56,754.04
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$319,471.14	/	353,825,200.00	=	0.000902907	Х	361,890,600.00	=	\$326,753.56	\$7,282.42
6. Tax Increment Total										
	\$5,730,722.25								\$5,863,554.20	\$132,831.95

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Nick Halbach	Title Clerk-Treasurer							
Email clerk-treasurer@villageofsherwood.org	Phone (920) 989-1589							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08179

Submission date: 12-06-2021 11:54 AM

Confirmation: TIW20210190O1638813286058

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 08201 County

Muni Type

Municipality

CALUMET

CITY

APPLETON

Account No. 0192

Total Equalized TID Value Increment 125,596,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$3,466,885.63	/	849,144,100.00	=	0.0040828	X	974,740,800.00	=	\$3,979,671.74	\$512,786.11
2. Special Districts (metro,	sanitary, lake)									
HEART OF THE VALLEY METRO SEWER DISTRICT	\$0.00	/	21,850,148.00	=	0	Χ	90,241,285.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)										
APPLETON	\$6,673,619.00	/	849,144,100.00	=	0.00785923	Х	974,740,800.00	=	\$7,660,712.14	\$987,093.14
4. School Districts										
SCH D OF KIMBERLY AREA	\$445,345.95	/	73,508,913.00	=	0.006058394	Х	199,105,613.00	=	\$1,206,260.25	\$760,914.30
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$766,697.88	/	849,144,100.00	=	0.000902907	Х	974,740,800.00	=	\$880,100.29	\$113,402.41
6. Tax Increment Total										
	\$11,352,548.46								\$13,726,744.42	\$2,374,195.96

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information	
Name Jeri A. Ohman	Title Deputy Director of Finance
Email jeri.ohman@appleton.org	Phone (920) 832-5742
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.
Do you agree with t	he statement above?
W V C	
XYES	SNO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08201

Submission date: 11-24-2021 11:34 AM

Confirmation: TIW20210192O1637689472531

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 08206 County

Muni Type

Municipality

CALUMET

BRILLION

CITY

Account No. 0193

Total Equalized TID Value Increment 32,977,799

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$1,198,845.91	/	222,151,701.00	=	0.005396519	Х	255,129,500.00	=	\$1,376,811.19	\$177,965.28
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BRILLION	\$1,775,703.00	/	222,151,701.00	=	0.0079932	Х	255,129,500.00	=	\$2,039,301.12	\$263,598.12
4. School Districts										
SCH D OF BRILLION	\$1,968,495.58	/	222,151,701.00	=	0.008861042	X	255,129,500.00	=	\$2,260,713.21	\$292,217.63
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$200,582.25	/	222,151,701.00	=	0.000902907	Х	255,129,500.00	=	\$230,358.21	\$29,775.96
6. Tax Increment Total										
	\$5,143,626.74								\$5,907,183.73	\$763,556.99

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Peter Wills	Title Administrator						
Email admin@ci.brillion.wi.us	Phone (920) 756-2250						
Commanda							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
bo you agree with the statement above:							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08206

Submission date: 12-01-2021 01:15 PM

Confirmation: TIW20210193A1638385935941

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 08211 County CALUMET

Muni Type CITY

Municipality

CITY
CHILTON

Account No. Total Equalized TID Value Increment 12,469,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$1,545,859.32	/	300,339,700.00	=	0.005147036	Х	312,809,600.00	=	\$1,610,042.27	\$64,182.95
2. Special Districts (metro,	sanitary, lake)									
CHILTON LAKE DISTRICT	\$21,000.00	/	300,339,700.00	=	0.000069921	Χ	312,809,600.00	=	\$21,871.96	\$871.96
3. Tax District (town, village, city)										
CHILTON	\$1,813,908.00	/	300,339,700.00	=	0.006039521	Х	312,809,600.00	=	\$1,889,220.15	\$75,312.15
4. School Districts										
SCH D OF CHILTON	\$2,275,818.55	/	300,339,700.00	=	0.007577482	Х	312,809,600.00	=	\$2,370,309.11	\$94,490.56
5. Technical College District	ots									
FOX VALLEY TECHNICAL COLLEGE APPL	\$271,178.72	/	300,339,700.00	=	0.000902907	Х	312,809,600.00	=	\$282,437.98	\$11,259.26
6. Tax Increment Total										
	\$5,927,764.59								\$6,173,881.47	\$246,116.88

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information					
Name Lisa Meyer	Title Deputy City Clerk				
Email chiltondeputy@chiltonwi.com	Phone (920) 849-2451				
Comments					
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true					
Do you agree with t	he statement above?				
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08211

Submission date: 12-01-2021 08:31 AM

Confirmation: TIW20210194O1638368075379

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 08241 County CALUMET

Muni Type CITY

Municipality KIEL

Account No. Total Equalized TID Value Increment 20,612,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CALUMET	\$128,840.43 /	29,116,400.00	=	0.004425012	X	49,729,100.00	=	\$220,051.86	\$91,211.43
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
KIEL	\$136,596.20 /	29,116,400.00	=	0.004691384	Х	49,729,100.00	=	\$233,298.30	\$96,702.10
4. School Districts									
SCH D OF KIEL AREA	\$251,606.19 /	29,116,400.00	=	0.008641391	Х	49,729,100.00	=	\$429,728.60	\$178,122.41
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$21,187.51 /	29,116,400.00	=	0.000727683	Х	49,729,100.00	=	\$36,187.02	\$14,999.51
6. Tax Increment Total									
	\$538,230.33							\$919,265.78	\$381,035.45

Fo	r	m	١
PC.	-2	n	2

WI Dept of Revenue

Preparer Information								
Name Jamie Aulik	Title City Administrator							
Email jamie.aulik@kielwi.gov Phone (920) 569-0789								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08241

Submission date: 11-24-2021 09:52 AM

Confirmation: TIW20210195O1637769120712

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 08251

County CALUMET Muni Type

Municipality

CITY

MENASHA

Account No. 0196

Total Equalized TID Value Increment 88,563,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CALUMET	\$1,040,132.99 /	247,506,100.00	=	0.004202454	X	336,069,300.00	=	\$1,412,315.77	\$372,182.78
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MENASHA	\$2,230,323.25 /	247,506,100.00	=	0.009011185	Χ	336,069,300.00	=	\$3,028,382.64	\$798,059.39
4. School Districts									
SCH D OF APPLETON AREA	\$1,375,394.96 /	179,650,721.00	=	0.007655939	Х	254,020,721.00	=	\$1,944,767.14	\$569,372.18
SCH D OF MENASHA	\$792,837.00 /	67,855,379.00	=	0.011684217	X	82,048,579.00	=	\$958,673.40	\$165,836.40
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$223,474.91 /	247,506,100.00	=	0.000902907	Х	336,069,300.00	=	\$303,439.32	\$79,964.41
6. Tax Increment Total									
	\$5,662,163.11							\$7,647,578.27	\$1,985,415.16

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Jennifer Sassman	Title Finance Director						
Email jsassman@ci.menasha.wi.us	Phone (920) 967-3631						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08251

Submission date: 12-12-2021 11:45 AM

Confirmation: TIW20210196O1638815242823

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL

Co-muni Code 08261

County CALUMET

CITY

Muni Type

Municipality **NEW HOLSTEIN** Account No. 0197

Total Equalized TID Value Increment 9,326,899

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CALUMET	\$1,078,660.06	/	209,592,501.00	=	0.005146463	Х	218,919,400.00	=	\$1,126,660.59	\$48,000.53
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
NEW HOLSTEIN	\$1,645,841.00	/	209,592,501.00	=	0.007852576	Х	218,919,400.00	=	\$1,719,081.23	\$73,240.23
4. School Districts										
SCH D OF NEW HOLSTEIN	\$1,601,477.86	/	209,592,501.00	=	0.007640912	Х	218,919,400.00	=	\$1,672,743.87	\$71,266.01
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$112,568.40 /	/	209,592,501.00	=	0.000537082	Х	218,919,400.00	=	\$117,577.67	\$5,009.27
6. Tax Increment Total										
	\$4,438,547.32								\$4,636,063.36	\$197,516.04

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Cassandra Langenfeld	Title Administrator/Clerk-Treasurer							
Email caseyl@cnhwi.org	caseyl@cnhwi.org Phone (920) 898-5766							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 08261

Submission date: 11-30-2021 07:07 AM

Confirmation: TIW20210197O1638277675690

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 09111 County CHIPPEWA

Muni Type VILLAGE

Municipality CADOTT

Account No. 0223

Total Equalized TID Value Increment 2,243,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CHIPPEWA	\$282,029.90	/	96,515,400.00	=	0.002922123	Х	98,758,800.00	=	\$288,585.36	\$6,555.46
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
CADOTT	\$618,035.00	/	96,515,400.00	=	0.006403486	Х	98,758,800.00	=	\$632,400.59	\$14,365.59
4. School Districts										
SCH D OF CADOTT COMMUNITY	\$1,005,745.42	/	96,515,400.00	=	0.010420569	Х	98,758,800.00	=	\$1,029,122.89	\$23,377.47
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$78,259.37	/	96,515,400.00	=	0.000810849	Х	98,758,800.00	=	\$80,078.47	\$1,819.10
6. Tax Increment Total										
	\$1,984,069.69								\$2,030,187.31	\$46,117.62

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Sandra Buetow	Title Clerk/Treasurer								
Email cadottvillageoffice@villageofcadott.com	Phone (715) 289-4282								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 09111

Submission date: 11-23-2021 01:04 PM

Confirmation: TIW20210223O1637694285179

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 09128 County CHIPPEWA

Muni Type VILLAGE

Municipality LAKE HALLIE

Account No. 1981

Total Equalized TID Value Increment 119,819,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CHIPPEWA	\$2,208,501.11	/	709,168,300.00	=	0.003114213	Х	828,987,600.00	=	\$2,581,643.96	\$373,142.85
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
LAKE HALLIE	\$2,793,424.00	/	709,168,300.00	=	0.003939014	Х	828,987,600.00	=	\$3,265,393.76	\$471,969.76
4. School Districts										
SCH D OF CHIPPEWA FALLS AREA	\$4,638,059.81	/	643,839,393.00	=	0.007203753	Х	763,658,693.00	=	\$5,501,208.60	\$863,148.79
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$575,028.08	/	709,168,300.00	=	0.000810849	Х	828,987,600.00	=	\$672,183.77	\$97,155.69
6. Tax Increment Total										
	\$10,215,013.00								\$12,020,430.09	\$1,805,417.09

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
lame Kris Fitzsimmons Title Clerk-Treasurer									
Email clerktreasurer@lakehallie.us Phone (715) 726-2660									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 09128

Submission date: 12-10-2021 11:23 AM

Confirmation: TIW20211981O1637685849299

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 09161 County CHIPPEWA

Muni Type VILLAGE

Municipality NEW AUBURN

Account No. 0224

Total Equalized TID Value Increment 8,946,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CHIPPEWA	\$75,728.33	/	24,317,000.00	=	0.003114214	Х	33,263,500.00	=	\$103,589.66	\$27,861.33
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
NEW AUBURN	\$80,731.23	/	24,317,000.00	=	0.00331995	Х	33,263,500.00	=	\$110,433.16	\$29,701.93
4. School Districts										
SCH D OF NEW AUBURN	\$216,827.00	/	24,317,000.00	=	0.008916684	Х	33,263,500.00	=	\$296,600.12	\$79,773.12
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$19,717.40	/	24,317,000.00	=	0.000810848	Х	33,263,500.00	=	\$26,971.64	\$7,254.24
6. Tax Increment Total										
	\$393,003.96								\$537,594.58	\$144,590.62

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Peggy Stanford Title Clerk/Treasurer									
Email newauburnvill@citizens-tel.net	Phone (715) 237-2223								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 09161

Submission date: 12-03-2021 12:22 PM

Confirmation: TIW20210224O1637786707781

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 09206

County

CHIPPEWA

CITY

Muni Type Municipality BLOOMER Account No. 0225

Total Equalized TID Value Increment 29,058,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CHIPPEWA	\$875,447.99 /	299,593,100.00	=	0.002922123	X	328,651,200.00	=	\$960,359.23	\$84,911.24
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BLOOMER	\$1,100,000.00	299,593,100.00	=	0.003671647	X	328,651,200.00	=	\$1,206,691.19	\$106,691.19
4. School Districts									
SCH D OF BLOOMER	\$2,794,511.48 /	299,593,100.00	=	0.00932769	X	328,651,200.00	=	\$3,065,556.51	\$271,045.03
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$242,924.63 /	299,593,100.00	=	0.000810849	Х	328,651,200.00	=	\$266,486.50	\$23,561.87
6. Tax Increment Total									
	\$5,012,884.10							\$5,499,093.43	\$486,209.33

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sandi Frion Title City Administrator								
Email sfrion@ci.bloomer.wi.us Phone (715) 568-3032								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 09206

Submission date: 11-24-2021 09:22 AM

Confirmation: TIW20210225O1637767321228

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 09211 County CHIPPEWA

Muni Type

CITY

Municipality CHIPPEWA FALLS

Account No. 0226

Total Equalized TID Value Increment 162,945,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CHIPPEWA	\$3,273,243.02	/	1,120,159,100.00	=	0.002922123	Х	1,283,104,300.00	=	\$3,749,388.59	\$476,145.57
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
CHIPPEWA FALLS	\$7,976,110.00	/	1,120,159,100.00	=	0.007120515	Х	1,283,104,300.00	=	\$9,136,363.41	\$1,160,253.41
4. School Districts										
SCH D OF CHIPPEWA FALLS AREA	\$8,069,349.21	/	1,120,159,100.00	=	0.007203753	Х	1,283,104,300.00	=	\$9,243,166.45	\$1,173,817.24
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$908,279.38	/	1,120,159,100.00	=	0.000810849	Х	1,283,104,300.00	=	\$1,040,403.84	\$132,124.46
6. Tax Increment Total										
	\$20,226,981.61								\$23,169,322.29	\$2,942,340.68

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name LYNNE BAUER	Title FINANCE MANAGER/TREASURER								
Email Ibauer@chippewafalls-wi.gov	Phone (715) 726-2765								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 09211

Submission date: 12-08-2021 03:44 PM

Confirmation: TIW20210226O1637961240779

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 09281 County CHIPPEWA

Muni Type CITY

Municipality STANLEY

Account No. 0229

Total Equalized TID Value Increment 25,155,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)		Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CHIPPEWA	\$344,832.46	118,007,500.0	00 =	0.002922123	Х	143,162,500.00	=	\$418,338.43	\$73,505.97
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
STANLEY	\$416,734.00	118,007,500.0	00 =	0.00353142	Х	143,162,500.00	=	\$505,566.92	\$88,832.92
4. School Districts									
SCH D OF STANLEY-BOYD AREA	\$733,513.00	118,007,500.0	00 =	0.006215817	Х	143,162,500.00	=	\$889,871.90	\$156,358.90
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$95,686.21	118,007,500.0	00 =	0.000810849	Х	143,162,500.00	=	\$116,083.17	\$20,396.96
6. Tax Increment Total									
	\$1,590,765.67							\$1,929,860.42	\$339,094.75

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information							
Name Nicole Thiel	Title Clerk Treasurer						
Email nthiel@stanleywisconsin.us	Phone (715) 644-5758						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 09281

Submission date: 11-23-2021 02:07 PM

Confirmation: TIW20210229O1637698068556

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 10116 County

Muni Type

Municipality

CLARK

VILLAGE

DORCHESTER

Account No. 0265

Total Equalized TID Value Increment 17,590,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$277,595.07	/	35,561,500.00	=	0.007806056	X	53,152,400.00	=	\$414,910.61	\$137,315.54
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
DORCHESTER	\$230,869.38	/	35,561,500.00	=	0.006492116	Х	53,152,400.00	=	\$345,071.55	\$114,202.17
4. School Districts										
SCH D OF COLBY	\$285,950.92	/	35,561,500.00	=	0.008041025	X	53,152,400.00	=	\$427,399.78	\$141,448.86
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$43,053.02	/	35,561,500.00	=	0.001210664	Х	53,152,400.00	=	\$64,349.70	\$21,296.68
6. Tax Increment Total										
	\$837,468.39								\$1,251,731.64	\$414,263.25

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information						
Name Christie Erikson	Title Deputy Clerk/Treasurer					
Email dvcval@tds.net	Phone (715) 654-5006					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10116

Submission date: 12-02-2021 09:17 AM

Confirmation: TIW20210265O1638458232503

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 10131

County CLARK Muni Type

Municipality

VILLAGE

GRANTON

Account No. 0266

Total Equalized TID Value Increment 845,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$99,139.26	/	12,700,300.00	=	0.007806057	Х	13,545,300.00	=	\$105,735.38	\$6,596.12
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
GRANTON	\$64,196.00	/	12,700,300.00	=	0.005054684	Х	13,545,300.00	=	\$68,467.21	\$4,271.21
4. School Districts										
SCH D OF GRANTON AREA	\$113,589.00	/	12,700,300.00	=	0.008943804	Х	13,545,300.00	=	\$121,146.51	\$7,557.51
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$11,354.39	/	12,700,300.00	=	0.000894025	Х	13,545,300.00	=	\$12,109.84	\$755.45
6. Tax Increment Total										
	\$288,278.65								\$307,458.94	\$19,180.29

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Joye L Eichten	Title Clerk/Treasurer
Email grantonclerk@tds.net	Phone (715) 238-7339
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.
Do you agree with t	he statement above?
XYES	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10131

Submission date: 11-23-2021 04:43 PM

Confirmation: TIW20210266O1637707411866

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 10186 County C

Municipality

CLARK VILLAGE

UNITY

Account No. 0267

Total Equalized TID Value Increment 927,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$38,870.04	/	4,787,100.00	=	0.008119747	Х	5,714,800.00	=	\$46,402.73	\$7,532.69
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
UNITY	\$18,000.00	/	4,787,100.00	=	0.003760105	Х	5,714,800.00	=	\$21,488.25	\$3,488.25
4. School Districts										
SCH D OF COLBY	\$38,493.19	/	4,787,100.00	=	0.008041025	Х	5,714,800.00	=	\$45,952.85	\$7,459.66
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$5,795.57	/	4,787,100.00	=	0.001210664	Х	5,714,800.00	=	\$6,918.70	\$1,123.13
6. Tax Increment Total										
	\$101,158.80								\$120,762.53	\$19,603.73

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name HEIDI MALDONIS	Title CLERK/TREASURER					
Email unityclerk@nmadison.net	Phone (715) 223-4362					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10186

Submission date: 12-07-2021 11:37 AM

Confirmation: TIW20210267O1638898677218

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 10191 County CLARK

Muni Type VILLAGE

WITHEE

Municipality

Account No. 0268

Total Equalized TID Value Increment 3,926,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$163,532.19	/	20,949,400.00	=	0.007806056	Х	24,875,800.00	=	\$194,181.89	\$30,649.70
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WITHEE	\$124,554.00	/	20,949,400.00	=	0.005945469	Х	24,875,800.00	=	\$147,898.30	\$23,344.30
4. School Districts										
SCH D OF OWEN-WITHEE	\$167,727.01	/	20,949,400.00	=	0.008006292	Х	24,875,800.00	=	\$199,162.92	\$31,435.91
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$16,986.79	/	20,949,400.00	=	0.000810849	Х	24,875,800.00	=	\$20,170.52	\$3,183.73
6. Tax Increment Total										
	\$472,799.99								\$561,413.63	\$88,613.64

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information							
Name Ellen Niemi	Title clerk/treasurer						
Email clerk@villageofwithee.com	Phone (715) 229-4319						
Comments							
0:							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10191

Submission date: 12-02-2021 09:55 AM

Confirmation: TIW20210268O1637698881977

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 10201 County CLARK

Muni Type CITY

Municipality

CITY ABBOTSFORD Account No. 0269

Total Equalized TID Value Increment 22,233,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$603,486.20	/	77,310,000.00	=	0.007806056	X	99,543,700.00	=	\$777,043.70	\$173,557.50
2. Special Districts (metro,	, sanitary, lake)									
3. Tax District (town, villag	je, city)									
ABBOTSFORD	\$563,484.77	/	77,310,000.00	=	0.00728864	Х	99,543,700.00	=	\$725,538.19	\$162,053.42
4. School Districts										
SCH D OF ABBOTSFORD	\$751,694.69	/	77,310,000.00	=	0.009723124	Х	99,543,700.00	=	\$967,875.74	\$216,181.05
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$93,596.42	/	77,310,000.00	=	0.001210664	Х	99,543,700.00	=	\$120,513.97	\$26,917.55
6. Tax Increment Total	6. Tax Increment Total									
	\$2,012,262.08								\$2,590,971.60	\$578,709.52

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name ERIN CLAUSNITZER	Title CLERK/TREASURER						
Email e.clausnitzer@ci.abbotsford.wi.us	Phone (715) 223-3444						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10201

Submission date: 12-01-2021 01:23 PM

Confirmation: TIW20210269O1638386560390

Form
PC-202

WI Dept of Revenue

Report Type
AMENDED

Co-muni Code 10231 County

Muni Type

CLARK CITY

Municipality GREENWOOD

Account No. 0271

Total Equalized TID Value Increment 3,528,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$378,715.50	/	48,515,600.00	=	0.007806056	X	52,043,900.00	=	\$406,257.60	\$27,542.10
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
GREENWOOD	\$533,046.00	/	48,515,600.00	=	0.010987105	X	52,043,900.00	=	\$571,811.79	\$38,765.79
4. School Districts										
SCH D OF GREENWOOD	\$443,736.34	/	48,515,600.00	=	0.009146261	Х	52,043,900.00	=	\$476,007.09	\$32,270.75
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$39,338.80	/	48,515,600.00	=	0.000810848	Х	52,043,900.00	=	\$42,199.69	\$2,860.89
6. Tax Increment Total										
	\$1,394,836.64								\$1,496,276.17	\$101,439.53

Form	
PC-202	

WI Dept of Revenue

Preparer Information	
Name Kayla Schar	Title Clerk/ Treasurer
Email kschar@greenwoodwi.com	Phone (715) 267-6205
Comments	
Cimpatore Ctatament	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.	
Do you agree with the statement above?	
XYES NO	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10231

Submission date: 12-15-2021 03:49 PM

Confirmation: TIW20210271A1639604972979

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 10246 County CLARK

Muni Type CITY

LOYAL

Municipality

Account No. 0272

Total Equalized TID Value Increment 5,813,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CLARK	\$431,446.19 /	55,270,700.00	=	0.007806056	Х	61,084,500.00	=	\$476,829.03	\$45,382.84
2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)								
LOYAL	\$601,565.96 /	55,270,700.00	=	0.010883994	X	61,084,500.00	=	\$664,843.33	\$63,277.37
4. School Districts									
SCH D OF LOYAL	\$374,424.25 /	55,270,700.00	=	0.006774371	Х	61,084,500.00	=	\$413,809.07	\$39,384.82
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$66,914.24 /	55,270,700.00	=	0.001210664	Х	61,084,500.00	=	\$73,952.81	\$7,038.57
6. Tax Increment Total									
	\$1,474,350.64							\$1,629,434.24	\$155,083.60

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information	
Name Shannon Toufar	Title Clerk
Email stoufar@loyalwi.com	Phone (715) 255-8772
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.
Do you agree with t	he statement above?
XYES	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10246

Submission date: 11-23-2021 10:57 AM

Confirmation: TIW20210272O1637686622911

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 10261 County CLARK

Muni Type CITY

NEILLSVILLE

Municipality

02

Account No. Total Equalized TID Value Increment 6,426,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy		qualized Value ess TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$999,157.23	/	127,997,700.00	=	0.007806056	Х	134,424,200.00	=	\$1,049,322.83	\$50,165.60
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
NEILLSVILLE	\$1,287,980.00	/	127,997,700.00	=	0.010062525	Х	134,424,200.00	=	\$1,352,646.87	\$64,666.87
4. School Districts										
SCH D OF NEILLSVILLE	\$955,181.84	/	127,997,700.00	=	0.007462492	X	134,424,200.00	=	\$1,003,139.52	\$47,957.68
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$103,786.75	/	127,997,700.00	=	0.000810849	Х	134,424,200.00	=	\$108,997.73	\$5,210.98
6. Tax Increment Total										
	\$3,346,105.82								\$3,514,106.95	\$168,001.13

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name REX R ROEHL	Title CLERK-TREASURER						
Email clerk@neillsville-wi.com	Phone (715) 743-2105						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.						
Do you agree with t	he statement above?						
XYES	SNO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10261

Submission date: 12-09-2021 01:29 PM

Confirmation: TIW20210273O1637692684651

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 10265 County CLARK

Muni Type CITY

OWEN

Municipality

Account No. 0274

Total Equalized TID Value Increment 15,539,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$332,799.50	/	42,633,500.00	=	0.007806056	X	58,173,300.00	=	\$454,104.04	\$121,304.54
2. Special Districts (metro, sanitary, lake)										
CITY OF OWEN LAKE DISTRICT	\$0.00	/	42,633,500.00	=	0	Х	58,173,300.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)										
OWEN	\$383,332.00	/	42,633,500.00	=	0.008991333	Х	58,173,300.00	=	\$523,055.51	\$139,723.51
4. School Districts										
SCH D OF OWEN-WITHEE	\$341,336.25	/	42,633,500.00	=	0.008006292	Х	58,173,300.00	=	\$465,752.43	\$124,416.18
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$34,569.31	/	42,633,500.00	=	0.000810849	Х	58,173,300.00	=	\$47,169.76	\$12,600.45
6. Tax Increment Total										
	\$1,092,037.06								\$1,490,081.74	\$398,044.68

F	0	rı	η	1
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information								
Name Tracy Rau	Title CLERK/TREASURER							
Email owenclerk@cityofowen.com	Phone (715) 229-2404							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10265

Submission date: 12-09-2021 09:47 AM

Confirmation: TIW20210274A1639064821277

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 10286 County CLARK

Muni Type CITY

THORP

Municipality

Account No. 0275

Total Equalized TID Value Increment 14,049,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CLARK	\$739,349.04	/	94,714,800.00	=	0.007806056	X	108,763,800.00	=	\$849,016.31	\$109,667.27
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
THORP	\$508,690.00	/	94,714,800.00	=	0.005370755	Χ	108,763,800.00	=	\$584,143.72	\$75,453.72
4. School Districts										
SCH D OF THORP	\$735,775.88	/	94,714,800.00	=	0.007768331	X	108,763,800.00	=	\$844,913.20	\$109,137.32
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$76,799.36	/	94,714,800.00	=	0.000810849	Х	108,763,800.00	=	\$88,191.02	\$11,391.66
6. Tax Increment Total										
	\$2,060,614.28								\$2,366,264.25	\$305,649.97

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Michele Pogodzinski	Title Clerk-Treasurer					
Email deputyclerk@cityofthorp.com	Phone (715) 669-5371					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 10286

Submission date: 11-23-2021 03:38 PM

Confirmation: TIW20210275O1637702242364

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 11101 County COLUMBIA

Muni Type VILLAGE

ARLINGTON

Municipality

0298

Account No. Total Equalized TID Value Increment 11,524,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
COLUMBIA	\$375,860.67	/	83,638,500.00	=	0.004493871	X	95,163,200.00	=	\$427,651.14	\$51,790.47
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
ARLINGTON	\$400,918.00	/	83,638,500.00	=	0.004793462	Х	95,163,200.00	=	\$456,161.18	\$55,243.18
4. School Districts										
SCH D OF POYNETTE	\$792,900.80	/	83,638,500.00	=	0.009480093	Х	95,163,200.00	=	\$902,155.99	\$109,255.19
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$67,475.81	/	83,638,500.00	=	0.000806755	Х	95,163,200.00	=	\$76,773.39	\$9,297.58
6. Tax Increment Total										
	\$1,637,155.28								\$1,862,741.70	\$225,586.42

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Robert Geenen	Title Clerk - Treasurer					
Email voarlington@gmail.com	Phone (608) 635-2474					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11101

Submission date: 12-20-2021 02:13 PM

Confirmation: TIW20210298A1639777016536

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 11126

Mu

County COLUMBIA

Muni Type VILLAGE

Municipality FALL RIVER

Account No. 0301

Total Equalized TID Value Increment 378,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
COLUMBIA	\$802,973.94 /	178,682,000.00	=	0.004493871	Х	179,060,400.00	=	\$804,674.34	\$1,700.40
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
FALL RIVER	\$806,618.00 /	178,682,000.00	=	0.004514266	Х	179,060,400.00	=	\$808,326.28	\$1,708.28
4. School Districts									
SCH D OF FALL RIVER	\$1,313,957.98 /	178,682,000.00	=	0.007353611	X	179,060,400.00	=	\$1,316,740.53	\$2,782.55
5. Technical College Distriction	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$144,152.66 /	178,682,000.00	=	0.000806755	Х	179,060,400.00	=	\$144,457.87	\$305.21
6. Tax Increment Total									
	\$3,067,702.58							\$3,074,199.02	\$6,496.44

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Marie Abegglen	Title Clerk-Treasurer					
Email marie@vlgfallriver.com	Phone (920) 484-3525					
Commonts						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11126

Submission date: 11-24-2021 07:32 AM

Confirmation: TIW20210301O1637760777770

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 11177 County Muni Type

Municipality

COLUMBIA

RIO

ni Type VILLAGE

Account No. 0306

Total Equalized TID Value Increment 11,984,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
COLUMBIA	\$293,370.02 /	68,079,300.00	=	0.00430924	Х	80,063,900.00	=	\$345,014.56	\$51,644.54
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
RIO	\$464,823.00 /	68,079,300.00	=	0.00682767	Х	80,063,900.00	=	\$546,649.89	\$81,826.89
4. School Districts									
SCH D OF RIO COMMUNITY	\$742,951.80 /	68,079,300.00	=	0.010913035	Х	80,063,900.00	=	\$873,740.14	\$130,788.34
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$54,923.34 /	68,079,300.00	=	0.000806755	Х	80,063,900.00	=	\$64,591.95	\$9,668.61
6. Tax Increment Total									
	\$1,556,068.16							\$1,829,996.54	\$273,928.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Amy Stone	Title Administrator Clerk/Treasurer					
Email astone@riowi.us	Phone (920) 992-5454					
Comments						
O:						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11177

Submission date: 12-07-2021 08:38 AM

Confirmation: TIW20210306O1637694646608

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 11211 County

Muni Type

COLUMBIA

Muni Type CITY

Municipality COLUMBUS

Account No. 0308

Total Equalized TID Value Increment 40,728,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
COLUMBIA	\$1,995,907.55 /	463,169,300.00	=	0.00430924	Х	503,897,500.00	=	\$2,171,415.26	\$175,507.71
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
COLUMBUS	\$3,444,849.00 /	463,169,300.00	=	0.007437559	Х	503,897,500.00	=	\$3,747,767.39	\$302,918.39
4. School Districts									
SCH D OF COLUMBUS	\$4,463,416.26 /	463,169,300.00	=	0.009636684	Х	503,897,500.00	=	\$4,855,900.98	\$392,484.72
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$373,664.31 /	463,169,300.00	=	0.000806755	Х	503,897,500.00	=	\$406,521.83	\$32,857.52
6. Tax Increment Total									
	\$10,277,837.12							\$11,181,605.46	\$903,768.34

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Brandon Bledsoe	Title Treasurer/Finance Director					
Email bbledsoe@columbuswi.us	Phone (920) 623-5925					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11211

Submission date: 12-02-2021 04:59 PM

Confirmation: TIW20210308O1638483939701

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 11246 County

Muni Type

COLUMBIA

Muni Type CITY

Municipality LODI

Account No. 0309

Total Equalized TID Value Increment 7,708,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
COLUMBIA	\$1,303,397.64 /	302,465,800.00	=	0.00430924	X	310,173,900.00	=	\$1,336,613.78	\$33,216.14
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
LODI	\$2,082,302.23 /	302,465,800.00	=	0.006884422	Х	310,173,900.00	=	\$2,135,368.02	\$53,065.79
4. School Districts									
SCH D OF LODI	\$3,360,395.04 /	302,465,800.00	=	0.01111	Х	310,173,900.00	=	\$3,446,032.03	\$85,636.99
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$244,015.90 /	302,465,800.00	=	0.000806755	Х	310,173,900.00	=	\$250,234.34	\$6,218.44
6. Tax Increment Total									
	\$6,990,110.81							\$7,168,248.17	\$178,137.36

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Brenda Ayers	Title City Clerk						
Email bayers@cityoflodi.us	Phone (608) 592-3247						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with t	Do you agree with the statement above?						
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11246

Submission date: 11-23-2021 04:15 PM

Confirmation: TIW20210309O1637696696494

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 11271 County

Muni Type

Municipality

COLUMBIA

PORTAGE

CITY

Account No. 0310

Total Equalized TID Value Increment 14,326,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
COLUMBIA	\$3,179,446.27	/	737,820,700.00	=	0.00430924	Х	752,147,300.00	=	\$3,241,183.23	\$61,736.96
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
PORTAGE	\$6,409,807.00	/	737,820,700.00	=	0.008687486	Х	752,147,300.00	=	\$6,534,269.14	\$124,462.14
4. School Districts										
SCH D OF PORTAGE COMMUNITY	\$5,855,313.11 /	/	737,820,700.00	=	0.007935957	Х	752,147,300.00	=	\$5,969,008.63	\$113,695.52
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$595,240.80 /	/	737,820,700.00	=	0.000806755	Х	752,147,300.00	=	\$606,798.60	\$11,557.80
6. Tax Increment Total										
	\$16,039,807.18								\$16,351,259.60	\$311,452.42

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Marie A. Moe	Title City Clerk						
Email marie.moe@portagewi.gov	Phone (608) 742-2176						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with t	Do you agree with the statement above?						
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11271

Submission date: 12-02-2021 03:15 PM

Confirmation: TIW20210310O1637771032256

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 11291 County

Muni Type

Municipality

COLUMBIA

CITY
WISCONSIN DELLS

Account No. 0311

Total Equalized TID Value Increment 17,781,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
COLUMBIA	\$1,151,548.39 /	269,552,200.00	=	0.004272079	Х	287,333,700.00	=	\$1,227,512.27	\$75,963.88
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
WISCONSIN DELLS	\$2,541,190.26 /	269,552,200.00	=	0.009427451	Х	287,333,700.00	=	\$2,708,824.38	\$167,634.12
4. School Districts									
SCH D OF WISCONSIN DELLS	\$2,091,982.04 /	269,552,200.00	=	0.007760953	Х	287,333,700.00	=	\$2,229,983.34	\$138,001.30
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$217,462.68 /	269,552,200.00	=	0.000806755	Х	287,333,700.00	=	\$231,807.90	\$14,345.22
6. Tax Increment Total									
	\$6,002,183.37							\$6,398,127.89	\$395,944.52

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Sarah L Brown	Title Clerk/Treasurer						
Email sbrown@dellscitygov.com	Phone (608) 254-2012						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 11291

Submission date: 11-30-2021 01:02 PM

Confirmation: TIW20210311O1638221040437

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 12116

County CRAWFORD Muni Type

VILLAGE

Municipality DE SOTO Account No. 0325

Total Equalized TID Value Increment 349,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CRAWFORD	\$27,651.61 /	4,318,100.00	=	0.006403652	X	4,667,700.00	=	\$29,890.33	\$2,238.72
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
DE SOTO	\$14,139.20 /	4,318,100.00	=	0.003274403	Х	4,667,700.00	=	\$15,283.93	\$1,144.73
4. School Districts									
SCH D OF DE SOTO AREA	\$35,101.78 /	4,318,100.00	=	0.008128987	Х	4,667,700.00	=	\$37,943.67	\$2,841.89
5. Technical College Distric	cts								
WESTERN TECHNICAL COLLEGE LACR	\$5,491.38 /	4,318,100.00	=	0.001271712	Х	4,667,700.00	=	\$5,935.97	\$444.59
6. Tax Increment Total									
	\$82,383.97							\$89,053.90	\$6,669.93

F	= 0	r	m	1
P	C.	.2	'n	2

WI Dept of Revenue

Preparer Information						
Name Carrie Brudos	Title Clerk/Treasurer					
Email vdesoto@mwt.net	Phone (608) 648-2700					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 12116

Submission date: 12-03-2021 10:50 AM

Confirmation: TIW20210325O1638550254467

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 12126

County

Muni Type

Municipality

County CRAWFORD

VILLAGE

FERRYVILLE

Account No. 0327

Total Equalized TID Value Increment 317,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
CRAWFORD	\$196,326.61	/	29,766,200.00	=	0.006595622	Х	30,083,500.00	=	\$198,419.39	\$2,092.78
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
FERRYVILLE	\$103,941.00	/	29,766,200.00	=	0.003491914	Х	30,083,500.00	=	\$105,048.99	\$1,107.99
4. School Districts										
SCH D OF DE SOTO AREA	\$241,969.04	/	29,766,200.00	=	0.008128987	Х	30,083,500.00	=	\$244,548.38	\$2,579.34
5. Technical College Distric	cts									
WESTERN TECHNICAL COLLEGE LACR	\$37,854.00	/	29,766,200.00	=	0.001271711	Х	30,083,500.00	=	\$38,257.52	\$403.52
6. Tax Increment Total										
	\$580,090.65								\$586,274.28	\$6,183.63

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Bridget Schill	Title Village Clerk							
Email ferryville-vc@mchsi.com	Phone (608) 734-9406							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 12126

Submission date: 11-29-2021 04:08 PM

Confirmation: TIW20210327O1638219353332

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 12131 County CF

Muni Type VII

Municipality

CRAWFORD

VILLAGE GAYS MILLS Account No. 0328

Total Equalized TID Value Increment 2,557,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CRAWFORD	\$172,718.45 /	25,931,200.00	=	0.006660642	Х	28,488,600.00	=	\$189,752.37	\$17,033.92
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
GAYS MILLS	\$150,073.00 /	25,931,200.00	=	0.005787353	Х	28,488,600.00	=	\$164,873.58	\$14,800.58
4. School Districts									
SCH D OF NORTH CRAWFORD	\$201,501.37 /	25,931,200.00	=	0.007770615	Х	28,488,600.00	=	\$221,373.94	\$19,872.57
5. Technical College Distri	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$29,226.99 /	25,931,200.00	=	0.001127097	Х	28,488,600.00	=	\$32,109.42	\$2,882.43
6. Tax Increment Total									
	\$553,519.81							\$608,109.31	\$54,589.50

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information					
Name Dawn R. McCann	Title Clerk				
Email dmccann@gaysmills.org	Phone (608) 735-4341				
Comments					
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 12131

Submission date: 12-08-2021 09:11 AM

Confirmation: TIW20210328O1637702087933

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 12271

County Muni Type CRAWFORD

CITY

Municipality PRAIRIE DU CHIEN Account No. 0334

Total Equalized TID Value Increment 11,425,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
CRAWFORD	\$2,653,046.49 /	414,302,100.00	=	0.006403652	Х	425,727,900.00	=	\$2,726,213.32	\$73,166.83
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PRAIRIE DU CHIEN	\$3,091,118.55 /	414,302,100.00	=	0.007461026	Х	425,727,900.00	=	\$3,176,366.93	\$85,248.38
4. School Districts									
SCH D OF PRAIRIE DU CHIEN AREA	\$4,416,462.20 /	414,302,100.00	=	0.010660004	Х	425,727,900.00	=	\$4,538,261.12	\$121,798.92
5. Technical College Distri	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$466,958.87 /	414,302,100.00	=	0.001127098	X	425,727,900.00	=	\$479,837.06	\$12,878.19
6. Tax Increment Total									
	\$10,627,586.11							\$10,920,678.43	\$293,092.32

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information									
Name Tina Fuller	Title Clerk-Treasurer								
Email tfuller@prairieduchien-wi.gov	Phone (608) 326-6406								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 12271

Submission date: 12-10-2021 04:08 PM

Confirmation: TIW20210334O1638386655652

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13032 County DANE

Muni Type TOWN

Municipality MADISON

Account No. 0350

Total Equalized TID Value Increment 46,903,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$1,629,422.14	/	488,398,900.00	=	0.003336253	Χ	535,302,400.00	=	\$1,785,904.24	\$156,482.10
2. Special Districts (metro, sanitary, lake)										
MADISON METRO SEWER DISTRICT	\$0.00	/	488,398,900.00	=	0	Х	535,302,400.00	=	\$0.00	\$0.00
OAKRIDGE SANITARY DISTRICT	\$0.00	/	444,170,271.00	=	0	Χ	491,073,771.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
MADISON	\$1,565,295.00	/	488,398,900.00	=	0.003204952	Χ	535,302,400.00	=	\$1,715,618.50	\$150,323.50
4. School Districts										
SCH D OF MADISON METROPOLITAN	\$5,565,766.33	/	488,398,900.00	=	0.011395944	X	535,302,400.00	=	\$6,100,276.17	\$534,509.84
5. Technical College District	ots									
MADISON AREA TECHNICAL COLLEGE MADN	\$394,018.43	/	488,398,900.00	=	0.000806755	Х	535,302,400.00	=	\$431,857.89	\$37,839.46
6. Tax Increment Total										
	\$9,154,501.90								\$10,033,656.80	\$879,154.90

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name RENEE SCHWASS	Title Business Manager									
Email schwassr@town.madison.wi.us	Phone (608) 210-7260									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13032

Submission date: 11-29-2021 08:42 AM

Confirmation: TIW20210350O1638196947401

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 13056 County

Muni Type

DANE TOWN

Municipality SPRINGFIELD

Account No. 0362

Total Equalized TID Value Increment 8,803,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$1,778,262.36	/	533,011,900.00	=	0.003336253	Х	541,815,300.00	=	\$1,807,632.92	\$29,370.56
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SPRINGFIELD	\$930,299.00	/	533,011,900.00	=	0.001745363	Х	541,815,300.00	=	\$945,664.38	\$15,365.38
4. School Districts										
SCH D OF MIDDLETON-CROSS PLAINS	\$3,952,700.94	/	397,333,800.00	=	0.009948061	Х	406,137,200.00	=	\$4,040,277.64	\$87,576.70
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$430,010.20	/	533,011,900.00	=	0.000806755	Х	541,815,300.00	=	\$437,112.20	\$7,102.00
6. Tax Increment Total										
	\$7,091,272.50								\$7,230,687.14	\$139,414.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name DIANAH FAYAS	Title Clerk-Treasurer									
Email dianah@town.springfield.wi.us	Phone (608) 849-7887									
Comments										
Comments	Comments									
Signatura Statement										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
X YES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13056

Submission date: 12-02-2021 01:53 PM

Confirmation: TIW20210362A1638474775188

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13106 County

Muni Type

DANE VILLAGE

Municipality BELLEVILLE

Account No. 0370

Total Equalized TID Value Increment 25,355,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$633,994.45 /	217,654,500.00	=	0.002912848	Х	243,009,600.00	=	\$707,850.03	\$73,855.58
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BELLEVILLE	\$2,072,716.00 /	217,654,500.00	=	0.009522964	Х	243,009,600.00	=	\$2,314,171.67	\$241,455.67
4. School Districts									
SCH D OF BELLEVILLE	\$2,276,041.07 /	217,654,500.00	=	0.010457128	Х	243,009,600.00	=	\$2,541,182.49	\$265,141.42
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$175,593.93 /	217,654,500.00	=	0.000806755	Х	243,009,600.00	=	\$196,049.21	\$20,455.28
6. Tax Increment Total									
	\$5,158,345.45							\$5,759,253.40	\$600,907.95

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Stephanie Walker	Title Consultant
Email stephanie.walker@claconnect.com	Phone (414) 840-4506
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.	
Do you agree with the statement above?	
XYES NO	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13106

Submission date: 12-15-2021 11:34 AM

Confirmation: TIW20210370O1639581709483

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13107

Muni Type

County

Municipality

DANE

VILLAGE

BLACK EARTH

Account No. 0371

Total Equalized TID Value Increment 3,998,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$428,070.56	/	148,009,400.00	=	0.002892185	Х	152,007,500.00	=	\$439,633.81	\$11,563.25
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BLACK EARTH	\$839,352.00	/	148,009,400.00	=	0.005670937	Х	152,007,500.00	=	\$862,024.96	\$22,672.96
4. School Districts										
SCH D OF WISCONSIN HEIGHTS (BLK EARTH)	\$1,702,150.15	/	148,009,400.00	=	0.011500284	Х	152,007,500.00	=	\$1,748,129.42	\$45,979.27
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$119,407.38	/	148,009,400.00	=	0.000806755	Х	152,007,500.00	=	\$122,632.81	\$3,225.43
6. Tax Increment Total										
	\$3,088,980.09								\$3,172,421.00	\$83,440.91

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Shellie Benish Title Administrator								
Email sbenish@blackearthwisconsin.com	Phone (608) 767-4901							
Comments								
Signature Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13107

Submission date: 11-24-2021 09:23 AM

Confirmation: TIW20210371O1637767417448

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13109 County

Muni Type

Municipality

DANE

VILLAGE

BROOKLYN

Account No. 0373

Total Equalized TID Value Increment 2,872,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$309,166.78 /	94,263,400.00	=	0.003279818	Х	97,135,400.00	=	\$318,586.43	\$9,419.65
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BROOKLYN	\$714,636.82 /	94,263,400.00	=	0.007581276	Х	97,135,400.00	=	\$736,410.28	\$21,773.46
4. School Districts									
SCH D OF OREGON	\$979,873.52 /	94,263,400.00	=	0.010395058	Х	97,135,400.00	=	\$1,009,728.12	\$29,854.60
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$76,047.50 /	94,263,400.00	=	0.000806755	Х	97,135,400.00	=	\$78,364.47	\$2,316.97
6. Tax Increment Total	6. Tax Increment Total								
	\$2,079,724.62							\$2,143,089.30	\$63,364.68

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Linda Kuhlman Title Clerk-Treasurer									
nail clerk@brooklynwi.gov Phone (608) 455-4201									
Commonts									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									
A LO LIVO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13109

Submission date: 11-23-2021 01:07 PM

Confirmation: TIW20210373O1637694434103

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 13111

County

Muni Type

Municipality

DANE

VILLAGE

CAMBRIDGE

Account No. Vi

Total Equalized TID Value Increment 4,109,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$548,334.47 /	189,591,800.00	=	0.002892185	Х	193,701,300.00	=	\$560,219.99	\$11,885.52
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CAMBRIDGE	\$1,337,069.00 /	189,591,800.00	=	0.007052357	Х	193,701,300.00	=	\$1,366,050.72	\$28,981.72
4. School Districts									
SCH D OF CAMBRIDGE	\$1,728,770.00 /	189,591,800.00	=	0.00911838	X	193,701,300.00	=	\$1,766,242.06	\$37,472.06
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$152,954.20 /	189,591,800.00	=	0.000806755	Х	193,701,300.00	=	\$156,269.49	\$3,315.29
6. Tax Increment Total									
	\$3,767,127.67							\$3,848,782.26	\$81,654.59

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name	Christin Brynwood	Title Treasurer						
Email	cbrynwood@ci.cambridge.wi.us	Phone (608) 423-3712						

Comments

Amended due to over levied Dane with Jefferson County

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13111

Submission date: 02-09-2022 11:03 AM

Confirmation: TIW20210374A1643989160126

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13112

County Muni Type DANE

VILLAGE

Municipality **COTTAGE GROVE** Account No. 0375

Total Equalized TID Value Increment 147,659,500

	0.1.4		0 / 0		0.1.0		0.1.0		0.15	0.15
	Col. A		Col. B		Col. C		Col. D	Ш.	Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$2,486,643.05	/	758,797,500.00	=	0.003277084	Χ	906,457,000.00	=	\$2,970,535.73	\$483,892.68
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00	/	747,772,491.00	=	0	Х	889,172,291.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
COTTAGE GROVE	\$4,704,987.00	/	758,797,500.00	=	0.006200583	X	906,457,000.00	=	\$5,620,561.86	\$915,574.86
4. School Districts										
SCH D OF MONONA GROVE	\$8,725,225.00	/	757,478,920.00	=	0.011518769	Х	898,878,720.00	=	\$10,353,976.33	\$1,628,751.33
SCH D OF SUN PRAIRIE AREA	\$15,312.00	/	1,318,580.00	=	0.011612492	Х	7,578,280.00	=	\$88,002.72	\$72,690.72
5. Technical College Districts										
MADISON AREA TECHNICAL COLLEGE MADN	\$612,163.94	/	758,797,500.00	=	0.000806755	Х	906,457,000.00	=	\$731,288.72	\$119,124.78
6. Tax Increment Total										
	\$16,544,330.99								\$19,764,365.36	\$3,220,034.37

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Alicia Richmond Title Finance Director								
Email arichmond@village.cottage-grove.wi.us Phone (608) 839-4704								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13112

Submission date: 11-24-2021 10:36 AM

Confirmation: TIW20210375O1637771773487

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13113 County Muni Type DANE

VILLAGE

Municipality CROSS PLAINS

Account No. 0376

Total Equalized TID Value Increment 31,135,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$1,153,452.34 /	398,817,000.00	=	0.002892184	X	429,952,900.00	=	\$1,243,502.90	\$90,050.56
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
CROSS PLAINS	\$3,219,364.00 /	398,817,000.00	=	0.008072284	Х	429,952,900.00	=	\$3,470,701.92	\$251,337.92
4. School Districts									
SCH D OF MIDDLETON-CROSS PLAINS	\$3,967,455.90 /	398,817,000.00) =	0.009948061	Х	429,952,900.00	=	\$4,277,197.68	\$309,741.78
5. Technical College Distric	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$321,747.75 /	398,817,000.00) =	0.000806755	Х	429,952,900.00	=	\$346,866.65	\$25,118.90
6. Tax Increment Total									
	\$8,662,019.99							\$9,338,269.15	\$676,249.16

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Bobbi Zauner	Name Bobbi Zauner Title Finance Director/Clerk								
Email bobbi@cross-plains.wi.	us	Phone (608) 798-3241							
_									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13113

Submission date: 12-02-2021 08:37 AM

Confirmation: TIW20210376O1637693782762

Form	
PC-202	

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13116

County DANE Muni Type

VILLAGE

Municipality DANE Account No. 0377

Total Equalized TID Value Increment 1,595,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$362,464.58	/	110,605,800.00	=	0.003277085	Х	112,201,300.00	=	\$367,693.20	\$5,228.62
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00	/	110,605,800.00	=	0	Х	112,201,300.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
DANE	\$656,256.00	/	110,605,800.00	=	0.005933287	Χ	112,201,300.00	=	\$665,722.51	\$9,466.51
4. School Districts										
SCH D OF LODI	\$1,228,830.44	/	110,605,800.00	=	0.01111	X	112,201,300.00	=	\$1,246,556.44	\$17,726.00
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$89,231.82	/	110,605,800.00	=	0.000806755	Х	112,201,300.00	=	\$90,518.96	\$1,287.14
6. Tax Increment Total										
	\$2,336,782.84								\$2,370,491.11	\$33,708.27

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
lame Teresa Hughey Groves Title Clerk Treasurer								
Email clerktreasurer@villageofdane.org Phone (608) 849-5422								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13116

Submission date: 12-02-2021 02:32 PM

Confirmation: TIW20210377O1638475269317

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13117

County Muni Type

DANE

VILLAGE

Municipality DEERFIELD Account No. 0378

Total Equalized TID Value Increment 28,406,500

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$703,373.16	/	243,197,900.00	=	0.002892184	X	271,604,400.00	=	\$785,529.90	\$82,156.74
sanitary, lake)									
e, city)									
\$1,248,997.00	/	243,197,900.00	=	0.005135723	Х	271,604,400.00	=	\$1,394,884.96	\$145,887.96
\$2,517,132.81	/	243,197,900.00	=	0.010350142	Х	271,604,400.00	=	\$2,811,144.11	\$294,011.30
ets									
\$196,201.21	/	243,197,900.00	=	0.000806755	Х	271,604,400.00	=	\$219,118.21	\$22,917.00
\$4,665,704.18								\$5,210,677.18	\$544,973.00
	\$703,373.16 \$30,373.16 \$30,000 \$1,248,997.00 \$2,517,132.81 \$196,201.21	\$703,373.16 / \$703,373.16 / \$sanitary, lake) \$2,city) \$1,248,997.00 / \$2,517,132.81 / \$2,517,132.81 /	### ### ##############################	### Equalized Value (less TID Value Increment) ### \$\frac{\\$703,373.16}{\}	Apportioned Levy / (less TID Value Increment) = Interim Rate \$703,373.16 243,197,900.00 = 0.002892184 sanitary, lake) \$2, city) \$1,248,997.00 243,197,900.00 = 0.005135723 \$2,517,132.81 243,197,900.00 = 0.010350142 sts \$196,201.21 243,197,900.00 = 0.000806755	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate X \$703,373.16 / 243,197,900.00 = 0.002892184 X \$sanitary, lake) \$1,248,997.00 / 243,197,900.00 = 0.005135723 X \$2,517,132.81 / 243,197,900.00 = 0.010350142 X \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 = 0.000806755 \$196,201.21 / 243,197,900.00 \$196,201.21 / 243,197,900.	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Elizabeth McCredie Title Administrator, Clerk/Treasurer									
Email mccredie@deerfieldwi.com	Phone (608) 764-5404								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13117

Submission date: 12-07-2021 07:33 AM

Confirmation: TIW20210378O1638292289735

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13118

County Muni Type

Municipality

DANE

VILLAGE

DEFOREST

Account No. 0379

Total Equalized TID Value Increment 296,724,200

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
pportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$3,792,632.22	/	1,285,804,800.00	=	0.002949617	Х	1,582,529,000.00	=	\$4,667,854.44	\$875,222.22
tary, lake)									
\$0.00	/	1,284,165,835.00	=	0	Х	1,580,890,035.00	=	\$0.00	\$0.00
y)									
\$8,447,924.00	/	1,285,804,800.00	=	0.006570145	Х	1,582,529,000.00	=	\$10,397,445.00	\$1,949,521.00
\$13,783,977.39	/	1,285,804,800.00	=	0.010720117	Х	1,582,529,000.00	=	\$16,964,896.04	\$3,180,918.65
\$1,037,329.91	/	1,285,804,800.00	=	0.000806755	Х	1,582,529,000.00	=	\$1,276,713.18	\$239,383.27
\$27,061,863.52								\$33,306,908.66	\$6,245,045.14
	\$0.00 \$0.00 \$13,783,977.39 \$1,037,329.91	\$3,792,632.22 / tary, lake) \$0.00 / y) \$8,447,924.00 / \$13,783,977.39 / \$1,037,329.91 /	\$3,792,632.22 / 1,285,804,800.00 tary, lake) \$0.00 / 1,284,165,835.00 y) \$8,447,924.00 / 1,285,804,800.00 \$13,783,977.39 / 1,285,804,800.00 \$1,037,329.91 / 1,285,804,800.00	\$3,792,632.22 / 1,285,804,800.00 = tary, lake) \$0.00 / 1,284,165,835.00 = ty) \$8,447,924.00 / 1,285,804,800.00 = \$13,783,977.39 / 1,285,804,800.00 = \$1,037,329.91 / 1,285,804,800.00 = \$1,03	\$3,792,632.22 / 1,285,804,800.00 = 0.002949617 tary, lake) \$0.00 / 1,284,165,835.00 = 0 9) \$8,447,924.00 / 1,285,804,800.00 = 0.006570145 \$13,783,977.39 / 1,285,804,800.00 = 0.010720117 \$1,037,329.91 / 1,285,804,800.00 = 0.000806755	\$3,792,632.22 / 1,285,804,800.00 = 0.002949617 X tary, lake) \$0.00 / 1,284,165,835.00 = 0 X \$1,3783,977.39 / 1,285,804,800.00 = 0.010720117 X \$1,037,329.91 / 1,285,804,800.00 = 0.000806755 X	\$3,792,632.22 / 1,285,804,800.00 = 0.002949617 X 1,582,529,000.00 tary, lake) \$0.00 / 1,284,165,835.00 = 0 X 1,580,890,035.00 \$8,447,924.00 / 1,285,804,800.00 = 0.006570145 X 1,582,529,000.00 \$13,783,977.39 / 1,285,804,800.00 = 0.010720117 X 1,582,529,000.00 \$1,037,329.91 / 1,285,804,800.00 = 0.000806755 X 1,582,529,000.00	\$3,792,632.22 / 1,285,804,800.00 = 0.002949617 X 1,582,529,000.00 = tary, lake) \$0.00 / 1,284,165,835.00 = 0 X 1,580,890,035.00 = tary, lake) \$8,447,924.00 / 1,285,804,800.00 = 0.006570145 X 1,582,529,000.00 = tary, lake) \$13,783,977.39 / 1,285,804,800.00 = 0.010720117 X 1,582,529,000.00 = tary, lake \$1,037,329.91 / 1,285,804,800.00 = 0.000806755 X 1,582,529,000.00 = tary, lake	Sample S

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Steven Fahlgren Title Village Administrator									
Email fahlgrens@vi.deforest.wi.us Phone (608) 846-6751									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13118

Submission date: 12-08-2021 10:06 AM

Confirmation: TIW20210379O1638979574249

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13151

County

Muni Type

County DANE

Muni Type VILLAGE

Municipality MAPLE BLUFF

Account No. 0380

Total Equalized TID Value Increment 7,929,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$1,746,522.47	532,950,200.00	=	0.003277084	X	540,879,400.00	=	\$1,772,507.23	\$25,984.76
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
MADISON METRO SEWER DISTRICT	\$0.00 /	532,950,200.00	=	0	Х	540,879,400.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)									
MAPLE BLUFF	\$3,399,567.00 /	532,950,200.00	=	0.00637877	Х	540,879,400.00	=	\$3,450,145.29	\$50,578.29
4. School Districts									
SCH D OF MADISON METROPOLITAN	\$6,073,470.44	532,950,200.00	=	0.011395944	Х	540,879,400.00	=	\$6,163,831.35	\$90,360.91
5. Technical College Distric	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$429,960.43	532,950,200.00	=	0.000806755	Х	540,879,400.00	=	\$436,357.16	\$6,396.73
6. Tax Increment Total									
	\$11,649,520.34							\$11,822,841.03	\$173,320.69

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information								
Name Sarah Danz	Title Clerk							
Email sdanz@villageofmaplebluff.com	Phone (608) 230-7651							
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13151

Submission date: 11-23-2021 12:38 PM

Confirmation: TIW20210380O1637692308390

Form
PC-202

WI Dept of Revenue

Report Type **AMENDED** Co-muni Code 13152

County DANE Muni Type

VILLAGE

Municipality MARSHALL Account No. 0381

Total Equalized TID Value Increment 4,016,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$755,840.87	/	261,339,100.00	=	0.002892184	Х	265,355,800.00	=	\$767,457.80	\$11,616.93
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
MARSHALL	\$1,811,642.00	/	261,339,100.00	=	0.006932151	Х	265,355,800.00	=	\$1,839,486.47	\$27,844.47
4. School Districts										
SCH D OF MARSHALL	\$2,126,119.00	/	261,339,100.00	=	0.00813548	Х	265,355,800.00	=	\$2,158,796.80	\$32,677.80
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$210,836.72	/	261,339,100.00	=	0.000806755	Х	265,355,800.00	=	\$214,077.12	\$3,240.40
6. Tax Increment Total										
	\$4,904,438.59								\$4,979,818.19	\$75,379.60

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Prepa	rer Information						
Name	Judy Weter	Title Admin					
Email	jweter@marshall-wi.com	Phone (608) 655-4017					
Comn	nents						
Signa	ture Statement						
Under	Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
	Do you agree with the statement above?						
	Do you agree will the diatement above.						
	X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13152

Submission date: 12-02-2021 01:52 PM

Confirmation: TIW20210381A1638474264439

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13153

County Muni Type

Municipality

DANE

VILLAGE

MAZOMANIE

Total Equalized TID Value Increment Account No. 0382 24,983,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$519,887.75	/	179,756,100.00	=	0.002892184	Х	204,739,900.00	=	\$592,145.46	\$72,257.71
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
MAZOMANIE	\$1,162,044.95	/	179,756,100.00	=	0.006464565	Х	204,739,900.00	=	\$1,323,554.39	\$161,509.44
4. School Districts										
SCH D OF WISCONSIN HEIGHTS (BLK EARTH)	\$2,067,246.22	/	179,756,100.00	=	0.011500284	Х	204,739,900.00	=	\$2,354,567.00	\$287,320.78
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$145,019.20	/	179,756,100.00	=	0.000806755	Х	204,739,900.00	=	\$165,174.94	\$20,155.74
6. Tax Increment Total										
	\$3,894,198.12								\$4,435,441.79	\$541,243.67

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Angie Volkman	Title Clerk/Treasurer					
Email avolkman@villageofmazomanie.com	Phone (608) 795-2100					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13153

Submission date: 12-02-2021 08:58 AM

Confirmation: TIW20210382O1637700483893

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13154 County

Muni Type

DANE

VILLAGE

Municipality MCFARLAND

Account No. 0383

Total Equalized TID Value Increment 62,653,100

,	Equalized Value (less TID Value				E			
	Increment)	_	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
) /	1,154,786,500.00	=	0.002894026	X	1,217,439,600.00	=	\$3,523,301.86	\$181,320.27
2. Special Districts (metro, sanitary, lake)								
) /	1,138,278,642.00	=	0	Х	1,200,931,742.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)								
) /	1,154,786,500.00	=	0.006035531	Χ	1,217,439,600.00	=	\$7,347,894.45	\$378,144.45
) /	1,154,786,500.00	=	0.010518015	Х	1,217,439,600.00	=	\$12,805,047.97	\$658,985.97
) /	1,154,786,500.00	=	0.000806755	Х	1,217,439,600.00	=	\$982,175.48	\$50,545.29
3							\$24,658,419.76	\$1,268,995.98
	9 / 0 / 0 / 9 / 8	0 / 1,138,278,642.00 0 / 1,154,786,500.00 0 / 1,154,786,500.00 9 / 1,154,786,500.00	0 / 1,138,278,642.00 = 0 / 1,154,786,500.00 = 0 / 1,154,786,500.00 =	0 / 1,138,278,642.00 = 0 0 / 1,154,786,500.00 = 0.006035531 0 / 1,154,786,500.00 = 0.010518015 9 / 1,154,786,500.00 = 0.000806755	0 / 1,138,278,642.00 = 0.006035531 X 0 / 1,154,786,500.00 = 0.010518015 X 9 / 1,154,786,500.00 = 0.000806755 X	0 / 1,138,278,642.00 = 0.006035531 X 1,217,439,600.00 0 / 1,154,786,500.00 = 0.010518015 X 1,217,439,600.00 9 / 1,154,786,500.00 = 0.000806755 X 1,217,439,600.00	0 / 1,138,278,642.00 = 0.006035531 X 1,217,439,600.00 = 0.010518015 X 1,217,439,600.00 = 0.010518015 X 1,217,439,600.00 = 0.010518015 X 1,217,439,600.00 = 0.000806755 X 1,217,439,600.00 =	0 / 1,138,278,642.00 = 0.006035531 X 1,217,439,600.00 = \$7,347,894.45 0 / 1,154,786,500.00 = 0.010518015 X 1,217,439,600.00 = \$12,805,047.97 9 / 1,154,786,500.00 = 0.000806755 X 1,217,439,600.00 = \$982,175.48

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Jennifer Haried	Title Accountant/Deputy Treasurer					
Email jennifer.haried@mcfarland.wi.us	Phone (608) 838-3153					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
Do you agree with the statement above:						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13154

Submission date: 12-01-2021 01:13 PM

Confirmation: TIW20210383O1637694159547

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13157

County

Muni Type

Municipality

DANE

VILLAGE

MOUNT HOREB

Account No. 0384

Total Equalized TID Value Increment 83,938,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$2,396,039.65	/	828,453,300.00	=	0.002892184	Х	912,391,800.00	=	\$2,638,804.97	\$242,765.32
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
MOUNT HOREB	\$5,416,182.00	/	828,453,300.00	=	0.006537703	Х	912,391,800.00	=	\$5,964,946.61	\$548,764.61
4. School Districts										
SCH D OF MOUNT HOREB AREA	\$6,912,863.64	/	828,453,300.00	=	0.008344301	Х	912,391,800.00	=	\$7,613,271.81	\$700,408.17
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$668,359.14	/	828,453,300.00	=	0.000806755	Х	912,391,800.00	=	\$736,076.65	\$67,717.51
6. Tax Increment Total										
	\$15,393,444.43								\$16,953,100.04	\$1,559,655.61

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Amy Hall	Title Treasurer / Deputy Administrator						
Email amy.hall@mounthorebwi.info	Phone (608) 437-9406						
Comments							
Signatura Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13157

Submission date: 11-23-2021 12:49 PM

Confirmation: TIW20210384O1637693379035

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13165 County

Muni Type

Municipality

DANE VILLAGE

OREGON

Account No. 0385

Total Equalized TID Value Increment 33,308,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	′	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$3,986,787.48 /	/	1,378,469,300.00	=	0.002892184	X	1,411,777,900.00	=	\$4,083,121.45	\$96,333.97
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
OREGON	\$7,630,024.00 /	/	1,378,469,300.00	=	0.005535142	Χ	1,411,777,900.00	=	\$7,814,391.15	\$184,367.15
4. School Districts										
SCH D OF OREGON	\$14,329,268.50 /	/	1,378,469,300.00	=	0.010395058	X	1,411,777,900.00	=	\$14,675,513.15	\$346,244.65
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$1,112,087.49 /	/	1,378,469,300.00	=	0.000806755	Х	1,411,777,900.00	=	\$1,138,958.88	\$26,871.39
6. Tax Increment Total										
	\$27,058,167.47								\$27,711,984.63	\$653,817.16

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Lisa Novinska	Title Finance Director/Treasurer
Email Inovinska@vil.oregon.wi.us	Phone (608) 835-6281
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.
Do you agree with t	he statement above?
XYES	SNO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13165

Submission date: 11-23-2021 01:21 PM

Confirmation: TIW20210385O1637694533050

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13181 County [

Muni Type

DANE

VILLAGE

Municipality SHOREWOOD HILLS

Account No. 0387

Total Equalized TID Value Increment 74,039,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$1,961,484.18	/	598,545,600.00	=	0.003277084	Х	672,585,400.00	=	\$2,204,118.85	\$242,634.67
2. Special Districts (metro, sanitary, lake)										
MADISON METRO SEWER DISTRICT	\$0.00	/	598,545,600.00	=	0	Х	672,585,400.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)										
SHOREWOOD HILLS	\$2,955,256.00	/	598,545,600.00	=	0.004937395	Х	672,585,400.00	=	\$3,320,819.79	\$365,563.79
4. School Districts										
SCH D OF MADISON METROPOLITAN	\$6,820,991.92	/	598,545,600.00	=	0.011395944	Х	672,585,400.00	=	\$7,664,745.55	\$843,753.63
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$482,879.87	/	598,545,600.00	=	0.000806755	Х	672,585,400.00	=	\$542,611.63	\$59,731.76
6. Tax Increment Total										
	\$12,220,611.97								\$13,732,295.82	\$1,511,683.85

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Karla Endres	Title Village Clerk						
Email kendres@shorewood-hills.org	Phone (608) 267-2680						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13181

Submission date: 11-24-2021 11:13 AM

Confirmation: TIW20210387O1637772264575

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13191 County

Muni Type

DANE

VILLAGE

Municipality WAUNAKEE

Account No. 0388

Total Equalized TID Value Increment 202,117,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$6,087,487.47 /	2,104,806,100.00	=	0.002892184	Х	2,306,924,000.00	=	\$6,672,048.68	\$584,561.21
2. Special Districts (metro,	sanitary, lake)								
MADISON METRO SEWER DISTRICT	\$0.00 /	2,100,503,259.00	=	0	Х	2,302,621,159.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)								
WAUNAKEE	\$11,951,892.00 /	2,104,806,100.00	=	0.005678381	Х	2,306,924,000.00	=	\$13,099,593.41	\$1,147,701.41
4. School Districts									
SCH D OF WAUNAKEE COMMUNITY	\$22,922,287.36 /	2,104,806,100.00	=	0.010890451	Х	2,306,924,000.00	=	\$25,123,442.78	\$2,201,155.42
5. Technical College Districts									
MADISON AREA TECHNICAL COLLEGE MADN	\$1,698,063.59 /	2,104,806,100.00	=	0.000806755	Х	2,306,924,000.00	=	\$1,861,122.47	\$163,058.88
6. Tax Increment Total									
	\$42,659,730.42							\$46,756,207.34	\$4,096,476.92

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Renee Meinholz	Title Finance Director						
Email rmeinholz@waunakee.com	Phone (608) 850-6622						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13191

Submission date: 12-01-2021 03:59 PM

Confirmation: TIW20210388O1638280601300

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13196 County D

Muni Type V

DANE VILLAGE

Municipality WINDSOR

Account No. 0368

Total Equalized TID Value Increment 23,858,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$3,623,856.51 /	/	1,105,817,400.00	=	0.003277084	Χ	1,129,675,800.00	=	\$3,702,042.49	\$78,185.98
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00 /	/	640,064,560.00	=	0	Х	663,922,960.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
WINDSOR	\$4,553,881.00 /	/	1,105,817,400.00	=	0.004118113	Х	1,129,675,800.00	=	\$4,652,132.60	\$98,251.60
4. School Districts										
SCH D OF DEFOREST AREA	\$11,650,613.21 /	/	1,086,799,113.00	=	0.010720117	Х	1,110,657,513.00	=	\$11,906,378.49	\$255,765.28
5. Technical College Distric	5. Technical College Districts									
MADISON AREA TECHNICAL COLLEGE MADN	\$892,124.11 /	/	1,105,817,400.00	=	0.000806755	Х	1,129,675,800.00	=	\$911,371.60	\$19,247.49
6. Tax Increment Total										
	\$20,720,474.83								\$21,171,925.18	\$451,450.35

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Sindy Schwenn	Title Treasurer						
Email sindy@windsorwi.gov	Phone (608) 332-3530						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13196

Submission date: 11-29-2021 09:36 AM

Confirmation: TIW20210368O1638200034617

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13225 County DANE

Muni Type CITY

Muni Type CITY

Municipality FITCHBURG

Account No. 0389

Total Equalized TID Value Increment 571,447,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$10,206,218.60	/	3,528,896,200.00	=	0.002892184	Х	4,100,343,800.00	=	\$11,858,948.73	\$1,652,730.13
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00	/	3,363,260,129.00	=	0	Х	3,934,707,729.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
FITCHBURG	\$26,952,842.00	/	3,528,896,200.00	=	0.007637754	Х	4,100,343,800.00	=	\$31,317,417.26	\$4,364,575.26
4. School Districts										
SCH D OF MADISON METROPOLITAN	\$18,442,131.60	/	1,618,306,671.00	=	0.011395944	Х	1,832,324,371.00	=	\$20,881,065.92	\$2,438,934.32
SCH D OF OREGON	\$6,037,255.84	/	580,781,345.00	=	0.010395058	X	720,969,945.00	=	\$7,494,524.39	\$1,457,268.55
SCH D OF VERONA AREA	\$16,808,775.00	/	1,329,808,184.00	=	0.01264	X	1,547,049,484.00	=	\$19,554,705.48	\$2,745,930.48
5. Technical College Districts										
MADISON AREA TECHNICAL COLLEGE MADN	\$2,846,955.91	/	3,528,896,200.00	=	0.000806755	Х	4,100,343,800.00	=	\$3,307,972.86	\$461,016.95
6. Tax Increment Total										
	\$81,294,178.95								\$94,414,634.64	\$13,120,455.69

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name	Misty Dodge	Title Finance Director/Treasurer				
Email	misty.dodge@fitchburgwi.gov	Phone (608) 270-4252				

Comments

MATC varies from certification received from them by 1 cent (see attached)

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13225

Submission date: 11-23-2021 12:44 PM

Confirmation: TIW20210389O1637693088118

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13251

County Muni Type

Municipality

DANE

CITY MADISON Account No. 0390

Total Equalized TID Value Increment 1,589,496,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$83,949,321.27	/	31,350,871,500.00	=	0.002677735	Χ	32,940,368,400.00	=	\$88,205,577.38	\$4,256,256.11
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00	/	31,348,907,100.00	=	0	Х	32,938,404,000.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
MADISON	\$259,044,042.00	/	31,350,871,500.00	=	0.008262738	Х	32,940,368,400.00	=	\$272,177,633.71	\$13,133,591.71
4. School Districts										
SCH D OF MADISON METROPOLITAN	\$318,605,575.24	/	27,957,805,482.00	=	0.011395944	Х	29,447,574,082.00	=	\$335,582,905.17	\$16,977,329.93
SCH D OF MIDDLETON-CROSS PLAINS	\$17,301,679.79	/	1,739,201,191.00	=	0.009948061	X	1,821,641,191.00	=	\$18,121,797.69	\$820,117.90
SCH D OF VERONA AREA	\$2,370,737.00	/	187,558,327.00	=	0.012639999	X	204,846,627.00	=	\$2,589,261.16	\$218,524.16
5. Technical College Distric	ots									
MADISON AREA TECHNICAL COLLEGE MADN	\$25,292,483.36	/	31,350,871,500.00	=	0.000806755	Х	32,940,368,400.00	=	\$26,574,806.91	\$1,282,323.55
6. Tax Increment Total										
	\$706,563,838.66								\$743,251,982.02	\$36,688,143.36

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Randy Whitehead	Title Principal Accountant						
Email rwhitehead@cityofmadison.com	Phone (608) 266-4293						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13251

Submission date: 12-02-2021 11:20 AM

Confirmation: TIW20210390O1637695028098

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13255 County DA

Muni Type CI

Municipality

DANE CITY

MIDDLETON

Account No. 0391

Total Equalized TID Value Increment 670,458,400

	Col A	Col. B		Col.C		Col. D		Col. E	Col F
Taxing Jurisdiction	Col. A Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Col. C Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. F Col. E - A = Tax Increment
1. County									
DANE	\$10,391,660.76 /	3,592,856,700.00	=	0.002892312	Х	4,263,315,100.00	=	\$12,330,837.42	\$1,939,176.66
2. Special Districts (metro,	sanitary, lake)								
MADISON METRO SEWER DISTRICT	\$0.00 /	3,591,756,567.00	=	0	Х	4,262,214,967.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)								
MIDDLETON	\$19,292,426.00 /	3,592,856,700.00	=	0.005369662	Х	4,263,315,100.00	=	\$22,892,561.09	\$3,600,135.09
4. School Districts									
SCH D OF MIDDLETON-CROSS PLAINS	\$34,229,865.10 /	3,440,857,933.00	=	0.009948061	Х	4,111,316,333.00	=	\$40,899,625.67	\$6,669,760.57
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$2,898,556.37 /	3,592,856,700.00	=	0.000806755	Х	4,263,315,100.00	=	\$3,439,450.77	\$540,894.40
6. Tax Increment Total									
	\$66,812,508.23							\$79,562,474.95	\$12,749,966.72

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Bill Burns	Title Assistant City Administrator/Finance Director						
Email bburns@ci.middleton.wi.us	Phone (608) 821-8356						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13255

Submission date: 11-23-2021 12:51 PM

Confirmation: TIW20210391O1637693482614

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13258 County

Muni Type

Municipality

DANE CITY

CITY MONONA Account No. 0392

Total Equalized TID Value Increment 131,718,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$4,152,515.08 /	/	1,406,986,800.00	=	0.002951353	Χ	1,538,704,800.00	=	\$4,541,261.03	\$388,745.95
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00 /	/	1,406,986,800.00	=	0	Х	1,538,704,800.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
MONONA	\$9,032,152.69 /	/	1,406,986,800.00	=	0.006419501	Х	1,538,704,800.00	=	\$9,877,717.00	\$845,564.31
4. School Districts										
SCH D OF MONONA GROVE	\$16,198,457.00 /	/	1,406,266,295.00	=	0.011518769	Х	1,537,984,295.00	=	\$17,715,685.82	\$1,517,228.82
5. Technical College Distric	ots									
MADISON AREA TECHNICAL COLLEGE MADN	\$1,135,094.14 /	/	1,406,986,800.00	=	0.000806755	Х	1,538,704,800.00	=	\$1,241,357.79	\$106,263.65
6. Tax Increment Total										
	\$30,518,218.91								\$33,376,021.64	\$2,857,802.73

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Marc Houtakker	Title Finance Director						
Email mhoutakker@ci.monona.wi.us	Phone (608) 222-2525						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13258

Submission date: 12-03-2021 10:39 AM

Confirmation: TIW20210392O1638549547391

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13281

County Muni Type

Municipality

DANE

CITY STOUGHTON Account No. 0393

Total Equalized TID Value Increment 54,964,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$3,720,257.09 /	1,286,313,900.00	=	0.002892184	Х	1,341,278,100.00	=	\$3,879,223.06	\$158,965.97
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
STOUGHTON	\$9,911,584.00 /	1,286,313,900.00	=	0.007705416	Х	1,341,278,100.00	=	\$10,335,105.73	\$423,521.73
4. School Districts									
SCH D OF STOUGHTON AREA	\$11,882,735.56 /	1,286,313,900.00	=	0.009237819	Х	1,341,278,100.00	=	\$12,390,484.32	\$507,748.76
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$1,037,740.63 /	1,286,313,900.00	=	0.000806755	Х	1,341,278,100.00	=	\$1,082,082.81	\$44,342.18
6. Tax Increment Total									
	\$26,552,317.28							\$27,686,895.92	\$1,134,578.64

Form	
PC-202	

WI Dept of Revenue

Preparer Information									
Name Lisa Aide	Title Treasurer								
Email laide@ci.stoughton.wi.us	Phone (608) 646-0404								
Comments									
Cimpotore Ctatomont									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13281

Submission date: 11-30-2021 12:51 PM

Confirmation: TIW20210393O1638223504756

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 13282

County Muni Type

Municipality

DANE

CITY **SUN PRAIRIE** Account No. 0394

Total Equalized TID Value Increment 280,024,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DANE	\$11,271,640.48 /	3,896,106,100.00	=	0.002893053	Х	4,176,130,900.00	=	\$12,081,768.03	\$810,127.55
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SUN PRAIRIE	\$26,576,336.00 /	3,896,106,100.00	=	0.006821256	Х	4,176,130,900.00	=	\$28,486,457.96	\$1,910,121.96
4. School Districts									
SCH D OF SUN PRAIRIE AREA	\$45,198,805.00 /	3,892,271,187.00	=	0.01161245	Х	4,172,295,987.00	=	\$48,450,578.53	\$3,251,773.53
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$3,143,204.45 /	3,896,106,100.00	=	0.000806755	Х	4,176,130,900.00	=	\$3,369,114.48	\$225,910.03
6. Tax Increment Total									
	\$86,189,985.93							\$92,387,919.00	\$6,197,933.07

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Kristin Vander Kooi	Title Finance Director								
Email kvanderkooi@cityofsunprairie.com	Phone (608) 825-1173								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13282

Submission date: 11-30-2021 05:55 PM

Confirmation: TIW20210394O1638316509643

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 13286 County DA

Muni Type Cl

Municipality

DANE CITY

VERONA

Account No. 0395

Total Equalized TID Value Increment 142,489,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DANE	\$8,850,337.76	/	3,057,478,500.00	=	0.002894652	Х	3,199,968,100.00	=	\$9,262,794.06	\$412,456.30
2. Special Districts (metro,	sanitary, lake)									
MADISON METRO SEWER DISTRICT	\$0.00 /	/	3,044,030,848.00	=	0	Х	3,186,655,348.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
VERONA	\$14,432,043.00 /	/	3,057,478,500.00	=	0.004720243	Х	3,199,968,100.00	=	\$15,104,627.02	\$672,584.02
4. School Districts										
SCH D OF VERONA AREA	\$38,646,529.00 /	/	3,057,478,500.00	=	0.01264	Х	3,199,968,100.00	=	\$40,447,596.78	\$1,801,067.78
5. Technical College District	ots									
MADISON AREA TECHNICAL COLLEGE MADN	\$2,466,637.15 /	/	3,057,478,500.00	=	0.000806755	Х	3,199,968,100.00	=	\$2,581,590.26	\$114,953.11
6. Tax Increment Total										
	\$64,395,546.91								\$67,396,608.12	\$3,001,061.21

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Brian Lamers	Title Finance Director								
Email brian.lamers@ci.verona.wi.us	Phone (608) 848-9949								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES	5 NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 13286

Submission date: 11-23-2021 12:07 PM

Confirmation: TIW20210395O1637690862055

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 14136

County Muni Type

Municipality

DODGE

VILLAGE

HUSTISFORD

Account No. 0423

Total Equalized TID Value Increment 1,893,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$400,552.65	/	87,049,815.00	=	0.004601419	Х	88,942,815.00	=	\$409,263.16	\$8,710.51
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
HUSTISFORD	\$703,838.00	/	87,049,815.00	=	0.008085462	Χ	88,942,815.00	=	\$719,143.75	\$15,305.75
4. School Districts										
SCH D OF HUSTISFORD	\$692,153.00	/	87,049,815.00	=	0.007951229	X	88,942,815.00	=	\$707,204.69	\$15,051.69
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$46,752.91	/	87,049,815.00	=	0.000537082	Х	88,942,815.00	=	\$47,769.58	\$1,016.67
6. Tax Increment Total										
	\$1,843,296.56								\$1,883,381.18	\$40,084.62

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Kim Hopfinger	Title VILLAGE CLERK TREASURER								
Email khopfinger@hustisford.com	Phone (920) 349-3188								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14136

Submission date: 12-07-2021 10:31 AM

Confirmation: TIW20210423O1638894666693

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 14146

County DODGE Muni Type

Municipality

VILLAGE

LOMIRA

Total Equalized TID Value Increment Account No. 0426 25,640,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$768,946.31	/	167,110,700.00	=	0.004601419	Х	192,751,100.00	=	\$886,928.57	\$117,982.26
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
LOMIRA	\$997,484.00	/	167,110,700.00	=	0.005969001	Х	192,751,100.00	=	\$1,150,531.51	\$153,047.51
4. School Districts										
SCH D OF LOMIRA	\$1,521,996.00	/	167,110,700.00	=	0.009107711	Χ	192,751,100.00	=	\$1,755,521.31	\$233,525.31
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$89,752.18	/	167,110,700.00	=	0.000537082	Х	192,751,100.00	=	\$103,523.15	\$13,770.97
6. Tax Increment Total										
	\$3,378,178.49								\$3,896,504.54	\$518,326.05

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information								
Name JENNA RHEIN	Title Clerk-Treasurer							
Email jrhein@villageoflomira.com Phone (920) 269-4112								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14146

Submission date: 11-23-2021 01:00 PM

Confirmation: TIW20210426O1637694035415

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 14177

County

Muni Type

County DODGE

Muni Type VILLAGE

Municipality REESEVILLE

Account No. 0430

Total Equalized TID Value Increment 8,767,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$166,018.73	/	36,079,900.00	=	0.004601419	Х	44,847,800.00	=	\$206,363.52	\$40,344.79
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
REESEVILLE	\$176,000.00	/	36,079,900.00	=	0.004878062	Х	44,847,800.00	=	\$218,770.35	\$42,770.35
4. School Districts										
SCH D OF DODGELAND (JUNEAU)	\$336,526.96	/	36,079,900.00	=	0.00932727	X	44,847,800.00	=	\$418,307.54	\$81,780.58
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$19,377.87	/	36,079,900.00	=	0.000537082	Х	44,847,800.00	=	\$24,086.95	\$4,709.08
6. Tax Increment Total										
	\$697,923.56								\$867,528.36	\$169,604.80

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Christine Abell	Title Clerk-Treasurer							
Email reesevilleclerk@gmail.com	Phone (608) 575-3097							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14177

Submission date: 11-24-2021 10:41 AM

Confirmation: TIW20210430O1637772050688

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 14206 County

Muni Type

DODGE

CITY

Municipality BEAVER DAM

Account No. 0432

Total Equalized TID Value Increment 50,743,400

	Cal A		Col. B		0-1.0		Col. D		Col. E	Oal F
	Col. A	<u> </u>	~ * =		Col. C		~ * * * =		* * =	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$6,163,730.69	/	1,339,528,300.00	=	0.004601419	Х	1,390,271,700.00	=	\$6,397,222.62	\$233,491.93
2. Special Districts (metro,	sanitary, lake)									
BEAVER DAM LAKE DISTRICT	\$0.00	/	60,666,221.00	=	0	Х	60,809,021.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
BEAVER DAM	\$12,407,491.00	/	1,339,528,300.00	=	0.009262582	Х	1,390,271,700.00	=	\$12,877,505.62	\$470,014.62
4. School Districts										
SCH D OF BEAVER DAM	\$11,108,051.00	/	1,339,528,300.00	=	0.008292509	Х	1,390,271,700.00	=	\$11,528,840.58	\$420,789.58
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$719,436.81	/	1,339,528,300.00	=	0.000537082	Х	1,390,271,700.00	=	\$746,689.91	\$27,253.10
6. Tax Increment Total										
	\$30,398,709.50								\$31,550,258.73	\$1,151,549.23

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information						
Name Kayla Larson	Title Deputy Finance Manager					
Email klarson@cityofbeaverdam.com Phone (920) 356-2540						
Comments						
Olympatry Otatamant						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14206

Submission date: 11-23-2021 02:54 PM

Confirmation: TIW20210432O1637700843327

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 14226 County

Muni Type

Municipality

DODGE

FOX LAKE

Account No. 0434

Total Equalized TID Value Increment 13,673,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$429,478.02	/	93,336,000.00	=	0.004601419	X	107,009,800.00	=	\$492,396.93	\$62,918.91
2. Special Districts (metro,	sanitary, lake)									
FOX LAKE PROT & REHAB DISTRICT	\$855.95	/	1,429,518.00	=	0.000598768	X	3,107,718.00	=	\$1,860.80	\$1,004.85
3. Tax District (town, villag	e, city)									
FOX LAKE	\$855,167.00	/	93,336,000.00	=	0.009162242	Х	107,009,800.00	=	\$980,449.68	\$125,282.68
4. School Districts										
SCH D OF WAUPUN	\$712,285.00	/	93,336,000.00	=	0.007631407	X	107,009,800.00	=	\$816,635.34	\$104,350.34
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$50,129.10	/	93,336,000.00	=	0.000537082	Х	107,009,800.00	=	\$57,473.04	\$7,343.94
6. Tax Increment Total										
	\$2,047,915.07								\$2,348,815.79	\$300,900.72

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Krystal McCauley	Title Treasurer					
Email citytreasurer@cityoffoxlake.org Phone (920) 928-2280						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14226

Submission date: 11-23-2021 02:43 PM

Confirmation: TIW20210434O1637698180500

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 14230

County DODGE Muni Type

Municipality

CITY

HARTFORD

Account No. 0435

Total Equalized TID Value Increment 13,600,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	<u> </u>	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$262,550.51	/	57,058,600.00	=	0.004601419	Х	70,658,800.00	=	\$325,130.74	\$62,580.23
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
HARTFORD	\$294,559.14	/	57,058,600.00	=	0.005162397	Х	70,658,800.00	=	\$364,768.78	\$70,209.64
4. School Districts										
UHS D OF HARTFORD UNION HIGH	\$143,865.15	/	57,058,600.00	=	0.002521358	Х	70,658,800.00	=	\$178,156.13	\$34,290.98
SCH D OF HARTFORD J 1	\$171,581.85	/	32,363,517.00	=	0.005301706	Х	45,963,717.00	=	\$243,686.11	\$72,104.26
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$30,645.16	/	57,058,600.00	=	0.000537082	Х	70,658,800.00	=	\$37,949.57	\$7,304.41
6. Tax Increment Total										
	\$903,201.81								\$1,149,691.33	\$246,489.52

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Lori Hetzel	Title City Clerk						
Email lorihetzel@hartford.wi.gov	Phone (262) 673-8201						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14230

Submission date: 11-23-2021 02:54 PM

Confirmation: TIW20210435O1637700862604

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 14236 County

Muni Type

Municipality

DODGE CITY

HORICON

Account No. 0436

Total Equalized TID Value Increment 41,375,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DODGE	\$1,168,947.66 /	254,040,700.00	=	0.004601419	Х	295,416,000.00	=	\$1,359,332.80	\$190,385.14
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HORICON	\$2,483,856.00 /	254,040,700.00	=	0.009777394	Х	295,416,000.00	=	\$2,888,398.63	\$404,542.63
4. School Districts									
SCH D OF HORICON	\$2,342,218.66 /	254,040,700.00	=	0.009219856	X	295,416,000.00	=	\$2,723,692.98	\$381,474.32
5. Technical College Distriction	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$136,440.74 /	254,040,700.00	=	0.000537082	Х	295,416,000.00	=	\$158,662.62	\$22,221.88
6. Tax Increment Total									
	\$6,131,463.06							\$7,130,087.03	\$998,623.97

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Kristen Jacobson	Title Clerk-Treasurer						
Email kjacobson@cityhoriconwi.us	Phone (920) 485-3500						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14236

Submission date: 11-30-2021 03:47 PM

Confirmation: TIW20210436O1638308871040

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 14241 County DODGE

Muni Type CITY

JUNEAU

Municipality

Υ

Account No. Total Equalized TID Value Increment 3,236,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$596,504.01	/	129,634,800.00	=	0.004601419	Х	132,871,300.00	=	\$611,396.52	\$14,892.51
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
JUNEAU	\$1,133,934.00	/	129,634,800.00	=	0.008747142	Х	132,871,300.00	=	\$1,162,244.13	\$28,310.13
4. School Districts										
SCH D OF DODGELAND (JUNEAU)	\$1,209,138.77	/	129,634,800.00	=	0.00932727	Х	132,871,300.00	=	\$1,239,326.49	\$30,187.72
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$69,624.54	/	129,634,800.00	=	0.000537082	Х	132,871,300.00	=	\$71,362.78	\$1,738.24
6. Tax Increment Total										
	\$3,009,201.32								\$3,084,329.92	\$75,128.60

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Shawn Hart	Title Clerk/Treasurer						
Email shart@cityofjuneau.net	Phone (920) 386-4800						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14241

Submission date: 11-23-2021 12:43 PM

Confirmation: TIW20210437O1637692115514

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 14251

County Muni Type

Municipality

DODGE

CITY

MAYVILLE

Account No. 0438

Total Equalized TID Value Increment 4,780,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DODGE	\$1,858,207.98	/	403,833,700.00	=	0.004601419	X	408,614,300.00	=	\$1,880,205.60	\$21,997.62
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
MAYVILLE	\$2,598,097.00	/	403,833,700.00	=	0.006433581	Х	408,614,300.00	=	\$2,628,853.20	\$30,756.20
4. School Districts										
SCH D OF MAYVILLE	\$3,762,456.00	/	403,833,700.00	=	0.009316845	X	408,614,300.00	=	\$3,806,996.10	\$44,540.10
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$216,891.89	/	403,833,700.00	=	0.000537082	Х	408,614,300.00	=	\$219,459.39	\$2,567.50
6. Tax Increment Total										
	\$8,435,652.87								\$8,535,514.29	\$99,861.42

F	= 0	r	m	1
Р	C.	.2	'n	2

WI Dept of Revenue

Preparer Information									
Name Sara Decker	Title City Clerk								
Email sdecker@mayvillecity.com	Phone (920) 387-7900								
Comments									
Signatura Statement	Oime of the Control o								
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14251

Submission date: 11-24-2021 11:16 AM

Confirmation: TIW20210438O1637774135536

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 14292 County

Muni Type

Municipality

DODGE

CITY WAUPUN Account No. 0440

Total Equalized TID Value Increment 33,526,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DODGE	\$1,169,548.55 /	254,171,300.00	=	0.004601419	Х	287,697,400.00	=	\$1,323,816.28	\$154,267.73
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WAUPUN	\$1,770,058.94 /	254,171,300.00	=	0.006964039	Х	287,697,400.00	=	\$2,003,535.91	\$233,476.97
4. School Districts									
SCH D OF WAUPUN	\$1,939,685.00 /	254,171,300.00	=	0.007631408	Х	287,697,400.00	=	\$2,195,536.24	\$255,851.24
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$136,510.88 /	254,171,300.00	=	0.000537082	Х	287,697,400.00	=	\$154,517.09	\$18,006.21
6. Tax Increment Total									
	\$5,015,803.37							\$5,677,405.52	\$661,602.15

F	= 0	r	m	1
Р	C.	.2	'n	2

WI Dept of Revenue

Prepa	Preparer Information								
Name	ANGELA J HULL	Title Clerk							
Email	angie@cityofwaupun.org	Phone (920) 324-7915							
Com	ments								
	-								
Signa	ature Statement								
Unde	Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
	Do you agree with the statement above?								
	X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 14292

Submission date: 11-24-2021 09:09 AM

Confirmation: TIW20210440O1637701520125

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 15181 County

Muni Type

Municipality

DOOR

VILLAGE

SISTER BAY

Account No. 0459

Total Equalized TID Value Increment 61,917,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DOOR	\$1,597,915.94 /	448,230,700.00	=	0.003564941	Х	510,148,300.00	=	\$1,818,648.59	\$220,732.65
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SISTER BAY	\$2,841,673.20 /	448,230,700.00	=	0.006339756	Х	510,148,300.00	=	\$3,234,215.75	\$392,542.55
4. School Districts									
SCH D OF GIBRALTAR AREA	\$1,532,756.10 /	448,230,700.00	=	0.00341957	Х	510,148,300.00	=	\$1,744,487.82	\$211,731.72
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$330,966.49 /	448,230,700.00	=	0.000738384	Х	510,148,300.00	=	\$376,685.34	\$45,718.85
6. Tax Increment Total									
	\$6,303,311.73							\$7,174,037.50	\$870,725.77

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information								
Name Tasha Rass	Title Finance Director/Treasurer								
Email tasha.rass@sisterbaywi.gov	Phone (920) 854-4118								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 15181

Submission date: 11-23-2021 01:22 PM

Confirmation: TIW20210459O1637695354296

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 15281 County

Muni Type

Municipality

DOOR

CITY

STURGEON BAY

Account No. 0460

Total Equalized TID Value Increment 86,464,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DOOR	\$3,359,256.63 /	943,189,600.00	=	0.003561592	Х	1,029,653,800.00	=	\$3,667,206.74	\$307,950.11
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
STURGEON BAY	\$7,333,310.00 /	943,189,600.00	=	0.007775012	Х	1,029,653,800.00	=	\$8,005,570.65	\$672,260.65
4. School Districts									
SCH D OF STURGEON BAY	\$9,125,039.00 /	853,512,299.00	=	0.010691163	Х	939,976,499.00	=	\$10,049,441.97	\$924,402.97
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$696,436.36 /	943,189,600.00	=	0.000738384	Х	1,029,653,800.00	=	\$760,279.89	\$63,843.53
6. Tax Increment Total									
	\$20,514,041.99							\$22,482,499.25	\$1,968,457.26

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Valerie Clarizio	Title Finance Director
Email vclarizio@sturgeonbaywi.org	Phone (920) 746-2901
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.	
Do you agree with the statement above?	
X YES NO	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 15281

Submission date: 11-23-2021 12:43 PM

Confirmation: TIW20210460O1637693016454

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 16181 County

DOUGLAS

Muni Type VILLAGE

Municipality SOLON SPRINGS

Account No. 0481

Total Equalized TID Value Increment 4,317,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DOUGLAS	\$252,850.79 /	55,528,100.00	=	0.004553565	Х	59,845,300.00	=	\$272,509.46	\$19,658.67
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SOLON SPRINGS	\$237,752.00 /	55,528,100.00	=	0.004281652	Х	59,845,300.00	=	\$256,236.75	\$18,484.75
4. School Districts									
SCH D OF SOLON SPRINGS	\$486,410.42 /	55,528,100.00	=	0.008759717	Х	59,845,300.00	=	\$524,227.89	\$37,817.47
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$17,822.03 /	55,528,100.00	=	0.000320955	Х	59,845,300.00	=	\$19,207.65	\$1,385.62
6. Tax Increment Total									
	\$994,835.24							\$1,072,181.75	\$77,346.51

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information						
Name Kathy Burger	Title clerk					
Email kathyb@villageofsolonsprings.com	Phone (715) 378-2235					
Comments						
Oi-markana Otalamaant						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 16181

Submission date: 11-23-2021 12:41 PM

Confirmation: TIW20210481O1637692905344

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 16281 County D

Muni Type C

Municipality

DOUGLAS

CITY SUPERIOR Account No. 0483

Total Equalized TID Value Increment 105,355,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DOUGLAS	\$8,442,333.23 /	1,948,513,900.00	=	0.004332704	Х	2,053,869,500.00	=	\$8,898,808.60	\$456,475.37
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SUPERIOR	\$12,869,097.00 /	1,948,513,900.00	=	0.00660457	Х	2,053,869,500.00	=	\$13,564,924.88	\$695,827.88
4. School Districts									
SCH D OF SUPERIOR	\$17,179,784.06 /	1,948,513,900.00	=	0.008816865	X	2,053,869,500.00	=	\$18,108,690.11	\$928,906.05
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$625,385.45 /	1,948,513,900.00	=	0.000320955	Х	2,053,869,500.00	=	\$659,199.69	\$33,814.24
6. Tax Increment Total									
	\$39,116,599.74							\$41,231,623.28	\$2,115,023.54

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Camila Ramos	Title City Clerk						
Email ramosc@ci.superior.wi.us	Phone (715) 395-7369						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 16281

Submission date: 11-30-2021 03:21 PM

Confirmation: TIW20210483O1638238905802

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 17106 County |

Municipality

DUNN

VILLAGE

BOYCEVILLE

Account No. 0507

Total Equalized TID Value Increment 6,540,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DUNN	\$313,898.90	/	51,090,400.00	=	0.00614399	Х	57,630,600.00	=	\$354,081.83	\$40,182.93
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BOYCEVILLE	\$193,704.00	/	51,090,400.00	=	0.003791397	Х	57,630,600.00	=	\$218,500.48	\$24,796.48
4. School Districts										
SCH D OF BOYCEVILLE COMMUNITY	\$413,856.01	/	51,090,400.00	=	0.008100465	Х	57,630,600.00	=	\$466,834.66	\$52,978.65
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$41,426.58	/	51,090,400.00	=	0.000810849	Х	57,630,600.00	=	\$46,729.71	\$5,303.13
6. Tax Increment Total										
	\$962,885.49								\$1,086,146.68	\$123,261.19

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information						
Name Darlene Lee	Title Clerk-Treasurer					
Email dar.boyceville@cltcomm.net	Phone (715) 643-2351					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 17106

Submission date: 11-30-2021 10:00 AM

Confirmation: TIW20210507O1638287970799

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 17111 County Muni Type

Municipality

DUNN VILLAGE

COLFAX

Account No. 0508

Total Equalized TID Value Increment 6,496,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DUNN	\$348,319.40 /	56,692,700.00	=	0.00614399	Х	63,189,400.00	=	\$388,235.04	\$39,915.64
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
COLFAX	\$471,845.00 /	56,692,700.00	=	0.008322853	Х	63,189,400.00	=	\$525,916.09	\$54,071.09
4. School Districts									
SCH D OF COLFAX	\$452,488.00 /	56,692,700.00	=	0.007981416	Х	63,189,400.00	=	\$504,340.89	\$51,852.89
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$45,969.19	56,692,700.00	=	0.000810848	Х	63,189,400.00	=	\$51,237.00	\$5,267.81
6. Tax Increment Total									
	\$1,318,621.59							\$1,469,729.02	\$151,107.43

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information					
Name Lynn Niggemann	Title Administrator-Clerk-Treasurer				
Email clerktreasurer@villageofcolfaxwi.org	Phone (715) 962-3311				
Comments					
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true	correct and complete to the best of my knowledge and belief.				
Do you agree with the statement above?					
XYES	S NO				

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 17111

Submission date: 12-07-2021 11:09 AM

Confirmation: TIW20210508O1638893482200

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 17121 County

Muni Type

DUNN

VILLAGE

Municipality ELK MOUND

Account No. 0510

Total Equalized TID Value Increment 2,005,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DUNN	\$269,795.20 /	41,626,100.00	=	0.006481395	Х	43,631,100.00	=	\$282,790.39	\$12,995.19
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ELK MOUND	\$318,805.00 /	41,626,100.00	=	0.007658777	Х	43,631,100.00	=	\$334,160.87	\$15,355.87
4. School Districts									
SCH D OF ELK MOUND AREA	\$318,669.00 /	41,626,100.00	=	0.007655509	Х	43,631,100.00	=	\$334,018.28	\$15,349.28
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$33,752.46 /	41,626,100.00	=	0.000810848	Х	43,631,100.00	=	\$35,378.19	\$1,625.73
6. Tax Increment Total									
	\$941,021.66							\$986,347.73	\$45,326.07

F	Fo	rı	n	١
Р	C.	-2	0	2

WI Dept of Revenue

Preparer Information					
Name Patricia Hahn	Title Clerk/Treasurer				
Email pat@elkmound.org	Phone (715) 879-5011				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
X YES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 17121

Submission date: 11-26-2021 03:56 PM

Confirmation: TIW20210510O1637963481898

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 17141 County DU

Muni Type VIL

Municipality

DUNN

VILLAGE KNAPP Account No. 0511

Total Equalized TID Value Increment 2,751,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DUNN	\$133,143.42 /	20,542,400.00	=	0.006481396	Х	23,294,100.00	=	\$150,978.29	\$17,834.87
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
KNAPP	\$78,772.00 /	20,542,400.00	=	0.003834605	Х	23,294,100.00	=	\$89,323.67	\$10,551.67
4. School Districts									
SCH D OF MENOMONIE AREA	\$157,485.55 /	20,431,967.00	=	0.007707802	Х	23,183,667.00	=	\$178,695.11	\$21,209.56
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$16,656.78 /	20,542,400.00	=	0.000810849	Х	23,294,100.00	=	\$18,888.00	\$2,231.22
6. Tax Increment Total									
	\$386,057.75							\$437,885.07	\$51,827.32

Form	
PC-202	

WI Dept of Revenue

Preparer Information					
Name Katrina Jones	Title CLERK/TREASURER				
Email knappclerk@baldwin-telecom.net	Phone (715) 665-2495				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?					
Do you agree with t	no statement above:				
XYES					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 17141

Submission date: 12-02-2021 08:27 AM

Confirmation: TIW20210511O1638372125782

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 17176

e | N

County DUNN

Muni Type VILLAGE

Municipality RIDGELAND

Account No. 0512

Total Equalized TID Value Increment 1,191,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
DUNN	\$104,735.44	/	16,159,400.00	=	0.006481394	Х	17,351,200.00	=	\$112,459.96	\$7,724.52
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
RIDGELAND	\$34,828.00	/	16,159,400.00	=	0.002155278	Х	17,351,200.00	=	\$37,396.66	\$2,568.66
4. School Districts										
SCH D OF BARRON AREA	\$165,231.35	/	16,159,400.00	=	0.010225092	Х	17,351,200.00	=	\$177,417.62	\$12,186.27
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$13,102.83	/	16,159,400.00	=	0.000810849	Х	17,351,200.00	=	\$14,069.20	\$966.37
6. Tax Increment Total										
	\$317,897.62								\$341,343.44	\$23,445.82

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name VILLAGE OF RIDGELAND	Title CLERK						
Email bkhuset@chibardun.net	Phone (715) 949-2265						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 17176

Submission date: 11-23-2021 01:07 PM

Confirmation: TIW20210512O1637694464777

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 17251 County

Muni Type

Municipality

DUNN CITY

CITY MENOMONIE Account No. 0514

Total Equalized TID Value Increment 142,961,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)		Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
DUNN	\$7,002,942.11 /	1,139,803,600.0	00 =	0.00614399	Х	1,282,764,900.00	=	\$7,881,294.72	\$878,352.61
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MENOMONIE	\$7,197,007.40 /	1,139,803,600.0	00 =	0.006314252	Х	1,282,764,900.00	=	\$8,099,700.84	\$902,693.44
4. School Districts									
SCH D OF MENOMONIE AREA	\$8,785,380.30 /	1,139,803,600.0	00 =	0.007707802	X	1,282,764,900.00	=	\$9,887,297.86	\$1,101,917.56
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$924,208.09 /	1,139,803,600.0	00 =	0.000810849	Х	1,282,764,900.00	=	\$1,040,128.64	\$115,920.55
6. Tax Increment Total									
	\$23,909,537.90							\$26,908,422.06	\$2,998,884.16

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information									
Name Catherine Martin	Title City Clerk								
Email kmartin@menomonie-wi.gov	Phone (715) 953-0756								
Comments									
Comments									
0'									
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 17251

Submission date: 12-20-2021 09:08 AM

Confirmation: TIW20210514A1640012792002

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 18127 County EAU CLAIRE

Muni Type VILLAGE

FALL CREEK

Municipality

Account No. 0530

Total Equalized TID Value Increment 7,372,300

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$401,062.29	/	98,740,400.00	=	0.004061785	X	106,112,700.00	=	\$431,006.97	\$29,944.68
nitary, lake)									
\$9,000.00	/	98,740,400.00	=	0.000091148	Х	106,112,700.00	=	\$9,671.96	\$671.96
city)									
\$527,160.00	/	98,740,400.00	=	0.005338848	Χ	106,112,700.00	=	\$566,519.58	\$39,359.58
\$985,691.00	/	98,740,400.00	=	0.009982651	Х	106,112,700.00	=	\$1,059,286.05	\$73,595.05
\$80,063.51	/	98,740,400.00	=	0.000810849	Х	106,112,700.00	=	\$86,041.38	\$5,977.87
\$2,002,976.80								\$2,152,525.94	\$149,549.14
	\$401,062.29 nitary, lake) \$9,000.00 city) \$527,160.00 \$985,691.00	\$401,062.29 / nitary, lake) \$9,000.00 / city) \$527,160.00 / \$985,691.00 /	\$401,062.29 / 98,740,400.00 nitary, lake) \$9,000.00 / 98,740,400.00 city) \$527,160.00 / 98,740,400.00 \$985,691.00 / 98,740,400.00 \$98740,400.00	\$401,062.29 / 98,740,400.00 = nitary, lake) \$9,000.00 / 98,740,400.00 = city) \$527,160.00 / 98,740,400.00 = \$985,691.00 / 98,740,400.00 = \$98,740,400.00 = \$100.00	Sample S	\$401,062.29 / 98,740,400.00 = 0.004061785 X nitary, lake) \$9,000.00 / 98,740,400.00 = 0.000091148 X city) \$527,160.00 / 98,740,400.00 = 0.005338848 X \$985,691.00 / 98,740,400.00 = 0.009982651 X \$80,063.51 / 98,740,400.00 = 0.000810849 X	Apportioned Levy / (less TID Value Increment) = Interim Rate	Apportioned Levy / (less TID Value Increment) = Interim Rate	Apportioned Levy / (less TID Value Increment) = Interim Rate

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information									
Name Renee Roemhild	Title Clerk-Treasurer								
Email renee.roemhild@fallcreekwi.gov	Phone (715) 877-2177								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with t	Do you agree with the statement above?								
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 18127

Submission date: 11-23-2021 02:23 PM

Confirmation: TIW20210530O1637698898391

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 18201 County EAU CLAIRE

Muni Type CITY

Municipality ALTOONA

Account No. 0531

Total Equalized TID Value Increment 288,088,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
EAU CLAIRE	\$2,496,393.43	/	614,605,000.00	=	0.004061785	X	902,693,200.00	=	\$3,666,545.70	\$1,170,152.27
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ALTOONA	\$3,904,500.00	/	614,605,000.00	=	0.006352861	Х	902,693,200.00	=	\$5,734,684.43	\$1,830,184.43
4. School Districts										
SCH D OF ALTOONA	\$4,799,488.58	/	576,293,175.00	=	0.008328207	Х	864,280,375.00	=	\$7,197,905.87	\$2,398,417.29
SCH D OF FALL CREEK	\$271.00	/	27,173.00	=	0.009973135	Х	128,173.00	=	\$1,278.29	\$1,007.29
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$498,351.57	/	614,605,000.00	=	0.000810849	Х	902,693,200.00	=	\$731,947.88	\$233,596.31
6. Tax Increment Total										
	\$11,699,004.58								\$17,332,362.17	\$5,633,357.59

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Tina Nelson	Title Finance Director									
Email tinan@ci.altoona.wi.us	Phone (534) 444-5431									
Comments										
Signature Statement	Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 18201

Submission date: 12-03-2021 08:02 AM

Confirmation: TIW20210531O1637692443458

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 18202 County EAU CLAIRE

Muni Type

CITY

Municipality AUGUSTA

Account No. 0532

Total Equalized TID Value Increment 15,752,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
EAU CLAIRE	\$328,155.27	/	80,790,900.00	=	0.004061785	X	96,543,600.00	=	\$392,139.35	\$63,984.08
2. Special Districts (metro,	sanitary, lake)									
AUGUSTA MILL POND PRO & REHAB DISTRICT	\$0.00	/	80,790,900.00	=	0	Х	96,543,600.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
AUGUSTA	\$431,813.00	/	80,790,900.00	=	0.005344822	Х	96,543,600.00	=	\$516,008.36	\$84,195.36
4. School Districts										
SCH D OF AUGUSTA	\$782,287.60	/	80,790,900.00	=	0.009682868	Х	96,543,600.00	=	\$934,818.94	\$152,531.34
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$65,509.18	/	80,790,900.00	=	0.000810848	Х	96,543,600.00	=	\$78,282.18	\$12,773.00
6. Tax Increment Total										
	\$1,607,765.05								\$1,921,248.83	\$313,483.78

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Cynthia Anderegg	Title City Clerk-Treasurer							
Email cityclerk@cityofaugusta.org	Phone (715) 286-2555							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 18202

Submission date: 11-24-2021 02:42 PM

Confirmation: TIW20210532O1637693009228

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 18221

e | N

County EAU CLAIRE

Muni Type CITY

Municipality EAU CLAIRE

Account No. 0533

Total Equalized TID Value Increment 151,215,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
EAU CLAIRE	\$22,753,284.33 /	6,090,728,300.00	=	0.003735725	Х	6,241,943,500.00	=	\$23,318,184.38	\$564,900.05
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
EAU CLAIRE	\$45,064,619.78 /	6,090,728,300.00	=	0.007398889	Х	6,241,943,500.00	=	\$46,183,447.10	\$1,118,827.32
4. School Districts									
SCH D OF EAU CLAIRE AREA	\$42,611,110.85 /	6,071,347,554.00	=	0.007018394	Х	6,222,562,754.00	=	\$43,672,397.10	\$1,061,286.25
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$4,938,658.20 /	6,090,728,300.00	=	0.000810849	Х	6,241,943,500.00	=	\$5,061,273.65	\$122,615.45
6. Tax Increment Total									
	\$115,367,673.16							\$118,235,302.23	\$2,867,629.07

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Scott Kosmo	Title Lead Accountant								
Email scott.kosmo@eauclairewi.gov	Phone (715) 839-8118								
Comments									
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 18221

Submission date: 12-03-2021 04:27 PM

Confirmation: TIW20210533O1637689252677

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 19010 County FLORENCE

Muni Type TOWN

FLORENCE

Municipality

Account No. 0539

Total Equalized TID Value Increment 5,736,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
FLORENCE	\$2,279,990.66	/	370,649,700.00	=	0.006151336	Х	376,385,800.00	=	\$2,315,275.52	\$35,284.86
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
FLORENCE	\$859,238.00	/	370,649,700.00	=	0.002318194	Х	376,385,800.00	=	\$872,535.30	\$13,297.30
4. School Districts										
SCH D OF FLORENCE COUNTY	\$3,333,183.00	/	370,649,700.00	=	0.008992812	X	376,385,800.00	=	\$3,384,766.74	\$51,583.74
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$273,681.91	/	370,649,700.00	=	0.000738384	Х	376,385,800.00	=	\$277,917.25	\$4,235.34
6. Tax Increment Total										
	\$6,746,093.57								\$6,850,494.81	\$104,401.24

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Paul Martin	Title Finance Director							
Email pmartin@co.florence.wi.us	Phone (715) 528-3443							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 19010

Submission date: 12-06-2021 10:53 AM

Confirmation: TIW20210539O1638808773869

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20111 County

nty FOND DU LAC

Muni Type VILLAGE

Municipality CAMPBELLSPORT

Account No. 0566

Total Equalized TID Value Increment 2,166,100

Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$711,183.28 /	128,520,300.00	=	0.005533626	Х	130,686,400.00	=	\$723,169.66	\$11,986.38
sanitary, lake)								
e, city)								
\$1,103,213.00 /	128,520,300.00	=	0.008583959	Х	130,686,400.00	=	\$1,121,806.70	\$18,593.70
\$1,069,660.04 /	128,520,300.00	=	0.008322888	Х	130,686,400.00	=	\$1,087,688.27	\$18,028.23
cts								
\$69,025.97 /	128,520,300.00	=	0.000537082	Х	130,686,400.00	=	\$70,189.31	\$1,163.34
\$2,953,082.29							\$3,002,853.94	\$49,771.65
	\$711,183.28 / sanitary, lake) e, city) \$1,103,213.00 / \$1,069,660.04 / cts \$69,025.97 /	### Apportioned Levy / Equalized Value (less TID Value Increment) \$711,183.28 / 128,520,300.00 sanitary, lake) e, city) \$1,103,213.00 / 128,520,300.00 \$1,069,660.04 / 128,520,300.00 cts \$69,025.97 / 128,520,300.00	Apportioned Levy / Equalized Value (less TID Value Increment) =	Apportioned Levy / (less TID Value Increment) = Interim Rate Increment)	Apportioned Levy / (less TID Value Increment) = Interim Rate X Increment)	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate X (with TID Value Increment)	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Shelby Sarauer	Title Clerk/Treasurer							
Email clerk-dpt@cportvill.com	Phone (920) 533-8321							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20111

Submission date: 11-29-2021 01:14 PM

Confirmation: TIW20210566O1638212479439

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20126 County

Muni Type

Municipality

FOND DU LAC

i Type VILLAGE

FAIRWATER

Account No. 0568

Total Equalized TID Value Increment 4,328,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
FOND DU LAC	\$110,438.47	/	18,679,100.00	=	0.005912409	X	23,007,400.00	=	\$136,029.16	\$25,590.69
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
FAIRWATER	\$69,118.00	/	18,679,100.00	=	0.003700285	Х	23,007,400.00	=	\$85,133.94	\$16,015.94
4. School Districts										
SCH D OF MARKESAN	\$134,242.13	/	18,590,931.00	=	0.00722084	X	22,866,531.00	=	\$165,115.56	\$30,873.43
SCH D OF RIPON AREA	\$729.55	/	88,169.00	=	0.00827445	X	140,869.00	=	\$1,165.61	\$436.06
5. Technical College Distric	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$10,032.21	/	18,679,100.00	=	0.000537082	Х	23,007,400.00	=	\$12,356.86	\$2,324.65
6. Tax Increment Total										
	\$324,560.36								\$399,801.13	\$75,240.77

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Karen Smit	Title Clerk						
Email fairwater@centurytel.net	Phone (920) 346-5418						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							
M. 20							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20126

Submission date: 11-23-2021 01:14 PM

Confirmation: TIW20210568O1637694866162

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20161 County FOND DU LAC

Muni Type VILLAGE

Municipality NORTH FOND DU LAC

Account No. 0570

Total Equalized TID Value Increment 25,777,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
FOND DU LAC	\$1,168,884.97 /	210,963,100.00	=	0.005540708	X	236,741,000.00	=	\$1,311,712.75	\$142,827.78
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
NORTH FOND DU LAC	\$1,632,139.05 /	210,963,100.00	=	0.007736609	Х	236,741,000.00	=	\$1,831,572.55	\$199,433.50
4. School Districts									
SCH D OF NORTH FOND DU LAC	\$1,941,259.04 /	210,963,100.00	=	0.009201889	Х	236,741,000.00	=	\$2,178,464.40	\$237,205.36
5. Technical College Distriction	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$113,304.53 /	210,963,100.00	=	0.000537082	Х	236,741,000.00	=	\$127,149.33	\$13,844.80
6. Tax Increment Total									
	\$4,855,587.59							\$5,448,899.03	\$593,311.44

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information							
Name Kris Ruch	Title Deputy Treasurer						
Email kruch@nfdl.org	Phone (920) 929-3765						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
bo you agree with the statement above:							
WVEC INO							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20161

Submission date: 11-24-2021 12:26 PM

Confirmation: TIW20210570O1637778365089

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20165

County

Muni Type

y FOND DU LAC
pe VILLAGE

Municipality OAKFIELD

Account No. 0571

Total Equalized TID Value Increment 13,346,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
FOND DU LAC	\$343,395.83	62,028,300.00	=	0.005536115	Х	75,374,300.00	=	\$417,280.79	\$73,884.96
2. Special Districts (metro,	, sanitary, lake)								
3. Tax District (town, villag	je, city)								
OAKFIELD	\$411,012.00 /	62,028,300.00	=	0.006626201	Х	75,374,300.00	=	\$499,445.26	\$88,433.26
4. School Districts									
SCH D OF OAKFIELD	\$546,082.00 /	62,028,300.00	=	0.008803756	X	75,374,300.00	=	\$663,576.95	\$117,494.95
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$33,314.30 /	62,028,300.00	=	0.000537082	Х	75,374,300.00	=	\$40,482.18	\$7,167.88
6. Tax Increment Total									
	\$1,333,804.13							\$1,620,785.18	\$286,981.05

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Miriam Thomas	Title Clerk-Treasurer							
Email mthomas@villageofoakfield.com	Phone (920) 583-4400							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20165

Submission date: 11-29-2021 07:15 AM

Confirmation: TIW20210571O1638191744848

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20176 County

Muni Type

FOND DU LAC
VILLAGE

Municipality ROSENDALE

Account No. 0572

Total Equalized TID Value Increment 1,879,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
FOND DU LAC	\$430,489.01	/	72,753,100.00	=	0.005917123	Х	74,632,300.00	=	\$441,608.50	\$11,119.49
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, village, city)										
ROSENDALE	\$251,237.00	/	72,753,100.00	=	0.003453282	Х	74,632,300.00	=	\$257,726.38	\$6,489.38
4. School Districts										
SCH D OF ROSENDALE-BRANDON	\$549,893.71	/	72,753,100.00	=	0.007558354	Х	74,632,300.00	=	\$564,097.34	\$14,203.63
5. Technical College Districts										
MORAINE PARK TECHNICAL COLLEGE FDLC	\$39,074.40	/	72,753,100.00	=	0.000537082	Х	74,632,300.00	=	\$40,083.66	\$1,009.26
6. Tax Increment Total										
	\$1,270,694.12								\$1,303,515.88	\$32,821.76

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Emily Wirkus	Title Clerk-Treasurer						
Email ewirkus@villageofrosendale.com	Phone (920) 872-2740						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20176

Submission date: 11-23-2021 01:53 PM

Confirmation: TIW20210572O1637697181760

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20226 County FONE

Muni Type CITY

FOND DU LAC

Municipality FOND DU LAC

Account No. 0574

Total Equalized TID Value Increment 133,339,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
FOND DU LAC	\$17,692,059.16 /	3,196,379,300.00	=	0.005535031	Х	3,329,718,700.00	=	\$18,430,096.23	\$738,037.07
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
FOND DU LAC	\$29,669,049.00 /	3,196,379,300.00	=	0.00928208	Х	3,329,718,700.00	=	\$30,906,715.35	\$1,237,666.35
4. School Districts									
SCH D OF FOND DU LAC	\$22,824,730.00 /	3,111,173,447.00	=	0.007336373	Х	3,244,512,847.00	=	\$23,802,956.45	\$978,226.45
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$1,716,718.45 /	3,196,379,300.00	=	0.000537082	Х	3,329,718,700.00	=	\$1,788,331.98	\$71,613.53
6. Tax Increment Total									
	\$71,902,556.61							\$74,928,100.01	\$3,025,543.40

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information								
lame Tracy Salter Title Director of Admin/Treasurer								
tsalter@fdl.wi.gov Phone (920) 322-3452								
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20226

Submission date: 12-02-2021 08:58 AM

Confirmation: TIW20210574O1638370798492

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20276 County

Muni Type

Municipality

FOND DU LAC

RIPON

ype CITY

Account No. 0575

Total Equalized TID Value Increment 73,508,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
FOND DU LAC	\$2,333,465.52	/	421,623,900.00	=	0.005534472	X	495,132,100.00	=	\$2,740,294.74	\$406,829.22
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
RIPON	\$3,546,931.00	/	421,623,900.00	=	0.008412547	Χ	495,132,100.00	=	\$4,165,322.06	\$618,391.06
4. School Districts										
SCH D OF RIPON AREA	\$3,488,686.98	/	421,623,900.00	=	0.008274405	Х	495,132,100.00	=	\$4,096,923.52	\$608,236.54
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$226,446.69	/	421,623,900.00	=	0.000537082	Х	495,132,100.00	=	\$265,926.54	\$39,479.85
6. Tax Increment Total										
	\$9,595,530.19								\$11,268,466.86	\$1,672,936.67

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Ann Schommer Title City Clerk							
Email aschommer@cityofripon.com Phone (920) 748-4915							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20276

Submission date: 11-29-2021 08:39 AM

Confirmation: TIW20210575O1638196799238

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 20292 County

Muni Type

Municipality

FOND DU LAC

CITY

WAUPUN

Account No. 0576

Total Equalized TID Value Increment 9,054,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
FOND DU LAC	\$1,375,974.64 /	248,632,200.00	=	0.005534177	Х	257,686,600.00	=	\$1,426,083.25	\$50,108.61
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
WAUPUN	\$1,731,472.06 /	248,632,200.00	=	0.00696399	Х	257,686,600.00	=	\$1,794,526.91	\$63,054.85
4. School Districts									
SCH D OF WAUPUN	\$1,897,415.00 /	248,632,200.00	=	0.007631413	Х	257,686,600.00	=	\$1,966,512.87	\$69,097.87
5. Technical College Distric	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$133,535.93 /	248,632,200.00	=	0.000537082	Х	257,686,600.00	=	\$138,398.83	\$4,862.90
6. Tax Increment Total									
	\$5,138,397.63							\$5,325,521.86	\$187,124.23

Form
PC-202

WI Dept of Revenue

Preparer Information								
Name	Jame ANGELA J HULL Title Clerk							
Email	Email angie@cityofwaupun.org Phone (920) 324-7915							
Comr	nents							
Signa	Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
	X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 20292

Submission date: 11-24-2021 10:51 AM

Confirmation: TIW20210576O1637772684591

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 21211

e l

Municipality

County FOREST

Muni Type CITY

CRANDON

Account No. 0592

Total Equalized TID Value Increment 2,921,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
FOREST	\$492,178.20	/	102,580,800.00	=	0.004797956	Х	105,501,800.00	=	\$506,192.99	\$14,014.79
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
CRANDON	\$767,270.00	/	102,580,800.00	=	0.007479665	Χ	105,501,800.00	=	\$789,118.12	\$21,848.12
4. School Districts										
SCH D OF CRANDON	\$821,275.27	/	102,580,800.00	=	0.00800613	X	105,501,800.00	=	\$844,661.13	\$23,385.86
5. Technical College Distri	cts									
NICOLET TECHNICAL COLLEGE RHIN	\$19,755.14	/	102,580,800.00	=	0.000192581	Х	105,501,800.00	=	\$20,317.64	\$562.50
6. Tax Increment Total										
	\$2,100,478.61								\$2,160,289.88	\$59,811.27

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information										
Name Cindy Bradley	Title City Clerk/Treasurer									
Email ccrandon@newnorth.net	Phone (715) 478-2400									
Comments										
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 21211

Submission date: 12-03-2021 10:02 AM

Confirmation: TIW20210592O1637699605504

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 22116

County GRANT Muni Type

VILLAGE

Municipality DICKEYVILLE Account No. 0631

Total Equalized TID Value Increment 1,324,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
GRANT	\$235,203.44 /	70,459,500.00	=	0.003338137	Х	71,784,400.00	=	\$239,626.16	\$4,422.72
2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)								
DICKEYVILLE	\$409,226.00 /	70,459,500.00	=	0.005807961	Х	71,784,400.00	=	\$416,921.00	\$7,695.00
4. School Districts									
SCH D OF CUBA CITY	\$763,970.40 /	70,459,500.00	=	0.010842688	X	71,784,400.00	=	\$778,335.85	\$14,365.45
5. Technical College Distri	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$79,414.73 /	70,459,500.00	=	0.001127098	Х	71,784,400.00	=	\$80,908.05	\$1,493.32
6. Tax Increment Total									
	\$1,487,814.57							\$1,515,791.06	\$27,976.49

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Donna K. Timmerman	Title CLERK/TREASURER									
Email villageoffice@tds.net	Phone (608) 568-3333									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
▼YES □NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22116

Submission date: 12-13-2021 11:05 AM

Confirmation: TIW20210631O1639415118528

Form	
PC-202	

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 22151

County GRANT Muni Type

VILLAGE

Municipality MONTFORT Account No. 0634

Total Equalized TID Value Increment 931,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GRANT	\$116,538.70	/	34,911,300.00	=	0.003338137	X	35,842,400.00	=	\$119,646.84	\$3,108.14
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
MONTFORT	\$209,806.85	/	34,911,300.00	=	0.006009712	Х	35,842,400.00	=	\$215,402.50	\$5,595.65
4. School Districts										
SCH D OF IOWA-GRANT	\$286,426.00	/	34,911,300.00	=	0.008204392	Х	35,842,400.00	=	\$294,065.10	\$7,639.10
5. Technical College Distric	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$39,348.44	/	34,911,300.00	=	0.001127098	Х	35,842,400.00	=	\$40,397.90	\$1,049.46
6. Tax Increment Total										
	\$652,119.99								\$669,512.34	\$17,392.35

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Shelly Kazda	Title CLERK-TREASURER								
Email clerk@montfortvillage.com	Phone (608) 943-6917								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
	(50								
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22151

Submission date: 11-23-2021 03:25 PM

Confirmation: TIW20210634O1637702747234

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 22153 County

Muni Type

GRANT VILLAGE

Municipality MUSCODA

Account No. 0636

Total Equalized TID Value Increment 1,991,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GRANT	\$278,981.43	/	83,574,000.00	=	0.003338137	Х	85,565,600.00	=	\$285,629.70	\$6,648.27
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
MUSCODA	\$734,812.88	/	83,574,000.00	=	0.008792362	Х	85,565,600.00	=	\$752,323.73	\$17,510.85
4. School Districts										
SCH D OF RIVERDALE (MUSCODA)	\$715,513.49	/	83,574,000.00	=	0.008561436	Х	85,565,600.00	=	\$732,564.41	\$17,050.92
5. Technical College Distric	ots									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$94,196.05	/	83,574,000.00	=	0.001127098	Х	85,565,600.00	=	\$96,440.82	\$2,244.77
6. Tax Increment Total										
	\$1,823,503.85								\$1,866,958.66	\$43,454.81

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Cinda Johnson	Title Village Administrator						
Email cinda.clerk@muscoda.com	Phone (608) 739-3182						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22153

Submission date: 12-16-2021 10:53 AM

Confirmation: TIW20210636O1638736550341

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 22206

County Muni Type

Municipality

GRANT

CITY BOSCOBEL Account No. 0641

Total Equalized TID Value Increment 3,974,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GRANT	\$472,074.95	/	141,418,700.00	=	0.003338137	Х	145,393,000.00	=	\$485,341.75	\$13,266.80
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BOSCOBEL	\$1,418,180.00	/	141,418,700.00	=	0.010028235	Х	145,393,000.00	=	\$1,458,035.17	\$39,855.17
4. School Districts										
SCH D OF BOSCOBEL AREA	\$1,173,049.42	/	141,418,700.00	=	0.008294868	Х	145,393,000.00	=	\$1,206,015.74	\$32,966.32
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$159,392.67	/	141,418,700.00	=	0.001127098	Х	145,393,000.00	=	\$163,872.16	\$4,479.49
6. Tax Increment Total										
	\$3,222,697.04								\$3,313,264.82	\$90,567.78

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Misty Molzof	Title City Administrator							
Email cityadmin@boscobelwi.us	Phone (608) 375-5001							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?								
Do you agree with the statement above:								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22206

Submission date: 12-07-2021 10:13 AM

Confirmation: TIW20210641O1638733846990

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 22211 County GRANT

Muni Type CITY

CUBA CITY

Municipality

Account No. 0642

Total Equalized TID Value Increment 13,387,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GRANT	\$378,300.69	/	113,326,900.00	=	0.003338137	Х	126,713,900.00	=	\$422,988.36	\$44,687.67
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
CUBA CITY	\$824,582.51 /	/	113,326,900.00	=	0.007276141	Х	126,713,900.00	=	\$921,988.20	\$97,405.69
4. School Districts										
SCH D OF CUBA CITY	\$1,228,768.26	/	113,326,900.00	=	0.010842688	Х	126,713,900.00	=	\$1,373,919.28	\$145,151.02
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$127,730.47	/	113,326,900.00	=	0.001127098	Х	126,713,900.00	=	\$142,818.98	\$15,088.51
6. Tax Increment Total										
	\$2,559,381.93								\$2,861,714.82	\$302,332.89

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Jill Hill	Title Clerk-Treasurer						
Email jhill@cubacitylightandwater.org	Phone (608) 744-2152						
Comments							
Cianatium Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22211

Submission date: 12-06-2021 02:59 PM

Confirmation: TIW20210642O1637699255034

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 22226 County GRA

Muni Type CITY

Municipality

GRANT CITY

FENNIMORE

Account No. 0643

Total Equalized TID Value Increment 9,394,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
GRANT	\$431,789.99 /	129,350,600.00	=	0.003338137	Х	138,745,200.00	=	\$463,150.49	\$31,360.50
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
FENNIMORE	\$784,384.00 /	129,350,600.00	=	0.006064015	Х	138,745,200.00	=	\$841,352.97	\$56,968.97
4. School Districts									
SCH D OF FENNIMORE COMMUNITY	\$1,267,507.42 /	129,350,600.00	=	0.009799007	Х	138,745,200.00	=	\$1,359,565.19	\$92,057.77
5. Technical College Distri	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$145,790.74 /	129,350,600.00	=	0.001127098	X	138,745,200.00	=	\$156,379.44	\$10,588.70
6. Tax Increment Total									
	\$2,629,472.15							\$2,820,448.09	\$190,975.94

Form	
PC-202	

WI Dept of Revenue

Preparer Information								
Name Debi Heisner	Title Clerk Treasurer							
Email cityclerk@fennimore.com Phone (608) 822-6110								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22226

Submission date: 12-16-2021 11:26 AM

Confirmation: TIW20210643O1638467325630

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 22246 County GRANT

Muni Type CITY

Municipality

CITY

LANCASTER

Account No. 0644

Total Equalized TID Value Increment 18,222,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GRANT	\$901,161.72 /	/	269,959,500.00	=	0.003338137	Х	288,182,300.00	=	\$961,992.00	\$60,830.28
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
LANCASTER	\$1,459,900.00 /	/	269,959,500.00	=	0.005407848	Х	288,182,300.00	=	\$1,558,446.07	\$98,546.07
4. School Districts										
SCH D OF LANCASTER COMMUNITY	\$1,996,247.07 /	/	269,959,500.00	=	0.007394617	Х	288,182,300.00	=	\$2,130,997.73	\$134,750.66
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$304,270.69 /	/	269,959,500.00	=	0.001127098	Х	288,182,300.00	=	\$324,809.69	\$20,539.00
6. Tax Increment Total										
	\$4,661,579.48								\$4,976,245.49	\$314,666.01

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information									
Name David Kurihara	Title City Clerk/Treasurer									
Email davidk@lancasterwisconsin.com	Phone (608) 723-7445									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22246

Submission date: 11-23-2021 01:55 PM

Confirmation: TIW20210644O1637697317353

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 22271

County

Muni Type

Municipality

GRANT

CITY

PLATTEVILLE

Account No. 0645

Total Equalized TID Value Increment 97,216,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
GRANT	\$2,216,548.47 /	664,007,700.00	=	0.003338137	Х	761,224,200.00	=	\$2,541,070.67	\$324,522.20
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PLATTEVILLE	\$4,862,980.00 /	664,007,700.00	=	0.00732368	Х	761,224,200.00	=	\$5,574,962.45	\$711,982.45
4. School Districts									
SCH D OF PLATTEVILLE	\$5,345,415.30 /	664,007,700.00	=	0.008050231	X	761,224,200.00	=	\$6,128,030.65	\$782,615.35
5. Technical College Distriction	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$748,401.45 /	664,007,700.00	=	0.001127098	Х	761,224,200.00	=	\$857,974.27	\$109,572.82
6. Tax Increment Total									
	\$13,173,345.22							\$15,102,038.04	\$1,928,692.82

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information											
Name Sheila Horner	Title Treasurer										
Email horners@platteville.org	Phone (608) 348-1822										
Comments											
Signature Statement											
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.											
Do you agree with the statement above?											
XYES NO											

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 22271

Submission date: 12-07-2021 12:28 PM

Confirmation: TIW20210645O1638221106453

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 23106

County G

GREEN

VILLAGE

Municipality BELLEVILLE

Account No. 0664

Total Equalized TID Value Increment 27,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
GREEN	\$237,657.83	48,262,600.00	=	0.004924265	Х	48,290,100.00	=	\$237,793.25	\$135.42
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BELLEVILLE	\$411,884.00 /	48,262,600.00	=	0.008534227	Х	48,290,100.00	=	\$412,118.68	\$234.68
4. School Districts									
SCH D OF BELLEVILLE	\$504,688.21 /	48,262,600.00	=	0.010457129	Х	48,290,100.00	=	\$504,975.81	\$287.60
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$38,936.11 /	48,262,600.00	=	0.000806755	Х	48,290,100.00	=	\$38,958.28	\$22.17
6. Tax Increment Total									
	\$1,193,166.15							\$1,193,846.02	\$679.87

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Stephanie Walker	Title Consultant								
Email stephanie.walker@claconnect.com	Phone (414) 840-4506								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 23106

Submission date: 12-15-2021 12:08 PM

Confirmation: TIW20210664O1639591710364

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 23109 County

Muni Type

Municipality

GREEN

VILLAGE

BROOKLYN

Account No. 0665

Total Equalized TID Value Increment 2,061,100

	Col. A	Со	I. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalize (less Tl		=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GREEN	\$178,800.85	34,0	97,000.00	=	0.005243888	Х	36,158,100.00	=	\$189,609.03	\$10,808.18
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BROOKLYN	\$266,064.18 /	34,0	97,000.00	=	0.007803155	Х	36,158,100.00	=	\$282,147.26	\$16,083.08
4. School Districts										
SCH D OF OREGON	\$354,440.30 /	34,0	97,000.00	=	0.010395058	Х	36,158,100.00	=	\$375,865.55	\$21,425.25
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$27,507.94 /	34,0	97,000.00	=	0.000806755	Х	36,158,100.00	=	\$29,170.73	\$1,662.79
6. Tax Increment Total										
	\$826,813.27								\$876,792.57	\$49,979.30

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information						
Name Linda Kuhlman	Title Clerk-Treasurer					
Email clerk@brooklynwi.gov	Phone (608) 455-4201					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 23109

Submission date: 11-23-2021 01:05 PM

Confirmation: TIW20210665O1637694306792

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 23161

County

Muni Type

GREEN VILLAGE

Municipality NEW GLARUS

Account No. 0668

Total Equalized TID Value Increment 19,426,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
GREEN	\$1,025,186.45 /	208,755,800.00	=	0.004910936	Х	228,181,800.00	=	\$1,120,586.22	\$95,399.77
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
NEW GLARUS	\$1,622,073.00 /	208,755,800.00	=	0.007770194	Х	228,181,800.00	=	\$1,773,016.85	\$150,943.85
4. School Districts									
SCH D OF NEW GLARUS	\$2,428,639.25 /	208,755,800.00	=	0.011633877	Х	228,181,800.00	=	\$2,654,638.99	\$225,999.74
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$168,414.86 /	208,755,800.00	=	0.000806755	Х	228,181,800.00	=	\$184,086.81	\$15,671.95
6. Tax Increment Total									
	\$5,244,313.56							\$5,732,328.87	\$488,015.31

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Lynne Erb	Title Clerk-Treasurer						
Email ngclerk@newglarusvillage.com	Phone (608) 527-5973						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 23161

Submission date: 11-23-2021 01:39 PM

Confirmation: TIW20210668O1637696346267

Form
PC-202

WI Dept of Revenue

Report Type **AMENDED** Co-muni Code 23206

County **GREEN** Muni Type

Municipality

CITY

BRODHEAD

Account No. 0669

Total Equalized TID Value Increment 4,268,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GREEN	\$1,025,872.51	/	208,895,500.00	=	0.004910936	Х	213,163,600.00	=	\$1,046,832.80	\$20,960.29
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BRODHEAD	\$1,919,898.73	/	208,895,500.00	=	0.009190714	Х	213,163,600.00	=	\$1,959,125.68	\$39,226.95
4. School Districts										
SCH D OF BRODHEAD	\$1,362,084.44	/	208,895,500.00	=	0.006520411	Х	213,163,600.00	=	\$1,389,914.28	\$27,829.84
5. Technical College Distri	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$209,050.10	/	208,895,500.00	=	0.00100074	Х	213,163,600.00	=	\$213,321.34	\$4,271.24
6. Tax Increment Total										
	\$4,516,905.78								\$4,609,194.10	\$92,288.32

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information							
Name Keri Miller	Title TREASURER							
Email kmiller@cityofbrodheadwi.us	Phone (608) 897-4018							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 23206

Submission date: 12-03-2021 09:15 AM

Confirmation: TIW20210669A1638544555435

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 23251

County **GREEN** Muni Type

Municipality

CITY

MONROE

Account No. 0670

Total Equalized TID Value Increment 33,618,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GREEN	\$4,051,599.10	/	827,461,400.00	=	0.004896421	X	861,079,500.00	=	\$4,216,207.75	\$164,608.65
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MONROE	\$7,507,475.00	/	827,461,400.00	=	0.009072901	Х	861,079,500.00	=	\$7,812,489.06	\$305,014.06
4. School Districts										
SCH D OF MONROE	\$7,614,619.86	/	827,461,400.00	=	0.009202387	X	861,079,500.00	=	\$7,923,986.80	\$309,366.94
5. Technical College Distri	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$828,073.81	/	827,461,400.00	=	0.00100074	Х	861,079,500.00	=	\$861,716.70	\$33,642.89
6. Tax Increment Total										
	\$20,001,767.77								\$20,814,400.31	\$812,632.54

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Brittney Rindy	Title City Clerk/Treasurer						
Email brindy@cityofmonroe.org	Phone (608) 329-2530						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 23251

Submission date: 11-24-2021 12:51 PM

Confirmation: TIW20210670O1637767364645

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 24206

County **GREEN LAKE**

CITY

Muni Type Municipality BERLIN Account No. 0684

Total Equalized TID Value Increment 3,929,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GREEN LAKE	\$2,085,122.35	/	306,106,800.00	=	0.006811748	X	310,036,200.00	=	\$2,111,888.47	\$26,766.12
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, village, city)										
BERLIN	\$2,064,613.31	/	306,106,800.00	=	0.006744748	Х	310,036,200.00	=	\$2,091,116.04	\$26,502.73
4. School Districts										
SCH D OF BERLIN AREA	\$2,756,393.26	/	306,106,800.00	=	0.009004678	Х	310,036,200.00	=	\$2,791,776.15	\$35,382.89
5. Technical College Districts										
MORAINE PARK TECHNICAL COLLEGE FDLC	\$164,404.52	/	306,106,800.00	=	0.000537082	Х	310,036,200.00	=	\$166,514.86	\$2,110.34
6. Tax Increment Total										
	\$7,070,533.44								\$7,161,295.52	\$90,762.08

Form
PC-202

WI Dept of Revenue

Preparer Information								
Name Jodie Olson	Title City Administrator/Clerk-Treasurer							
Email jolson@cityofberlin.net	Phone (920) 361-5400							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 24206

Submission date: 11-23-2021 03:55 PM

Confirmation: TIW20210684O1637704518602

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 24231 County

Muni Type

GREEN LAKE

Type CITY

Municipality GREEN LAKE

Account No. 0685

Total Equalized TID Value Increment 15,760,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GREEN LAKE	\$1,670,109.12	/	245,180,700.00	=	0.006811748	X	260,941,100.00	=	\$1,777,465.02	\$107,355.90
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
GREEN LAKE	\$1,314,172.00	/	245,180,700.00	=	0.005360014	Χ	260,941,100.00	=	\$1,398,647.95	\$84,475.95
4. School Districts										
SCH D OF GREEN LAKE	\$1,223,962.68	/	245,180,700.00	=	0.004992084	X	260,941,100.00	=	\$1,302,639.89	\$78,677.21
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$131,682.19	/	245,180,700.00	=	0.000537082	Х	260,941,100.00	=	\$140,146.77	\$8,464.58
6. Tax Increment Total										
	\$4,339,925.99								\$4,618,899.63	\$278,973.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Barbara Dugenske	Title Clerk-Treasurer							
Email bdugenske@ci.greenlake.wi.gov	Phone (920) 294-6912							
Comments								
Signature Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 24231

Submission date: 12-06-2021 03:31 PM

Confirmation: TIW20210685O1638826069928

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 24251 County GREEN LAKE

Muni Type CITY

Municipality MARKESAN

Account No. 0686

Total Equalized TID Value Increment 4,433,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
GREEN LAKE	\$521,066.02	/	76,495,200.00	=	0.006811748	Х	80,928,200.00	=	\$551,262.50	\$30,196.48
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MARKESAN	\$612,421.00	/	76,495,200.00	=	0.008006006	Х	80,928,200.00	=	\$647,911.65	\$35,490.65
4. School Districts										
SCH D OF MARKESAN	\$552,359.56	/	76,495,200.00	=	0.007220839	Х	80,928,200.00	=	\$584,369.50	\$32,009.94
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$41,084.21	/	76,495,200.00	=	0.000537082	Х	80,928,200.00	=	\$43,465.08	\$2,380.87
6. Tax Increment Total										
	\$1,726,930.79								\$1,827,008.73	\$100,077.94

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name ELIZABETH AMEND	Title CLERK-TREASURER								
Email bamend@markesanwi.gov	Phone (920) 398-3031								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement should									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 24251

Submission date: 11-23-2021 12:53 PM

Confirmation: TIW20210686O1637693381881

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 24271 County GREE

Muni Type

GREEN LAKE

Municipality PRINCETON

CITY

Account No. 0687

Total Equalized TID Value Increment 3,171,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
GREEN LAKE	\$374,449.96 /	54,971,200.00	=	0.006811748	Χ	58,142,300.00	=	\$396,050.70	\$21,600.74
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PRINCETON	\$602,071.00 /	54,971,200.00	=	0.010952481	Х	58,142,300.00	=	\$636,802.44	\$34,731.44
4. School Districts									
SCH D OF PRINCETON	\$456,754.00 /	54,971,200.00	=	0.008308969	X	58,142,300.00	=	\$483,102.57	\$26,348.57
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$29,524.05 /	54,971,200.00	=	0.000537082	Х	58,142,300.00	=	\$31,227.18	\$1,703.13
6. Tax Increment Total									
	\$1,462,799.01							\$1,547,182.89	\$84,383.88

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information CITY							
Name Mary Lou Neubauer	ADMINISTRATOR/CLERK-TREASURER Title							
Email mneubauer@cityofprincetonwi.com	Phone (920) 295-6612							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 24271

Submission date: 11-23-2021 12:42 PM

Confirmation: TIW20210687O1637692519937

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 25101

County IOWA Muni Type

Municipality

VILLAGE

ARENA

Account No. 0703

Total Equalized TID Value Increment 8,672,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
IOWA	\$301,735.13 /	47,391,800.00	=	0.006366821	Х	56,063,900.00	=	\$356,948.82	\$55,213.69
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ARENA	\$439,244.00 /	47,391,800.00	=	0.009268354	Х	56,063,900.00	=	\$519,620.07	\$80,376.07
4. School Districts									
SCH D OF RIVER VALLEY (SPRING GREEN)	\$444,675.93 /	47,391,800.00	=	0.009382972	Х	56,063,900.00	=	\$526,046.00	\$81,370.07
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$38,233.59 /	47,391,800.00	=	0.000806755	Х	56,063,900.00	=	\$45,229.83	\$6,996.24
6. Tax Increment Total									
	\$1,223,888.65							\$1,447,844.72	\$223,956.07

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name DaNean Naeger	Title Village Clerk/Treasurer							
Email vilarena@villageofarena.net	Phone (608) 753-2133							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 25101

Submission date: 11-23-2021 01:27 PM

Confirmation: TIW20210703O1637695608804

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 25106 County

Muni Type

IOWA

VILLAGE

Municipality BARNEVELD

Account No. 0705

Total Equalized TID Value Increment 48,032,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
IOWA	\$761,544.11	/	124,052,500.00	=	0.006138886	X	172,085,100.00	=	\$1,056,410.81	\$294,866.70
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
BARNEVELD	\$702,469.59	/	124,052,500.00	=	0.00566268	Х	172,085,100.00	=	\$974,462.85	\$271,993.26
4. School Districts										
SCH D OF BARNEVELD	\$1,428,716.95	/	124,052,500.00	=	0.011517035	Х	172,085,100.00	=	\$1,981,910.12	\$553,193.17
5. Technical College Distric	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$139,819.27	/	124,052,500.00	=	0.001127098	Х	172,085,100.00	=	\$193,956.77	\$54,137.50
6. Tax Increment Total										
	\$3,032,549.92								\$4,206,740.55	\$1,174,190.63

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information										
Name Michelle Walker	Title Clerk-Treasurer									
Email barneveld@mhtc.net	Phone (608) 924-6861									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 25106

Submission date: 11-23-2021 05:38 PM

Confirmation: TIW20210705O1637710662170

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 25136 County IOWA

Municipality

Muni Type VILLAGE

HIGHLAND

Account No. 0708

Total Equalized TID Value Increment 5,138,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
IOWA	\$287,421.88 /	45,143,700.00	=	0.006366822	Х	50,282,200.00	=	\$320,137.82	\$32,715.94
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HIGHLAND	\$180,172.00 /	45,143,700.00	=	0.003991077	Х	50,282,200.00	=	\$200,680.13	\$20,508.13
4. School Districts									
SCH D OF HIGHLAND	\$465,418.00 /	45,143,700.00	=	0.0103097	Х	50,282,200.00	=	\$518,394.40	\$52,976.40
5. Technical College Distri	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$50,881.35 /	45,143,700.00	=	0.001127097	Х	50,282,200.00	=	\$56,672.92	\$5,791.57
6. Tax Increment Total									
	\$983,893.23							\$1,095,885.27	\$111,992.04

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Becky Fredericks	Title Clerk-Treasurer									
Email bfredericks@villageofhighland.net	Phone (608) 929-7781									
Comments										
Signatura Statement										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 25136

Submission date: 11-23-2021 01:01 PM

Confirmation: TIW20210708O1637694116391

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 25177 County

Muni Type

Municipality

IOWA

e VILLAGE

RIDGEWAY

Account No. 0715

Total Equalized TID Value Increment 4,473,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
IOWA	\$258,416.54	/	40,588,000.00	=	0.006366821	Х	45,061,500.00	=	\$286,898.50	\$28,481.96
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
RIDGEWAY	\$410,430.00	/	40,588,000.00	=	0.010112102	Х	45,061,500.00	=	\$455,666.48	\$45,236.48
4. School Districts										
SCH D OF DODGEVILLE	\$382,361.00	/	40,588,000.00	=	0.009420543	Х	45,061,500.00	=	\$424,503.80	\$42,142.80
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$45,746.63	/	40,588,000.00	=	0.001127097	Х	45,061,500.00	=	\$50,788.68	\$5,042.05
6. Tax Increment Total										
	\$1,096,954.17								\$1,217,857.46	\$120,903.29

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information									
Name Hailey Roessler	Title Clerk Treasurer									
Email clerk@villageofridgeway.com	Phone (608) 924-5881									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 25177

Submission date: 11-24-2021 01:28 PM

Confirmation: TIW20210715O1637782031945

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 25216

County **IOWA** Muni Type

Municipality

CITY

DODGEVILLE

Account No. 0716

Total Equalized TID Value Increment 57,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
IOWA	\$2,701,822.41	/	440,116,100.00	=	0.006138886	Х	440,173,600.00	=	\$2,702,175.55	\$353.14
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
DODGEVILLE	\$3,373,977.00	/	440,116,100.00	=	0.007666107	Х	440,173,600.00	=	\$3,374,417.92	\$440.92
4. School Districts										
SCH D OF DODGEVILLE	\$4,146,135.00	/	440,116,100.00	=	0.009420548	Х	440,173,600.00	=	\$4,146,676.53	\$541.53
5. Technical College Distriction	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$496,053.77	/	440,116,100.00	=	0.001127098	Х	440,173,600.00	=	\$496,118.78	\$65.01
6. Tax Increment Total										
	\$10,717,988.18								\$10,719,388.78	\$1,400.60

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Lauree Aulik	Title Clerk/Treasurer						
Email cityclerktreas@ci.dodgeville.wi.us	Phone (608) 930-5228						
Comments							
Signature Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?							
XYES	NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 25216

Submission date: 12-01-2021 02:45 PM

Confirmation: TIW20210716O1638391310971

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 27136 County JACKSON

Muni Type VILLAGE

HIXTON

Municipality

Account No. 0754

Total Equalized TID Value Increment 9,310,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JACKSON	\$140,095.98	/	23,036,300.00	=	0.006081531	Х	32,346,700.00	=	\$196,717.46	\$56,621.48
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
HIXTON	\$121,750.00	/	23,036,300.00	=	0.005285137	Х	32,346,700.00	=	\$170,956.74	\$49,206.74
4. School Districts										
SCH D OF BLACK RIVER FALLS	\$182,827.00	/	23,036,300.00	=	0.007936474	Х	32,346,700.00	=	\$256,718.74	\$73,891.74
5. Technical College Distric	cts									
WESTERN TECHNICAL COLLEGE LACR	\$29,295.52	/	23,036,300.00	=	0.001271711	Х	32,346,700.00	=	\$41,135.65	\$11,840.13
6. Tax Increment Total										
	\$473,968.50								\$665,528.59	\$191,560.09

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Laurie Mueller	Title Clerk						
Email villageofhixton@tcc.coop	Phone (715) 963-3732						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.						
Do you agree with t	he statement above?						
XYES							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 27136

Submission date: 11-23-2021 12:31 PM

Confirmation: TIW20210754O1637692247958

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 27152 County

Muni Type

Municipality

JACKSON VILLAGE

VILLAGE MERRILLAN Account No. 0756

Total Equalized TID Value Increment 1,267,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JACKSON	\$150,176.92	/	24,868,700.00	=	0.006038793	Х	26,135,800.00	=	\$157,828.69	\$7,651.77
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MERRILLAN	\$37,437.00	/	24,868,700.00	=	0.001505386	Х	26,135,800.00	=	\$39,344.47	\$1,907.47
4. School Districts										
SCH D OF ALMA CENTER	\$246,512.31	/	24,745,557.00	=	0.009961882	Х	26,012,657.00	=	\$259,135.02	\$12,622.71
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$20,064.90	/	24,745,557.00	=	0.000810849	Х	26,012,657.00	=	\$21,092.34	\$1,027.44
6. Tax Increment Total										
	\$454,191.13								\$477,400.52	\$23,209.39

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information							
Name Penny Danielson	Title Clerk-Treasurer							
Email villageofmerrillan@tcc.coop	Phone (715) 333-2332							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with t	he statement above?							
XYES	S NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 27152

Submission date: 11-23-2021 01:03 PM

Confirmation: TIW20210756O1637694204564

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 27186 County JACKSON

Muni Type VILLAGE

TAYLOR

Municipality

Account No. 0757

Total Equalized TID Value Increment 537,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JACKSON	\$90,239.93	/	15,233,800.00	=	0.005923665	Х	15,771,700.00	=	\$93,426.27	\$3,186.34
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
TAYLOR	\$64,948.00	/	15,233,800.00	=	0.004263414	Х	15,771,700.00	=	\$67,241.29	\$2,293.29
4. School Districts										
SCH D OF BLAIR-TAYLOR	\$132,084.00	/	15,233,800.00	=	0.008670456	Х	15,771,700.00	=	\$136,747.83	\$4,663.83
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$19,372.99	/	15,233,800.00	=	0.001271711	Х	15,771,700.00	=	\$20,057.04	\$684.05
6. Tax Increment Total										
	\$306,644.92								\$317,472.43	\$10,827.51

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Wendy Bue	Title Clerk-Treasurer						
Email villageoftaylor@triwest.net	Phone (715) 662-3404						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true	. correct and complete to the best of my knowledge and belief.						
Do you agree with t	he statement above?						
XYES	SNO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 27186

Submission date: 11-23-2021 12:15 PM

Confirmation: TIW20210757O1637691292677

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 27206

County

Muni Type

JACKSON

CITY

Municipality BLACK RIVER FALLS

Account No. 0758

Total Equalized TID Value Increment 23,414,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JACKSON	\$1,485,645.65 /	250,798,400.00	=	0.005923665	Х	274,213,200.00	=	\$1,624,347.14	\$138,701.49
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BLACK RIVER FALLS	\$2,137,766.00 /	250,798,400.00	=	0.008523842	Х	274,213,200.00	=	\$2,337,349.99	\$199,583.99
4. School Districts									
SCH D OF BLACK RIVER FALLS	\$1,990,457.00 /	250,798,400.00	=	0.007936482	X	274,213,200.00	=	\$2,176,288.13	\$185,831.13
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$318,943.08 /	250,798,400.00	=	0.001271711	X	274,213,200.00	=	\$348,719.94	\$29,776.86
6. Tax Increment Total									
	\$5,932,811.73							\$6,486,705.20	\$553,893.47

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Alex B. Chown	Title City Administrator					
Email city.admin@blackriverfalls.us	Phone (715) 284-2315					
Comments						
Cianatura Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 27206

Submission date: 11-23-2021 02:08 PM

Confirmation: TIW20210758O1637698116062

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28141 County JEFFERSON

Muni Type VILLAGE

Municipality JOHNSON CREEK

Account No. 0777

Total Equalized TID Value Increment 147,632,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JEFFERSON	\$1,143,065.14 /	293,569,000.00	=	0.003893685	Х	441,201,100.00	=	\$1,717,898.11	\$574,832.97
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
JOHNSON CREEK	\$1,501,693.00 /	293,569,000.00	=	0.005115298	Х	441,201,100.00	=	\$2,256,875.10	\$755,182.10
4. School Districts									
SCH D OF JOHNSON CREEK	\$3,401,565.00 /	293,569,000.00	=	0.011586935	Х	441,201,100.00	=	\$5,112,168.47	\$1,710,603.47
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$236,838.36 /	293,569,000.00	=	0.000806755	Х	441,201,100.00	=	\$355,941.19	\$119,102.83
6. Tax Increment Total									
	\$6,283,161.50							\$9,442,882.87	\$3,159,721.37

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Sandra Bell "Sam"	Title Clerk/Treasurer						
Email samb@johnsoncreekwi.org	Phone (920) 699-9381						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28141

Submission date: 11-23-2021 03:23 PM

Confirmation: TIW20210777O1637702581879

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28171 County JE

Muni Type V

Municipality

JEFFERSON VILLAGE

PALMYRA

Account No. 0778

Total Equalized TID Value Increment 8,555,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JEFFERSON	\$535,574.78 /	137,549,600.00	=	0.003893685	X	146,105,400.00	=	\$568,888.40	\$33,313.62
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PALMYRA	\$1,164,693.00 /	137,549,600.00	=	0.00846744	Х	146,105,400.00	=	\$1,237,138.71	\$72,445.71
4. School Districts									
SCH D OF PALMYRA-EAGLE AREA	\$1,114,132.00 /	137,549,600.00	=	0.008099856	X	146,105,400.00	=	\$1,183,432.70	\$69,300.70
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$41,566.38 /	137,549,600.00	=	0.000302192	Х	146,105,400.00	=	\$44,151.88	\$2,585.50
6. Tax Increment Total									
	\$2,855,966.16							\$3,033,611.69	\$177,645.53

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Laurie Mueller	Title Village Clerk-Treasurer						
Email clerk@villageofpalmyra.com	Phone (262) 495-8316						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28171

Submission date: 12-07-2021 01:13 PM

Confirmation: TIW20210778O1637695220431

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 28226 County JEFFERSON

Muni Type CITY

Municipality FORT ATKINSON

Account No. 0780

Total Equalized TID Value Increment 63,193,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JEFFERSON	\$4,059,445.12 /	1,042,571,600.00	=	0.003893685	Х	1,105,765,400.00	=	\$4,305,502.15	\$246,057.03
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
FORT ATKINSON	\$7,635,912.00 /	1,042,571,600.00	=	0.007324113	Х	1,105,765,400.00	=	\$8,098,750.74	\$462,838.74
4. School Districts									
SCH D OF FORT ATKINSON	\$11,380,946.34 /	1,042,571,600.00	=	0.010916225	Х	1,105,765,400.00	=	\$12,070,783.90	\$689,837.56
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$841,100.22 /	1,042,571,600.00	=	0.000806755	Х	1,105,765,400.00	=	\$892,081.77	\$50,981.55
6. Tax Increment Total									
	\$23,917,403.68							\$25,367,118.56	\$1,449,714.88

2021 Tax Increment Worksheet

Phone (920) 563-7760

WI Dept of Revenue

Preparer Information	
Name Michelle Ebbert	Title Clerk Treasurer

Comments

Email

I PULLED OUR LEVY TID IN INSTEAD OF TID OUT. MY MISTAKE. AMENDING TIW AND CORRECTING WITH JEFFERSON COUNTY.

Signature Statement

miebbert@fortatkinsonwi.net

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28226

Submission date: 12-06-2021 10:25 AM

Confirmation: TIW20210780A1638807945114

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28241 County JEFFERSON

Muni Type CITY

Municipality JEFFERSON

Account No. 0781

Total Equalized TID Value Increment 36,638,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JEFFERSON	\$2,430,733.93	/	624,276,000.00	=	0.003893685	Х	660,914,000.00	=	\$2,573,390.93	\$142,657.00
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
JEFFERSON	\$4,574,675.00	/	624,276,000.00	=	0.007327969	Х	660,914,000.00	=	\$4,843,157.30	\$268,482.30
4. School Districts										
SCH D OF JEFFERSON	\$6,534,380.70	/	624,276,000.00	=	0.010467134	Х	660,914,000.00	=	\$6,917,875.40	\$383,494.70
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$503,638.01	/	624,276,000.00	=	0.000806755	Х	660,914,000.00	=	\$533,195.67	\$29,557.66
6. Tax Increment Total										
	\$14,043,427.64								\$14,867,619.30	\$824,191.66

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Tanya Stewart	Title Finance Director/Treasurer					
Email tanya@jeffersonwis.com	Phone (920) 674-7700					
Comments	Comments					
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28241

Submission date: 11-29-2021 11:54 AM

Confirmation: TIW20210781O1637693735230

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28246

County

Muni Type

Municipality

JEFFERSON

LAKE MILLS

CITY

Account No. 0782

Total Equalized TID Value Increment 31,004,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JEFFERSON	\$2,570,624.29	/	660,203,500.00	=	0.003893685	Х	691,208,300.00	=	\$2,691,347.39	\$120,723.10
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
LAKE MILLS	\$4,816,500.00	/	660,203,500.00	=	0.007295478	Х	691,208,300.00	=	\$5,042,694.95	\$226,194.95
4. School Districts										
SCH D OF LAKE MILLS AREA	\$5,552,311.25	/	660,203,500.00	=	0.00841	Х	691,208,300.00	=	\$5,813,061.80	\$260,750.55
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$532,622.71	/	660,203,500.00	=	0.000806755	Х	691,208,300.00	=	\$557,635.75	\$25,013.04
6. Tax Increment Total										
	\$13,472,058.25								\$14,104,739.89	\$632,681.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information					
Name Elizabeth Milbrath	Title Finance Director/Treasurer				
Email emilbrath@ci.lake-mills.wi.us	Phone (920) 648-2344				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?					
X YES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28246

Submission date: 11-24-2021 10:45 AM

Confirmation: TIW20210782O1637702103312

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28290

County

Muni Type

JEFFERSON

Muni Type CITY

Municipality WATERLOO

Account No. 0783

Total Equalized TID Value Increment 10,337,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JEFFERSON	\$998,099.36	256,338,000.00	=	0.003893685	Х	266,675,400.00	=	\$1,038,350.00	\$40,250.64
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WATERLOO	\$2,019,035.00	256,338,000.00	=	0.007876456	Х	266,675,400.00	=	\$2,100,457.05	\$81,422.05
4. School Districts									
SCH D OF WATERLOO	\$2,271,464.99	256,338,000.00	=	0.008861211	Х	266,675,400.00	=	\$2,363,066.99	\$91,602.00
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$206,802.05	256,338,000.00	=	0.000806755	Х	266,675,400.00	=	\$215,141.71	\$8,339.66
6. Tax Increment Total									
	\$5,495,401.40							\$5,717,015.75	\$221,614.35

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information						
Name Mo Hansen	Title Clerk/Treasurer					
Email cityhall@waterloowi.us	Phone (920) 478-3025					
Comments	Comments					
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28290

Submission date: 11-23-2021 11:32 AM

Confirmation: TIW20210783O1637687056833

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28291 County JEFFERSON

Muni Type CITY

Municipality WATERTOWN

Account No. 0784

Total Equalized TID Value Increment 73,230,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JEFFERSON	\$3,918,690.17 /	/	1,039,132,500.00	=	0.003771117	Х	1,112,362,600.00	=	\$4,194,849.51	\$276,159.34
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
WATERTOWN	\$9,591,925.00 /	/	1,039,132,500.00	=	0.009230704	Х	1,112,362,600.00	=	\$10,267,889.90	\$675,964.90
4. School Districts										
SCH D OF WATERTOWN	\$9,250,850.00 /	/	1,039,132,500.00	=	0.008902474	Х	1,112,362,600.00	=	\$9,902,779.13	\$651,929.13
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$838,325.71 /	/	1,039,132,500.00	=	0.000806755	Х	1,112,362,600.00	=	\$897,404.09	\$59,078.38
6. Tax Increment Total										
	\$23,599,790.88								\$25,262,922.63	\$1,663,131.75

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Elissa Friedl	Title Clerk/Treasurer								
Email elissaf@cityofwatertown.org	Phone (920) 262-4007								
Comments									
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28291

Submission date: 11-23-2021 06:38 PM

Confirmation: TIW20210784O1637714289238

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 28292

County

Muni Type

JEFFERSON

Muni Type CITY

Municipality WHITEWATER

Account No. 0785

Total Equalized TID Value Increment 31,926,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JEFFERSON	\$265,100.74	/	68,084,800.00	=	0.003893685	Х	100,010,900.00	=	\$389,410.94	\$124,310.20
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
WHITEWATER	\$405,521.33	/	68,084,800.00	=	0.005956121	Х	100,010,900.00	=	\$595,677.02	\$190,155.69
4. School Districts										
SCH D OF WHITEWATER	\$748,933.00	/	68,084,800.00	=	0.011000003	Х	100,010,900.00	=	\$1,100,120.20	\$351,187.20
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$54,927.78	/	68,084,800.00	=	0.000806755	Х	100,010,900.00	=	\$80,684.29	\$25,756.51
6. Tax Increment Total										
	\$1,474,482.85								\$2,165,892.45	\$691,409.60

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information									
Name Karen Dieter	Title Comptroller								
Email kdieter@whitewater-wi.gov	Phone (262) 473-1382								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 28292

Submission date: 11-23-2021 12:11 PM

Confirmation: TIW20210785O1637691091367

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 29111 County

Muni Type

Municipality

JUNEAU

VILLAGE

CAMP DOUGLAS

Account No. 0806

Total Equalized TID Value Increment 5,074,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JUNEAU	\$161,318.92 /	24,400,000.00	=	0.006611431	Χ	29,474,100.00	=	\$194,865.98	\$33,547.06
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
CAMP DOUGLAS	\$200,249.00 /	24,400,000.00	=	0.008206926	Х	29,474,100.00	=	\$241,891.76	\$41,642.76
4. School Districts									
SCH D OF TOMAH AREA	\$167,698.83 /	24,400,000.00	=	0.006872903	X	29,474,100.00	=	\$202,572.63	\$34,873.80
5. Technical College Distriction	cts								
WESTERN TECHNICAL COLLEGE LACR	\$31,029.75 /	24,400,000.00	=	0.001271711	Х	29,474,100.00	=	\$37,482.54	\$6,452.79
6. Tax Increment Total									
	\$560,296.50							\$676,812.91	\$116,516.41

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sarah Stark	Title Clerk/Treasurer							
Email cdvillage@mwt.net	Phone (608) 427-3355							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 29111

Submission date: 12-06-2021 09:05 AM

Confirmation: TIW20210806O1638803113835

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 29161 County JUNEAU

Muni Type VILLAGE

NECEDAH

Municipality

Account No. 0809

Total Equalized TID Value Increment 13,381,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JUNEAU	\$232,399.70	/	36,177,900.00	=	0.006423803	X	49,559,800.00	=	\$318,362.39	\$85,962.69
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
NECEDAH	\$435,073.00	/	36,177,900.00	=	0.012025933	Х	49,559,800.00	=	\$596,002.83	\$160,929.83
4. School Districts										
SCH D OF NECEDAH AREA	\$281,182.00	/	36,177,900.00	=	0.007772203	X	49,559,800.00	=	\$385,188.83	\$104,006.83
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$46,007.83	/	36,177,900.00	=	0.001271711	Х	49,559,800.00	=	\$63,025.74	\$17,017.91
6. Tax Increment Total										
	\$994,662.53								\$1,362,579.79	\$367,917.26

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Roger Herried	Title Administrator/Clerk					
Email necedahadmin@necedah.us Phone (608) 565-2261						
Comments						
Signature Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 29161

Submission date: 12-15-2021 01:12 PM

Confirmation: TIW20210809O1639595521879

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 29221

County Muni Type

Municipality

JUNEAU

CITY

ELROY

Account No. 0812

Total Equalized TID Value Increment 9,487,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JUNEAU	\$379,542.69 /	59,083,800.00	=	0.006423803	Х	68,571,500.00	=	\$440,489.81	\$60,947.12
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ELROY	\$679,173.00 /	59,083,800.00	=	0.01149508	Х	68,571,500.00	=	\$788,234.88	\$109,061.88
4. School Districts									
SCH D OF ROYALL	\$448,202.98 /	59,083,800.00	=	0.007585886	X	68,571,500.00	=	\$520,175.58	\$71,972.60
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$75,137.52 /	59,083,800.00	=	0.001271711	Х	68,571,500.00	=	\$87,203.13	\$12,065.61
6. Tax Increment Total									
	\$1,582,056.19							\$1,836,103.40	\$254,047.21

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Carole Brown	Title Treasurer						
Email cbrown@elroywi.com	Phone (608) 462-2400						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 29221

Submission date: 11-23-2021 12:11 PM

Confirmation: TIW20210812O1637690999173

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 29251 County JUI

Muni Type CIT

Municipality

JUNEAU

CITY MAUSTON Account No. 0813

Total Equalized TID Value Increment 60,214,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
JUNEAU	\$1,272,448.05 /	198,083,300.00	=	0.006423803	X	258,297,300.00	=	\$1,659,250.97	\$386,802.92
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MAUSTON	\$1,776,818.37 /	198,083,300.00	=	0.008970056	Х	258,297,300.00	=	\$2,316,941.25	\$540,122.88
4. School Districts									
SCH D OF MAUSTON	\$1,659,075.80 /	198,083,300.00	=	0.008375647	X	258,297,300.00	=	\$2,163,407.01	\$504,331.21
5. Technical College Distriction	cts								
WESTERN TECHNICAL COLLEGE LACR	\$251,904.70 /	198,083,300.00	=	0.001271711	Х	258,297,300.00	=	\$328,479.52	\$76,574.82
6. Tax Increment Total									
	\$4,960,246.92							\$6,468,078.75	\$1,507,831.83

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Randall D Reeg Title City Administrator							
Email cityadmin@mauston.com Phone (608) 847-6676							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 29251

Submission date: 11-23-2021 12:25 PM

Confirmation: TIW20210813O1637691951423

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 29261

County

Muni Type

Municipality

JUNEAU

CITY

NEW LISBON

Account No. 0814

Total Equalized TID Value Increment 3,743,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
JUNEAU	\$586,299.21	/	91,269,800.00	=	0.006423803	X	95,013,100.00	=	\$610,345.44	\$24,046.23
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
NEW LISBON	\$679,395.00	/	91,269,800.00	=	0.007443809	Х	95,013,100.00	=	\$707,259.37	\$27,864.37
4. School Districts										
SCH D OF NEW LISBON	\$748,304.14	/	91,269,800.00	=	0.008198814	Х	95,013,100.00	=	\$778,994.73	\$30,690.59
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$116,068.81	/	91,269,800.00	=	0.001271711	Х	95,013,100.00	=	\$120,829.20	\$4,760.39
6. Tax Increment Total										
	\$2,130,067.16								\$2,217,428.74	\$87,361.58

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Lisa Vinz	Title City Clerk/Treasruer						
Email nlclerk@mwt.net	Phone (608) 562-5213						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 29261

Submission date: 12-02-2021 08:35 AM

Confirmation: TIW20210814O1638290154430

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30104 County KENOSHA

Muni Type VILLAGE

BRISTOL

Municipality

Account No. 1984

Total Equalized TID Value Increment 40,284,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
KENOSHA	\$3,296,373.72 /	738,586,100.00	=	0.004463087	Х	778,870,300.00	=	\$3,476,165.91	\$179,792.19
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BRISTOL	\$1,794,102.00 /	738,586,100.00	=	0.002429103	Х	778,870,300.00	=	\$1,891,956.18	\$97,854.18
4. School Districts									
SCH D OF BRISTOL #1	\$3,150,671.52 /	650,351,237.00	=	0.004844569	Х	690,635,437.00	=	\$3,345,831.03	\$195,159.51
UHS D OF CENTRAL-WESTOSHA UNION HIGH	\$2,514,878.40 /	738,586,100.00	=	0.00340499	Х	778,870,300.00	=	\$2,652,045.58	\$137,167.18
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$532,845.99 /	738,586,100.00	=	0.000721441	Х	778,870,300.00	=	\$561,908.97	\$29,062.98
6. Tax Increment Total									
	\$11,288,871.63							\$11,927,907.67	\$639,036.04

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Denise Gilbert	Title Government Services Manager								
Email deniseg@aocpa.net	Phone (262) 693-1138								
Comments	Comments								
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30104

Submission date: 12-10-2021 10:29 AM

Confirmation: TIW20211984O1637698586709

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30171 County

Muni Type

KENOSHA

oe VILLAGE

Municipality PADDOCK LAKE

Account No. 0824

Total Equalized TID Value Increment 9,440,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County	1. County									
KENOSHA	\$1,240,978.03	/	296,906,500.00	=	0.004179693	Х	306,346,700.00	=	\$1,280,435.16	\$39,457.13
2. Special Districts (metro,	sanitary, lake)									
PADDOCK LAKE PUB INLAND LAKE PRO & REHAB DIST	\$52,482.00	/	287,606,236.00	=	0.000182479	Х	298,650,636.00	=	\$54,497.47	\$2,015.47
HOOKER LAKE MANAGEMENT DISTRICT	\$529.34	/	2,046,938.00	=	0.000258601	Χ	3,054,638.00	=	\$789.93	\$260.59
3. Tax District (town, village	e, city)									
PADDOCK LAKE	\$1,408,951.00	/	296,906,500.00	=	0.004745437	Х	306,346,700.00	=	\$1,453,748.97	\$44,797.97
4. School Districts										
UHS D OF CENTRAL-WESTOSHA UNION HIGH	\$1,010,082.20	/	296,647,610.00	=	0.00340499	Х	306,087,810.00	=	\$1,042,225.93	\$32,143.73
SCH D OF SALEM	\$2,036,445.00	/	296,723,200.00	=	0.006863114	Х	306,163,400.00	=	\$2,101,234.32	\$64,789.32
5. Technical College Distric	ots									
GATEWAY TECHNICAL COLLEGE KENO	\$214,200.40	/	296,906,500.00	=	0.000721441	Х	306,346,700.00	=	\$221,011.07	\$6,810.67
6. Tax Increment Total										
	\$5,963,667.97								\$6,153,942.85	\$190,274.88

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Michelle Shramek	Title Clerk/Treasurer								
Email mshramek@paddocklake.net	Phone (262) 843-2713								
Comments	Comments								
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30171

Submission date: 11-24-2021 09:01 AM

Confirmation: TIW20210824O1637692787870

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30174 County

Muni Type

KENOSHA

VILLAGE

Municipality PLEASANT PRAIRIE

Account No. 0825

Total Equalized TID Value Increment 1,148,222,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
KENOSHA	\$16,542,320.67	/	3,706,475,400.00	=	0.004463087	Х	4,854,697,900.00	=	\$21,666,939.09	\$5,124,618.42
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
PLEASANT PRAIRIE	\$14,252,940.00	/	3,706,475,400.00	=	0.003845416	Χ	4,854,697,900.00	=	\$18,668,332.98	\$4,415,392.98
4. School Districts										
SCH D OF BRISTOL #1	\$61,074.02	/	12,606,699.00	=	0.004844569	X	417,532,099.00	=	\$2,022,763.06	\$1,961,689.04
SCH D OF KENOSHA	\$28,749,249.22	/	3,693,868,701.00	=	0.007782965	Χ	4,437,165,801.00	=	\$34,534,306.13	\$5,785,056.91
UHS D OF CENTRAL-WESTOSHA UNION HIGH	\$42,925.69	/	12,606,699.00	=	0.00340499	Х	417,532,099.00	=	\$1,421,692.62	\$1,378,766.93
5. Technical College District	ots									
GATEWAY TECHNICAL COLLEGE KENO	\$2,674,001.78	/	3,706,475,400.00	=	0.000721441	Х	4,854,697,900.00	=	\$3,502,378.11	\$828,376.33
6. Tax Increment Total										
	\$62,322,511.38								\$81,816,411.99	\$19,493,900.61

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kathleen M Goessl	Title Finance Director							
Email kgoessl@pleasantprairiewi.gov	Phone (262) 925-6709							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30174

Submission date: 11-23-2021 01:03 PM

Confirmation: TIW20210825O1637694206961

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30179

County

Muni Type

KENOSHA

Muni Type VILLAGE

Municipality SALEM LAKES

Account No. 1994

Total Equalized TID Value Increment 17,464,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
KENOSHA	\$7,079,544.03 /	1,693,795,200.00	=	0.004179693	Х	1,711,259,400.00	=	\$7,152,538.94	\$72,994.91
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SALEM LAKES	\$5,801,571.00 /	1,693,795,200.00	=	0.00342519	Х	1,711,259,400.00	=	\$5,861,388.58	\$59,817.58
4. School Districts									
SCH D OF TREVOR-WILMOT CONSOLIDATED	\$3,158,457.12 /	399,490,092.00	=	0.007906221	Х	416,954,292.00	=	\$3,296,532.78	\$138,075.66
UHS D OF WILMOT (SALEM) UNION HIGH	\$4,737,102.00 /	986,194,141.00	=	0.004803417	Х	1,003,658,341.00	=	\$4,820,989.54	\$83,887.54
5. Technical College Distriction	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$1,221,972.60 /	1,693,795,200.00	=	0.000721441	Х	1,711,259,400.00	=	\$1,234,572.69	\$12,600.09
6. Tax Increment Total									
	\$21,998,646.75							\$22,366,022.53	\$367,375.78

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Prepa	Preparer Information						
Name	Christine Lamb	Title Treasurer					
Email	clamb@voslwi.org	Phone (262) 843-2313					
Comr	ments						
Com	IIICIII.S						
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
	X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30179

Submission date: 11-23-2021 01:17 PM

Confirmation: TIW20211994O1637694227086

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30182 County KENOSHA

Muni Type VILLAGE

SOMERS

Municipality

Account No. 1993

Total Equalized TID Value Increment 180,209,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
KENOSHA	\$3,752,618.54 /	840,812,400.00	=	0.004463087	Х	1,021,021,500.00	=	\$4,556,907.78	\$804,289.24
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SOMERS	\$4,252,988.00 /	840,812,400.00	=	0.005058189	Х	1,021,021,500.00	=	\$5,164,519.72	\$911,531.72
4. School Districts									
SCH D OF KENOSHA	\$6,540,870.37 /	840,408,602.00	=	0.007782965	Χ	1,020,617,702.00	=	\$7,943,431.85	\$1,402,561.48
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$606,596.19 /	840,812,400.00	=	0.000721441	Х	1,021,021,500.00	=	\$736,606.77	\$130,010.58
6. Tax Increment Total									
	\$15,153,073.10							\$18,401,466.12	\$3,248,393.02

Form	
PC-202	

WI Dept of Revenue

Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30182

Submission date: 12-02-2021 09:54 AM

Confirmation: TIW20211993O1638456492734

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30186 County KEN

Muni Type VILL

Municipality

KENOSHA

TWIN LAKES

VILLAGE

Account No. 0827

Total Equalized TID Value Increment 7,267,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /		Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
KENOSHA	\$4,305,430.76 /	/	1,030,083,000.00	=	0.004179693	X	1,037,350,200.00	=	\$4,335,805.37	\$30,374.61
2. Special Districts (metro,	sanitary, lake)									
TWIN LAKES PRO & REHAB DISTRICT	\$78,000.00 /	/	1,030,083,000.00	=	0.000075722	Х	1,037,350,200.00	=	\$78,550.23	\$550.23
3. Tax District (town, village	e, city)									
TWIN LAKES	\$4,265,912.00 /	/	1,030,083,000.00	=	0.004141328	Х	1,037,350,200.00	=	\$4,296,007.43	\$30,095.43
4. School Districts										
SCH D OF RANDALL J 1	\$2,290,074.00 /	/	344,174,610.00	=	0.006653814	X	346,496,610.00	=	\$2,305,523.99	\$15,449.99
SCH D OF TWIN LAKES #4	\$4,862,489.00 /	/	684,443,612.00	=	0.007104295	Χ	689,388,812.00	=	\$4,897,621.49	\$35,132.49
UHS D OF WILMOT (SALEM) UNION HIGH	\$4,947,918.00 /	/	1,030,083,000.00	=	0.004803417	X	1,037,350,200.00	=	\$4,982,825.59	\$34,907.59
5. Technical College Districts										
GATEWAY TECHNICAL COLLEGE KENO	\$743,143.68 /	/	1,030,083,000.00	=	0.000721441	Х	1,037,350,200.00	=	\$748,386.97	\$5,243.29
6. Tax Increment Total										
	\$21,492,967.44								\$21,644,721.07	\$151,753.63

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information							
Name Sabrina Waswo	Title Clerk						
Email waswo@twinlakeswi.net	Phone (262) 877-2858						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
bo you agree with the statement above?							
WYES INO							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30186

Submission date: 11-23-2021 12:48 PM

Confirmation: TIW20210827O1637692678198

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 30241 County KENOSHA

Muni Type CITY

Municipality KENOSHA

Account No. 0828

Total Equalized TID Value Increment 935,801,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
KENOSHA	\$30,815,460.00 /	7,372,661,000.00	=	0.004179693	X	8,308,462,100.00	=	\$34,726,820.88	\$3,911,360.88
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
KENOSHA	\$73,571,171.00 /	7,372,661,000.00	=	0.009978917	Х	8,308,462,100.00	=	\$82,909,453.69	\$9,338,282.69
4. School Districts									
SCH D OF KENOSHA	\$53,657,573.07 /	6,894,233,243.00	=	0.007782965	X	7,668,906,243.00	=	\$59,686,828.88	\$6,029,255.81
SCH D OF PARIS J 1	\$717,024.41 /	205,322,671.00	=	0.003492183	X	366,450,771.00	=	\$1,279,713.15	\$562,688.74
UHS D OF CENTRAL-WESTOSHA UNION HIGH	\$1,629,041.81 /	478,427,757.00	=	0.00340499	X	639,555,857.00	=	\$2,177,681.30	\$548,639.49
5. Technical College Districts									
GATEWAY TECHNICAL COLLEGE KENO	\$5,318,936.86 /	7,372,661,000.00	=	0.000721441	Х	8,308,462,100.00	=	\$5,994,065.21	\$675,128.35
6. Tax Increment Total									
	\$165,709,207.15							\$186,774,563.11	\$21,065,355.96

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Carol Stancato	Title Director of Finance							
Email cstancato@kenosha.org	Phone (262) 653-4184							
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 30241

Submission date: 12-06-2021 01:49 PM

Confirmation: TIW20210828O1638457537350

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 31146 County KEWAUNEE

Muni Type VILLAGE

Municipality LUXEMBURG

Account No. 0841

Total Equalized TID Value Increment 42,429,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
KEWAUNEE	\$1,330,532.10	193,451,200.00	=	0.006877869	Х	235,880,200.00	=	\$1,622,353.12	\$291,821.02
2. Special Districts (metro,	sanitary, lake)								
GREEN BAY METRO SEWER DISTRICT	\$0.00 /	193,451,200.00	=	0	Х	235,880,200.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)								
LUXEMBURG	\$1,123,364.00 /	193,451,200.00	=	0.005806963	Х	235,880,200.00	=	\$1,369,747.59	\$246,383.59
4. School Districts									
SCH D OF LUXEMBURG-CASCO	\$1,594,165.01 /	193,451,200.00	=	0.008240657	X	235,880,200.00	=	\$1,943,807.82	\$349,642.81
5. Technical College Distric	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$142,841.32	193,451,200.00	=	0.000738384	Х	235,880,200.00	=	\$174,170.17	\$31,328.85
6. Tax Increment Total									
	\$4,190,902.43							\$5,110,078.70	\$919,176.27

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name MiLissa Stipe Title Clerk-Treasurer									
Email clerktreasurer@luxemburgusa.com Phone (920) 845-2722									
Comments									
Cianatura Ctatament									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 31146

Submission date: 12-13-2021 11:56 AM

Confirmation: TIW20210841O1637775122904

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 31201 County

Muni Type

KEWAUNEE

CITY

Municipality ALGOMA

Account No. 0842

Total Equalized TID Value Increment 8,403,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
KEWAUNEE	\$1,354,602.31	/	202,086,500.00	=	0.006703082	Х	210,490,000.00	=	\$1,410,931.73	\$56,329.42
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ALGOMA	\$1,957,798.00	/	202,086,500.00	=	0.009687921	Х	210,490,000.00	=	\$2,039,210.49	\$81,412.49
4. School Districts										
SCH D OF ALGOMA	\$1,752,947.39	/	202,086,500.00	=	0.008674243	Х	210,490,000.00	=	\$1,825,841.41	\$72,894.02
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$149,217.49	/	202,086,500.00	=	0.000738384	Х	210,490,000.00	=	\$155,422.45	\$6,204.96
6. Tax Increment Total										
	\$5,214,565.19								\$5,431,406.08	\$216,840.89

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Amber Shallow Title Treasurer								
Email amber.shallow@algomacity.org Phone (920) 487-5203								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 31201

Submission date: 11-24-2021 08:52 AM

Confirmation: TIW20210842O1637765550171

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 31241 County KEW
Muni Type CITY

Municipality

KEWAUNEE

CITY KEWAUNEE Account No. 0843

Total Equalized TID Value Increment 7,115,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
KEWAUNEE	\$1,183,996.14	/	176,634,600.00	=	0.006703082	Χ	183,750,200.00	=	\$1,231,692.66	\$47,696.52
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
KEWAUNEE	\$1,691,293.00	/	176,634,600.00	=	0.009575095	Х	183,750,200.00	=	\$1,759,425.62	\$68,132.62
4. School Districts										
SCH D OF KEWAUNEE	\$1,684,365.00	/	176,634,600.00	=	0.009535872	X	183,750,200.00	=	\$1,752,218.39	\$67,853.39
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$130,424.21	/	176,634,600.00	=	0.000738384	Х	183,750,200.00	=	\$135,678.21	\$5,254.00
6. Tax Increment Total										
	\$4,690,078.35								\$4,879,014.88	\$188,936.53

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name City of Kewaunee-Terri Decur Title Clerk/Treasurer								
Email tdecur@cityofkewaunee.org	Phone (920) 388-5000							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 31241

Submission date: 12-07-2021 11:25 AM

Confirmation: TIW20210843O1638897932296

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 32106 County LA CROSSE

Muni Type VILLAGE

Municipality BANGOR

Account No. 0857

Total Equalized TID Value Increment 2,043,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LA CROSSE	\$345,569.15 /	/	104,254,600.00	=	0.003314666	X	106,298,500.00	=	\$352,344.02	\$6,774.87
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BANGOR	\$495,228.00 /	/	104,254,600.00	=	0.004750179	Х	106,298,500.00	=	\$504,936.90	\$9,708.90
4. School Districts										
SCH D OF BANGOR	\$1,018,660.73	/	104,254,600.00	=	0.009770895	Х	106,298,500.00	=	\$1,038,631.48	\$19,970.75
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$132,581.72 /	/	104,254,600.00	=	0.001271711	Х	106,298,500.00	=	\$135,180.97	\$2,599.25
6. Tax Increment Total										
	\$1,992,039.60								\$2,031,093.37	\$39,053.77

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Jeri Wittmershaus Title Vil Administrator/Clerk-Treasurer									
Email jwitt@villageofbangor.com	Phone (608) 486-4084								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 32106

Submission date: 12-07-2021 07:32 AM

Confirmation: TIW20210857O1638307797821

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 32136 County LA CROSSE

Muni Type VILLAGE

HOLMEN

Municipality

Account No. 0858

Total Equalized TID Value Increment 114,800,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LA CROSSE	\$2,798,740.73 /	844,350,800.00	=	0.003314666	Х	959,151,200.00	=	\$3,179,265.87	\$380,525.14
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HOLMEN	\$4,142,063.00 /	844,350,800.00	=	0.004905619	Х	959,151,200.00	=	\$4,705,230.35	\$563,167.35
4. School Districts									
SCH D OF HOLMEN	\$7,047,486.74 /	844,350,800.00	=	0.008346634	X	959,151,200.00	=	\$8,005,684.02	\$958,197.28
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$1,073,770.17 /	844,350,800.00	=	0.001271711	Х	959,151,200.00	=	\$1,219,763.13	\$145,992.96
6. Tax Increment Total									
	\$15,062,060.64							\$17,109,943.37	\$2,047,882.73

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name SCOTT HEINIG	Title VILLAGE ADMINISTRATOR							
Email HEINIG@HOLMENWI.COM	Phone (608) 526-6305							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?								
Do you agree with the statement above:								
XYESNO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 32136

Submission date: 12-01-2021 12:03 PM

Confirmation: TIW20210858O1638381796042

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 32176

e N

County LA CROSSE

Muni Type VILLAGE

Municipality ROCKLAND

Account No. 0859

Total Equalized TID Value Increment 6,238,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LA CROSSE	\$145,724.64	/	43,963,600.00	=	0.003314666	Х	50,201,600.00	=	\$166,401.54	\$20,676.90
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ROCKLAND	\$125,365.00	/	43,963,600.00	=	0.002851564	Х	50,201,600.00	=	\$143,153.08	\$17,788.08
4. School Districts										
SCH D OF BANGOR	\$429,563.71	/	43,963,600.00	=	0.009770895	Х	50,201,600.00	=	\$490,514.56	\$60,950.85
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$55,908.99	/	43,963,600.00	=	0.001271711	Х	50,201,600.00	=	\$63,841.93	\$7,932.94
6. Tax Increment Total										
	\$756,562.34								\$863,911.11	\$107,348.77

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information								
Name Stephanie Rowell	Title Clerk							
Email clerk@villageofrockland.org	Phone (608) 486-4037							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 32176

Submission date: 11-29-2021 01:28 PM

Confirmation: TIW20210859O1638214137030

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 32191 County LA CROSSE

Muni Type VILLAGE

Municipality WEST SALEM

Account No. Total Equalized TID Value Increment 22,198,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LA CROSSE	\$1,633,513.39	492,813,900.00	=	0.003314666	X	515,012,500.00	=	\$1,707,094.42	\$73,581.03
2. Special Districts (metro,	sanitary, lake)								
LAKE NESHONOC PROT & REHAB DISTRICT	\$246,406.94	492,813,900.00	=	0.0005	Х	515,012,500.00	=	\$257,506.25	\$11,099.31
3. Tax District (town, village	e, city)								
WEST SALEM	\$1,627,693.00	492,813,900.00	=	0.003302855	Х	515,012,500.00	=	\$1,701,011.61	\$73,318.61
4. School Districts									
SCH D OF WEST SALEM	\$4,511,332.04	492,813,900.00	=	0.009154231	X	515,012,500.00	=	\$4,714,543.39	\$203,211.35
5. Technical College Distric	cts								
WESTERN TECHNICAL COLLEGE LACR	\$626,716.84	492,813,900.00	=	0.001271711	Х	515,012,500.00	=	\$654,947.06	\$28,230.22
6. Tax Increment Total									
	\$8,645,662.21							\$9,035,102.73	\$389,440.52

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Teresa DeLong	Title Village Administrator								
Email tdelong@westsalemwi.com	Phone (608) 786-1858								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 32191

Submission date: 11-23-2021 01:07 PM

Confirmation: TIW20210860O1637694426702

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 32246

County LA CROSSE Muni Type

CITY

Municipality LA CROSSE Account No. 0861

Total Equalized TID Value Increment 617,654,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LA CROSSE	\$12,239,969.56 /	4,054,920,500.00	=	0.003018547	Х	4,672,574,900.00	=	\$14,104,386.95	\$1,864,417.39
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
LA CROSSE	\$36,919,443.00 /	4,054,920,500.00	=	0.00910485	Х	4,672,574,900.00	=	\$42,543,093.58	\$5,623,650.58
4. School Districts									
SCH D OF LA CROSSE	\$40,141,396.00 /	4,020,815,921.00	=	0.009983396	X	4,638,470,321.00	=	\$46,307,686.05	\$6,166,290.05
5. Technical College Distriction	cts								
WESTERN TECHNICAL COLLEGE LACR	\$5,156,686.89 /	4,054,920,500.00	=	0.001271711	Х	4,672,574,900.00	=	\$5,942,164.90	\$785,478.01
6. Tax Increment Total									
	\$94,457,495.45							\$108,897,331.48	\$14,439,836.03

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Dan DeGier	Title Deputy Director of Finance						
Email degierd@cityoflacrosse.org	Phone (608) 789-8682						
Comments							
Signatura Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 32246

Submission date: 11-30-2021 08:37 AM

Confirmation: TIW20210861O1637771812812

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 32265 County LA CROSSE

Muni Type CITY

Municipality ONALASKA

Account No. 0862

Total Equalized TID Value Increment 13,050,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LA CROSSE	\$7,939,957.12 /	2,395,402,000.00	=	0.003314666	Х	2,408,452,900.00	=	\$7,983,216.94	\$43,259.82
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ONALASKA	\$12,084,690.00 /	2,395,402,000.00	=	0.005044953	Х	2,408,452,900.00	=	\$12,150,531.68	\$65,841.68
4. School Districts									
SCH D OF HOLMEN	\$1,779,991.62 /	213,258,628.00	=	0.008346634	Х	213,879,728.00	=	\$1,785,175.81	\$5,184.19
SCH D OF ONALASKA	\$17,242,292.96 /	2,182,142,692.00	=	0.007901542	X	2,194,572,492.00	=	\$17,340,506.72	\$98,213.76
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$3,046,258.99 /	2,395,402,000.00	=	0.001271711	Х	2,408,452,900.00	=	\$3,062,856.05	\$16,597.06
6. Tax Increment Total									
	\$42,093,190.69							\$42,322,287.20	\$229,096.51

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sabrina Steger	Title Finance Director/Treasurer							
Email ssteger@onalaskawi.gov	Phone (608) 781-9530							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 32265

Submission date: 12-07-2021 12:39 PM

Confirmation: TIW20210862O1637688217709

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 33101 County LAF

Muni Type VILL

LAFAYETTE

Muni Type VILLAGE

Municipality ARGYLE

Account No. 0882

Total Equalized TID Value Increment 175,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LAFAYETTE	\$263,791.56	/	40,936,700.00	=	0.006443889	Х	41,111,700.00	=	\$264,919.23	\$1,127.67
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ARGYLE	\$228,942.00	/	40,936,700.00	=	0.005592586	Х	41,111,700.00	=	\$229,920.72	\$978.72
4. School Districts										
SCH D OF ARGYLE	\$331,923.70	/	40,936,700.00	=	0.008108218	X	41,111,700.00	=	\$333,342.63	\$1,418.93
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$46,139.65	/	40,936,700.00	=	0.001127097	Х	41,111,700.00	=	\$46,336.87	\$197.22
6. Tax Increment Total										
	\$870,796.91								\$874,519.45	\$3,722.54

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sandra Flannery	Title Clerk Treasurer							
Email argyleclerk@centurytel.net	Phone (608) 543-3113							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 33101

Submission date: 12-09-2021 09:24 AM

Confirmation: TIW20210882O1639062158832

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 33106

County

Muni Type

LAFAYETTE VILLAGE

Municipality BELMONT

Account No. 0883

Total Equalized TID Value Increment 7,689,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LAFAYETTE	\$483,841.36 /	75,085,300.00	=	0.006443889	Х	82,774,300.00	=	\$533,388.40	\$49,547.04
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BELMONT	\$337,321.06 /	75,085,300.00	=	0.004492505	Х	82,774,300.00	=	\$371,863.96	\$34,542.90
4. School Districts									
SCH D OF BELMONT COMMUNITY	\$691,548.74 /	75,085,300.00	=	0.009210175	X	82,774,300.00	=	\$762,365.79	\$70,817.05
5. Technical College Distri	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$84,628.46 /	75,085,300.00	=	0.001127098	Х	82,774,300.00	=	\$93,294.75	\$8,666.29
6. Tax Increment Total									
	\$1,597,339.62							\$1,760,912.90	\$163,573.28

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name ALICE GILMAN	Title Clerk-Treasurer						
Email villageclerk@belmontwi.com	Phone (608) 762-5142						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 33106

Submission date: 11-23-2021 02:08 PM

Confirmation: TIW20210883O1637698100636

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 33131 County LAFAYETTE

Muni Type VILLAGE

GRATIOT

Municipality

Account No. 0886

Total Equalized TID Value Increment 1,326,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LAFAYETTE	\$58,860.25 /	8,838,900.00	=	0.006659228	Х	10,165,600.00	=	\$67,695.05	\$8,834.80
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
GRATIOT	\$84,450.00 /	8,838,900.00	=	0.009554356	Х	10,165,600.00	=	\$97,125.76	\$12,675.76
4. School Districts									
SCH D OF BLACK HAWK (GRATIOT)	\$57,871.21 /	8,838,900.00	=	0.006547332	Х	10,165,600.00	=	\$66,557.56	\$8,686.35
5. Technical College Distric	cts								
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$9,962.30 /	8,838,900.00	=	0.001127097	Х	10,165,600.00	=	\$11,457.62	\$1,495.32
6. Tax Increment Total									
	\$211,143.76							\$242,835.99	\$31,692.23

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
ame Travis W Signer Title Clerk/Treasurer							
Email vogclerk@gmail.com Phone (608) 558-2528							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 33131

Submission date: 12-08-2021 06:14 PM

Confirmation: TIW20210886O1637711800622

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 33211 County Muni Type

LAFAYETTE be CITY

Municipality CUBA CITY

Account No. 0889

Total Equalized TID Value Increment 2,771,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LAFAYETTE	\$115,545.39	/	17,931,000.00	=	0.00644389	X	20,702,000.00	=	\$133,401.41	\$17,856.02
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
CUBA CITY	\$130,468.49	/	17,931,000.00	=	0.007276141	Х	20,702,000.00	=	\$150,630.67	\$20,162.18
4. School Districts										
SCH D OF CUBA CITY	\$194,420.24	/	17,931,000.00	=	0.010842688	X	20,702,000.00	=	\$224,465.33	\$30,045.09
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$20,209.99	/	17,931,000.00	=	0.001127098	Х	20,702,000.00	=	\$23,333.18	\$3,123.19
6. Tax Increment Total										
	\$460,644.11								\$531,830.59	\$71,186.48

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Jill Hill	Title Clerk-Treasurer						
Email jhill@cubacitylightandwater.org Phone (608) 744-2152							
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 33211

Submission date: 12-06-2021 02:57 PM

Confirmation: TIW20210889O1637699110131

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 33216

County LAFAYETTE Muni Type

Municipality

CITY

DARLINGTON

Account No. 0890

Total Equalized TID Value Increment 23,810,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LAFAYETTE	\$777,801.28	/	120,703,700.00	=	0.006443889	Х	144,514,500.00	=	\$931,235.40	\$153,434.12
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
DARLINGTON	\$1,290,250.00	/	120,703,700.00	=	0.010689399	Х	144,514,500.00	=	\$1,544,773.15	\$254,523.15
4. School Districts										
SCH D OF DARLINGTON COMMUNITY	\$1,143,618.75	/	120,703,700.00	=	0.009474596	Х	144,514,500.00	=	\$1,369,216.50	\$225,597.75
5. Technical College Distric	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$136,044.84	/	120,703,700.00	=	0.001127098	Х	144,514,500.00	=	\$162,882.00	\$26,837.16
6. Tax Increment Total										
	\$3,347,714.87								\$4,008,107.05	\$660,392.18

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Philip A. Risseeuw Title Clerk-Treasurer							
Email phil.risseeuw@cityofdarlingtonwi.org	Phone (608) 776-4972						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
x YES □NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 33216

Submission date: 12-08-2021 02:10 PM

Confirmation: TIW20210890O1637699915133

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 33281 County LAFAYETTE

Muni Type CITY

Municipality SHULLSBURG

Account No. 0891

Total Equalized TID Value Increment 11,063,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LAFAYETTE	\$363,146.68	/	56,355,200.00	=	0.006443889	Х	67,418,300.00	=	\$434,436.04	\$71,289.36
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SHULLSBURG	\$410,974.00	/	56,355,200.00	=	0.007292566	Х	67,418,300.00	=	\$491,652.40	\$80,678.40
4. School Districts										
SCH D OF SHULLSBURG	\$422,488.39	/	56,355,200.00	=	0.007496884	Х	67,418,300.00	=	\$505,427.17	\$82,938.78
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$63,517.81	/	56,355,200.00	=	0.001127098	Х	67,418,300.00	=	\$75,987.03	\$12,469.22
6. Tax Increment Total										
	\$1,260,126.88								\$1,507,502.64	\$247,375.76

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Marsha Einsweiler Title Clerk/Treasurer							
Email m.einsweiler@cityofshullsburg.org	Phone (608) 965-4424						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 33281

Submission date: 12-07-2021 10:47 AM

Confirmation: TIW20210891O1637696457019

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 34201 County

Muni Type

LANGLADE

CITY

Municipality ANTIGO

Account No. 0911

Total Equalized TID Value Increment 22,414,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
LANGLADE	\$2,285,374.34	/	369,690,300.00	=	0.006181862	Х	392,105,100.00	=	\$2,423,939.62	\$138,565.28
2. Special Districts (metro,	sanitary, lake)									
ANTIGO LAKE PRO & REHAB DISTRICT	\$20,000.00	/	369,690,300.00	=	0.000054099	Х	392,105,100.00	=	\$21,212.49	\$1,212.49
3. Tax District (town, villag	e, city)									
ANTIGO	\$3,679,126.00	/	369,690,300.00	=	0.009951914	Х	392,105,100.00	=	\$3,902,196.23	\$223,070.23
4. School Districts										
SCH D OF ANTIGO	\$2,495,563.68	/	369,690,300.00	=	0.006750417	Х	392,105,100.00	=	\$2,646,872.93	\$151,309.25
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$447,570.69	/	369,690,300.00	=	0.001210664	Х	392,105,100.00	=	\$474,707.53	\$27,136.84
6. Tax Increment Total										
	\$8,927,634.71								\$9,468,928.80	\$541,294.09

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kaye Matucheski	Title Clerk-Treasurer/Finance Director							
Email kmatucheski@antigo-city.org	Phone (715) 623-3633							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 34201

Submission date: 11-23-2021 03:04 PM

Confirmation: TIW20210911O1637701452707

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 35251 County LINCOLN

Muni Type CITY

Muni Type CITY

Municipality MERRILL

Account No. 0929

Total Equalized TID Value Increment 60,700,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LINCOLN	\$2,228,590.66 /	426,622,400.00	=	0.005223801	Х	487,323,100.00	=	\$2,545,678.90	\$317,088.24
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MERRILL	\$5,831,281.00 /	426,622,400.00	=	0.013668483	Х	487,323,100.00	=	\$6,660,967.51	\$829,686.51
4. School Districts									
SCH D OF MERRILL AREA	\$3,382,137.00 /	426,622,400.00	=	0.007927706	Х	487,323,100.00	=	\$3,863,354.26	\$481,217.26
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$516,496.32 /	426,622,400.00	=	0.001210664	Х	487,323,100.00	=	\$589,984.53	\$73,488.21
6. Tax Increment Total									
	\$11,958,504.98							\$13,659,985.20	\$1,701,480.22

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kathy Unertl	Title Finance Director							
Email kathy.unertl@ci.merrill.wi.us	Phone (715) 536-5594							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 35251

Submission date: 11-23-2021 12:36 PM

Confirmation: TIW20210929O1637692579999

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 35286

County Muni Type

Municipality

LINCOLN

CITY

TOMAHAWK

Account No. 0930

Total Equalized TID Value Increment 24,621,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
LINCOLN	\$1,259,578.12 /	241,122,900.00	=	0.005223801	Х	265,744,500.00	=	\$1,388,196.38	\$128,618.26
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
TOMAHAWK	\$2,022,979.00 /	241,122,900.00	=	0.008389825	Х	265,744,500.00	=	\$2,229,549.85	\$206,570.85
4. School Districts									
SCH D OF TOMAHAWK	\$1,560,486.38 /	241,122,900.00	=	0.006471747	X	265,744,500.00	=	\$1,719,831.17	\$159,344.79
5. Technical College Distriction	cts								
NICOLET TECHNICAL COLLEGE RHIN	\$46,435.74 /	241,122,900.00	=	0.000192581	Х	265,744,500.00	=	\$51,177.34	\$4,741.60
6. Tax Increment Total									
	\$4,889,479.24							\$5,388,754.74	\$499,275.50

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information								
Name Amanda Bartz	Title Clerk/Treasurer							
Email clerk-treasurer@cityoftomahawk.com	Phone (715) 453-4040							
Comments								
Signatura Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 35286

Submission date: 11-29-2021 09:36 AM

Confirmation: TIW20210930O1638200204261

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36126 County

Muni Type

MANITOWOC

VILLAGE

Municipality FRANCIS CREEK

Account No. 0951

Total Equalized TID Value Increment 1,797,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MANITOWOC	\$231,184.47	/	45,406,400.00	=	0.005091451	Х	47,204,200.00	=	\$240,337.87	\$9,153.40
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
FRANCIS CREEK	\$210,827.00	/	45,406,400.00	=	0.004643112	Х	47,204,200.00	=	\$219,174.39	\$8,347.39
4. School Districts										
SCH D OF MISHICOT	\$363,509.00	/	45,406,400.00	=	0.008005678	X	47,204,200.00	=	\$377,901.63	\$14,392.63
5. Technical College Distri	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$33,041.47	/	45,406,400.00	=	0.000727683	Х	47,204,200.00	=	\$34,349.69	\$1,308.22
6. Tax Increment Total										
	\$838,561.94								\$871,763.58	\$33,201.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information								
Name	Margaret Peroutka	Title Village Clerk and Treasurer							
Email	villageoffranciscreek@yahoo.com	Phone (920) 682-7410							
Comi	ments								
Signa	ature Statement								
Unde	Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
	Do you agree with the statement above?								
	X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36126

Submission date: 11-23-2021 03:29 PM

Confirmation: TIW20210951O1637702970850

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36132 County

Muni Type

Municipality

MANITOWOC

KELLNERSVILLE

Muni Type VILLAGE

Account No. 0952

Total Equalized TID Value Increment 546,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F	
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment	
1. County										
MANITOWOC	\$76,768.90	15,078,000.00	=	0.005091451	Х	15,624,100.00	=	\$79,549.34	\$2,780.44	
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
KELLNERSVILLE	\$43,605.00 /	15,078,000.00	=	0.002891962	Х	15,624,100.00	=	\$45,184.30	\$1,579.30	
4. School Districts										
SCH D OF REEDSVILLE	\$162,357.69	15,078,000.00	=	0.010767853	X	15,624,100.00	=	\$168,238.01	\$5,880.32	
5. Technical College Distri	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$10,972.00 /	15,078,000.00	=	0.000727683	Х	15,624,100.00	=	\$11,369.39	\$397.39	
6. Tax Increment Total	6. Tax Increment Total									
	\$293,703.59							\$304,341.04	\$10,637.45	

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information								
Name Heather Dachelet	Title Clerk							
Email kellnersvilleclerk@tm.net	Phone (920) 732-3016							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36132

Submission date: 12-02-2021 12:51 PM

Confirmation: TIW20210952O1638471090800

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36147 County MANITOWOC

Muni Type VILLAGE

Municipality MARIBEL

Account No. 0953

Total Equalized TID Value Increment 3,120,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MANITOWOC	\$100,630.00	/	19,764,500.00	=	0.005091452	Х	22,884,700.00	=	\$116,516.35	\$15,886.35
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MARIBEL	\$73,292.00	/	19,764,500.00	=	0.003708265	Χ	22,884,700.00	=	\$84,862.53	\$11,570.53
4. School Districts										
SCH D OF DENMARK	\$165,385.95	/	19,764,500.00	=	0.008367829	X	22,884,700.00	=	\$191,495.26	\$26,109.31
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$14,593.80	/	19,764,500.00	=	0.000738384	Х	22,884,700.00	=	\$16,897.70	\$2,303.90
6. Tax Increment Total										
	\$353,901.75								\$409,771.84	\$55,870.09

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information								
Name Dale Bomski	Title Clerk/Treasurer							
Email villageofmaribel@vofmaribel.org	Phone (920) 646-1471							
Comments								
Signature Statement	Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36147

Submission date: 12-15-2021 11:26 AM

Confirmation: TIW20210953O1637775263526

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36186

County

Muni Type

Municipality

MANITOWOC

VILLAGE

VALDERS

Account No. 0957

Total Equalized TID Value Increment 1,522,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MANITOWOC	\$317,322.16	/	62,324,500.00	=	0.005091451	X	63,846,700.00	=	\$325,072.34	\$7,750.18
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
VALDERS	\$359,012.00	/	62,324,500.00	=	0.005760367	Х	63,846,700.00	=	\$367,780.42	\$8,768.42
4. School Districts										
SCH D OF VALDERS AREA	\$494,413.00	/	62,324,500.00	=	0.007932884	X	63,846,700.00	=	\$506,488.46	\$12,075.46
5. Technical College Distri	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$45,352.48	/	62,324,500.00	=	0.000727683	Х	63,846,700.00	=	\$46,460.16	\$1,107.68
6. Tax Increment Total										
	\$1,216,099.64								\$1,245,801.38	\$29,701.74

F	0	rı	n	١
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information	
Name Lori Bruckner	Title Clerk/Treasurer
Email valdersclerk@tds.net	Phone (920) 775-4522
Comments	
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.	
Do you agree with the statement above?	
XYES NO	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36186

Submission date: 11-24-2021 08:02 AM

Confirmation: TIW20210957O1637762526647

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36191 County MANITOWOC

Muni Type VILLAGE

Municipality WHITELAW

Account No. 0958

Total Equalized TID Value Increment 1,693,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MANITOWOC	\$217,028.73	/	42,626,100.00	=	0.005091452	Х	44,319,100.00	=	\$225,648.57	\$8,619.84
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
WHITELAW	\$157,190.00	/	42,626,100.00	=	0.003687647	Х	44,319,100.00	=	\$163,433.20	\$6,243.20
4. School Districts										
SCH D OF VALDERS AREA	\$338,148.00	/	42,626,100.00	=	0.007932886	Х	44,319,100.00	=	\$351,578.37	\$13,430.37
5. Technical College Distric	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$31,018.29	/	42,626,100.00	=	0.000727683	Х	44,319,100.00	=	\$32,250.26	\$1,231.97
6. Tax Increment Total										
	\$743,385.02								\$772,910.40	\$29,525.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Christina Hill	Title Village Clerk-Treasurer								
Email villageofwhitelaw@comcast.net	Phone (920) 732-3239								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES	S NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36191

Submission date: 12-06-2021 08:07 AM

Confirmation: TIW20210958O1638799660053

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36241 County MANITOWOC

Muni Type CITY

Municipality KIEL

Account No. 0959

Total Equalized TID Value Increment 26,641,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MANITOWOC	\$1,392,549.24 /	290,375,500.00	=	0.004795684	X	317,016,500.00	=	\$1,520,310.96	\$127,761.72
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
KIEL	\$1,362,262.80 /	290,375,500.00	=	0.004691383	Х	317,016,500.00	=	\$1,487,245.82	\$124,983.02
4. School Districts									
SCH D OF KIEL AREA	\$2,509,248.15 /	290,375,500.00	=	0.008641391	X	317,016,500.00	=	\$2,739,463.53	\$230,215.38
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$211,301.31 /	290,375,500.00	=	0.000727683	Х	317,016,500.00	=	\$230,687.52	\$19,386.21
6. Tax Increment Total									
	\$5,475,361.50							\$5,977,707.83	\$502,346.33

Form
PC-202

WI Dept of Revenue

Preparer Information	
Name Jamie Aulik	Title City Administrator
Email jamie.aulik@kielwi.gov	Phone (920) 569-0789
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.
Do you agree with	he statement above?
Do you agree with	ino diatomoni abovo:
VVE	
X YES	SNO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36241

Submission date: 11-24-2021 09:50 AM

Confirmation: TIW20210959O1637768995206

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 36251 County MANITOWOC

Muni Type CITY

Municipality MANITOWOC

Account No. 0960

Total Equalized TID Value Increment 88,390,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MANITOWOC	\$10,401,641.07 /	2,172,648,100.00	=	0.004787541	Х	2,261,038,800.00	=	\$10,824,815.96	\$423,174.89
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MANITOWOC	\$17,934,219.00 /	2,172,648,100.00	=	0.008254544	Х	2,261,038,800.00	=	\$18,663,844.26	\$729,625.26
4. School Districts									
SCH D OF MANITOWOC	\$16,118,211.00 /	2,172,648,100.00	=	0.007418694	X	2,261,038,800.00	=	\$16,773,954.98	\$655,743.98
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$1,580,999.07 /	2,172,648,100.00	=	0.000727683	Х	2,261,038,800.00	=	\$1,645,319.50	\$64,320.43
6. Tax Increment Total	6. Tax Increment Total								
	\$46,035,070.14							\$47,907,934.70	\$1,872,864.56

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Shawn M. Alfred	Title Finance Director									
Email salfred@manitowoc.org	Phone (920) 686-6961									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES	X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36251

Submission date: 12-10-2021 01:36 PM

Confirmation: TIW20210960A1639164970188

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 36286 County MANIT

Muni Type

MANITOWOC

CITY

Municipality TWO RIVERS

Account No. 0961

Total Equalized TID Value Increment 31,166,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MANITOWOC	\$2,669,776.82 /	557,651,000.00	=	0.004787541	Х	588,817,200.00	=	\$2,818,986.49	\$149,209.67
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
TWO RIVERS	\$5,242,539.00 /	557,651,000.00	=	0.009401111	Х	588,817,200.00	=	\$5,535,535.86	\$292,996.86
4. School Districts									
SCH D OF TWO RIVERS	\$4,544,896.44 /	539,023,993.00	=	0.008431715	Х	570,190,193.00	=	\$4,807,681.20	\$262,784.76
5. Technical College Distriction	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$405,793.15 /	557,651,000.00	=	0.000727683	Х	588,817,200.00	=	\$428,472.27	\$22,679.12
6. Tax Increment Total									
	\$12,863,005.41							\$13,590,675.82	\$727,670.41

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name David Buss	Title Finance Director						
Email davbus@two-rivers.org	Phone (920) 793-7274						
Comments							
Signatura Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 36286

Submission date: 12-07-2021 12:17 PM

Confirmation: TIW20210961O1637697584019

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37068

County

Muni Type

MARATHON TOWN

Municipality RIB MOUNTAIN

Account No. 0996

Total Equalized TID Value Increment 4,689,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$4,419,324.74	/	966,480,000.00	=	0.004572598	Χ	971,169,600.00	=	\$4,440,768.17	\$21,443.43
2. Special Districts (metro,	sanitary, lake)									
RIB MOUNTAIN METRO SEWERAGE DISTRICT	\$0.00	/	781,693,982.00	=	0	Х	786,383,582.00	=	\$0.00	\$0.00
RIB MOUNTAIN SANITARY DISTRICT	\$200,000.00	/	781,693,982.00	=	0.000255855	X	786,383,582.00	=	\$201,200.17	\$1,200.17
3. Tax District (town, village	e, city)									
RIB MOUNTAIN	\$3,109,867.00	/	966,480,000.00	=	0.003217725	X	971,169,600.00	=	\$3,124,956.70	\$15,089.70
4. School Districts										
SCH D OF WAUSAU	\$9,924,648.24	/	966,480,000.00	=	0.01026886	X	971,169,600.00	=	\$9,972,804.66	\$48,156.42
5. Technical College Distric	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$1,170,082.41	/	966,480,000.00	=	0.001210664	Х	971,169,600.00	=	\$1,175,760.07	\$5,677.66
6. Tax Increment Total										
	\$18,823,922.39								\$18,915,489.77	\$91,567.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Nicole Dunbar	Title Finance Director						
Email ndunbar@townofribmountain.org	Phone (715) 842-0983						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37068

Submission date: 11-23-2021 02:44 PM

Confirmation: TIW20210996O1637697989327

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 37102

County MARATHON Muni Type

Municipality

VILLAGE

ATHENS

Account No. 1005

Total Equalized TID Value Increment 13,470,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$264,148.02 /	57,767,600.00	=	0.004572598	Х	71,237,800.00	=	\$325,741.82	\$61,593.80
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ATHENS	\$360,147.00 /	57,767,600.00	=	0.006234412	Х	71,237,800.00	=	\$444,125.80	\$83,978.80
4. School Districts									
SCH D OF ATHENS	\$444,956.40 /	57,767,600.00	=	0.007702525	Х	71,237,800.00	=	\$548,710.94	\$103,754.54
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$69,937.15 /	57,767,600.00	=	0.001210664	Х	71,237,800.00	=	\$86,245.04	\$16,307.89
6. Tax Increment Total									
	\$1,139,188.57							\$1,404,823.60	\$265,635.03

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Lisa Czech	Title Clerk Treasurer							
Email athensclerk@villageofathens.com Phone (715) 257-9170								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37102

Submission date: 11-23-2021 12:28 PM

Confirmation: TIW20211005O1637692099529

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37121 County

Muni Type

Municipality

MARATHON

EDGAR

Type VILLAGE

Account No. 1009

Total Equalized TID Value Increment 9,536,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$347,906.59 /	76,085,100.00	=	0.004572598	X	85,621,500.00	=	\$391,512.70	\$43,606.11
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
EDGAR	\$382,539.39 /	76,085,100.00	=	0.005027783	Х	85,621,500.00	=	\$430,486.32	\$47,946.93
4. School Districts									
SCH D OF EDGAR	\$719,987.16 /	76,085,100.00	=	0.009462919	X	85,621,500.00	=	\$810,229.32	\$90,242.16
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$92,113.48 /	76,085,100.00	=	0.001210664	Х	85,621,500.00	=	\$103,658.87	\$11,545.39
6. Tax Increment Total									
	\$1,542,546.62							\$1,735,887.21	\$193,340.59

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Jennifer Lopez	Title Village Administrator							
Email jennifer.lopez@edgarwi.org	Phone (715) 352-2891							
Comments								
Signature Statement	Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37121

Submission date: 11-23-2021 11:20 AM

Confirmation: TIW20211009O1637687862242

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37136 County MARATHON

Muni Type VILLAGE

Municipality HATLEY

Account No. 1012

Total Equalized TID Value Increment 10,634,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$155,577.17 /	34,023,800.00	=	0.004572598	Х	44,658,700.00	=	\$204,206.28	\$48,629.11
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HATLEY	\$110,127.00 /	34,023,800.00	=	0.003236764	Х	44,658,700.00	=	\$144,549.67	\$34,422.67
4. School Districts									
SCH D OF D C EVEREST AREA (ROTHSCHILD)	\$319,154.20 /	34,023,800.00	=	0.009380322	Х	44,658,700.00	=	\$418,912.99	\$99,758.79
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$41,191.38 /	34,023,800.00	=	0.001210664	Х	44,658,700.00	=	\$54,066.68	\$12,875.30
6. Tax Increment Total									
	\$626,049.75							\$821,735.62	\$195,685.87

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Joan Wawrzaszek	Title Village Clerk					
Email joanvillage@yahoo.com	Phone (715) 446-3139					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37136

Submission date: 11-24-2021 08:41 AM

Confirmation: TIW20211012O1637764890389

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 37145

County MARATHON Muni Type

VILLAGE

Municipality KRONENWETTER Account No. 1978

Total Equalized TID Value Increment 64,266,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County	1. County									
MARATHON	\$3,097,585.50	/	677,423,500.00	=	0.004572598	X	741,690,200.00	=	\$3,391,451.13	\$293,865.63
2. Special Districts (metro,	sanitary, lake)									
RIB MOUNTAIN METRO SEWERAGE DISTRICT	\$0.00	/	323,970,236.00	=	0	X	388,236,936.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
KRONENWETTER	\$2,501,979.00	/	677,423,500.00	=	0.003693375	Х	741,690,200.00	=	\$2,739,340.04	\$237,361.04
4. School Districts										
SCH D OF MOSINEE	\$1,651,805.00	/	203,803,760.00	=	0.00810488	X	252,353,960.00	=	\$2,045,298.56	\$393,493.56
SCH D OF D C EVEREST AREA (ROTHSCHILD)	\$4,442,705.62	/	473,619,740.00	=	0.009380322	Х	489,336,240.00	=	\$4,590,131.50	\$147,425.88
5. Technical College District	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$820,132.15	/	677,423,500.00	=	0.001210664	Х	741,690,200.00	=	\$897,937.62	\$77,805.47
6. Tax Increment Total										
	\$12,514,207.27								\$13,664,158.85	\$1,149,951.58

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Roger Habeck	Title Treasurer					
Email rhabeck@kronenwetter.org	Phone (715) 693-4200					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37145

Submission date: 12-03-2021 10:45 AM

Confirmation: TIW20211978O1638484125809

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37146 County

Muni Type

Municipality

MARATHON

MAINE

Type VILLAGE

Account No. 0988

Total Equalized TID Value Increment 10,634,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$1,280,652.17	/	280,071,000.00	=	0.004572598	Х	290,705,500.00	=	\$1,329,279.39	\$48,627.22
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MAINE	\$980,792.00	/	280,071,000.00	=	0.003501941	Х	290,705,500.00	=	\$1,018,033.51	\$37,241.51
4. School Districts										
SCH D OF WAUSAU	\$2,876,010.01	/	280,071,000.00	=	0.01026886	X	290,705,500.00	=	\$2,985,214.08	\$109,204.07
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$339,071.84	/	280,071,000.00	=	0.001210664	Х	290,705,500.00	=	\$351,946.68	\$12,874.84
6. Tax Increment Total										
	\$5,476,526.02								\$5,684,473.66	\$207,947.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Cindy S. Bailey	Title Village Clerk					
Email clerk@villageofmaine.org	Phone (715) 675-5607					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

X YES NO

Co-muni code: 37146

Submission date: 12-09-2021 01:31 PM

Confirmation: TIW20210988O1638904984293

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 37151

County **MARATHON** Muni Type

Municipality

VILLAGE

MARATHON

Account No. 1013

Total Equalized TID Value Increment 39,115,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$622,790.16	/	136,200,500.00	=	0.004572598	Х	175,316,300.00	=	\$801,650.96	\$178,860.80
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village, city)										
MARATHON	\$864,344.00	/	136,200,500.00	=	0.006346115	Χ	175,316,300.00	=	\$1,112,577.40	\$248,233.40
4. School Districts										
SCH D OF MARATHON CITY	\$1,388,133.00	/	136,200,500.00	=	0.010191835	X	175,316,300.00	=	\$1,786,794.80	\$398,661.80
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$164,893.02	/	136,200,500.00	=	0.001210664	Х	175,316,300.00	=	\$212,249.13	\$47,356.11
6. Tax Increment Total	6. Tax Increment Total									
	\$3,040,160.18								\$3,913,272.29	\$873,112.11

Form	
PC-202	

WI Dept of Revenue

Prepa	arer Information				
Name	Andrew R Kurtz	Title Administrator			
Email	akurtz@marathoncity.org	Phone (715) 443-2221			
Comi	nents				
	-				
Signa	ature Statement				
Unde	r penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.			
Do you agree with the statement above?					
X YES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37151

Submission date: 11-23-2021 02:47 PM

Confirmation: TIW20211013O1637700428648

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37176 County MARATHON

Muni Type VILLAGE

Municipality ROTHSCHILD

Account No. 1014

Total Equalized TID Value Increment 9,928,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$2,367,742.05	/	523,346,900.00	=	0.004524231	Χ	533,275,000.00	=	\$2,412,659.29	\$44,917.24
2. Special Districts (metro,	sanitary, lake)									
RIB MOUNTAIN METRO SEWERAGE DISTRICT	\$0.00	/	523,346,900.00	=	0	X	533,275,000.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
ROTHSCHILD	\$3,551,543.00	/	523,346,900.00	=	0.006786212	Х	533,275,000.00	=	\$3,618,917.20	\$67,374.20
4. School Districts										
SCH D OF D C EVEREST AREA (ROTHSCHILD)	\$4,909,162.39	/	523,346,900.00	=	0.009380322	Х	533,275,000.00	=	\$5,002,291.21	\$93,128.82
5. Technical College Distric	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$633,597.18	/	523,346,900.00	=	0.001210664	Х	533,275,000.00	=	\$645,616.84	\$12,019.66
6. Tax Increment Total										
	\$11,462,044.62								\$11,679,484.54	\$217,439.92

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name MELANIE WISKOW Title TREASURER								
Email mwiskow@rothschildwi.com	Phone (715) 359-5637							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37176

Submission date: 11-23-2021 03:16 PM

Confirmation: TIW20211014O1637702202090

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37181 County MARATHON

Muni Type VILLAGE

Municipality SPENCER

Account No. 1015

Total Equalized TID Value Increment 6,704,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$508,645.22 /	112,426,900.00	=	0.004524231	Х	119,131,200.00	=	\$538,977.07	\$30,331.85
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SPENCER	\$721,826.40 /	112,426,900.00	=	0.006420407	Х	119,131,200.00	=	\$764,870.79	\$43,044.39
4. School Districts									
SCH D OF SPENCER	\$979,373.53 /	112,426,900.00	=	0.008711203	Χ	119,131,200.00	=	\$1,037,776.07	\$58,402.54
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$136,111.18 /	112,426,900.00	=	0.001210664	Х	119,131,200.00	=	\$144,227.86	\$8,116.68
6. Tax Increment Total									
	\$2,345,956.33							\$2,485,851.79	\$139,895.46

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Paul Hensch Title Administrator-Clerk/Treasurer							
Email clerk@vil.spencer.wi.us Phone (715) 659-5423							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37181

Submission date: 12-01-2021 08:34 AM

Confirmation: TIW20211015O1637788672794

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37182 County

Muni Type

MARATHON

VILLAGE

Municipality STRATFORD

Account No. 1016

Total Equalized TID Value Increment 21,210,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$450,988.51 /	98,628,500.00	=	0.004572598	Х	119,838,900.00	=	\$547,975.11	\$96,986.60
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
STRATFORD	\$599,991.00 /	98,628,500.00	=	0.006083343	Х	119,838,900.00	=	\$729,021.13	\$129,030.13
4. School Districts									
SCH D OF STRATFORD	\$803,481.29	98,628,500.00	=	0.008146543	Х	119,838,900.00	=	\$976,272.75	\$172,791.46
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$119,405.96 /	98,628,500.00	=	0.001210664	Х	119,838,900.00	=	\$145,084.64	\$25,678.68
6. Tax Increment Total									
	\$1,973,866.76							\$2,398,353.63	\$424,486.87

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Jamie Heindl	Title Clerk						
Email stratfordclerk@stratfordwi.com	Phone (715) 687-4166						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37182

Submission date: 11-23-2021 12:02 PM

Confirmation: TIW20211016O1637690549289

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37186 County

Muni Type

MARATHON

oe VILLAGE

Municipality UNITY

Account No. 1017

Total Equalized TID Value Increment 98,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$43,851.10	/	9,692,500.00	=	0.00452423	Х	9,791,000.00	=	\$44,296.74	\$445.64
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
UNITY	\$31,000.00	/	9,692,500.00	=	0.003198349	Х	9,791,000.00	=	\$31,315.04	\$315.04
4. School Districts										
SCH D OF COLBY	\$77,937.64	/	9,692,500.00	=	0.008041026	Х	9,791,000.00	=	\$78,729.69	\$792.05
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$11,734.36	/	9,692,500.00	=	0.001210664	Х	9,791,000.00	=	\$11,853.61	\$119.25
6. Tax Increment Total										
	\$164,523.10								\$166,195.08	\$1,671.98

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name HEIDI MALDONIS Title CLERK/TREASURER							
Email unityclerk@nmadison.net	Phone (715) 223-4362						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37186

Submission date: 12-07-2021 11:36 AM

Confirmation: TIW20211017O1638898135302

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37192 County MARATHON

Muni Type VILLAGE

Muni Type VILLAGE

Municipality WESTON

Account No. 1970

Total Equalized TID Value Increment 324,337,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$4,876,087.22 /	1,077,771,600.00	=	0.004524231	Χ	1,402,109,500.00	=	\$6,343,467.27	\$1,467,380.05
2. Special Districts (metro,	sanitary, lake)								
RIB MOUNTAIN METRO SEWERAGE DISTRICT	\$0.00 /	948,669,190.00	=	0	Х	1,273,007,090.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)									
WESTON	\$6,783,123.00 /	1,077,771,600.00	=	0.006293655	Х	1,402,109,500.00	=	\$8,824,393.47	\$2,041,270.47
4. School Districts									
SCH D OF D C EVEREST AREA (ROTHSCHILD)	\$10,109,844.53 /	1,077,771,600.00	=	0.009380322	Х	1,402,109,500.00	=	\$13,152,238.59	\$3,042,394.06
5. Technical College District	ots								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$1,304,819.13 /	1,077,771,600.00	=	0.001210664	Х	1,402,109,500.00	=	\$1,697,483.50	\$392,664.37
6. Tax Increment Total									
	\$23,073,873.88							\$30,017,582.83	\$6,943,708.95

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Jessica Trautman	Title Finance Director						
Email jtrautman@westonwi.gov	Phone (715) 241-2605						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37192

Submission date: 11-29-2021 12:02 PM

Confirmation: TIW20211970O1637766703588

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37201 County

Muni Type

Municipality

MARATHON

ABBOTSFORD

CITY

Account No. 1018

Total Equalized TID Value Increment 16,260,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$204,732.99 /	48,758,000.0	0 =	0.004198962	Х	65,018,100.00	=	\$273,008.53	\$68,275.54
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ABBOTSFORD	\$355,379.52 /	48,758,000.0	0 =	0.00728864	Х	65,018,100.00	=	\$473,893.52	\$118,514.00
4. School Districts									
SCH D OF ABBOTSFORD	\$429,940.58 /	44,218,359.0	0 =	0.009723124	Х	60,478,459.00	=	\$588,039.56	\$158,098.98
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$59,029.55 /	48,758,000.0	0 =	0.001210664	Х	65,018,100.00	=	\$78,715.07	\$19,685.52
6. Tax Increment Total									
	\$1,049,082.64							\$1,413,656.68	\$364,574.04

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name ERIN CLAUSNITZER	Title CLERK/TREASURER							
Email e.clausnitzer@ci.abbotsford.wi.us	Phone (715) 223-3444							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37201

Submission date: 12-01-2021 01:31 PM

Confirmation: TIW20211018O1638387076387

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37251 County MAR

MARATHON

Muni Type CITY

Municipality MOSINEE

Account No. 1021

Total Equalized TID Value Increment 26,207,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARATHON	\$1,525,294.39	333,572,800.00	=	0.004572598	X	359,780,200.00	=	\$1,645,130.22	\$119,835.83
2. Special Districts (metro,	sanitary, lake)								
RIB MOUNTAIN METRO SEWERAGE DISTRICT	\$0.00 /	333,572,800.00	=	0	Х	359,780,200.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)									
MOSINEE	\$2,068,339.00 /	333,572,800.00	=	0.006200563	Х	359,780,200.00	=	\$2,230,839.80	\$162,500.80
4. School Districts									
SCH D OF MOSINEE	\$2,703,568.00	333,572,800.00	=	0.008104881	Х	359,780,200.00	=	\$2,915,975.71	\$212,407.71
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$403,844.53	333,572,800.00	=	0.001210664	Х	359,780,200.00	=	\$435,572.94	\$31,728.41
6. Tax Increment Total									
	\$6,701,045.92							\$7,227,518.67	\$526,472.75

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Bruce Jamroz	Title CITY CLERK						
Email clerks@mosinee.wi.us	Phone (715) 693-2275						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37251

Submission date: 11-23-2021 12:57 PM

Confirmation: TIW20211021O1637693841627

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37281 County MA

Muni Type CI

Municipality

MARATHON

CITY SCHOFIELD Account No. 1022

Total Equalized TID Value Increment 35,810,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$1,048,300.61	/	229,257,100.00	=	0.004572598	Х	265,067,700.00	=	\$1,212,048.03	\$163,747.42
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SCHOFIELD	\$1,624,817.00	/	229,257,100.00	=	0.007087314	Х	265,067,700.00	=	\$1,878,618.02	\$253,801.02
4. School Districts										
SCH D OF D C EVEREST AREA (ROTHSCHILD)	\$2,150,505.40	/	229,257,100.00	=	0.009380322	Х	265,067,700.00	=	\$2,486,420.38	\$335,914.98
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$277,553.29	/	229,257,100.00	=	0.001210664	Х	265,067,700.00	=	\$320,907.92	\$43,354.63
6. Tax Increment Total										
	\$5,101,176.30								\$5,897,994.35	\$796,818.05

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information									
Name Lisa Quinn	Title Clerk/Treasurer								
Email Iquinn@cityofschofield.org	Phone (715) 359-5230								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37281

Submission date: 11-29-2021 03:22 PM

Confirmation: TIW20211022O1638220956642

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 37291 County

Muni Type

MARATHON
pe CITY

Municipality WAUSAU

Account No. 1023

Total Equalized TID Value Increment 429,834,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARATHON	\$12,964,145.94 /	/	2,835,181,500.00	=	0.004572598	X	3,265,016,200.00	=	\$14,929,606.55	\$1,965,460.61
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WAUSAU	\$28,556,943.00 /	/	2,835,181,500.00	=	0.010072351	Χ	3,265,016,200.00	=	\$32,886,389.19	\$4,329,446.19
4. School Districts										
SCH D OF WAUSAU	\$27,574,257.59 /	/	2,685,230,531.00	=	0.01026886	X	3,115,065,231.00	=	\$31,988,168.75	\$4,413,911.16
5. Technical College Distriction	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$3,432,451.79 /	/	2,835,181,500.00	=	0.001210664	Х	3,265,016,200.00	=	\$3,952,837.57	\$520,385.78
6. Tax Increment Total										
	\$72,527,798.32								\$83,757,002.06	\$11,229,203.74

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Maryanne Groat	Title Finance Director							
Email mgroat@ci.wausau.wi.us	Phone (715) 261-6645							
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 37291

Submission date: 11-23-2021 07:26 PM

Confirmation: TIW20211023O1637717167887

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 38111

County Muni Type

Municipality

MARINETTE VILLAGE

COLEMAN

Account No. 1043

Total Equalized TID Value Increment 7,049,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARINETTE	\$193,416.57	/	48,295,300.00	=	0.004004874	Х	55,344,600.00	=	\$221,648.15	\$28,231.58
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
COLEMAN	\$317,303.00	/	48,295,300.00	=	0.00657006	Х	55,344,600.00	=	\$363,617.34	\$46,314.34
4. School Districts										
SCH D OF COLEMAN	\$464,762.00	/	48,295,300.00	=	0.009623338	X	55,344,600.00	=	\$532,599.79	\$67,837.79
5. Technical College Distric	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$35,660.49	/	48,295,300.00	=	0.000738384	Х	55,344,600.00	=	\$40,865.57	\$5,205.08
6. Tax Increment Total										
	\$1,011,142.06								\$1,158,730.85	\$147,588.79

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name LORI GROSS	Title Clerk/Treasurer							
Email clerk@villageofcoleman.com	Phone (920) 897-2234							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 38111

Submission date: 11-23-2021 12:55 PM

Confirmation: TIW20211043O1637693737314

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 38121

County MARINETTE Muni Type

VILLAGE

Municipality CRIVITZ Account No. 1044

Total Equalized TID Value Increment 21,682,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARINETTE	\$292,912.05 /	73,138,900.00	=	0.004004874	Х	94,821,600.00	=	\$379,748.56	\$86,836.51
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CRIVITZ	\$527,013.00 /	73,138,900.00	=	0.007205646	Х	94,821,600.00	=	\$683,250.88	\$156,237.88
4. School Districts									
SCH D OF CRIVITZ	\$456,026.53 /	73,138,900.00	=	0.006235075	Х	94,821,600.00	=	\$591,219.79	\$135,193.26
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$54,004.61 /	73,138,900.00	=	0.000738384	Х	94,821,600.00	=	\$70,014.75	\$16,010.14
6. Tax Increment Total									
	\$1,329,956.19							\$1,724,233.98	\$394,277.79

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Marilyn L Padgett	Title Clerk Treasurer						
Email mpadgett@vocwi.com	Phone (715) 854-2030						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 38121

Submission date: 11-23-2021 01:24 PM

Confirmation: TIW20211044O1637695482786

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 38171 County MARINETTE

Muni Type VILLAGE

POUND

Municipality

Account No. 1045

Total Equalized TID Value Increment 567,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARINETTE	\$59,411.91	/	14,834,900.00	=	0.004004874	Х	15,402,100.00	=	\$61,683.47	\$2,271.56
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
POUND	\$149,871.00	/	14,834,900.00	=	0.010102596	Х	15,402,100.00	=	\$155,601.19	\$5,730.19
4. School Districts										
SCH D OF COLEMAN	\$142,761.00	/	14,834,900.00	=	0.009623321	Х	15,402,100.00	=	\$148,219.35	\$5,458.35
5. Technical College District	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$10,953.86	/	14,834,900.00	=	0.000738384	Х	15,402,100.00	=	\$11,372.66	\$418.80
6. Tax Increment Total										
	\$362,997.77								\$376,876.67	\$13,878.90

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Diane Patz	Title Clerk/Treasurer						
Email vopclerk@hotmail.com	Phone (920) 897-4307						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 38171

Submission date: 11-23-2021 01:49 PM

Confirmation: TIW20211045O1637694673172

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 38191

County MARINETTE Muni Type

VILLAGE

Municipality WAUSAUKEE Account No. 1046

Total Equalized TID Value Increment 172,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARINETTE	\$116,689.60	/	29,136,900.00	=	0.004004874	X	29,308,900.00	=	\$117,378.45	\$688.85
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WAUSAUKEE	\$276,536.00	/	29,136,900.00	=	0.00949092	Х	29,308,900.00	=	\$278,168.43	\$1,632.43
4. School Districts										
SCH D OF WAUSAUKEE	\$174,885.28	/	29,136,900.00	=	0.006002192	X	29,308,900.00	=	\$175,917.65	\$1,032.37
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$21,514.23	/	29,136,900.00	=	0.000738384	Х	29,308,900.00	=	\$21,641.22	\$126.99
6. Tax Increment Total										
	\$589,625.11								\$593,105.75	\$3,480.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Sara Pullen	Title Administrator/Clerk/Treasurer						
Email treasurer@villageofwausaukee.com	Phone (715) 856-5341						
Comments							
Signature Statement							
Olymature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 38191

Submission date: 11-23-2021 01:16 PM

Confirmation: TIW20211046O1637694989533

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 38251 County

Muni Type

County MARINETTE

Type CITY

Municipality MARINETTE

Account No. 1047

Total Equalized TID Value Increment 70,120,100

				Col. C		Col. D		Col. E	Col. F
pportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$2,982,125.39	/	744,624,100.00	=	0.004004874	Х	814,744,200.00	=	\$3,262,947.86	\$280,822.47
2. Special Districts (metro, sanitary, lake)									
y)									
\$6,100,130.00	/	744,624,100.00	=	0.008192227	Х	814,744,200.00	=	\$6,674,569.43	\$574,439.43
\$6,499,997.00	/	744,624,100.00	=	0.008729233	Х	814,744,200.00	=	\$7,112,091.96	\$612,094.96
\$549,818.72	/	744,624,100.00	=	0.000738384	Х	814,744,200.00	=	\$601,594.08	\$51,775.36
6. Tax Increment Total									
\$16,132,071.11								\$17,651,203.33	\$1,519,132.22
	\$6,100,130.00 \$6,499,997.00 \$549,818.72	\$6,100,130.00 / \$6,499,997.00 / \$549,818.72 /	\$2,982,125.39 / 744,624,100.00 tary, lake) y) \$6,100,130.00 / 744,624,100.00 \$6,499,997.00 / 744,624,100.00 \$549,818.72 / 744,624,100.00	\$2,982,125.39 / 744,624,100.00 = tary, lake) \$6,100,130.00 / 744,624,100.00 = \$6,499,997.00 / 744,624,100.00 = \$549,818.72 / 744,624,100.00 =	\$2,982,125.39 / 744,624,100.00 = 0.004004874 tary, lake) \$6,100,130.00 / 744,624,100.00 = 0.008192227 \$6,499,997.00 / 744,624,100.00 = 0.008729233 \$549,818.72 / 744,624,100.00 = 0.000738384	\$2,982,125.39 / 744,624,100.00 = 0.004004874 X tary, lake) \$6,100,130.00 / 744,624,100.00 = 0.008192227 X \$6,499,997.00 / 744,624,100.00 = 0.008729233 X \$549,818.72 / 744,624,100.00 = 0.000738384 X	\$2,982,125.39 / 744,624,100.00 = 0.004004874 X 814,744,200.00 tary, lake) \$6,100,130.00 / 744,624,100.00 = 0.008192227 X 814,744,200.00 \$6,499,997.00 / 744,624,100.00 = 0.008729233 X 814,744,200.00 \$549,818.72 / 744,624,100.00 = 0.000738384 X 814,744,200.00	\$2,982,125.39 / 744,624,100.00 = 0.004004874 X 814,744,200.00 = tary, lake) \$6,100,130.00 / 744,624,100.00 = 0.008192227 X 814,744,200.00 = \$6,499,997.00 / 744,624,100.00 = 0.008729233 X 814,744,200.00 = \$549,818.72 / 744,624,100.00 = 0.000738384 X 814,744,200.00 =	\$2,982,125.39 / 744,624,100.00 = 0.004004874 X 814,744,200.00 = \$3,262,947.86 tary, lake) \$549,997.00 / 744,624,100.00 = 0.008729233 X 814,744,200.00 = \$7,112,091.96 \$549,818.72 / 744,624,100.00 = 0.000738384 X 814,744,200.00 = \$601,594.08

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Jacqueline Miller	Title Finance Director/Treasurer						
Email jmiller@marinette.wi.us	Phone (715) 732-5143						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 38251

Submission date: 11-30-2021 01:46 PM

Confirmation: TIW20211047O1637787686466

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 38261 County

Muni Type

MARINETTE

Muni Type CITY

Municipality NIAGARA

Account No. 1048

Total Equalized TID Value Increment 1,647,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MARINETTE	\$299,205.31	/	74,710,300.00	=	0.004004874	Х	76,358,100.00	=	\$305,804.57	\$6,599.26
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
NIAGARA	\$774,000.00	/	74,710,300.00	=	0.010360017	Х	76,358,100.00	=	\$791,071.21	\$17,071.21
4. School Districts										
SCH D OF NIAGARA	\$826,616.21	/	74,710,300.00	=	0.011064287	Х	76,358,100.00	=	\$844,847.93	\$18,231.72
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$55,164.91	/	74,710,300.00	=	0.000738384	Х	76,358,100.00	=	\$56,381.60	\$1,216.69
6. Tax Increment Total										
	\$1,954,986.43								\$1,998,105.31	\$43,118.88

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Audrey Fredrick	Title Admin/Clerk/Treasurer					
Email afredrick@cityofniagara.org	Phone (715) 251-3245					
Commonts						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
VES INO						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 38261

Submission date: 11-23-2021 03:23 PM

Confirmation: TIW20211048O1637702594098

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 39121 County

Muni Type

MARQUETTE VILLAGE

Municipality ENDEAVOR

Account No. 1065

Total Equalized TID Value Increment 6,337,400

Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$124,380.05 /	16,596,500.00	=	0.007494354	Х	22,933,900.00	=	\$171,874.77	\$47,494.72
2. Special Districts (metro, sanitary, lake)								
, city)								
\$102,497.00 /	16,596,500.00	=	0.00617582	Х	22,933,900.00	=	\$141,635.64	\$39,138.64
\$131,709.11 /	16,596,500.00	=	0.007935957	Х	22,933,900.00	=	\$182,002.44	\$50,293.33
ts								
\$13,389.32 /	16,596,500.00	=	0.000806756	Х	22,933,900.00	=	\$18,502.06	\$5,112.74
\$371,975.48							\$514,014.91	\$142,039.43
	\$124,380.05 / \$124,380.05 / \$124,380.05 / \$124,380.05 / \$131,709.11 / \$131,709.11 / \$131,389.32 /	## Equalized Value (less TID Value Increment) ## \$124,380.05	### Equalized Value (less TID Value Increment) ### \$124,380.05	Apportioned Levy / (less TID Value Increment) = Interim Rate Increment)	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate X	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Brandi Wendt	Title Clerk/Treasurer						
Email voeclerk@villageofendeavor.org	Phone (608) 587-2486						
Comments							
Signature Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 39121

Submission date: 11-24-2021 10:08 AM

Confirmation: TIW20211065O1637700708258

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 39191

County Muni Type VILLAGE

MARQUETTE

Municipality WESTFIELD Account No. 1068

Total Equalized TID Value Increment 11,801,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MARQUETTE	\$409,128.80 /	54,591,600.00	=	0.007494354	Χ	66,393,100.00	=	\$497,573.39	\$88,444.59
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
WESTFIELD	\$459,714.00 /	54,591,600.00	=	0.008420966	Х	66,393,100.00	=	\$559,094.04	\$99,380.04
4. School Districts									
SCH D OF WESTFIELD	\$332,143.00 /	54,591,600.00	=	0.006084141	X	66,393,100.00	=	\$403,944.98	\$71,801.98
5. Technical College Distriction	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$44,042.07 /	54,591,600.00	=	0.000806755	Х	66,393,100.00	=	\$53,562.97	\$9,520.90
6. Tax Increment Total									
	\$1,245,027.87							\$1,514,175.38	\$269,147.51

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Linda Quinn	Title Clerk / Treasurer					
Email Iquinn@villageofwestfieldwi.com	Phone (608) 296-2363					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 39191

Submission date: 11-23-2021 12:54 PM

Confirmation: TIW20211068O1637693648522

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40107 County

Muni Type

MILWAUKEE VILLAGE

Municipality BROWN DEER

Account No. 1072

Total Equalized TID Value Increment 79,642,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County	1. County									
MILWAUKEE	\$4,539,414.15	/	1,059,006,500.00	=	0.004286484	Х	1,138,648,600.00	=	\$4,880,799.01	\$341,384.86
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$1,578,964.27	/	1,059,006,500.00	=	0.001490986	X	1,138,648,600.00	=	\$1,697,709.12	\$118,744.85
3. Tax District (town, villag	e, city)									
BROWN DEER	\$9,432,279.00	/	1,059,006,500.00	=	0.008906724	Χ	1,138,648,600.00	=	\$10,141,628.81	\$709,349.81
4. School Districts										
SCH D OF BROWN DEER	\$12,207,689.00	/	1,059,006,500.00	=	0.011527492	X	1,138,648,600.00	=	\$13,125,762.63	\$918,073.63
5. Technical College Distri	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,068,966.37	/	1,059,006,500.00	=	0.001009405	Х	1,138,648,600.00	=	\$1,149,357.59	\$80,391.22
6. Tax Increment Total										
	\$28,827,312.79								\$30,995,257.16	\$2,167,944.37

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name SUSAN HUDSON	Title Treasurer/Comptroller					
Email shudson@browndeerwi.org	Phone (414) 371-3040					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40107

Submission date: 12-10-2021 04:10 PM

Confirmation: TIW20211072O1639174203084

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40131 County

Muni Type

MILWAUKEE VILLAGE

Municipality GREENDALE

Account No. 1074

Total Equalized TID Value Increment 151,016,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	'	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$6,529,306.22 /	,	1,523,231,300.00	=	0.004286484	Х	1,674,247,400.00	=	\$7,176,634.69	\$647,328.47
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$2,271,117.12 /	,	1,523,231,300.00	=	0.001490986	Х	1,674,247,400.00	=	\$2,496,279.43	\$225,162.31
3. Tax District (town, villag	e, city)									
GREENDALE	\$10,757,525.81 /	,	1,523,231,300.00	=	0.007062306	Х	1,674,247,400.00	=	\$11,824,047.46	\$1,066,521.65
4. School Districts										
SCH D OF GREENDALE	\$15,568,334.00 /	'	1,523,231,300.00	=	0.010220597	Х	1,674,247,400.00	=	\$17,111,807.95	\$1,543,473.95
5. Technical College Distri	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,537,557.18 /	,	1,523,231,300.00	=	0.001009405	Х	1,674,247,400.00	=	\$1,689,993.70	\$152,436.52
6. Tax Increment Total										
	\$36,663,840.33								\$40,298,763.23	\$3,634,922.90

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Kristen Victory	Title Finance Director/Treasurer					
Email kvictory@greendale.org	Phone (414) 423-2100					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?						
XYES	SNO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40131

Submission date: 12-04-2021 08:00 AM

Confirmation: TIW20211074O1638626419352

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40136 County

Muni Type

MILWAUKEE

Muni Type VILLAGE

Municipality HALES CORNERS

Account No. 1075

Total Equalized TID Value Increment 10,976,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$3,114,739.99	/	726,642,200.00	=	0.004286484	Х	737,618,700.00	=	\$3,161,790.76	\$47,050.77
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$1,083,413.62	/	726,642,200.00	=	0.001490986	Х	737,618,700.00	=	\$1,099,779.16	\$16,365.54
3. Tax District (town, village, city)										
HALES CORNERS	\$5,714,970.00	/	726,642,200.00	=	0.007864902	Х	737,618,700.00	=	\$5,801,298.79	\$86,328.79
4. School Districts										
SCH D OF WHITNALL	\$6,199,404.00	/	726,642,200.00	=	0.008531577	X	737,618,700.00	=	\$6,293,050.74	\$93,646.74
5. Technical College Distric	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$733,476.22	/	726,642,200.00	=	0.001009405	Х	737,618,700.00	=	\$744,556.00	\$11,079.78
6. Tax Increment Total										
	\$16,846,003.83								\$17,100,475.45	\$254,471.62

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name SANDRA KULIK	Title Administrator/Clerk					
Email skulik@halescorners.org	Phone (414) 529-6175					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40136

Submission date: 11-23-2021 12:56 PM

Confirmation: TIW20211075O1637693819900

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 40181

County Muni Type VILLAGE

MILWAUKEE

Municipality SHOREWOOD Account No. 1077

Total Equalized TID Value Increment 184,930,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy		Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$7,290,354.70	/	1,700,777,400.00	=	0.004286484	X	1,885,707,400.00	=	\$8,083,054.60	\$792,699.90
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$2,535,835.94	/	1,700,777,400.00	=	0.001490986	Χ	1,885,707,400.00	=	\$2,811,563.33	\$275,727.39
3. Tax District (town, village	e, city)									
SHOREWOOD	\$11,871,355.00	/	1,700,777,400.00	=	0.006979958	Х	1,885,707,400.00	=	\$13,162,158.45	\$1,290,803.45
4. School Districts										
SCH D OF SHOREWOOD	\$21,665,147.00	/	1,700,275,994.00	=	0.012742135	X	1,882,767,694.00	=	\$23,990,480.13	\$2,325,333.13
SCH D OF WHITEFISH BAY	\$0.00	/	0.00	=	0	Х	2,939,706.00	=	\$0.00	\$0.00
5. Technical College District	ots									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,716,123.74	/	1,700,134,099.00	=	0.001009405	Х	1,885,707,400.00	=	\$1,903,442.48	\$187,318.74
6. Tax Increment Total										
	\$45,078,816.38								\$49,950,698.99	\$4,871,882.61

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Mark Emanuelson	Title Finance Director					
Email memanuelson@villageofshorewood.org	Phone (414) 847-2607					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?						
XYES	i NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40181

Submission date: 11-26-2021 02:37 PM

Confirmation: TIW20211077O1637959074091

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40191 County

Muni Type

MILWAUKEE

VILLAGE

Municipality WEST MILWAUKEE

Account No. 1078

Total Equalized TID Value Increment 27,557,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$1,626,050.18	/	379,343,600.00	=	0.004286484	Х	406,900,900.00	=	\$1,744,174.20	\$118,124.02
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$565,596.14	/	379,343,600.00	=	0.001490986	Х	406,900,900.00	=	\$606,683.55	\$41,087.41
3. Tax District (town, village	e, city)									
WEST MILWAUKEE	\$4,819,843.00	/	379,343,600.00	=	0.012705745	Х	406,900,900.00	=	\$5,169,979.08	\$350,136.08
4. School Districts										
SCH D OF WEST ALLIS	\$2,864,035.00	/	379,343,600.00	=	0.007549976	Х	406,900,900.00	=	\$3,072,092.03	\$208,057.03
5. Technical College Distric	ots									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$382,911.30	/	379,343,600.00	=	0.001009405	Х	406,900,900.00	=	\$410,727.80	\$27,816.50
6. Tax Increment Total										
	\$10,258,435.62								\$11,003,656.66	\$745,221.04

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Susan Schupp	Title Clerk/Treasurer						
Email susan.schupp@westmilwaukee.org	Phone (414) 645-1530						
Comments							
Cimpature Ctatement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYE	X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40191

Submission date: 12-09-2021 03:10 PM

Confirmation: TIW20211078O1637693076263

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 40192

County Muni Type VILLAGE

MILWAUKEE

Municipality WHITEFISH BAY Account No. 1079

Total Equalized TID Value Increment 43,616,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	<u>'</u>	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$10,800,810.43	/	2,519,736,700.00	=	0.004286484	Х	2,563,353,300.00	=	\$10,987,772.91	\$186,962.48
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$3,756,893.10 /	/	2,519,736,700.00	=	0.001490986	Х	2,563,353,300.00	=	\$3,821,923.88	\$65,030.78
3. Tax District (town, villag	e, city)									
WHITEFISH BAY	\$12,076,686.00 /	/	2,519,736,700.00	=	0.004792836	Х	2,563,353,300.00	=	\$12,285,731.98	\$209,045.98
4. School Districts										
SCH D OF WHITEFISH BAY	\$20,334,487.00	/	2,519,736,700.00	=	0.008070084	Х	2,563,353,300.00	=	\$20,686,476.45	\$351,989.45
5. Technical College Distric	5. Technical College Districts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$2,543,434.63	/	2,519,736,700.00	=	0.001009405	Х	2,563,353,300.00	=	\$2,587,461.64	\$44,027.01
6. Tax Increment Total	6. Tax Increment Total									
	\$49,512,311.16								\$50,369,366.86	\$857,055.70

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Jaimie Krueger	Title Finance Director					
Email j.krueger@wfbvillage.org	Phone (414) 962-6690					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40192

Submission date: 11-29-2021 03:59 PM

Confirmation: TIW20211079O1638223161011

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40211 County MILWAUKEE

Muni Type CITY

Municipality CUDAHY

Account No. 1080

Total Equalized TID Value Increment 9,748,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MILWAUKEE	\$5,734,553.55 /	1,337,822,300.00	=	0.004286484	Χ	1,347,570,400.00	=	\$5,776,338.96	\$41,785.41
2. Special Districts (metro,	sanitary, lake)								
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$1,994,674.83 /	1,337,822,300.00	=	0.001490986	Х	1,347,570,400.00	=	\$2,009,208.60	\$14,533.77
3. Tax District (town, village	e, city)								
CUDAHY	\$10,381,327.00 /	1,337,822,300.00	=	0.00775987	Х	1,347,570,400.00	=	\$10,456,971.12	\$75,644.12
4. School Districts									
SCH D OF CUDAHY	\$10,623,679.00 /	1,337,822,300.00	=	0.007941024	Х	1,347,570,400.00	=	\$10,701,088.89	\$77,409.89
5. Technical College Distric	5. Technical College Districts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,350,404.42 /	1,337,822,300.00	=	0.001009405	Х	1,347,570,400.00	=	\$1,360,244.30	\$9,839.88
6. Tax Increment Total									
	\$30,084,638.80							\$30,303,851.87	\$219,213.07

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Kelly Sobieski	Title Director of Office Services					
Email kellys@ci.cudahy.wi.us	Phone (414) 769-2203					
Comments						
Ciamatuma Otatamant						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40211

Submission date: 11-29-2021 08:11 AM

Confirmation: TIW20211080O1638195097028

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40226 County MILW Muni Type CITY

MILWAUKEE

Municipality FRANKLIN

Account No. 1081

Total Equalized TID Value Increment 226,896,700

	Col. A	Col. B	Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	= Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County								
MILWAUKEE	\$19,977,057.68 /	4,660,476,700.00	= 0.00428648	4 X	4,887,373,400.00	=	\$20,949,647.88	\$972,590.20
2. Special Districts (metro,	sanitary, lake)							
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$6,948,707.29 /	4,660,476,700.00	= 0.00149098	6 X	4,887,373,400.00	=	\$7,287,005.32	\$338,298.03
3. Tax District (town, village	e, city)							
FRANKLIN	\$22,432,000.00 /	4,660,476,700.00	= 0.00481324	2 X	4,887,373,400.00	=	\$23,524,110.92	\$1,092,110.92
4. School Districts								
SCH D OF FRANKLIN PUBLIC	\$33,547,358.00 /	3,669,334,609.00	= 0.00914262	7 X	3,745,055,009.00	=	\$34,239,641.04	\$692,283.04
SCH D OF OAK CREEK-FRANKLIN	\$6,275,755.99 /	704,642,171.00	= 0.00890630	2 X	855,818,471.00	=	\$7,622,177.76	\$1,346,421.77
5. Technical College Districts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$4,704,308.14 /	4,660,476,700.00	= 0.00100940	5 X	4,887,373,400.00	=	\$4,933,339.15	\$229,031.01
6. Tax Increment Total								
	\$93,885,187.10						\$98,555,922.07	\$4,670,734.97

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information						
Name Peggy Steeno	Title Director of Administration					
Email psteeno@franklinwi.gov	Phone (414) 427-7504					
Comments						
Signatura Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40226

Submission date: 12-20-2021 11:38 AM

Confirmation: TIW20211081O1637688407258

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40231 County MILWAUKEE

Muni Type CITY

Municipality

GLENDALE

Account No. 1082

Total Equalized TID Value Increment 127,043,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$8,582,612.10	/	2,002,250,000.00	=	0.004286484	Χ	2,129,293,600.00	=	\$9,127,182.95	\$544,570.85
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$2,985,327.49	/	2,002,250,000.00	=	0.001490986	X	2,129,293,600.00	=	\$3,174,746.95	\$189,419.46
3. Tax District (town, village	e, city)									
GLENDALE	\$13,316,630.00	/	2,002,250,000.00	=	0.006650833	X	2,129,293,600.00	=	\$14,161,576.14	\$844,946.14
4. School Districts										
UHS D OF NICOLET UNION HIGH	\$8,504,686.34	/	2,002,250,000.00	=	0.004247565	Χ	2,129,293,600.00	=	\$9,044,312.97	\$539,626.63
SCH D OF GLENDALE-RIVER HILLS	\$13,410,389.65	/	1,976,167,135.00	=	0.00678606	X	2,103,210,735.00	=	\$14,272,514.24	\$862,124.59
5. Technical College Distric	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$2,021,081.01	/	2,002,250,000.00	=	0.001009405	Х	2,129,293,600.00	=	\$2,149,319.61	\$128,238.60
6. Tax Increment Total										
	\$48,820,726.59								\$51,929,652.86	\$3,108,926.27

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Prepa	Preparer Information									
Name	Shawn Lanser	Title Deputy City Administrator								
Email	s.lanser@glendalewi.gov	Phone (414) 228-1717								
Com	ments									
Signa	ature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
	Do you agree with the diatement above.									
	X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40231

Submission date: 12-03-2021 12:51 PM

Confirmation: TIW20211082O1638557262383

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40236

C

County MILWAUKEE

Muni Type CITY

Municipality GREENFIELD

Account No. 1083

Total Equalized TID Value Increment 290,509,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F	
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment	
1. County										
MILWAUKEE	\$14,364,624.33 /	3,351,144,000.00	=	0.004286484	Х	3,641,653,400.00	=	\$15,609,889.03	\$1,245,264.70	
2. Special Districts (metro, sanitary, lake)										
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$4,996,510.06 /	3,351,144,000.00	=	0.001490986	Х	3,641,653,400.00	=	\$5,429,654.24	\$433,144.18	
3. Tax District (town, villag	3. Tax District (town, village, city)									
GREENFIELD	\$27,727,983.00 /	3,351,144,000.00	=	0.008274184	Х	3,641,653,400.00	=	\$30,131,710.30	\$2,403,727.30	
4. School Districts										
SCH D OF GREENFIELD	\$20,705,862.00 /	2,380,229,528.00	=	0.008699103	Х	2,612,965,928.00	=	\$22,730,459.74	\$2,024,597.74	
SCH D OF WEST ALLIS	\$448,768.00 /	59,439,711.00	=	0.007549969	Х	59,498,311.00	=	\$449,210.40	\$442.40	
SCH D OF WHITNALL	\$7,776,318.00 /	911,474,761.00	=	0.008531578	Х	969,189,161.00	=	\$8,268,712.92	\$492,394.92	
5. Technical College Distri	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$3,382,661.26 /	3,351,144,000.00	=	0.001009405	Х	3,641,653,400.00	=	\$3,675,903.15	\$293,241.89	
6. Tax Increment Total										
	\$79,402,726.65							\$86,295,539.78	\$6,892,813.13	

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Timothy Sowinski	Title Deputy Comptroller								
Email timothy.sowinski@greenfieldwi.us	Phone (414) 329-5343								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40236

Submission date: 12-15-2021 10:11 AM

Confirmation: TIW20211083O1638899315109

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40251 County MILWAUKEE

Muni Type CITY

Municipality MILWAUKEE

Account No. 1084

Total Equalized TID Value Increment 2,238,132,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F	
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment	
1. County										
MILWAUKEE	\$141,786,501.65 /	33,077,578,200.00	=	0.004286484	Χ	35,315,710,500.00	=	\$151,380,228.01	\$9,593,726.36	
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$49,318,218.61 /	33,077,578,200.00	=	0.001490986	Х	35,315,710,500.00	=	\$52,655,229.94	\$3,337,011.33	
3. Tax District (town, village	e, city)									
MILWAUKEE	\$304,895,058.25 /	33,077,578,200.00	=	0.009217575	Χ	35,315,710,500.00	=	\$325,525,210.21	\$20,630,151.96	
4. School Districts										
SCH D OF MILWAUKEE	\$305,631,556.12 /	33,077,578,200.00	=	0.009239841	Х	35,315,710,500.00	=	\$326,311,549.82	\$20,679,993.70	
5. Technical College Distric	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$33,388,670.31 /	33,077,578,200.00	=	0.001009405	Х	35,315,710,500.00	=	\$35,647,854.76	\$2,259,184.45	
6. Tax Increment Total	6. Tax Increment Total									
	\$835,020,004.94							\$891,520,072.74	\$56,500,067.80	

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information							
Name	Lynn Oldenburg	Title Auditor						
Email	lynn.oldenburg@wisconsin.gov	Phone (608) 266-2569						

Comments

Filed on behalf of the city per email from Alice Hagen. Will correct the school district levy in IPAS system to match Alice's TIW school district levy. City of Milwaukee added \$231,436.13 of debt service to the school levy. This procedure will end in 2023.

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40251

Submission date: 01-06-2022 07:51 AM

Confirmation: TIW20211084O1640271226324

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40265 County Nuni Type C

MILWAUKEE

pe CITY

Municipality OAK CREEK

Account No. 1085

Total Equalized TID Value Increment 660,364,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$16,965,700.39	/	3,957,952,800.00	=	0.004286484	Χ	4,618,317,600.00	=	\$19,796,344.50	\$2,830,644.11
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$5,901,253.72	/	3,957,952,800.00	=	0.001490986	Х	4,618,317,600.00	=	\$6,885,846.89	\$984,593.17
3. Tax District (town, village	e, city)									
OAK CREEK	\$23,309,433.00	/	3,957,952,800.00	=	0.005889265	Х	4,618,317,600.00	=	\$27,198,496.20	\$3,889,063.20
4. School Districts										
SCH D OF OAK CREEK-FRANKLIN	\$35,250,723.01	/	3,957,952,800.00	=	0.008906302	Х	4,618,317,600.00	=	\$41,132,131.28	\$5,881,408.27
5. Technical College Distric	ots									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$3,995,177.05	/	3,957,952,800.00	=	0.001009405	Х	4,618,317,600.00	=	\$4,661,752.88	\$666,575.83
6. Tax Increment Total	6. Tax Increment Total									
	\$85,422,287.17								\$99,674,571.75	\$14,252,284.58

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information						
Name	Sara Kawczynski	Title City Treasurer					
Email	skawczynski@oakcreekwi.org	Phone (414) 766-7072					
Comi	nents						
	-						
Signa	ature Statement						
Unde	r penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
	Do you agree with t	he statement above?					
	bo you agree with t	ne statement above!					
	XYES	S NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40265

Submission date: 12-03-2021 01:49 PM

Confirmation: TIW20211085O1638560986604

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40281 County MILWAUKEE

Muni Type CITY

Municipality SAINT FRANCIS

Account No. 1086

Total Equalized TID Value Increment 112,995,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$2,766,795.39	/	645,469,700.00	=	0.004286484	X	758,465,300.00	=	\$3,251,149.37	\$484,353.98
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$962,386.53	/	645,469,700.00	=	0.001490986	X	758,465,300.00	=	\$1,130,861.14	\$168,474.61
3. Tax District (town, village, city)										
SAINT FRANCIS	\$6,573,671.00	/	645,469,700.00	=	0.010184322	Χ	758,465,300.00	=	\$7,724,454.84	\$1,150,783.84
4. School Districts										
SCH D OF SAINT FRANCIS	\$8,126,712.00	/	645,469,700.00	=	0.012590385	Х	758,465,300.00	=	\$9,549,370.14	\$1,422,658.14
5. Technical College Distric	ots									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$651,540.29	/	645,469,700.00	=	0.001009405	Х	758,465,300.00	=	\$765,598.67	\$114,058.38
6. Tax Increment Total										
	\$19,081,105.21								\$22,421,434.16	\$3,340,328.95

Form
PC-202

WI Dept of Revenue

Preparer Information						
Name Anne Uecker	Title City Clerk-Treasurer					
Email anne.uecker@stfranwi.org	Phone (414) 316-4305					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true	e, correct and complete to the best of my knowledge and belief.					
Do you agree with	the statement above?					
XYE	S NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40281

Submission date: 11-30-2021 11:23 AM

Confirmation: TIW20211086O1637777662394

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40282 County /

Muni Type

MILWAUKEE

CITY

Municipality SOUTH MILWAUKEE

Account No. 1087

Total Equalized TID Value Increment 67,045,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MILWAUKEE	\$5,899,728.06 /	1,376,356,100.00	=	0.004286484	Х	1,443,401,500.00	=	\$6,187,117.44	\$287,389.38
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SOUTH MILWAUKEE	\$12,090,311.46 /	1,376,356,100.00	=	0.00878429	Х	1,443,401,500.00	=	\$12,679,257.36	\$588,945.90
4. School Districts									
SCH D OF SOUTH MILWAUKEE	\$14,000,135.00 /	1,376,356,100.00	=	0.010171884	Х	1,443,401,500.00	=	\$14,682,112.62	\$681,977.62
5. Technical College Distri	cts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,389,300.63 /	1,376,356,100.00	=	0.001009405	Х	1,443,401,500.00	=	\$1,456,976.69	\$67,676.06
6. Tax Increment Total									
	\$33,379,475.15							\$35,005,464.11	\$1,625,988.96

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information					
Name Karen Kastenson	Title City Clerk / Comptroller				
Email kastenson@smwi.org	Phone (414) 768-7499				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with t	he statement above?				
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40282

Submission date: 12-02-2021 07:50 AM

Confirmation: TIW20211087O1637696553875

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40291

County

Muni Type

MILWAUKEE

Muni Type CITY

Municipality WAUWATOSA

Account No. 1088

Total Equalized TID Value Increment 406,395,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$30,603,721.98 /	,	7,139,586,600.00	=	0.004286484	Х	7,545,981,900.00	=	\$32,345,730.68	\$1,742,008.70
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$10,645,026.37 /	,	7,139,586,600.00	=	0.001490986	Х	7,545,981,900.00	=	\$11,250,953.37	\$605,927.00
3. Tax District (town, village, city)										
WAUWATOSA	\$48,693,938.00 /	,	7,139,586,600.00	=	0.006820274	Х	7,545,981,900.00	=	\$51,465,664.16	\$2,771,726.16
4. School Districts										
SCH D OF WAUWATOSA	\$57,033,649.00 /	,	7,139,586,600.00	=	0.007988369	X	7,545,981,900.00	=	\$60,280,087.88	\$3,246,438.88
5. Technical College Distric	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$7,206,733.88 /	,	7,139,586,600.00	=	0.001009405	Х	7,545,981,900.00	=	\$7,616,951.86	\$410,217.98
6. Tax Increment Total										
	\$154,183,069.23								\$162,959,387.95	\$8,776,318.72

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Derik Summerfield	Title Assistant Finance Director					
Email dsummerfield@wauwatosa.net	Phone (414) 479-8961					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES	S NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40291

Submission date: 11-29-2021 09:24 AM

Confirmation: TIW20211088O1638199454518

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 40292 County MILWAUKEE

Muni Type CITY

Municipality WEST ALLIS

Account No. 1089

Total Equalized TID Value Increment 269,635,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	'	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MILWAUKEE	\$19,334,914.13 /	′	4,510,670,100.00	=	0.004286484	Χ	4,780,305,200.00	=	\$20,490,701.75	\$1,155,787.62
2. Special Districts (metro,	sanitary, lake)									
MILWAUKEE COUNTY METRO SEWER DISTRICT	\$6,725,347.68 /	1	4,510,670,100.00	=	0.001490986	X	4,780,305,200.00	=	\$7,127,368.13	\$402,020.45
3. Tax District (town, village, city)										
WEST ALLIS	\$44,824,174.00 /	,	4,510,670,100.00	=	0.009937365	Х	4,780,305,200.00	=	\$47,503,637.58	\$2,679,463.58
4. School Districts										
SCH D OF WEST ALLIS	\$34,055,447.00 /	1	4,510,670,100.00	=	0.007549975	X	4,780,305,200.00	=	\$36,091,184.75	\$2,035,737.75
5. Technical College Distri	cts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$4,553,092.62 /	,	4,510,670,100.00	=	0.001009405	Х	4,780,305,200.00	=	\$4,825,263.97	\$272,171.35
6. Tax Increment Total										
	\$109,492,975.43								\$116,038,156.18	\$6,545,180.75

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information						
Name Corinne Zurad	Title City Treasurer					
Email czurad@westalliswi.gov	Phone (414) 302-8233					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
W V C						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 40292

Submission date: 11-30-2021 04:11 PM

Confirmation: TIW20211089O1638310292326

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 41111 County Muni Type

Municipality

monroe
Type VILLAGE

CASHTON

Account No. 1115

Total Equalized TID Value Increment 49,774,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MONROE	\$302,632.14	/	63,595,200.00	=	0.004758726	Х	113,370,000.00	=	\$539,496.77	\$236,864.63
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
CASHTON	\$378,977.00	/	63,595,200.00	=	0.005959208	X	113,370,000.00	=	\$675,595.41	\$296,618.41
4. School Districts										
SCH D OF CASHTON	\$457,786.00	/	63,595,200.00	=	0.007198436	X	113,370,000.00	=	\$816,086.69	\$358,300.69
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$80,874.71	/	63,595,200.00	=	0.001271711	Х	113,370,000.00	=	\$144,173.88	\$63,299.17
6. Tax Increment Total										
	\$1,220,269.85								\$2,175,352.75	\$955,082.90

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information					
Name Tammy Bekkum	Title Clerk				
Email tamlynn@villageofcashton.org	Phone (608) 654-7828				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
Do you agree with	the statement above:				
XYE	S NO				
<u> </u>					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 41111

Submission date: 12-13-2021 09:36 AM

Confirmation: TIW20211115O1639409785946

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 41176 County

Muni Type

Municipality

ty MONROE
ype VILLAGE

ROCKLAND

Account No. 1989

Total Equalized TID Value Increment 2,102,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
MONROE	\$9,311.14 /	1,828,300.00	=	0.005092786	Х	3,930,300.00	=	\$20,016.18	\$10,705.04
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ROCKLAND	\$12,399.00 /	/ 1,828,300.00	=	0.00678171	Х	3,930,300.00	=	\$26,654.15	\$14,255.15
4. School Districts									
SCH D OF BANGOR	\$17,864.13 /	1,828,300.00	=	0.009770896	X	3,930,300.00	=	\$38,402.55	\$20,538.42
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$2,325.07	/ 1,828,300.00	=	0.001271711	Х	3,930,300.00	=	\$4,998.21	\$2,673.14
6. Tax Increment Total									
	\$41,899.34							\$90,071.09	\$48,171.75

F	0	rı	n	1
P(`-	2	n	2

WI Dept of Revenue

Preparer Information						
Name Stephanie Rowell	Title Clerk					
Email clerk@villageofrockland.org	Phone (608) 486-4037					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 41176

Submission date: 12-01-2021 12:04 PM

Confirmation: TIW20211989O1638381867850

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 41185 County MONROE

Muni Type VILLAGE

WARRENS

Municipality

Account No. 1120

Total Equalized TID Value Increment 44,432,200

	Col. A		Col. B			Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County											
MONROE	\$101,176.35	/	20,522,300.00	=	=	0.004930069	X	64,954,500.00	=	\$320,230.17	\$219,053.82
2. Special Districts (metro,	sanitary, lake)										
3. Tax District (town, village	e, city)										
WARRENS	\$305,000.00	/	20,522,300.00	=	=	0.014861882	Х	64,954,500.00	=	\$965,346.11	\$660,346.11
4. School Districts											
SCH D OF TOMAH AREA	\$141,047.77	/	20,522,300.00	=	=	0.006872903	Х	64,954,500.00	=	\$446,425.98	\$305,378.21
5. Technical College Distric	cts										
WESTERN TECHNICAL COLLEGE LACR	\$26,098.43	/	20,522,300.00	=	=	0.001271711	Х	64,954,500.00	=	\$82,603.35	\$56,504.92
6. Tax Increment Total											
	\$573,322.55									\$1,814,605.61	\$1,241,283.06

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information	
Name Kristine Oakes	Title Clerk
Email kriso@villageofwarrens.com	Phone (608) 378-4177
Commonte	
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	e, correct and complete to the best of my knowledge and belief.
Do you agree with	the statement above?
XYES	SNO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 41185

Submission date: 12-13-2021 09:26 AM

Confirmation: TIW20211120O1637694038476

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 41191 County MONROE

Muni Type VILLAGE

WILTON

Municipality

Account No.

Total Equalized TID Value Increment 18,072,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MONROE	\$79,280.37	/	16,660,000.00	=	0.004758726	Х	34,732,200.00	=	\$165,281.02	\$86,000.65
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WILTON	\$193,196.00	/	16,660,000.00	=	0.011596399	Х	34,732,200.00	=	\$402,768.45	\$209,572.45
4. School Districts										
SCH D OF NORWALK-ONTARIO-WILTO	\$134,870.28	/	16,660,000.00	=	0.008095455	Х	34,732,200.00	=	\$281,172.96	\$146,302.68
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$21,186.70	/	16,660,000.00	=	0.001271711	Х	34,732,200.00	=	\$44,169.32	\$22,982.62
6. Tax Increment Total										
	\$428,533.35								\$893,391.75	\$464,858.40

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Leigha Barton	Title CLERK/TREASURER									
Email villageofwilton@centurytel.net	Phone (608) 435-6666									
Comments										
Confinence										
NONE										
Signature Statement										
Under penalties of law I declare this form and all attachments are true	Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
onder periamos or law, i decidio uno form and an attacimiento are trae	onder penalies of law, i declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

X YES NO

Co-muni code: 41191

Submission date: 12-06-2021 11:08 AM

Confirmation: TIW20211121O1638810512426

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 41281

County MONROE Muni Type

CITY

Municipality SPARTA Account No. 1123

Total Equalized TID Value Increment 27,990,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MONROE	\$3,237,171.47	/	680,260,100.00	=	0.004758726	Х	708,250,400.00	=	\$3,370,369.59	\$133,198.12
2. Special Districts (metro,	sanitary, lake)									
SPARTA-PERCH LAKE DISTRICT	\$0.00	/	680,260,100.00	=	0	Х	708,250,400.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
SPARTA	\$4,034,381.00	/	680,260,100.00	=	0.005930645	Х	708,250,400.00	=	\$4,200,381.69	\$166,000.69
4. School Districts										
SCH D OF SPARTA AREA	\$5,640,885.82	/	680,260,100.00	=	0.008292249	X	708,250,400.00	=	\$5,872,988.67	\$232,102.85
5. Technical College Distric	cts									
WESTERN TECHNICAL COLLEGE LACR	\$865,094.23	/	680,260,100.00	=	0.001271711	Х	708,250,400.00	=	\$900,689.82	\$35,595.59
6. Tax Increment Total										
	\$13,777,532.52								\$14,344,429.77	\$566,897.25

Form
PC-202

WI Dept of Revenue

Preparer Information									
Name Julie Hanson	Title City Clerk								
Email clerk@spartawisconsin.org	Phone (608) 269-4340								
Comments									
Comments									
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 41281

Submission date: 12-09-2021 09:08 AM

Confirmation: TIW20211123O1639062479222

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 41286 County MONROE

Muni Type CITY

Municipality TOMAH

Account No.

Total Equalized TID Value Increment 44,374,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
MONROE	\$3,612,809.13	/	759,196,700.00	=	0.004758726	Х	803,571,600.00	=	\$3,823,977.07	\$211,167.94
2. Special Districts (metro,	sanitary, lake)									
LAKE TOMAH REHABILITATION DISTRICT	\$180,683.00	/	759,196,700.00	=	0.000237992	Х	803,571,600.00	=	\$191,243.61	\$10,560.61
3. Tax District (town, villag	e, city)									
ТОМАН	\$5,091,147.00	/	759,196,700.00	=	0.006705966	Х	803,571,600.00	=	\$5,388,723.83	\$297,576.83
4. School Districts										
SCH D OF TOMAH AREA	\$5,217,885.10	/	759,196,700.00	=	0.006872903	X	803,571,600.00	=	\$5,522,869.66	\$304,984.56
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$965,478.77	/	759,196,700.00	=	0.001271711	Х	803,571,600.00	=	\$1,021,910.84	\$56,432.07
6. Tax Increment Total										
	\$15,068,003.00								\$15,948,725.01	\$880,722.01

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Molly Powell	Title Treasurer							
Email mpowell@tomahonline.com Phone (608) 374-7423								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 41286

Submission date: 11-29-2021 11:06 AM

Confirmation: TIW20211124O1638205605557

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 42146

County OCONTO Muni Type

Municipality

VILLAGE

LENA

Account No. 1149

Total Equalized TID Value Increment 595,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OCONTO	\$150,760.40 /	33,107,000.00	=	0.004553732	X	33,702,400.00	=	\$153,471.70	\$2,711.30
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
LENA	\$228,616.00 /	33,107,000.00	=	0.006905367	Х	33,702,400.00	=	\$232,727.44	\$4,111.44
4. School Districts									
SCH D OF LENA	\$322,233.00 /	33,107,000.00	=	0.009733078	X	33,702,400.00	=	\$328,028.09	\$5,795.09
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$24,445.69 /	33,107,000.00	=	0.000738384	Х	33,702,400.00	=	\$24,885.31	\$439.62
6. Tax Increment Total									
	\$726,055.09							\$739,112.54	\$13,057.45

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Charlene Meier	Title Clerk/Treasurer								
Email charlene.meier@villageoflena.net	Phone (920) 829-5226								
Comments									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 42146

Submission date: 11-23-2021 12:09 PM

Confirmation: TIW20211149O1637690967620

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 42181 County OCONTO

Muni Type VILLAGE

SURING

Municipality

Account No. 1151

Total Equalized TID Value Increment 1,521,265

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OCONTO	\$98,795.19	21,695,435.00	=	0.004553732	X	23,216,700.00	=	\$105,722.63	\$6,927.44
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SURING	\$280,722.00 /	21,695,435.00	=	0.01293922	Х	23,216,700.00	=	\$300,405.99	\$19,683.99
4. School Districts									
SCH D OF SURING	\$153,605.89 /	21,695,435.00	=	0.007080102	X	23,216,700.00	=	\$164,376.60	\$10,770.71
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$16,019.57	21,695,435.00	=	0.000738384	Х	23,216,700.00	=	\$17,142.84	\$1,123.27
6. Tax Increment Total									
	\$549,142.65							\$587,648.06	\$38,505.41

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kimberly Gruetzmacher	Title CLERK-TREASURER							
Email suringclerk@ci.suring.wi.us	Phone (920) 842-2333							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 42181

Submission date: 12-15-2021 08:50 AM

Confirmation: TIW20211151O1637687104151

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 42231

County OCONTO Muni Type

Municipality

CITY

GILLETT

Account No. 1152

Total Equalized TID Value Increment 5,188,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
осонто	\$266,676.11 /	58,562,100.00) =	0.004553732	Х	63,750,300.00	=	\$290,301.78	\$23,625.67
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
GILLETT	\$559,452.00 /	58,562,100.00) =	0.009553141	Х	63,750,300.00	=	\$609,015.60	\$49,563.60
4. School Districts									
SCH D OF GILLETT	\$525,497.66 /	58,562,100.00) =	0.00897334	Х	63,750,300.00	=	\$572,053.12	\$46,555.46
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$43,241.33 /	58,562,100.00) =	0.000738384	Х	63,750,300.00	=	\$47,072.20	\$3,830.87
6. Tax Increment Total									
	\$1,394,867.10							\$1,518,442.70	\$123,575.60

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Dan Trudgeon	Title Senior Accountant								
Email daniel.trudgeon@kerberrose.com	Phone (715) 318-7730								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 42231

Submission date: 12-01-2021 11:27 AM

Confirmation: TIW20211152O1637687651402

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 42265 County OCONTO

Muni Type CITY

OCONTO

Municipality

Account No. 1153

Total Equalized TID Value Increment 8,858,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OCONTO	\$1,076,247.67 /	236,344,100.00	=	0.004553732	Х	245,203,000.00	=	\$1,116,588.75	\$40,341.08
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
OCONTO	\$2,043,014.00 /	236,344,100.00	=	0.008644235	Х	245,203,000.00	=	\$2,119,592.35	\$76,578.35
4. School Districts									
SCH D OF OCONTO	\$2,227,871.99 /	236,344,100.00	=	0.009426391	X	245,203,000.00	=	\$2,311,379.35	\$83,507.36
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$174,512.76 /	236,344,100.00	=	0.000738384	Х	245,203,000.00	=	\$181,053.97	\$6,541.21
6. Tax Increment Total									
	\$5,521,646.42							\$5,728,614.42	\$206,968.00

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Brittney M Bickel	Title City Administrator
Email admin@cityofoconto.com	Phone (920) 834-7711
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.	
Do you agree with the statement above?	
XYES NO	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 42265

Submission date: 12-17-2021 09:56 AM

Confirmation: TIW20211153O1639756612845

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 43276

County ONEIDA Muni Type

CITY

Municipality RHINELANDER Account No. 1176

Total Equalized TID Value Increment 35,133,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ONEIDA	\$1,235,663.86	/	553,614,100.00	=	0.002231995	Х	588,747,800.00	=	\$1,314,082.15	\$78,418.29
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
RHINELANDER	\$6,135,821.00	/	553,614,100.00	=	0.011083209	Х	588,747,800.00	=	\$6,525,214.92	\$389,393.92
4. School Districts										
SCH D OF RHINELANDER	\$5,521,890.00	/	553,614,100.00	=	0.009974258	Х	588,747,800.00	=	\$5,872,322.45	\$350,432.45
5. Technical College Distri	cts									
NICOLET TECHNICAL COLLEGE RHIN	\$106,615.68	/	553,614,100.00	=	0.000192581	Х	588,747,800.00	=	\$113,381.64	\$6,765.96
6. Tax Increment Total										
	\$12,999,990.54								\$13,825,001.16	\$825,010.62

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Wendi Bixby	Title Finance Director/Treasurer							
Email wbixby@rhinelanderwi.us	Phone (715) 365-8600							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
Do you agree with the statement above?								
W VEG								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 43276

Submission date: 11-23-2021 01:06 PM

Confirmation: TIW20211176O1637694377063

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44018 County OUTAGAMIE

Muni Type TOWN

Municipality FREEDOM

Account No. 1186

Total Equalized TID Value Increment 22,299,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
OUTAGAMIE	\$2,323,431.50	/	629,568,000.00	=	0.003690517	X	651,867,500.00	=	\$2,405,728.09	\$82,296.59
2. Special Districts (metro,	sanitary, lake)									
FREEDOM SANITARY DISTRICT #1	\$0.00	/	281,595,758.00	=	0	Χ	303,895,258.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
FREEDOM	\$2,453,994.77	/	629,568,000.00	=	0.003897903	Х	651,867,500.00	=	\$2,540,916.28	\$86,921.51
4. School Districts										
SCH D OF FREEDOM AREA	\$3,743,320.00	/	629,568,000.00	=	0.005945855	Х	651,867,500.00	=	\$3,875,909.63	\$132,589.63
5. Technical College Distric	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$568,441.15	/	629,568,000.00	=	0.000902907	Х	651,867,500.00	=	\$588,575.73	\$20,134.58
6. Tax Increment Total										
	\$9,089,187.42								\$9,411,129.73	\$321,942.31

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information								
Name Colleen Laha	Title Clerk/Treasurer								
Email claha@townoffreedom.org	Phone (920) 788-4548								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44018

Submission date: 11-24-2021 07:55 AM

Confirmation: TIW20211186O1637696704072

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44020 County

OUTAGAMIE

Muni Type TOWN

Municipality GRAND CHUTE

Account No. 1187

Total Equalized TID Value Increment 99,897,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
OUTAGAMIE	\$11,476,570.71	/	3,109,747,400.00	=	0.003690515	X	3,209,645,000.00	=	\$11,845,243.02	\$368,672.31
2. Special Districts (metro,	sanitary, lake)									
GRAND CHUTE SANITARY DISTRICT #1	\$591,220.00	/	2,848,858,339.00	=	0.000207529	Х	2,948,832,439.00	=	\$611,968.25	\$20,748.25
GRAND CHUTE SANITARY DISTRICT #2	\$0.00	/	2,893,146,398.00	=	0	X	2,993,120,498.00	=	\$0.00	\$0.00
GRAND CHUTE SANITARY DISTRICT #3	\$0.00	/	3,109,747,400.00	=	0	X	3,209,645,000.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
GRAND CHUTE	\$14,727,640.00	/	3,109,747,400.00	=	0.00473596	Х	3,209,645,000.00	=	\$15,200,750.33	\$473,110.33
4. School Districts										
SCH D OF APPLETON AREA	\$23,154,772.59	/	3,024,419,686.00	=	0.007655939	X	3,124,317,286.00	=	\$23,919,582.56	\$764,809.97
5. Technical College Distric	ots									
FOX VALLEY TECHNICAL COLLEGE APPL	\$2,807,811.70	/	3,109,747,400.00	=	0.000902907	Х	3,209,645,000.00	=	\$2,898,010.94	\$90,199.24
6. Tax Increment Total										
	\$52,758,015.00								\$54,475,555.10	\$1,717,540.10

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Angie Cain	Title Town Clerk							
Email angie.cain@grandchute.net	Phone (920) 832-5644							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44020

Submission date: 11-23-2021 08:19 PM

Confirmation: TIW20211187O1637720377502

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44111

County Muni Type

OUTAGAMIE

Muni Type VILLAGE

Municipality COMBINED LOCKS

Account No. 1200

Total Equalized TID Value Increment 4,803,000

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$1,330,310.59	/	360,463,100.00	=	0.00369056	X	365,266,100.00	=	\$1,348,036.46	\$17,725.87
sanitary, lake)									
\$0.00	/	360,463,100.00	=	0	X	365,266,100.00	=	\$0.00	\$0.00
e, city)									
\$1,805,034.00	/	360,463,100.00	=	0.005007542	Χ	365,266,100.00	=	\$1,829,085.34	\$24,051.34
\$828,234.72	/	117,701,580.00	=	0.007036734	X	122,504,580.00	=	\$862,032.14	\$33,797.42
ets									
\$325,464.54	/	360,463,100.00	=	0.000902907	Х	365,266,100.00	=	\$329,801.32	\$4,336.78
\$4,289,043.85								\$4,368,955.26	\$79,911.41
	\$1,330,310.59 sanitary, lake) \$0.00 a, city) \$1,805,034.00 \$828,234.72	\$1,330,310.59 / \$1,330,310.59 / sanitary, lake) \$0.00 / \$, city) \$1,805,034.00 / \$828,234.72 / tts \$325,464.54 /	### Equalized Value (less TID Value Increment) \$1,330,310.59	Apportioned Levy / Equalized Value (less TID Value Increment) = \$1,330,310.59 / 360,463,100.00 = \$30,000 / 360,463,100.00 = \$30,000 / 360,463,100.00 = \$325,464.54 / 360,464.54 / 360,464.54 / 360,464.54 / 360,464.54 / 360,464.54 / 360,464.54 / 360,4	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate Increment) \$1,330,310.59 / 360,463,100.00 = 0.00369056 sanitary, lake) \$0.00 / 360,463,100.00 = 0 \$1,805,034.00 / 360,463,100.00 = 0.005007542 \$828,234.72 / 117,701,580.00 = 0.007036734 ets \$325,464.54 / 360,463,100.00 = 0.000902907	Apportioned Levy / (less TID Value Increment) = Interim Rate X	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / (less TID Value Increment) = Interim Rate

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Racquel Shampo-Giese	Title Administrator/Clerk/Treasurer								
Email gieser@combinedlocks.org	Phone (920) 788-7740								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44111

Submission date: 11-29-2021 10:26 AM

Confirmation: TIW20211200O1638197552245

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 44122 County OUTAGAMIE

Muni Type VILLAGE

Municipality GREENVILLE

Account No. 1995

Total Equalized TID Value Increment 16,075,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OUTAGAMIE	\$4,611,137.45 /	1,249,451,100.00	=	0.003690531	X	1,265,526,300.00	=	\$4,670,464.04	\$59,326.59
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
GREENVILLE	\$3,760,876.49 /	1,249,451,100.00	=	0.003010023	Х	1,265,526,300.00	=	\$3,809,263.27	\$48,386.78
4. School Districts									
SCH D OF HORTONVILLE AREA	\$9,990,892.00 /	1,249,451,100.00	=	0.007996225	X	1,265,526,300.00	=	\$10,119,433.04	\$128,541.04
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$1,128,137.74 /	1,249,451,100.00	=	0.000902907	Х	1,265,526,300.00	=	\$1,142,652.55	\$14,514.81
6. Tax Increment Total									
	\$19,491,043.68							\$19,741,812.90	\$250,769.22

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information						
Name	Travis Parish	Title Village Administrator					
Email	tparish@greenvillewi.gov	Phone (920) 757-5151					

Comments

Amended to reflect TID in Village only.

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44122

Submission date: 12-02-2021 12:35 PM

Confirmation: TIW20211995A1638470132915

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 44136

Muni Type

County OUTAGAMIE VILLAGE

Municipality HORTONVILLE Account No. 1201

Total Equalized TID Value Increment 10,143,700

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$822,280.49	/	235,827,100.00	=	0.003486794	Х	245,970,800.00	=	\$857,649.51	\$35,369.02
anitary, lake)									
\$53,616.92	/	235,827,100.00	=	0.000227357	X	245,970,800.00	=	\$55,923.18	\$2,306.26
, city)									
\$1,670,722.00	/	235,827,100.00	=	0.007084521	Х	245,970,800.00	=	\$1,742,585.30	\$71,863.30
\$1,885,726.00	/	235,827,100.00	=	0.007996223	Х	245,970,800.00	=	\$1,966,837.37	\$81,111.37
s									
\$212,929.86	/	235,827,100.00	=	0.000902907	Х	245,970,800.00	=	\$222,088.76	\$9,158.90
\$4,645,275.27								\$4,845,084.12	\$199,808.85
	\$822,280.49 sanitary, lake) \$53,616.92 city) \$1,670,722.00 \$1,885,726.00 s \$212,929.86	\$822,280.49 / sanitary, lake) \$53,616.92 / stanitary, lake) \$1,670,722.00 / \$1,885,726.00 / ss	### Equalized Value (less TID Value Increment) ### \$822,280.49	## Second	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate Increment) \$822,280.49 / 235,827,100.00 = 0.003486794 Sanitary, lake) \$53,616.92 / 235,827,100.00 = 0.000227357 (city) \$1,670,722.00 / 235,827,100.00 = 0.007084521 \$1,885,726.00 / 235,827,100.00 = 0.007996223	Apportioned Levy / (less TID Value Increment) = Interim Rate X	Apportioned Levy / (less TID Value Increment) = Interim Rate	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy / (less TID Value lncrement) = Interim Rate X Equalized Value (with TID Value lncrement) = Total Levy Amount (use on Mill Rate Worksheet) \$822,280.49 / 235,827,100.00 = 0.003486794 X 245,970,800.00 = \$857,649.51 sanitary, lake) \$53,616.92 / 235,827,100.00 = 0.000227357 X 245,970,800.00 = \$55,923.18 strictly) \$1,670,722.00 / 235,827,100.00 = 0.007084521 X 245,970,800.00 = \$1,742,585.30 \$1,885,726.00 / 235,827,100.00 = 0.007996223 X 245,970,800.00 = \$1,966,837.37 strictly \$1,242,585.30 \$1,885,726.00 / 235,827,100.00 = 0.007996223 X 245,970,800.00 = \$1,966,837.37 strictly \$1,885,726.00 / 235,827,100.00 = 0.000902907 X 245,970,800.00 = \$222,088.76 \$1,966,837.37 \$1,966,837.37 \$1,966,837.37 strictly \$1,885,726.00 / 235,827,100.00 = 0.000902907 X 245,970,800.00 = \$222,088.76 \$1,966,837.37 \$1,

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information							
Name JANE BOOTH	Title Clerk-Treasurer							
Email clerktreas@vohortonville.com Phone (920) 779-6011								
Comments								
Signatura Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44136

Submission date: 11-30-2021 10:13 AM

Confirmation: TIW20211201O1638194972467

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44141 County OUTAGAMIE

Muni Type VILLAGE

Municipality KIMBERLY

Account No.

Total Equalized TID Value Increment 121,964,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
OUTAGAMIE	\$1,944,246.73	/	557,597,900.00	=	0.003486826	Х	679,562,800.00	=	\$2,369,517.24	\$425,270.51
2. Special Districts (metro,	sanitary, lake)									
HEART OF THE VALLEY METRO SEWER DISTRICT	\$0.00	/	557,597,900.00	=	0	Х	679,562,800.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
KIMBERLY	\$3,683,000.00	/	557,597,900.00	=	0.006605118	Х	679,562,800.00	=	\$4,488,592.48	\$805,592.48
4. School Districts										
SCH D OF KIMBERLY AREA	\$3,378,147.70	/	557,597,900.00	=	0.006058394	Х	679,562,800.00	=	\$4,117,059.19	\$738,911.49
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$503,458.87	/	557,597,900.00	=	0.000902907	Х	679,562,800.00	=	\$613,582.01	\$110,123.14
6. Tax Increment Total										
	\$9,508,853.30								\$11,588,750.92	\$2,079,897.62

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Danielle Block	Title Admministrator							
Email dblock@vokimberly.org Phone (920) 788-7500								
Comments								
Signature Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44141

Submission date: 11-24-2021 11:27 AM

Confirmation: TIW20211202O1637688851821

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44146 County OUTAGAMIE

Muni Type VILLAGE

Municipality LITTLE CHUTE

Account No. 1203

Total Equalized TID Value Increment 189,642,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
OUTAGAMIE	\$3,146,016.00	/	902,259,000.00	=	0.003486821	X	1,091,901,000.00	=	\$3,807,263.34	\$661,247.34
2. Special Districts (metro,	sanitary, lake)									
HEART OF THE VALLEY METRO SEWER DISTRICT	\$0.00	/	902,259,000.00	=	0	Х	1,091,901,000.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
LITTLE CHUTE	\$5,462,471.00	/	902,259,000.00	=	0.006054216	Х	1,091,901,000.00	=	\$6,610,604.50	\$1,148,133.50
4. School Districts										
SCH D OF APPLETON AREA	\$216,042.62	/	28,218,958.00	=	0.007655939	Х	100,722,458.00	=	\$771,124.99	\$555,082.37
SCH D OF KAUKAUNA AREA	\$1,769,467.66	/	251,461,492.00	=	0.007036734	X	351,459,692.00	=	\$2,473,128.36	\$703,660.70
SCH D OF LITTLE CHUTE AREA	\$4,491,825.00	/	622,578,550.00	=	0.007214873	X	639,718,850.00	=	\$4,615,490.26	\$123,665.26
5. Technical College Districts										
FOX VALLEY TECHNICAL COLLEGE APPL	\$814,655.68	/	902,259,000.00	=	0.000902907	Х	1,091,901,000.00	=	\$985,885.06	\$171,229.38
6. Tax Increment Total										
	\$15,900,477.96								\$19,263,496.51	\$3,363,018.55

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Lisa Remiker-DeWall	Title Finance Director								
Email lisa@littlechutewi.org Phone (920) 423-3855									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44146

Submission date: 11-23-2021 04:39 PM

Confirmation: TIW20211203O1637707154148

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44191

County

Muni Type

County OUTAGAMIE

Muni Type VILLAGE

Municipality WRIGHTSTOWN

Account No. 1976

Total Equalized TID Value Increment 41,284,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OUTAGAMIE	\$120,975.63	34,873,100.00	=	0.003469024	Х	76,157,200.00	=	\$264,191.15	\$143,215.52
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WRIGHTSTOWN	\$257,978.78	34,873,100.00	=	0.007397644	Х	76,157,200.00	=	\$563,383.85	\$305,405.07
4. School Districts									
SCH D OF WRIGHTSTOWN COMMUNITY	\$308,638.39	34,873,100.00	=	0.008850328	Х	76,157,200.00	=	\$674,016.20	\$365,377.81
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$31,487.15 /	34,873,100.00	=	0.000902907	X	76,157,200.00	=	\$68,762.87	\$37,275.72
6. Tax Increment Total									
	\$719,079.95							\$1,570,354.07	\$851,274.12

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Michelle Seidl	Title Clerk/Treasurer							
Email mseidl@wrightstown.us	Phone (920) 532-5567							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44191

Submission date: 11-23-2021 12:27 PM

Confirmation: TIW20211976O1637692029085

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44201 County OUTAGAMIE

Muni Type CITY

Municipality APPLETON

Account No. 1206

Total Equalized TID Value Increment 179,871,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OUTAGAMIE	\$18,232,762.73 /	5,441,078,700.00	=	0.003350946	Х	5,620,950,600.00	=	\$18,835,501.93	\$602,739.20
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
APPLETON	\$42,762,690.00 /	5,441,078,700.00	=	0.00785923	Х	5,620,950,600.00	=	\$44,176,343.58	\$1,413,653.58
4. School Districts									
SCH D OF APPLETON AREA	\$40,530,023.46 /	5,293,932,399.00	=	0.007655939	Х	5,473,804,299.00	=	\$41,907,111.81	\$1,377,088.35
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$4,912,786.27 /	5,441,078,700.00	=	0.000902907	Х	5,620,950,600.00	=	\$5,075,195.64	\$162,409.37
6. Tax Increment Total									
	\$106,438,262.46							\$109,994,152.96	\$3,555,890.50

F	0	rı	n	1
P	C-	2	0	2

WI Dept of Revenue

Preparer Information								
Name Jeri A. Ohman	Title Deputy Director of Finance							
Email jeri.ohman@appleton.org	Phone (920) 832-5742							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?								
Do you agree with t	THE STATE THE REPORT OF THE STATE OF THE STA							
W.V.C								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44201

Submission date: 11-24-2021 11:32 AM

Confirmation: TIW20211206O1637689425890

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44241 County

Muni Type

OUTAGAMIE

CITY

Municipality KAUKAUNA

Account No. 1207

Total Equalized TID Value Increment 93,229,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OUTAGAMIE	\$4,235,926.95 /	1,221,134,700.00	=	0.003468845	Х	1,314,364,000.00	=	\$4,559,324.99	\$323,398.04
2. Special Districts (metro,	sanitary, lake)								
HEART OF THE VALLEY METRO SEWER DISTRICT	\$0.00 /	1,221,134,700.00	=	0	Х	1,314,364,000.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)								
KAUKAUNA	\$10,336,164.83 /	1,221,134,700.00	=	0.008464394	Х	1,314,364,000.00	=	\$11,125,294.76	\$789,129.93
4. School Districts									
SCH D OF KAUKAUNA AREA	\$8,592,800.19 /	1,221,134,700.00	=	0.007036734	Х	1,314,364,000.00	=	\$9,248,829.85	\$656,029.66
5. Technical College Distric	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$1,102,570.68 /	1,221,134,700.00	=	0.000902907	Х	1,314,364,000.00	=	\$1,186,748.46	\$84,177.78
6. Tax Increment Total									
	\$24,267,462.65							\$26,120,198.06	\$1,852,735.41

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name William Van Rossum	Title Finance Director								
Email wvanrossum@kaukauna-wi.org	Phone (920) 766-6372								
Comments									
Signature Statement									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44241

Submission date: 11-24-2021 09:00 AM

Confirmation: TIW20211207O1637764341958

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44261 County

Muni Type

OUTAGAMIE

CITY

Municipality NEW LONDON

Account No. 1208

Total Equalized TID Value Increment 809,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
OUTAGAMIE	\$495,423.83	/	142,822,600.00	=	0.003468806	Х	143,631,900.00	=	\$498,231.20	\$2,807.37
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
NEW LONDON	\$1,238,236.82 /	/	142,822,600.00	=	0.008669754	Х	143,631,900.00	=	\$1,245,253.24	\$7,016.42
4. School Districts										
SCH D OF NEW LONDON	\$952,709.74	/	142,822,600.00	=	0.006670581	Х	143,631,900.00	=	\$958,108.22	\$5,398.48
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$128,955.48 /	/	142,822,600.00	=	0.000902907	Х	143,631,900.00	=	\$129,686.25	\$730.77
6. Tax Increment Total										
	\$2,815,325.87								\$2,831,278.91	\$15,953.04

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Judy Radke	Title Finance Director					
Email jradke@newlondonwi.org	Phone (920) 982-8500					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44261

Submission date: 11-23-2021 02:53 PM

Confirmation: TIW20211208O1637700804390

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 44281 County OUTAGAMIE

Muni Type CITY

Municipality SEYMOUR

Account No. 1209

Total Equalized TID Value Increment 27,100,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OUTAGAMIE	\$764,614.18 /	220,423,000.00	=	0.003468849	Х	247,523,200.00	=	\$858,620.60	\$94,006.42
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SEYMOUR	\$1,606,691.00 /	220,423,000.00	=	0.007289126	Х	247,523,200.00	=	\$1,804,227.79	\$197,536.79
4. School Districts									
SCH D OF SEYMOUR COMMUNITY	\$1,870,595.25 /	220,423,000.00	=	0.008486389	Х	247,523,200.00	=	\$2,100,578.16	\$229,982.91
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$199,021.40 /	220,423,000.00	=	0.000902907	Х	247,523,200.00	=	\$223,490.43	\$24,469.03
6. Tax Increment Total									
	\$4,440,921.83							\$4,986,916.98	\$545,995.15

F	0	rı	n	١
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information						
Name Lori Thiel	Title Clerk-Treasurer					
Email clerk@cityofseymourwi.org	Phone (920) 833-2209					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 44281

Submission date: 12-03-2021 12:21 PM

Confirmation: TIW20211209O1637694772649

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 45106 County OZAUKEE

Muni Type VILLAGE

BELGIUM

Municipality

Account No. 1218

Total Equalized TID Value Increment 49,979,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OZAUKEE	\$323,821.83 /	183,925,300.00	=	0.001760616	Х	233,905,200.00	=	\$411,817.24	\$87,995.41
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BELGIUM	\$1,066,483.00 /	183,925,300.00	=	0.005798457	Х	233,905,200.00	=	\$1,356,289.24	\$289,806.24
4. School Districts									
SCH D OF CEDAR GROVE-BELGIUM AREA	\$1,432,694.00 /	183,925,300.00	=	0.007789543	Х	233,905,200.00	=	\$1,822,014.61	\$389,320.61
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$133,839.31 /	183,925,300.00	=	0.000727683	Х	233,905,200.00	=	\$170,208.84	\$36,369.53
6. Tax Increment Total									
	\$2,956,838.14							\$3,760,329.93	\$803,491.79

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Julie Lesar	Title Village Clerk						
Email jlesar@village.belgium.wi.us	Phone (262) 285-7931						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 45106

Submission date: 11-23-2021 02:32 PM

Confirmation: TIW20211218O1637691060093

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 45131 County OZAUKEE

Muni Type VILLAGE

GRAFTON

Municipality

Account No. 1220

Total Equalized TID Value Increment 170,189,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OZAUKEE	\$2,135,776.66 /	1,424,741,100.00	=	0.001499063	X	1,594,930,600.00	=	\$2,390,901.45	\$255,124.79
2. Special Districts (metro,	, sanitary, lake)								
3. Tax District (town, villag	je, city)								
GRAFTON	\$8,368,778.00 /	1,424,741,100.00	=	0.005873894	Х	1,594,930,600.00	=	\$9,368,453.28	\$999,675.28
4. School Districts									
SCH D OF GRAFTON	\$11,811,582.00 /	1,272,590,055.00	=	0.009281529	X	1,442,779,555.00	=	\$13,391,200.28	\$1,579,618.28
5. Technical College Distri	cts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,438,140.69 /	1,424,741,100.00	=	0.001009405	Х	1,594,930,600.00	=	\$1,609,930.92	\$171,790.23
6. Tax Increment Total									
	\$23,754,277.35							\$26,760,485.93	\$3,006,208.58

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information							
Name Paul Styduhar	Title Director of Administrative Services						
Email pstyduhar@village.grafton.wi.us	Phone (262) 375-5300						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 45131

Submission date: 11-23-2021 02:13 PM

Confirmation: TIW20211220O1637698422511

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 45181 County OZAUKEE

Muni Type VILLAGE

Muni Type VILLAGE

Municipality SAUKVILLE

Account No. 1222

Total Equalized TID Value Increment 7,840,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OZAUKEE	\$773,508.86 /	515,994,900.00	=	0.001499063	Χ	523,835,100.00	=	\$785,261.82	\$11,752.96
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SAUKVILLE	\$3,282,527.00 /	515,994,900.00	=	0.006361549	Х	523,835,100.00	=	\$3,332,402.66	\$49,875.66
4. School Districts									
SCH D OF PORT WASHINGTON-SAUKVILLE	\$4,055,652.00 /	468,844,384.00	=	0.008650316	X	476,684,584.00	=	\$4,123,472.28	\$67,820.28
5. Technical College Distri	cts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$520,847.79 /	515,994,900.00	=	0.001009405	Х	523,835,100.00	=	\$528,761.77	\$7,913.98
6. Tax Increment Total									
	\$8,632,535.65							\$8,769,898.53	\$137,362.88

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name MAUREEN HARTJES	Title TREASURER							
mail mhartjes@village.saukville.wi.us Phone (262) 284-9423								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 45181

Submission date: 11-29-2021 09:59 AM

Confirmation: TIW20211222O1637768379567

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 45211

County OZAUKEE

CITY

Muni Type Municipality CEDARBURG Account No. 1224

Total Equalized TID Value Increment 16,092,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OZAUKEE	\$2,499,848.85 /	1,667,607,600.00	=	0.001499063	Х	1,683,699,600.00	=	\$2,523,971.77	\$24,122.92
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CEDARBURG	\$11,056,322.00 /	1,667,607,600.00	=	0.00663005	Х	1,683,699,600.00	=	\$11,163,012.53	\$106,690.53
4. School Districts									
SCH D OF CEDARBURG	\$12,357,761.19 /	1,663,976,991.00	=	0.007426642	Х	1,680,068,991.00	=	\$12,477,270.93	\$119,509.74
5. Technical College Distri	cts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,683,291.33 /	1,667,607,600.00	=	0.001009405	Х	1,683,699,600.00	=	\$1,699,534.79	\$16,243.46
6. Tax Increment Total									
	\$27,597,223.37							\$27,863,790.02	\$266,566.65

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Christy Mertes	Title Finance Director/Treasurer							
Email cmertes@ci.cedarburg.wi.us	Phone (262) 376-3907							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 45211

Submission date: 11-30-2021 08:41 AM

Confirmation: TIW20211224O1637786072385

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 45255 County OZAUKEE

Muni Type CITY

Municipality MEQUON

Account No. 1225

Total Equalized TID Value Increment 168,412,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OZAUKEE	\$7,847,201.89 /	5,234,737,900.00	=	0.001499063	Х	5,403,150,300.00	=	\$8,099,662.70	\$252,460.81
2. Special Districts (metro,	, sanitary, lake)								
3. Tax District (town, villag	e, city)								
MEQUON	\$23,301,610.00 /	5,234,737,900.00	=	0.004451342	Х	5,403,150,300.00	=	\$24,051,269.86	\$749,659.86
4. School Districts									
SCH D OF MEQUON-THIENSVILLE	\$40,696,348.00 /	5,208,444,350.00	=	0.007813532	Х	5,376,856,750.00	=	\$42,012,242.28	\$1,315,894.28
5. Technical College Districts									
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$5,283,970.22 /	5,234,737,900.00	=	0.001009405	Х	5,403,150,300.00	=	\$5,453,966.93	\$169,996.71
6. Tax Increment Total									
	\$77,129,130.11							\$79,617,141.77	\$2,488,011.66

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Jennifer Engroff	Title Finance Director & Treasurer							
Email jengroff@ci.mequon.wi.us	Phone (262) 236-2955							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 45255

Submission date: 12-08-2021 11:18 AM

Confirmation: TIW20211225O1637702407809

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 45271 County OZAUKEE

Muni Type

CITY

Municipality PORT WASHINGTON

Account No. 1226

Total Equalized TID Value Increment 28,833,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
OZAUKEE	\$1,891,277.69 /	1,261,639,900.00	=	0.001499063	Х	1,290,473,800.00	=	\$1,934,501.53	\$43,223.84
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PORT WASHINGTON	\$6,559,767.60 /	1,261,639,900.00	=	0.005199398	Х	1,290,473,800.00	=	\$6,709,686.89	\$149,919.29
4. School Districts									
SCH D OF PORT WASHINGTON-SAUKVILLE	\$10,913,585.00 /	1,261,639,900.00	=	0.008650317	X	1,290,473,800.00	=	\$11,163,007.45	\$249,422.45
5. Technical College Distri	cts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$1,273,505.53 /	1,261,639,900.00	=	0.001009405	Х	1,290,473,800.00	=	\$1,302,610.71	\$29,105.18
6. Tax Increment Total									
	\$20,638,135.82							\$21,109,806.58	\$471,670.76

F	0	r	m	1
P	`.	.2	'n	2

WI Dept of Revenue

Preparer Information								
Name Susan Westerbeke	Title City Clerk							
Email swesterbeke@cpwwi.org	Phone (262) 284-5585							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 45271

Submission date: 12-01-2021 12:35 PM

Confirmation: TIW20211226O1638383746597

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 46171

County **PEPIN** Muni Type

Municipality

VILLAGE

PEPIN

Account No. 1236

Total Equalized TID Value Increment 8,388,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
PEPIN	\$454,035.43 /	67,476,800.00	=	0.006728764	Х	75,865,300.00	=	\$510,479.70	\$56,444.27
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PEPIN	\$345,679.00 /	67,476,800.00	=	0.005122931	Х	75,865,300.00	=	\$388,652.70	\$42,973.70
4. School Districts									
SCH D OF PEPIN AREA	\$780,396.00 /	67,476,800.00	=	0.011565397	Х	75,865,300.00	=	\$877,412.31	\$97,016.31
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$54,713.47 /	67,476,800.00	=	0.000810849	Х	75,865,300.00	=	\$61,515.30	\$6,801.83
6. Tax Increment Total									
	\$1,634,823.90							\$1,838,060.01	\$203,236.11

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Drew Adams	Title Village Clerk						
Email clerk@pepinwisconsin.org	Phone (715) 442-2461						
Comments							
Comments							
Signatura Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 46171

Submission date: 12-02-2021 11:38 AM

Confirmation: TIW20211236O1638466641413

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 46216 County PEPIN

Muni Type CITY

DURAND

Municipality

Account No. 1238

Total Equalized TID Value Increment 3,759,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
PEPIN	\$719,623.10 /	106,947,300.00	=	0.006728764	X	110,706,800.00	=	\$744,919.93	\$25,296.83
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
DURAND	\$728,729.00 /	106,947,300.00	=	0.006813907	Х	110,706,800.00	=	\$754,345.84	\$25,616.84
4. School Districts									
SCH D OF DURAND	\$829,322.65 /	106,947,300.00	=	0.007754498	X	110,706,800.00	=	\$858,475.66	\$29,153.01
5. Technical College Distriction	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$86,718.06 /	106,947,300.00	=	0.000810849	Х	110,706,800.00	=	\$89,766.50	\$3,048.44
6. Tax Increment Total									
	\$2,364,392.81							\$2,447,507.93	\$83,115.12

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information							
Name Angela Morgan	Title City Clerk						
Email ammorgan@nelson-tel.net	Phone (715) 672-8770						
Comments							
Cimpotore Ctatomont							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 46216

Submission date: 12-01-2021 08:59 AM

Confirmation: TIW20211238O1638369991406

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 47121 County

Muni Type

PIERCE

Muni Type VILLAGE

Municipality ELLSWORTH

Account No. 1258

Total Equalized TID Value Increment 18,522,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PIERCE	\$1,151,391.91 /	/	235,838,300.00	=	0.004882124	X	254,361,100.00	=	\$1,241,822.43	\$90,430.52
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ELLSWORTH	\$1,345,318.00	/	235,838,300.00	=	0.005704408	Х	254,361,100.00	=	\$1,450,979.49	\$105,661.49
4. School Districts										
SCH D OF ELLSWORTH COMMUNITY	\$1,903,366.00	/	235,838,300.00	=	0.00807064	Х	254,361,100.00	=	\$2,052,856.87	\$149,490.87
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$191,229.14	/	235,838,300.00	=	0.000810849	Х	254,361,100.00	=	\$206,248.44	\$15,019.30
6. Tax Increment Total										
	\$4,591,305.05								\$4,951,907.23	\$360,602.18

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Nicole Stewart	Title Administrator/Clerk-Treasurer					
Email nicole@villageofellsworth.org	Phone (715) 273-4742					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 47121

Submission date: 11-23-2021 02:24 PM

Confirmation: TIW20211258O1637699061443

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 47122

County **PIERCE** Muni Type

Municipality

VILLAGE

ELMWOOD

Account No. 1259

Total Equalized TID Value Increment 8,738,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
PIERCE	\$204,320.44 /	41,846,300.00	=	0.004882641	Х	50,585,000.00	=	\$246,988.39	\$42,667.95
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ELMWOOD	\$156,442.00 /	41,846,300.00	=	0.003738491	Х	50,585,000.00	=	\$189,111.57	\$32,669.57
4. School Districts									
SCH D OF ELMWOOD	\$484,128.04 /	41,846,300.00	=	0.011569196	Х	50,585,000.00	=	\$585,227.78	\$101,099.74
5. Technical College Distri	cts								
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$33,931.01 /	41,846,300.00	=	0.000810849	Х	50,585,000.00	=	\$41,016.80	\$7,085.79
6. Tax Increment Total									
	\$878,821.49							\$1,062,344.54	\$183,523.05

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name AMY C WAYNE	Title Clerk/Treasurer							
Email villeIm@celectcom.net	Phone (715) 639-3792							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 47122

Submission date: 11-23-2021 02:39 PM

Confirmation: TIW20211259O1637699941612

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 47181 County

Muni Type

PIERCE

VILLAGE

Municipality SPRING VALLEY

Account No. 1262

Total Equalized TID Value Increment 10,126,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PIERCE	\$394,875.31	/	80,882,300.00	=	0.004882098	Х	91,008,600.00	=	\$444,312.90	\$49,437.59
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SPRING VALLEY	\$548,526.38	/	80,882,300.00	=	0.006781785	Х	91,008,600.00	=	\$617,200.76	\$68,674.38
4. School Districts										
SCH D OF SPRING VALLEY	\$807,141.00	/	80,882,300.00	=	0.009979204	Х	91,008,600.00	=	\$908,193.39	\$101,052.39
5. Technical College Distri	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$65,583.30	/	80,882,300.00	=	0.000810849	Х	91,008,600.00	=	\$73,794.23	\$8,210.93
6. Tax Increment Total										
	\$1,816,125.99								\$2,043,501.28	\$227,375.29

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information							
Name Luann Emerson	Title Clerk/Treasurer						
Email clerk@springvalleywi.com	Phone (715) 778-5635						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 47181

Submission date: 11-23-2021 01:20 PM

Confirmation: TIW20211262O1637695232998

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 47271 County Pl

Municipality

PIERCE

CITY

PRESCOTT

Account No. 1263

Total Equalized TID Value Increment 60,756,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PIERCE	\$1,795,817.42	/	367,854,300.00	=	0.004881871	Х	428,610,500.00	=	\$2,092,421.17	\$296,603.75
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
PRESCOTT	\$2,366,864.00	/	367,854,300.00	=	0.006434243	Х	428,610,500.00	=	\$2,757,784.11	\$390,920.11
4. School Districts										
SCH D OF PRESCOTT	\$3,762,212.00	/	367,854,300.00	=	0.010227451	Х	428,610,500.00	=	\$4,383,592.89	\$621,380.89
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$298,274.12	/	367,854,300.00	=	0.000810849	Х	428,610,500.00	=	\$347,538.40	\$49,264.28
6. Tax Increment Total										
	\$8,223,167.54								\$9,581,336.57	\$1,358,169.03

Form	
PC-202	

WI Dept of Revenue

Preparer Information							
Name Elizabeth Lansing Title Deputy Clerk/Treasurer							
Email elansing@prescottcity.org Phone (715) 262-5544							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 47271

Submission date: 11-29-2021 09:28 AM

Confirmation: TIW20211263O1638199687508

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 47276 County PIERCE

Muni Type CITY

Municipality RIVER FALLS

Account No. 1264

Total Equalized TID Value Increment 22,076,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PIERCE	\$3,900,180.31	/	798,922,700.00	=	0.004881799	Х	820,998,800.00	=	\$4,007,951.12	\$107,770.81
2. Special Districts (metro,	sanitary, lake)									
LAKE GEORGE INLAND LAKE PRO & REHAB DISTRICT	\$0.00	/	798,922,700.00	=	0	Х	820,998,800.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
RIVER FALLS	\$4,665,222.00	/	798,922,700.00	=	0.005839391	Х	820,998,800.00	=	\$4,794,133.00	\$128,911.00
4. School Districts										
SCH D OF RIVER FALLS	\$6,284,496.40	/	798,922,700.00	=	0.007866213	Х	820,998,800.00	=	\$6,458,151.43	\$173,655.03
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$647,805.31	/	798,922,700.00	=	0.000810849	Х	820,998,800.00	=	\$665,706.06	\$17,900.75
6. Tax Increment Total										
	\$15,497,704.02								\$15,925,941.61	\$428,237.59

Fo	r	m	١
PC.	-2	n	2

WI Dept of Revenue

Preparer Information							
Name Amy White	Title City Clerk						
Email awhite@rfcity.org	Phone (715) 426-3405						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 47276

Submission date: 11-24-2021 10:01 AM

Confirmation: TIW20211264O1637694742606

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 48106

County

POLK

Muni Type VILLAGE

Municipality BALSAM LAKE Account No. 1290

Total Equalized TID Value Increment 7,444,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
POLK	\$608,894.96	/	155,957,100.00	=	0.003904246	Х	163,401,700.00	=	\$637,960.43	\$29,065.47
2. Special Districts (metro,	sanitary, lake)									
BALSAM LAKE PRO & REHAB DISTRICT	\$64,675.00	/	120,085,575.00	=	0.000538574	X	123,943,275.00	=	\$66,752.63	\$2,077.63
3. Tax District (town, villag	e, city)									
BALSAM LAKE	\$604,885.00	/	155,957,100.00	=	0.003878535	Х	163,401,700.00	=	\$633,759.21	\$28,874.21
4. School Districts										
SCH D OF UNITY (MILLTOWN)	\$1,239,609.53	/	155,957,100.00	=	0.007948401	Х	163,401,700.00	=	\$1,298,782.24	\$59,172.71
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$50,055.22	/	155,957,100.00	=	0.000320955	Х	163,401,700.00	=	\$52,444.59	\$2,389.37
6. Tax Increment Total										
	\$2,568,119.71								\$2,689,699.10	\$121,579.39

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information								
Name Lori Duncan	Title Clerk Treasurer							
Email vobl@lakeland.ws Phone (715) 485-3424								
Comments								
Cimpatura Ctatamant								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48106

Submission date: 12-01-2021 08:20 AM

Confirmation: TIW20211290O1638368436890

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 48111 County PO
Muni Type VIL

Municipality

POLK

VILLAGE CENTURIA Account No. 1291

Total Equalized TID Value Increment 4,422,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
POLK	\$130,093.78 /	33,321,100.00	=	0.003904246	Х	37,744,000.00	=	\$147,361.86	\$17,268.08
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CENTURIA	\$211,969.00 /	33,321,100.00	=	0.006361405	Х	37,744,000.00	=	\$240,104.87	\$28,135.87
4. School Districts									
SCH D OF UNITY (MILLTOWN)	\$264,849.46 /	33,321,100.00	=	0.007948401	X	37,744,000.00	=	\$300,004.45	\$35,154.99
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$10,694.58 /	33,321,100.00	=	0.000320955	Х	37,744,000.00	=	\$12,114.13	\$1,419.55
6. Tax Increment Total									
	\$617,606.82							\$699,585.31	\$81,978.49

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name AUTUMN HYDEN	Title CLERK/TREASURER						
Email centuriavillage@lakeland.ws Phone (715) 646-2300							
Comments	Comments						
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48111

Submission date: 12-01-2021 09:31 AM

Confirmation: TIW20211291O1638372686526

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 48112

County POLK Muni Type

Municipality

VILLAGE

CLAYTON

Account No. 1292

Total Equalized TID Value Increment 1,431,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
POLK	\$111,261.52	/	26,950,900.00	=	0.004128304	X	28,381,900.00	=	\$117,169.11	\$5,907.59
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
CLAYTON	\$155,905.00	/	26,950,900.00	=	0.005784779	Х	28,381,900.00	=	\$164,183.02	\$8,278.02
4. School Districts										
SCH D OF CLAYTON	\$259,998.00	/	26,950,900.00	=	0.009647099	Х	28,381,900.00	=	\$273,803.00	\$13,805.00
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$8,650.03	/	26,950,900.00	=	0.000320955	Х	28,381,900.00	=	\$9,109.31	\$459.28
6. Tax Increment Total										
	\$535,814.55								\$564,264.44	\$28,449.89

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Dawn Nelson	Title Clerk - Treasurer								
Email vclaytonct@amerytel.net	Phone (715) 948-2460								
Comments									
Signature Statement	Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48112

Submission date: 12-13-2021 11:17 AM

Confirmation: TIW20211292O1639415834521

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 48113

County POLK Muni Type

VILLAGE

Municipality CLEAR LAKE Account No. 1293

Total Equalized TID Value Increment 10,115,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
POLK	\$281,409.11	/	72,077,700.00	=	0.003904247	Х	82,193,400.00	=	\$320,903.34	\$39,494.23
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
CLEAR LAKE	\$425,995.00	/	72,077,700.00	=	0.005910219	Х	82,193,400.00	=	\$485,780.99	\$59,785.99
4. School Districts										
SCH D OF CLEAR LAKE	\$682,495.16	/	72,077,700.00	=	0.009468881	Х	82,193,400.00	=	\$778,279.52	\$95,784.36
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$23,133.70	/	72,077,700.00	=	0.000320955	Х	82,193,400.00	=	\$26,380.38	\$3,246.68
6. Tax Increment Total										
	\$1,413,032.97								\$1,611,344.23	\$198,311.26

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Albert Bannink	Title Village Clerk - Treasurer									
Email abannink@clearlake-wi.gov	Phone (715) 263-2157									
Comments										
Signature Statement	Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
X YES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48113

Submission date: 12-08-2021 09:43 AM

Confirmation: TIW20211293O1638978220674

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 48126 County POLK

Muni Type VILLA(

Municipality

VILLAGE

FREDERIC

Account No.

Total Equalized TID Value Increment 1,092,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
POLK	\$259,925.21	/	66,575,000.00	=	0.003904246	Х	67,667,400.00	=	\$264,190.18	\$4,264.97
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
FREDERIC	\$419,333.00	/	66,575,000.00	=	0.006298656	Х	67,667,400.00	=	\$426,213.68	\$6,880.68
4. School Districts										
SCH D OF FREDERIC	\$639,192.29	/	66,575,000.00	=	0.009601086	Х	67,667,400.00	=	\$649,680.53	\$10,488.24
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$21,367.58	/	66,575,000.00	=	0.000320955	Х	67,667,400.00	=	\$21,718.19	\$350.61
6. Tax Increment Total										
	\$1,339,818.08								\$1,361,802.58	\$21,984.50

Fo	r	m	١
PC.	-2	n	2

WI Dept of Revenue

Preparer Information									
Name Janice Schott	Title Clerk/Treasurer								
Email clerk@fredericwi.com	Phone (715) 327-4294								
Comments									
Signatura Statement									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48126

Submission date: 11-23-2021 12:32 PM

Confirmation: TIW20211295O1637692349250

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 48146 County POLK

Municipality

Muni Type VILLAGE

LUCK

Account No. 1296

Total Equalized TID Value Increment 6,669,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
POLK	\$314,150.51	/	80,463,800.00	=	0.003904247	X	87,133,700.00	=	\$340,191.49	\$26,040.98
2. Special Districts (metro,	sanitary, lake)									
BIG BUTTERNUT LAKE MGT. DISTRICT	\$8,000.00	/	80,463,800.00	=	0.000099424	X	87,133,700.00	=	\$8,663.18	\$663.18
3. Tax District (town, villag	e, city)									
LUCK	\$594,091.00	/	80,463,800.00	=	0.007383333	Х	87,133,700.00	=	\$643,337.12	\$49,246.12
4. School Districts										
SCH D OF LUCK	\$681,157.00	/	80,463,800.00	=	0.008465384	Х	87,133,700.00	=	\$737,620.23	\$56,463.23
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$25,825.27	/	80,463,800.00	=	0.000320955	Х	87,133,700.00	=	\$27,966.00	\$2,140.73
6. Tax Increment Total										
	\$1,623,223.78								\$1,757,778.02	\$134,554.24

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name LAURIE COOK	Title Treasurer							
Email voltreasurer@luckwisconsin.com	Phone (715) 472-2221							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
<u></u>								
XYES								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48146

Submission date: 11-23-2021 11:43 AM

Confirmation: TIW20211296O1637689385612

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 48151 County F
Muni Type \

POLK VILLAGE

Municipality MILLTOWN

Account No. 1297

Total Equalized TID Value Increment 1,432,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
POLK	\$194,097.28 /	49,714,400.00	=	0.003904247	Х	51,147,000.00	=	\$199,690.52	\$5,593.24
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MILLTOWN	\$472,617.00 /	49,714,400.00	=	0.009506642	Х	51,147,000.00	=	\$486,236.22	\$13,619.22
4. School Districts									
SCH D OF UNITY (MILLTOWN)	\$395,149.97 /	49,714,400.00	=	0.007948401	Х	51,147,000.00	=	\$406,536.87	\$11,386.90
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$15,956.09 /	49,714,400.00	=	0.000320955	Х	51,147,000.00	=	\$16,415.89	\$459.80
6. Tax Increment Total									
	\$1,077,820.34							\$1,108,879.50	\$31,059.16

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Amy Albrecht	Title Clerk-Treasurer							
Email milltownvillage@lakeland.ws	Phone (715) 825-3258							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48151

Submission date: 12-01-2021 03:01 PM

Confirmation: TIW20211297O1638392468347

Form
PC-202

WI Dept of Revenue

Report Type **AMENDED**

Co-muni Code 48165

County Muni Type

Municipality

POLK

VILLAGE

OSCEOLA

Account No. 1298

Total Equalized TID Value Increment 29,246,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
POLK	\$906,137.74 /	232,090,300.00	=	0.003904246	Х	261,336,800.00	=	\$1,020,323.16	\$114,185.42
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
OSCEOLA	\$1,539,597.00 /	232,090,300.00	=	0.006633612	Х	261,336,800.00	=	\$1,733,606.93	\$194,009.93
4. School Districts									
SCH D OF OSCEOLA	\$1,812,156.84 /	232,090,300.00	=	0.007807982	X	261,336,800.00	=	\$2,040,513.03	\$228,356.19
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$74,490.56 /	232,090,300.00	=	0.000320955	Х	261,336,800.00	=	\$83,877.35	\$9,386.79
6. Tax Increment Total									
	\$4,332,382.14							\$4,878,320.47	\$545,938.33

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Frances Duncanson	Title Village Clerk							
Email villageclerk@vil.osceola.wi.us	Phone (715) 294-3498							
Comments								
Cianatura Ctatament								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48165

Submission date: 12-15-2021 04:13 PM

Confirmation: TIW20211298A1639606400579

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 48168 County PC

POLK VILLAGE

Muni Type VILLAGE

Municipality TURTLE LAKE

Account No. 1299

Total Equalized TID Value Increment 7,694,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
POLK	\$75,479.63 /	19,332,700.00	=	0.003904247	X	27,026,900.00	=	\$105,519.69	\$30,040.06
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
TURTLE LAKE	\$167,964.40 /	19,332,700.00	=	0.008688098	Х	27,026,900.00	=	\$234,812.36	\$66,847.96
4. School Districts									
SCH D OF TURTLE LAKE	\$143,444.86 /	19,332,700.00	=	0.007419805	Х	27,026,900.00	=	\$200,534.33	\$57,089.47
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$6,204.93 /	19,332,700.00	=	0.000320955	Х	27,026,900.00	=	\$8,674.42	\$2,469.49
6. Tax Increment Total									
	\$393,093.82							\$549,540.80	\$156,446.98

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Karen Jenkinson	Title Village Clerk								
Email clerk@turtlelakewi.com Phone (715) 986-2241									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES	X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48168

Submission date: 12-14-2021 02:08 PM

Confirmation: TIW20211299O1639080193463

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 48201 County POLK

Muni Type CITY

AMERY

Municipality

,

Account No. Total Equalized TID Value Increment 23,425,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
POLK	\$920,211.38	/	235,695,000.00	=	0.003904247	Χ	259,120,200.00	=	\$1,011,669.26	\$91,457.88
2. Special Districts (metro,	sanitary, lake)									
APPLE RIVER PRO & REHAB DISTRICT	\$10,352.26	/	8,764,250.00	=	0.001181192	X	8,960,250.00	=	\$10,583.78	\$231.52
AMERY LAKES PRO & REHAB DISTRICT	\$23,786.17	/	226,930,750.00	=	0.000104817	X	250,159,950.00	=	\$26,221.02	\$2,434.85
3. Tax District (town, village	e, city)									
AMERY	\$2,003,451.00	/	235,695,000.00	=	0.008500185	X	259,120,200.00	=	\$2,202,569.64	\$199,118.64
4. School Districts										
SCH D OF AMERY	\$1,880,301.96	/	235,695,000.00	=	0.007977691	Χ	259,120,200.00	=	\$2,067,180.89	\$186,878.93
5. Technical College District	cts									
NORTHWOOD TECHNICAL COLLEGE	\$75,647.51	/	235,695,000.00	=	0.000320955	Х	259,120,200.00	=	\$83,165.92	\$7,518.41
6. Tax Increment Total										
	\$4,913,750.28								\$5,401,390.51	\$487,640.23

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	
Name Benjamin Jansen	Title City Clerk-Treasurer
Email ben.jansen@amerywi.gov	Phone (715) 268-3413
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.	
Do you agree with the statement above?	
X YES NO	

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 48201

Submission date: 11-29-2021 09:51 AM

Confirmation: TIW20211300O1638201103831

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 49102

County PORTAGE Muni Type

VILLAGE

Municipality **AMHERST** Account No. 1321

Total Equalized TID Value Increment 1,722,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PORTAGE	\$398,736.57	/	84,698,500.00	=	0.004707717	Х	86,421,300.00	=	\$406,847.02	\$8,110.45
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
AMHERST	\$374,021.00	/	84,698,500.00	=	0.004415911	Х	86,421,300.00	=	\$381,628.77	\$7,607.77
4. School Districts										
SCH D OF TOMORROW RIVER (AMHERST)	\$617,514.11	/	84,698,500.00	=	0.007290733	Х	86,421,300.00	=	\$630,074.62	\$12,560.51
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$75,722.62	/	84,698,500.00	=	0.000894026	Х	86,421,300.00	=	\$77,262.89	\$1,540.27
6. Tax Increment Total										
	\$1,465,994.30								\$1,495,813.30	\$29,819.00

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information					
Name Jodi Patoka	Title Clerk Treasurer				
Email vilamher@wi-net.com	Phone (715) 824-5613				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 49102

Submission date: 11-23-2021 05:05 PM

Confirmation: TIW20211321O1637708739222

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 49141 County F

Muni Type \

Municipality

PORTAGE

VILLAGE
JUNCTION CITY

Account No. 1323

Total Equalized TID Value Increment 1,797,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PORTAGE	\$100,074.47	/	20,094,700.00	=	0.004980143	X	21,892,400.00	=	\$109,027.28	\$8,952.81
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
JUNCTION CITY	\$95,686.00	/	20,094,700.00	=	0.004761753	Χ	21,892,400.00	=	\$104,246.20	\$8,560.20
4. School Districts										
SCH D OF STEVENS POINT AREA	\$149,615.54	/	20,094,700.00	=	0.007445522	X	21,892,400.00	=	\$163,000.35	\$13,384.81
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$17,965.17	/	20,094,700.00	=	0.000894025	Х	21,892,400.00	=	\$19,572.35	\$1,607.18
6. Tax Increment Total										
	\$363,341.18								\$395,846.18	\$32,505.00

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Betty A. Bruski Mallek	Title Village Clerk					
Email mallek@tds.net	Phone (715) 457-2353					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
ender pendings of law, I decide this form and an attachments are true, correct and complete to the boot of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 49141

Submission date: 11-30-2021 02:28 PM

Confirmation: TIW20211323O1638301768679

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 49173 County PORTAGE

Muni Type VILLAGE

PLOVER

Municipality

Account No. 1327

Total Equalized TID Value Increment 137,191,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
PORTAGE	\$6,217,976.48 /	1,248,554,000.00	=	0.004980142	X	1,385,745,700.00	=	\$6,901,210.36	\$683,233.88
2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)								
PLOVER	\$7,505,276.00 /	1,248,554,000.00	=	0.006011175	Χ	1,385,745,700.00	=	\$8,329,959.91	\$824,683.91
4. School Districts									
SCH D OF STEVENS POINT AREA	\$9,296,136.67 /	1,248,554,000.00	=	0.007445522	Х	1,385,745,700.00	=	\$10,317,600.10	\$1,021,463.43
5. Technical College Distri	cts								
MID-STATE TECHNICAL COLLEGE WRAP	\$1,116,239.08 /	1,248,554,000.00	=	0.000894025	Х	1,385,745,700.00	=	\$1,238,891.30	\$122,652.22
6. Tax Increment Total									
	\$24,135,628.23							\$26,787,661.67	\$2,652,033.44

	F	0	r	n	n	
P)).	2	2()	2

WI Dept of Revenue

Preparer Information						
Name Karen Swanson	Title Clerk					
Email kswanson@ploverwi.gov	Phone (715) 345-5250					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 49173

Submission date: 11-29-2021 09:10 AM

Confirmation: TIW20211327O1638198617559

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 49191

County Muni Type

Municipality

PORTAGE VILLAGE

WHITING

Account No. 1329

Total Equalized TID Value Increment 3,597,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PORTAGE	\$710,465.59	/	142,659,700.00	=	0.004980142	X	146,256,900.00	=	\$728,380.13	\$17,914.54
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WHITING	\$655,595.00	/	142,659,700.00	=	0.004595516	Χ	146,256,900.00	=	\$672,125.92	\$16,530.92
4. School Districts										
SCH D OF STEVENS POINT AREA	\$1,062,175.98	/	142,659,700.00	=	0.007445522	X	146,256,900.00	=	\$1,088,958.97	\$26,782.99
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$127,541.41	/	142,659,700.00	=	0.000894026	Х	146,256,900.00	=	\$130,757.47	\$3,216.06
6. Tax Increment Total										
	\$2,555,777.98								\$2,620,222.49	\$64,444.51

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information							
Name Annette M Stashek	Title Clerk						
Email annettestashek@villageofwhiting.com	Phone (715) 341-2742						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 49191

Submission date: 11-29-2021 10:22 AM

Confirmation: TIW20211329O1637784478567

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 49281 County

Muni Type

Municipality

PORTAGE

CITY
STEVENS POINT

Account No. 1330

Total Equalized TID Value Increment 306,930,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
PORTAGE	\$10,098,278.71 /	2,027,708,900.00	=	0.004980142	Х	2,334,639,100.00	=	\$11,626,834.24	\$1,528,555.53
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
STEVENS POINT	\$18,696,039.00 /	2,027,708,900.00	=	0.009220278	Х	2,334,639,100.00	=	\$21,526,021.53	\$2,829,982.53
4. School Districts									
SCH D OF STEVENS POINT AREA	\$15,097,351.84 /	2,027,708,900.00	=	0.007445522	Х	2,334,639,100.00	=	\$17,382,606.78	\$2,285,254.94
5. Technical College Distri	cts								
MID-STATE TECHNICAL COLLEGE WRAP	\$1,812,823.41 /	2,027,708,900.00	=	0.000894025	Х	2,334,639,100.00	=	\$2,087,225.72	\$274,402.31
6. Tax Increment Total									
	\$45,704,492.96							\$52,622,688.27	\$6,918,195.31

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Susan Pagel	Title Tax Specialist					
Email spagel@stevenspoint.com	Phone (715) 346-1557					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 49281

Submission date: 12-10-2021 02:23 PM

Confirmation: TIW20211330O1639071984226

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 50171

County PRICE Muni Type

VILLAGE

Municipality PRENTICE Account No. 1351

Total Equalized TID Value Increment 25,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
PRICE	\$226,913.17 /	30,438,400.00	=	0.007454832	Х	30,463,700.00	=	\$227,101.77	\$188.60
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PRENTICE	\$138,111.00 /	30,438,400.00	=	0.004537394	Х	30,463,700.00	=	\$138,225.81	\$114.81
4. School Districts									
SCH D OF PRENTICE	\$289,913.78 /	30,438,400.00	=	0.009524606	Х	30,463,700.00	=	\$290,154.74	\$240.96
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$36,850.67 /	30,438,400.00	=	0.001210664	Х	30,463,700.00	=	\$36,881.30	\$30.63
6. Tax Increment Total									
	\$691,788.62							\$692,363.62	\$575.00

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Laurie Andreae	Title CLERK/TREASURER						
Email clerk@vil.prentice.wi.gov Phone (715) 428-2124							
Comments							
Ciamatiuma Otatamant							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 50171

Submission date: 11-23-2021 12:10 PM

Confirmation: TIW20211351O1637691012775

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 50271

County PRICE Muni Type

CITY

Municipality PARK FALLS Account No. 1352

Total Equalized TID Value Increment 5,602,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PRICE	\$796,240.89	/	110,615,900.00	=	0.00719825	Х	116,218,600.00	=	\$836,570.54	\$40,329.65
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
PARK FALLS	\$1,463,250.00	/	110,615,900.00	=	0.013228207	Х	116,218,600.00	=	\$1,537,363.70	\$74,113.70
4. School Districts										
SCH D OF CHEQUAMEGON	\$965,744.00	/	110,615,900.00	=	0.008730607	Х	116,218,600.00	=	\$1,014,658.92	\$48,914.92
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$133,918.67	/	110,615,900.00	=	0.001210664	Х	116,218,600.00	=	\$140,701.68	\$6,783.01
6. Tax Increment Total										
	\$3,359,153.56								\$3,529,294.84	\$170,141.28

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Michelle Smith	Title Clerk and Treasurer							
Email deputy@cityofparkfalls.com Phone (715) 762-2436								
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 50271

Submission date: 11-30-2021 03:30 PM

Confirmation: TIW20211352O1638200137633

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 50272

County Muni Type

Municipality

PRICE

CITY

PHILLIPS

Account No. 1353

Total Equalized TID Value Increment 16,558,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
PRICE	\$589,306.31	/	81,868,000.00	=	0.00719825	Х	98,426,000.00	=	\$708,494.95	\$119,188.64
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
PHILLIPS	\$734,606.00	/	81,868,000.00	=	0.008973054	Х	98,426,000.00	=	\$883,181.81	\$148,575.81
4. School Districts										
SCH D OF PHILLIPS	\$641,020.57	/	81,868,000.00	=	0.007829928	Х	98,426,000.00	=	\$770,668.49	\$129,647.92
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$99,114.63	/	81,868,000.00	=	0.001210664	Х	98,426,000.00	=	\$119,160.81	\$20,046.18
6. Tax Increment Total										
	\$2,064,047.51								\$2,481,506.06	\$417,458.55

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information								
Name Shelby Kosmer	Title Clerk/Treasurer								
Email clerk@cityofphillips.com	Phone (715) 339-3125								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 50272

Submission date: 11-24-2021 09:03 AM

Confirmation: TIW20211353O1637766225542

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 51104

County

Muni Type

Municipality

RACINE VILLAGE

VILLAGE CALEDONIA Account No. Total Equalized TID Value Increment 44,700,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
RACINE	\$8,997,767.20 /	2,658,988,700.00	=	0.003383906	Х	2,703,689,000.00	=	\$9,149,029.43	\$151,262.23
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CALEDONIA	\$15,525,299.00 /	2,658,988,700.00	=	0.005838798	Х	2,703,689,000.00	=	\$15,786,293.93	\$260,994.93
4. School Districts									
SCH D OF RACINE	\$24,653,140.79 /	2,658,988,700.00	=	0.009271623	X	2,703,689,000.00	=	\$25,067,585.12	\$414,444.33
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$1,918,302.36 /	2,658,988,700.00	=	0.000721441	Х	2,703,689,000.00	=	\$1,950,552.10	\$32,249.74
6. Tax Increment Total									
	\$51,094,509.35							\$51,953,460.58	\$858,951.23

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information	Preparer Information									
Name Joslyn Hoeffert	Title Clerk									
Email jhoeffert@caledonia-wi.gov	Phone (262) 835-6414									
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51104

Submission date: 11-23-2021 02:46 PM

Confirmation: TIW20211356O1637700004321

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 51151 County

Muni Type

RACINE

VILLAGE

Municipality MOUNT PLEASANT

Account No. 1358

Total Equalized TID Value Increment 814,972,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
RACINE	\$11,887,876.44 /	3,513,147,900.00	=	0.003383825	Х	4,328,119,900.00	=	\$14,645,600.32	\$2,757,723.88
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
MOUNT PLEASANT	\$23,697,617.00 /	3,513,147,900.00	=	0.006745408	Х	4,328,119,900.00	=	\$29,194,934.60	\$5,497,317.60
4. School Districts									
SCH D OF RACINE	\$32,572,582.88 /	3,513,147,900.00	=	0.009271623	Х	4,328,119,900.00	=	\$40,128,696.01	\$7,556,113.13
5. Technical College Distric	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$2,534,527.47 /	3,513,147,900.00	=	0.000721441	Х	4,328,119,900.00	=	\$3,122,483.15	\$587,955.68
6. Tax Increment Total									
	\$70,692,603.79							\$87,091,714.08	\$16,399,110.29

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Stephanie Kohlhagen	Title Village Clerk/Treasurer								
Email skohlhagen@mtpleasantwi.gov	Phone (262) 664-7800								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51151

Submission date: 12-01-2021 11:39 AM

Confirmation: TIW20211358O1637693290589

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 51181 County

Muni Type

Municipality

RACINE

VILLAGE

STURTEVANT

Account No. 1367

Total Equalized TID Value Increment 94,615,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /		Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RACINE	\$2,225,083.57 /	/	657,490,300.00	=	0.003384207	Х	752,106,200.00	=	\$2,545,283.07	\$320,199.50
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
STURTEVANT	\$4,625,000.00 /	/	657,490,300.00	=	0.007034324	Х	752,106,200.00	=	\$5,290,558.69	\$665,558.69
4. School Districts										
SCH D OF RACINE	\$6,096,002.19 /	/	657,490,300.00	=	0.009271623	Х	752,106,200.00	=	\$6,973,245.14	\$877,242.95
5. Technical College Distri	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$474,340.19 /	/	657,490,300.00	=	0.000721441	Х	752,106,200.00	=	\$542,600.25	\$68,260.06
6. Tax Increment Total										
	\$13,420,425.95								\$15,351,687.15	\$1,931,261.20

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Amanda Gain	Title Treasurer / Administrator						
Email GainA@sturtevant-wi.gov	Phone (262) 886-7203						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51181

Submission date: 12-13-2021 09:42 AM

Confirmation: TIW20211367O1639410143552

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 51186 County

Muni Type

RACINE VILLAGE

Municipality UNION GROVE

Account No. 1368

Total Equalized TID Value Increment 33,297,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RACINE	\$1,264,916.78	/	396,430,700.00	=	0.003190764	Х	429,728,000.00	=	\$1,371,160.63	\$106,243.85
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
UNION GROVE	\$1,902,134.00	/	396,430,700.00	=	0.00479815	Х	429,728,000.00	=	\$2,061,899.40	\$159,765.40
4. School Districts										
UHS D OF UNION GROVE UNION HIGH	\$1,285,356.77	/	396,430,700.00	=	0.003242324	Х	429,728,000.00	=	\$1,393,317.41	\$107,960.64
SCH D OF UNION GROVE J 1	\$2,577,339.00	/	396,430,700.00	=	0.006501361	X	429,728,000.00	=	\$2,793,816.86	\$216,477.86
5. Technical College Distric	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$286,001.20	/	396,430,700.00	=	0.000721441	Х	429,728,000.00	=	\$310,023.40	\$24,022.20
6. Tax Increment Total										
	\$7,315,747.75								\$7,930,217.70	\$614,469.95

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Michael Hawes	Title Administrator					
Email mhawes@uniongrove.net	Phone (262) 878-1818					
Comments						
Ciamatium Ctatamant						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51186

Submission date: 11-23-2021 12:34 PM

Confirmation: TIW20211368O1637692400572

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 51191

County **RACINE** Muni Type

VILLAGE

Municipality WATERFORD Account No. 1369

Total Equalized TID Value Increment 28,348,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RACINE	\$1,819,325.31	/	570,298,100.00	=	0.00319013	Х	598,646,600.00	=	\$1,909,760.48	\$90,435.17
2. Special Districts (metro,	sanitary, lake)									
WESTERN RACINE COUNTY SEWER DISTRICT	\$0.00	/	570,298,100.00	=	0	Х	598,646,600.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
WATERFORD	\$2,488,109.00	/	570,298,100.00	=	0.004362822	Х	598,646,600.00	=	\$2,611,788.56	\$123,679.56
4. School Districts										
UHS D OF WATERFORD UNION HIGH	\$2,368,126.00	/	570,298,100.00	=	0.004152435	Х	598,646,600.00	=	\$2,485,841.09	\$117,715.09
SCH D OF WATERFORD GRADED J 1 (V)	\$3,925,220.36	/	570,298,100.00	=	0.006882752	X	598,646,600.00	=	\$4,120,336.08	\$195,115.72
5. Technical College District	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$411,436.19	/	570,298,100.00	=	0.000721441	Х	598,646,600.00	=	\$431,888.20	\$20,452.01
6. Tax Increment Total										
	\$11,012,216.86								\$11,559,614.41	\$547,397.55

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Michelle Vandehey	Title Treasurer					
Email mvandehey@waterfordwi.org	Phone (262) 534-1844					
Comments						
Oi-marking Otatamant						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51191

Submission date: 11-23-2021 12:19 PM

Confirmation: TIW20211369O1637691580736

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 51194 County

Muni Type

Municipality

RACINE VILLAGE

YORKVILLE

Account No. 1363

Total Equalized TID Value Increment 33,634,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
RACINE	\$2,386,406.09 /	692,281,200.00	=	0.003447163	X	725,915,900.00	=	\$2,502,350.43	\$115,944.34
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
YORKVILLE	\$1,392,784.00 /	692,281,200.00	=	0.002011876	X	725,915,900.00	=	\$1,460,452.78	\$67,668.78
4. School Districts									
UHS D OF UNION GROVE UNION HIGH	\$2,244,599.96 /	692,281,200.00	=	0.003242324	Х	725,915,900.00	=	\$2,353,654.54	\$109,054.58
SCH D OF YORKVILLE J 2	\$4,353,327.00 /	605,628,982.00	=	0.007188109	Х	639,263,682.00	=	\$4,595,097.03	\$241,770.03
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$499,439.75 /	692,281,200.00	=	0.000721441	Х	725,915,900.00	=	\$523,705.49	\$24,265.74
6. Tax Increment Total									
	\$10,876,556.80							\$11,435,260.27	\$558,703.47

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information						
Name Michele Stute	Title Treasurer					
Email michele@villageofyorkville.com	Phone (262) 878-2123					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51194

Submission date: 12-03-2021 09:29 AM

Confirmation: TIW20211363A1638542425687

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 51276

County RACINE

Muni Type CITY

RACINE

Municipality

Account No. 1372

Total Equalized TID Value Increment 195,501,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
RACINE	\$12,368,819.84 /	4,056,499,000.00	=	0.003049137	X	4,252,000,400.00	=	\$12,964,931.74	\$596,111.90
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
RACINE	\$56,492,894.00 /	4,056,499,000.00	=	0.013926515	Х	4,252,000,400.00	=	\$59,215,547.35	\$2,722,653.35
4. School Districts									
SCH D OF RACINE	\$37,610,329.43 /	4,056,499,000.00	=	0.009271623	X	4,252,000,400.00	=	\$39,422,944.70	\$1,812,615.27
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$2,926,523.01 /	4,056,499,000.00	=	0.000721441	Х	4,252,000,400.00	=	\$3,067,567.42	\$141,044.41
6. Tax Increment Total									
	\$109,398,566.28							\$114,670,991.21	\$5,272,424.93

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Kathleen Fischer	Title Finance Director					
Email kathleen.fischer@cityofracine.org	Phone (262) 636-9598					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 51276

Submission date: 11-23-2021 12:36 PM

Confirmation: TIW20211372O1637692313163

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 52186 County RICHLAND

Muni Type VILLAGE

VIOLA

Municipality

Account No. 1393

Total Equalized TID Value Increment 769,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RICHLAND	\$132,902.14	/	17,393,000.00	=	0.007641128	Х	18,162,100.00	=	\$138,778.93	\$5,876.79
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
VIOLA	\$60,603.87	/	17,393,000.00	=	0.003484383	Х	18,162,100.00	=	\$63,283.71	\$2,679.84
4. School Districts										
SCH D OF KICKAPOO AREA (VIOLA)	\$141,728.85	/	17,393,000.00	=	0.008148614	Х	18,162,100.00	=	\$147,995.94	\$6,267.09
5. Technical College Distric	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$19,603.61	/	17,393,000.00	=	0.001127098	Х	18,162,100.00	=	\$20,470.47	\$866.86
6. Tax Increment Total										
	\$354,838.47								\$370,529.05	\$15,690.58

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information					
Name Dana George	Title Clerk/Treasurer				
Email violaclerk@vi.viola.wi.gov	Phone (608) 627-1831				
Comments					
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?					
bo you agree with the statement above:					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 52186

Submission date: 11-23-2021 03:12 PM

Confirmation: TIW20211393O1637701969428

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 52276

County RI

Muni Type CI

RICHLAND

CITY

Municipality RICHLAND CENTER

Account No. 1395

Total Equalized TID Value Increment 10,946,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RICHLAND	\$2,538,181.11	/	332,173,600.00	=	0.007641128	Х	343,120,200.00	=	\$2,621,825.37	\$83,644.26
2. Special Districts (metro,	sanitary, lake)									
PARFREY MILL POND DISTRICT	\$0.00	/	332,173,600.00	=	0	Х	343,120,200.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)										
RICHLAND CENTER	\$2,240,967.00	/	332,173,600.00	=	0.006746373	Х	343,120,200.00	=	\$2,314,816.85	\$73,849.85
4. School Districts										
SCH D OF RICHLAND	\$3,029,424.00	/	332,173,600.00	=	0.009120002	X	343,120,200.00	=	\$3,129,256.91	\$99,832.91
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$374,392.04	/	332,173,600.00	=	0.001127098	Х	343,120,200.00	=	\$386,730.09	\$12,338.05
6. Tax Increment Total										
	\$8,182,964.15								\$8,452,629.22	\$269,665.07

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Aaron Joyce	Title City Clerk/Treasurer					
Email aaron.joyce@richlandcenter.com	Phone (608) 647-3466					
Comments						
Signatura Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 52276

Submission date: 12-16-2021 02:38 PM

Confirmation: TIW20211395O1638315178352

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 53111 County ROMAN COUNTY NEW YORK THE PROPERTY NE

Municipality

ROCK

VILLAGE CLINTON Account No. 1417

Total Equalized TID Value Increment 30,980,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ROCK	\$678,929.62	/	127,489,100.00	=	0.005325393	Х	158,469,700.00	=	\$843,913.43	\$164,983.81
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
CLINTON	\$989,527.00	/	127,489,100.00	=	0.00776166	Х	158,469,700.00	=	\$1,229,987.93	\$240,460.93
4. School Districts										
SCH D OF CLINTON COMMUNITY	\$1,593,826.15	/	127,489,100.00	=	0.012501666	Х	158,469,700.00	=	\$1,981,135.26	\$387,309.11
5. Technical College Distri	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$127,583.46	/	127,489,100.00	=	0.00100074	Х	158,469,700.00	=	\$158,586.97	\$31,003.51
6. Tax Increment Total										
	\$3,389,866.23								\$4,213,623.59	\$823,757.36

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information					
Name Jennifer Ciepley	Title Clerk				
Email clerk@clintonwi.us	Phone (606) 676-5304				
Comments					
Signatura Statement					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53111

Submission date: 11-24-2021 10:08 AM

Confirmation: TIW20211417O1637692179031

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 53126

County ROCK Muni Type

VILLAGE

Municipality FOOTVILLE Account No. 1418

Total Equalized TID Value Increment 12,166,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ROCK	\$237,978.61	/	42,314,600.00	=	0.005624031	X	54,481,500.00	=	\$306,405.64	\$68,427.03
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
FOOTVILLE	\$353,622.00	/	42,314,600.00	=	0.008356974	Х	54,481,500.00	=	\$455,300.48	\$101,678.48
4. School Districts										
SCH D OF PARKVIEW (ORFORDVILLE)	\$388,770.45	/	42,314,600.00	=	0.00918762	Х	54,481,500.00	=	\$500,555.32	\$111,784.87
5. Technical College Distri	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$42,345.92	/	42,314,600.00	=	0.00100074	Х	54,481,500.00	=	\$54,521.82	\$12,175.90
6. Tax Increment Total										
	\$1,022,716.98								\$1,316,783.26	\$294,066.28

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information								
Name	Name Shawna March Title Clerk-Treasurer								
Email	village@footvillewis.net	Phone (608) 876-6116							
Com	Comments								
Signature Statement									
Unde	Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
	Do you agree with the statement above?								
	bo you agree with the statement above:								
	X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53126

Submission date: 11-23-2021 11:52 AM

Confirmation: TIW20211418O1637689910291

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 53165

County

Muni Type

ROCK VILLAGE

Municipality ORFORDVILLE

Account No. 1419

Total Equalized TID Value Increment 8,958,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	(less	lized Value TID Value rement)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ROCK	\$459,949.97	/ 86	6,369,200.00	=	0.005325393	X	95,327,500.00	=	\$507,656.40	\$47,706.43
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
ORFORDVILLE	\$702,816.00	/ 86	6,369,200.00	=	0.008137345	Х	95,327,500.00	=	\$775,712.76	\$72,896.76
4. School Districts										
SCH D OF PARKVIEW (ORFORDVILLE)	\$793,527.36	/ 86	5,369,200.00	=	0.00918762	Х	95,327,500.00	=	\$875,832.85	\$82,305.49
5. Technical College Distric	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$86,433.12	/ 86	6,369,200.00	=	0.00100074	Х	95,327,500.00	=	\$95,398.04	\$8,964.92
6. Tax Increment Total										
	\$2,042,726.45								\$2,254,600.05	\$211,873.60

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name SHERRI WAEGE Title Clerk Treasurer								
Email clerk@orfordville.org Phone (608) 879-2004								
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53165

Submission date: 11-29-2021 09:54 AM

Confirmation: TIW20211419O1638201225300

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 53206

County ROCK Muni Type

Municipality

CITY

BELOIT

Account No. 1420

Total Equalized TID Value Increment 480,036,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ROCK	\$10,106,207.87 /	1,897,739,200.00	=	0.005325393	X	2,377,775,400.00	=	\$12,662,588.47	\$2,556,380.60
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
BELOIT	\$17,425,737.00 /	1,897,739,200.00	=	0.009182367	X	2,377,775,400.00	=	\$21,833,606.37	\$4,407,869.37
4. School Districts									
SCH D OF BELOIT	\$18,558,219.00 /	1,837,483,167.00	=	0.010099804	X	2,044,505,267.00	=	\$20,649,102.47	\$2,090,883.47
SCH D OF BELOIT TURNER	\$538,353.33 /	60,511,155.00	=	0.008896762	X	71,092,255.00	=	\$632,490.87	\$94,137.54
SCH D OF CLINTON COMMUNITY	\$28,404.76 /	2,272,078.00	=	0.012501666	X	262,177,878.00	=	\$3,277,660.26	\$3,249,255.50
5. Technical College District	cts								
BLACKHAWK TECHNICAL COLLEGE JANE	\$1,901,672.80 /	1,900,266,400.00	=	0.00100074	Х	2,377,775,400.00	=	\$2,379,534.95	\$477,862.15
6. Tax Increment Total									
	\$48,558,594.76							\$61,434,983.39	\$12,876,388.63

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Eric Miller Title Finance & Administrative Services Director								
Email millere@beloitwi.gov Phone (608) 364-6676								
Comments								
Cignoture Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53206

Submission date: 11-30-2021 05:43 PM

Confirmation: TIW20211420O1638315819787

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 53210

County ROCK

Muni Type CITY

Municipality BRODHEAD

Account No. 1973

Total Equalized TID Value Increment 2,760,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ROCK	\$35,158.25	/	6,602,000.00	=	0.005325394	Х	9,362,700.00	=	\$49,860.07	\$14,701.82
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BRODHEAD	\$60,677.09	/	6,602,000.00	=	0.009190713	Х	9,362,700.00	=	\$86,049.89	\$25,372.80
4. School Districts										
SCH D OF BRODHEAD	\$43,047.75	/	6,602,000.00	=	0.00652041	Х	9,362,700.00	=	\$61,048.64	\$18,000.89
5. Technical College Distri	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$6,606.89	/	6,602,000.00	=	0.001000741	Х	9,362,700.00	=	\$9,369.64	\$2,762.75
6. Tax Increment Total										
	\$145,489.98								\$206,328.24	\$60,838.26

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Keri Miller TREASURER									
Email kmiller@cityofbrodheadwi.us	Phone (608) 897-4018								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53210

Submission date: 12-03-2021 09:17 AM

Confirmation: TIW20211973A1638544632965

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 53221

County

Muni Type

ROCK CITY

Municipality EDGERTON

Account No. 1421

Total Equalized TID Value Increment 28,830,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ROCK	\$2,301,189.30 /	432,116,300.00	=	0.005325393	Х	460,947,200.00	=	\$2,454,724.99	\$153,535.69
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
EDGERTON	\$2,602,120.47 /	432,116,300.00	=	0.006021806	Х	460,947,200.00	=	\$2,775,734.61	\$173,614.14
4. School Districts									
SCH D OF EDGERTON	\$3,870,131.18 /	432,116,300.00	=	0.008956226	Х	460,947,200.00	=	\$4,128,347.30	\$258,216.12
5. Technical College Distri	cts								
BLACKHAWK TECHNICAL COLLEGE JANE	\$432,436.11 /	432,116,300.00	=	0.00100074	Х	460,947,200.00	=	\$461,288.30	\$28,852.19
6. Tax Increment Total									
	\$9,205,877.06							\$9,820,095.20	\$614,218.14

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Cindy Hegglund	Title Clerk-Treasurer								
Email chegglund@edgerton.wi.gov	Phone (608) 884-3341								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53221

Submission date: 12-02-2021 11:45 AM

Confirmation: TIW20211421O1638193416761

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 53222

County ROCK Muni Type

CITY

Municipality **EVANSVILLE** Account No. 1422

Total Equalized TID Value Increment 33,733,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ROCK	\$2,591,403.55	/	486,612,600.00	=	0.005325393	Х	520,346,300.00	=	\$2,771,048.54	\$179,644.99
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
EVANSVILLE	\$3,228,497.00	/	486,612,600.00	=	0.006634635	Х	520,346,300.00	=	\$3,452,307.77	\$223,810.77
4. School Districts										
SCH D OF EVANSVILLE COMMUNITY	\$4,795,211.33	/	486,612,600.00	=	0.009854269	Х	520,346,300.00	=	\$5,127,632.41	\$332,421.08
5. Technical College Distri	cts									
BLACKHAWK TECHNICAL COLLEGE JANE	\$486,972.74	/	486,612,600.00	=	0.00100074	Х	520,346,300.00	=	\$520,731.36	\$33,758.62
6. Tax Increment Total										
	\$11,102,084.62								\$11,871,720.08	\$769,635.46

Form	
PC-202	

WI Dept of Revenue

Preparer Information								
Name Julie Roberts	Title Treasurer							
Email julie.roberts@ci.evansville.wi.gov	Phone (608) 882-2266							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
Do you agree with	the statement above?							
XYES	SNO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53222

Submission date: 12-03-2021 07:32 AM

Confirmation: TIW20211422O1638192765187

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 53241

County

Muni Type

ROCK

CITY

Municipality JANESVILLE

Account No. 1423

Total Equalized TID Value Increment 371,332,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ROCK	\$30,343,598.11 /	5,697,907,300.00	=	0.005325393	Х	6,069,240,100.00	=	\$32,321,088.74	\$1,977,490.63
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
JANESVILLE	\$38,926,284.00 /	5,697,907,300.00	=	0.006831681	Х	6,069,240,100.00	=	\$41,463,112.28	\$2,536,828.28
4. School Districts									
SCH D OF JANESVILLE	\$42,674,714.00 /	4,877,110,206.00	=	0.00875	Х	5,233,971,706.00	=	\$45,797,252.43	\$3,122,538.43
SCH D OF MILTON	\$6,801,394.00 /	820,797,094.00	=	0.008286328	Χ	835,268,394.00	=	\$6,921,307.88	\$119,913.88
5. Technical College Distri	cts								
BLACKHAWK TECHNICAL COLLEGE JANE	\$5,702,124.34 /	5,697,907,300.00	=	0.00100074	Х	6,069,240,100.00	=	\$6,073,731.34	\$371,607.00
6. Tax Increment Total									
	\$124,448,114.45							\$132,576,492.67	\$8,128,378.22

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Lorena Rae Stottler	Title Clerk-Treasurer								
Email stottlerl@ci.janesville.wi.us	Phone (608) 755-3072								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53241

Submission date: 12-10-2021 10:50 AM

Confirmation: TIW20211423O1639155006906

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 53257

County ROCK Muni Type

Municipality

CITY

MILTON

Account No. 1424

Total Equalized TID Value Increment 61,503,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ROCK	\$2,269,520.26 /	426,169,500.00	=	0.005325393	Х	487,672,900.00	=	\$2,597,049.85	\$327,529.59
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MILTON	\$3,404,417.00 /	426,169,500.00	=	0.007988411	Х	487,672,900.00	=	\$3,895,731.56	\$491,314.56
4. School Districts									
SCH D OF MILTON	\$3,531,381.00 /	426,169,500.00	=	0.00828633	Х	487,672,900.00	=	\$4,041,018.58	\$509,637.58
5. Technical College Distri	cts								
BLACKHAWK TECHNICAL COLLEGE JANE	\$426,484.91 /	426,169,500.00	=	0.00100074	Х	487,672,900.00	=	\$488,033.78	\$61,548.87
6. Tax Increment Total									
	\$9,631,803.17							\$11,021,833.77	\$1,390,030.60

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Kelsie Bannach	Title City Treasurer						
Email kbannach@milton-wi.gov Phone (608) 868-6900							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
Do you agroe wan the statement above:							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 53257

Submission date: 12-01-2021 01:19 PM

Confirmation: TIW20211424O1637693041461

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 54106

County RUSK Muni Type

Municipality

BRUCE

VILLAGE

Account No. 1450

Total Equalized TID Value Increment 901,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RUSK	\$206,511.70	/	30,196,800.00	=	0.00683886	Х	31,097,800.00	=	\$212,673.50	\$6,161.80
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BRUCE	\$103,905.00	/	30,196,800.00	=	0.003440928	Х	31,097,800.00	=	\$107,005.29	\$3,100.29
4. School Districts										
SCH D OF BRUCE	\$193,268.35	/	30,196,800.00	=	0.006400292	X	31,097,800.00	=	\$199,035.00	\$5,766.65
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$9,691.82	/	30,196,800.00	=	0.000320955	Х	31,097,800.00	=	\$9,980.99	\$289.17
6. Tax Increment Total										
	\$513,376.87								\$528,694.78	\$15,317.91

I	Fo	rı	n	١
Р	C.	-2	0	2

WI Dept of Revenue

Preparer Information							
Name Jessica Hayes	Title CLERK/TREASURER						
Email brucevil@brucetel.net	Phone (715) 868-2185						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 54106

Submission date: 11-23-2021 12:47 PM

Confirmation: TIW20211450O1637693235376

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 54136

County RUSK Muni Type

VILLAGE

Municipality **HAWKINS** Account No. 1453

Total Equalized TID Value Increment 458,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RUSK	\$94,839.90	/	14,441,600.00	=	0.006567132	Х	14,900,100.00	=	\$97,850.92	\$3,011.02
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
HAWKINS	\$61,195.00	/	14,441,600.00	=	0.004237411	Х	14,900,100.00	=	\$63,137.85	\$1,942.85
4. School Districts										
SCH D OF FLAMBEAU	\$131,859.13	/	14,441,600.00	=	0.009130507	Х	14,900,100.00	=	\$136,045.47	\$4,186.34
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$4,635.10	/	14,441,600.00	=	0.000320955	Х	14,900,100.00	=	\$4,782.26	\$147.16
6. Tax Increment Total										
	\$292,529.13								\$301,816.50	\$9,287.37

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Alicia Valentine	Title Clerk-Treasurer						
Email curbandgutter@centurytel.net	Phone (715) 585-6522						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 54136

Submission date: 11-26-2021 12:44 PM

Confirmation: TIW20211453O1637951775214

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 54191 County

Muni Type

RUSK

Muni Type VILLAGE

Municipality WEYERHAEUSER

Account No. 1457

Total Equalized TID Value Increment 11,600,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RUSK	\$48,687.89	/	7,119,300.00	=	0.006838859	Х	18,719,700.00	=	\$128,021.39	\$79,333.50
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WEYERHAEUSER	\$92,348.00	/	7,119,300.00	=	0.0129715	Х	18,719,700.00	=	\$242,822.59	\$150,474.59
4. School Districts										
SCH D OF CHETEK-WEYERHAEUSER AREA	\$55,325.46	/	7,119,300.00	=	0.007771194	Х	18,719,700.00	=	\$145,474.42	\$90,148.96
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$2,284.98	/	7,119,300.00	=	0.000320956	Х	18,719,700.00	=	\$6,008.20	\$3,723.22
6. Tax Increment Total										
	\$198,646.33								\$522,326.60	\$323,680.27

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Kristine Snyder	Title Clerk/Treasurer								
Email weyclerk@bevcomm.net Phone (715) 353-2571									
Comments									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 54191

Submission date: 11-23-2021 07:44 PM

Confirmation: TIW20211457O1637718278219

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 54246 County

Muni Type

Municipality

RUSK

CITY

LADYSMITH

Account No. 1458

Total Equalized TID Value Increment 19,587,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
RUSK	\$985,706.81	/	150,097,000.00	=	0.006567132	Х	169,684,600.00	=	\$1,114,341.17	\$128,634.36
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
LADYSMITH	\$1,468,539.00	/	150,097,000.00	=	0.009783933	Х	169,684,600.00	=	\$1,660,182.76	\$191,643.76
4. School Districts										
SCH D OF LADYSMITH	\$1,696,846.59	/	150,097,000.00	=	0.011305	X	169,684,600.00	=	\$1,918,284.40	\$221,437.81
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$48,174.40	/	150,097,000.00	=	0.000320955	Х	169,684,600.00	=	\$54,461.12	\$6,286.72
6. Tax Increment Total	6. Tax Increment Total									
	\$4,199,266.80								\$4,747,269.45	\$548,002.65

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Shari Kavanagh		Title City Clerk						
Email skavanagh@cityoflad	dysmithwi.com	Phone (715) 532-0564						
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 54246

Submission date: 11-29-2021 08:43 AM

Confirmation: TIW20211458O1638196954082

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55106 County ST CROIX

Muni Type VILLAGE

BALDWIN

Municipality

Account No.

Total Equalized TID Value Increment 16,447,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ST CROIX	\$1,164,763.54	/	385,431,100.00	=	0.003021976	X	401,878,200.00	=	\$1,214,466.28	\$49,702.74
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
BALDWIN	\$2,531,943.00	/	385,431,100.00	=	0.00656912	Χ	401,878,200.00	=	\$2,639,986.12	\$108,043.12
4. School Districts										
SCH D OF BALDWIN-WOODVILLE AREA	\$2,741,874.00	/	385,431,100.00	=	0.007113785	Х	401,878,200.00	=	\$2,858,875.11	\$117,001.11
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$123,706.07	/	385,431,100.00	=	0.000320955	Х	401,878,200.00	=	\$128,984.82	\$5,278.75
6. Tax Increment Total	6. Tax Increment Total									
	\$6,562,286.61								\$6,842,312.33	\$280,025.72

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information								
Name Tracy Carlson	Title Administrator/Clerk-Treasurer								
Email tracy@villageofbaldwin.com	Phone (715) 684-3426								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55106

Submission date: 11-23-2021 03:11 PM

Confirmation: TIW20211481O1637701886649

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55136

County ST CROIX

Muni Type VILLAGE

HAMMOND

Municipality

Account No. 1483

Total Equalized TID Value Increment 13,091,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ST CROIX	\$437,703.00	/	144,840,000.00	=	0.003021976	X	157,931,600.00	=	\$477,265.50	\$39,562.50
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)									
HAMMOND	\$984,446.00	/	144,840,000.00	=	0.006796783	Х	157,931,600.00	=	\$1,073,426.81	\$88,980.81
4. School Districts										
SCH D OF SAINT CROIX CENTRAL (HAMMOND)	\$1,477,254.72	/	144,840,000.00	=	0.010199218	Х	157,931,600.00	=	\$1,610,778.82	\$133,524.10
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$46,487.13	/	144,840,000.00	=	0.000320955	Х	157,931,600.00	=	\$50,688.94	\$4,201.81
6. Tax Increment Total	6. Tax Increment Total									
	\$2,945,890.85								\$3,212,160.07	\$266,269.22

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Prepa	Preparer Information								
Name	Sandi Hazer	Title Administrator							
Email	clerk@hammondwi.org	Phone (715) 796-2727							
Comr	Comments								
	-								
Signa	ature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
	_ = year agree and ottate.ment above.								
	XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55136

Submission date: 11-23-2021 01:49 PM

Confirmation: TIW20211483O1637696940889

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55176 County ST CROIX

Muni Type VILLAGE

ROBERTS

Municipality

Account No. 1485

Total Equalized TID Value Increment 4,168,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F	
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment	
1. County										
ST CROIX	\$559,323.94	185,085,500.00) =	0.003021976	X	189,253,900.00	=	\$571,920.74	\$12,596.80	
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ROBERTS	\$1,191,389.00	185,085,500.00) =	0.006436966	Х	189,253,900.00	=	\$1,218,220.92	\$26,831.92	
4. School Districts										
SCH D OF SAINT CROIX CENTRAL (HAMMOND)	\$1,887,727.35	185,085,500.00) =	0.010199218	X	189,253,900.00	=	\$1,930,241.78	\$42,514.43	
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$59,404.13	185,085,500.00) =	0.000320955	Х	189,253,900.00	=	\$60,741.99	\$1,337.86	
6. Tax Increment Total	5. Tax Increment Total									
	\$3,697,844.42							\$3,781,125.43	\$83,281.01	

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information								
lame Megan Dull Title Clerk								
Email vilofrbt@baldwin-telecom.net Phone (715) 749-3126								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55176

Submission date: 11-23-2021 01:06 PM

Confirmation: TIW20211485O1637694354932

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55181 County ST CROIX

Muni Type VILLAGE

Muni Type VILLAGE

Municipality SOMERSET

Account No. 1486

Total Equalized TID Value Increment 39,676,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ST CROIX	\$768,097.16 /	254,170,500.00	=	0.003021976	Х	293,846,500.00	=	\$887,997.07	\$119,899.91
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SOMERSET	\$1,715,261.00 /	254,170,500.00	=	0.006748466	Х	293,846,500.00	=	\$1,983,013.11	\$267,752.11
4. School Districts									
SCH D OF SOMERSET	\$2,101,137.00 /	254,170,500.00	=	0.008266644	X	293,846,500.00	=	\$2,429,124.41	\$327,987.41
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$81,577.31 /	254,170,500.00	=	0.000320955	Х	293,846,500.00	=	\$94,311.50	\$12,734.19
6. Tax Increment Total									
	\$4,666,072.47							\$5,394,446.09	\$728,373.62

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information							
Name Felicia Germain	Title clerk						
Email fgermain@vil.somerset.wi.us Phone (715) 247-3395							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55181

Submission date: 11-23-2021 12:01 PM

Confirmation: TIW20211486O1637689019946

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55192 County

Muni Type

ST CROIX

e VILLAGE

Municipality WOODVILLE

Account No. 1490

Total Equalized TID Value Increment 24,299,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ST CROIX	\$271,213.58	/	89,747,100.00	=	0.003021976	Х	114,046,400.00	=	\$344,645.48	\$73,431.90
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
WOODVILLE	\$705,020.00	/	89,747,100.00	=	0.00785563	Х	114,046,400.00	=	\$895,906.32	\$190,886.32
4. School Districts										
SCH D OF BALDWIN-WOODVILLE AREA	\$638,441.00	/	89,747,100.00	=	0.007113779	Х	114,046,400.00	=	\$811,300.89	\$172,859.89
5. Technical College Distric	cts									
NORTHWOOD TECHNICAL COLLEGE	\$28,804.79	/	89,747,100.00	=	0.000320955	Х	114,046,400.00	=	\$36,603.76	\$7,798.97
6. Tax Increment Total										
	\$1,643,479.37								\$2,088,456.45	\$444,977.08

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Title Clerk/Treasurer							
Email julie@villageofwoodville.org Phone (715) 698-2355							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55192

Submission date: 11-23-2021 02:57 PM

Confirmation: TIW20211490O1637692088088

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55236

County ST (

Municipality

ST CROIX CITY

HUDSON

Account No. 1492

Total Equalized TID Value Increment 83,287,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
ST CROIX	\$6,972,669.62 /	2,307,321,300.00	=	0.003021976	Х	2,390,608,700.00	=	\$7,224,362.12	\$251,692.50
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HUDSON	\$9,525,768.00 /	2,307,321,300.00	=	0.004128497	Х	2,390,608,700.00	=	\$9,869,620.85	\$343,852.85
4. School Districts									
SCH D OF HUDSON	\$22,912,674.00 /	2,307,321,300.00	=	0.009930422	X	2,390,608,700.00	=	\$23,739,753.23	\$827,079.23
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$740,546.51 /	2,307,321,300.00	=	0.000320955	Х	2,390,608,700.00	=	\$767,277.82	\$26,731.31
6. Tax Increment Total									
	\$40,151,658.13							\$41,601,014.02	\$1,449,355.89

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
ame Alison Egger Title Finance Director								
Email aegger@ci.hudson.wi.us Phone (715) 716-5743								
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55236

Submission date: 11-23-2021 01:08 PM

Confirmation: TIW20211492O1637694472157

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55261

County

Muni Type

ST CROIX

CITY

Municipality NEW RICHMOND

Account No. 1493

Total Equalized TID Value Increment 79,396,400

	Col. A	_	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ST CROIX	\$2,898,581.79	/	959,167,700.00	=	0.003021976	Х	1,038,564,100.00	=	\$3,138,515.78	\$239,933.99
2. Special Districts (metro, sanitary, lake)										
UPPER WILLOW REHABILITATION DISTRICT	\$0.00	/	959,167,700.00	=	0	Х	1,038,564,100.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
NEW RICHMOND	\$5,796,760.00	/	959,167,700.00	=	0.006043531	Х	1,038,564,100.00	=	\$6,276,594.33	\$479,834.33
4. School Districts										
SCH D OF NEW RICHMOND	\$7,814,828.00	/	959,167,700.00	=	0.00814751	Х	1,038,564,100.00	=	\$8,461,711.39	\$646,883.39
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$307,849.75	/	959,167,700.00	=	0.000320955	Х	1,038,564,100.00	=	\$333,332.34	\$25,482.59
6. Tax Increment Total										
	\$16,818,019.54								\$18,210,153.84	\$1,392,134.30

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Rae Ann Ailts	Title Asst. City Admin/Finance Director							
Email railts@newrichmondwi.gov	Phone (715) 243-0489							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55261

Submission date: 11-29-2021 12:00 PM

Confirmation: TIW20211493O1638208805384

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 55276

County

Muni Type

ST CROIX

CITY

Municipality RIVER FALLS

Account No. 1494

Total Equalized TID Value Increment 71,960,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
ST CROIX	\$1,279,302.24	/	422,951,300.00	=	0.003024703	Х	494,912,200.00	=	\$1,496,962.42	\$217,660.18
2. Special Districts (metro, sanitary, lake)										
LAKE GEORGE INLAND LAKE PRO & REHAB DISTRICT	\$0.00	/	422,951,300.00	=	0	Х	494,912,200.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
RIVER FALLS	\$2,469,778.00	/	422,951,300.00	=	0.005839391	Х	494,912,200.00	=	\$2,889,985.85	\$420,207.85
4. School Districts										
SCH D OF RIVER FALLS	\$3,327,025.16	/	422,951,300.00	=	0.007866213	Х	494,912,200.00	=	\$3,893,084.78	\$566,059.62
5. Technical College Distric	cts									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$342,949.44	/	422,951,300.00	=	0.000810849	Х	494,912,200.00	=	\$401,299.06	\$58,349.62
6. Tax Increment Total										
	\$7,419,054.84								\$8,681,332.11	\$1,262,277.27

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information										
Name Amy White	Title City Clerk									
Email awhite@rfcity.org	Phone (715) 426-3405									
Comments										
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
	20 you ag. so man and old londing above.									
XYES	S									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 55276

Submission date: 11-24-2021 10:02 AM

Confirmation: TIW20211494O1637694966173

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56146

County

Muni Type

SAUK

VILLAGE

Municipality LAKE DELTON

Account No. 1520

Total Equalized TID Value Increment 426,510,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$4,707,122.95	/	1,271,297,100.00	=	0.003702614	Х	1,697,807,400.00	=	\$6,286,325.45	\$1,579,202.50
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
LAKE DELTON	\$3,681,803.00	/	1,271,297,100.00	=	0.0028961	Х	1,697,807,400.00	=	\$4,917,020.01	\$1,235,217.01
4. School Districts										
SCH D OF WISCONSIN DELLS	\$9,852,877.02	/	1,269,544,685.00	=	0.007760953	Х	1,696,054,985.00	=	\$13,163,003.02	\$3,310,126.00
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$1,025,625.74	/	1,271,297,100.00	=	0.000806755	Х	1,697,807,400.00	=	\$1,369,714.61	\$344,088.87
6. Tax Increment Total										
	\$19,267,428.71								\$25,736,063.09	\$6,468,634.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Kay C Mackesey	Title Clerk-Treasurer-Coordinator								
Email kay2busy@dellsnet.com	Phone (608) 254-2558								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56146

Submission date: 12-15-2021 10:45 AM

Confirmation: TIW20211520O1639586603945

Form
PC-202

WI Dept of Revenue

Report Type **AMENDED** Co-muni Code 56149

County Muni Type

Municipality

SAUK

VILLAGE

LOGANVILLE

Account No. 1523

Total Equalized TID Value Increment 440,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$69,016.24	/	17,143,300.00	=	0.004025843	Х	17,583,700.00	=	\$70,789.22	\$1,772.98
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
LOGANVILLE	\$158,293.00	/	17,143,300.00	=	0.00923352	Х	17,583,700.00	=	\$162,359.45	\$4,066.45
4. School Districts										
SCH D OF REEDSBURG	\$130,829.00	/	17,143,300.00	=	0.007631495	X	17,583,700.00	=	\$134,189.92	\$3,360.92
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$13,830.45	/	17,143,300.00	=	0.000806755	Х	17,583,700.00	=	\$14,185.74	\$355.29
6. Tax Increment Total										
	\$371,968.69								\$381,524.33	\$9,555.64

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information						
Name Donna Hahn	Title Clerk					
Email clerk.loganville@wicw.net	Phone (608) 727-5981					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
WYES THO						
X YE	SNO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56149

Submission date: 12-16-2021 09:56 AM

Confirmation: TIW20211523A1639670181769

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56161 County

Muni Type

SAUK

VILLAGE

Municipality NORTH FREEDOM

Account No. 1525

Total Equalized TID Value Increment 2,919,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$96,876.59	/	26,224,200.00	=	0.003694168	X	29,143,900.00	=	\$107,662.46	\$10,785.87
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
NORTH FREEDOM	\$170,068.00	/	26,224,200.00	=	0.006485155	Х	29,143,900.00	=	\$189,002.71	\$18,934.71
4. School Districts										
SCH D OF BARABOO	\$251,044.42	/	26,224,200.00	=	0.009573006	Х	29,143,900.00	=	\$278,994.73	\$27,950.31
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$21,156.51	/	26,224,200.00	=	0.000806755	Х	29,143,900.00	=	\$23,511.99	\$2,355.48
6. Tax Increment Total										
	\$539,145.52								\$599,171.89	\$60,026.37

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Nicki Breunig	Title Clerk/Treasurer					
Email villageofnorthfreedom@gmail.com	Phone (608) 522-4550					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56161

Submission date: 11-23-2021 01:49 PM

Confirmation: TIW20211525O1637696981236

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56171 County

Muni Type

Municipality

SAUK

VILLAGE PLAIN Account No. 1526

Total Equalized TID Value Increment 3,716,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$261,449.01	/	70,612,000.00	=	0.003702614	Х	74,328,500.00	=	\$275,209.74	\$13,760.73
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
PLAIN	\$720,874.65	/	70,612,000.00	=	0.010208954	Х	74,328,500.00	=	\$758,816.24	\$37,941.59
4. School Districts										
SCH D OF RIVER VALLEY (SPRING GREEN)	\$662,550.41	/	70,612,000.00	=	0.009382972	Х	74,328,500.00	=	\$697,422.23	\$34,871.82
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$56,966.61	/	70,612,000.00	=	0.000806755	Х	74,328,500.00	=	\$59,964.89	\$2,998.28
6. Tax Increment Total										
	\$1,701,840.68								\$1,791,413.10	\$89,572.42

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information					
Name Sheila Carver	Title Clerk/Treasurer				
Email clerk@villageofplain.com	Phone (608) 546-2047				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
you agree with the statement above:					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56171

Submission date: 12-02-2021 07:16 AM

Confirmation: TIW20211526O1637691941186

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56172 County

Muni Type

SAUK

VILLAGE

Municipality PRAIRIE DU SAC

Account No. 1527

Total Equalized TID Value Increment 27,074,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SAUK	\$1,840,306.00 /	497,028,800.00	=	0.003702614	Х	524,103,000.00	=	\$1,940,551.11	\$100,245.11
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PRAIRIE DU SAC	\$3,164,464.00 /	497,028,800.00	=	0.006366762	Х	524,103,000.00	=	\$3,336,839.06	\$172,375.06
4. School Districts									
SCH D OF SAUK PRAIRIE	\$4,720,223.04 /	497,028,800.00	=	0.00949688	Х	524,103,000.00	=	\$4,977,343.30	\$257,120.26
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$400,980.65 /	497,028,800.00	=	0.000806755	Х	524,103,000.00	=	\$422,822.72	\$21,842.07
6. Tax Increment Total									
	\$10,125,973.69							\$10,677,556.19	\$551,582.50

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information						
Name Niki Conway	Title CLERK/TREASURER					
Email nconway@prairiedusac.net	Phone (608) 643-2421					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56172

Submission date: 11-29-2021 02:50 PM

Confirmation: TIW20211527O1638208049929

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56176 County

Muni Type

SAUK

VILLAGE

Municipality ROCK SPRINGS

Account No. 1528

Total Equalized TID Value Increment 203,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$91,175.39	/	24,680,900.00	=	0.003694168	Х	24,883,900.00	=	\$91,925.31	\$749.92
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
ROCK SPRINGS	\$185,888.00	/	24,680,900.00	=	0.007531654	Х	24,883,900.00	=	\$187,416.92	\$1,528.92
4. School Districts										
SCH D OF REEDSBURG	\$188,353.00	/	24,680,900.00	=	0.007631529	Х	24,883,900.00	=	\$189,902.20	\$1,549.20
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$19,911.45	/	24,680,900.00	=	0.000806755	Х	24,883,900.00	=	\$20,075.21	\$163.76
6. Tax Increment Total										
	\$485,327.84								\$489,319.64	\$3,991.80

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Jennifer Roloff	Title Clerk/Treasurer							
Email villageofrocksprings@gmail.com Phone (608) 522-5700								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56176

Submission date: 11-23-2021 12:32 PM

Confirmation: TIW20211528O1637692133739

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 56181 County

Muni Type

Municipality

SAUK

VILLAGE

SAUK CITY

Account No. 1529

Total Equalized TID Value Increment 29,668,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SAUK	\$1,526,209.88 /	412,197,900.00	=	0.003702614	X	441,865,900.00	=	\$1,636,058.87	\$109,848.99
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SAUK CITY	\$2,363,451.00 /	412,197,900.00	=	0.005733777	Х	441,865,900.00	=	\$2,533,560.53	\$170,109.53
4. School Districts									
SCH D OF SAUK PRAIRIE	\$3,914,594.13 /	412,197,900.00	=	0.00949688	X	441,865,900.00	=	\$4,196,347.43	\$281,753.30
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$332,542.86 /	412,197,900.00	=	0.000806755	Х	441,865,900.00	=	\$356,477.52	\$23,934.66
6. Tax Increment Total									
	\$8,136,797.87							\$8,722,444.35	\$585,646.48

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Heidi Koch	Title Village Administrator							
Email heidi@saukcity.net Phone (608) 643-3932								
Comments								
Signatura Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56181

Submission date: 12-08-2021 08:47 AM

Confirmation: TIW20211529O1638974812472

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56182

County

Muni Type

SAUK

oe VILLAGE

Municipality SPRING GREEN

Account No. 1530

Total Equalized TID Value Increment 11,797,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$702,815.41	/	190,250,000.00	=	0.003694168	X	202,047,200.00	=	\$746,396.30	\$43,580.89
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SPRING GREEN	\$1,266,000.00	/	190,250,000.00	=	0.006654402	Х	202,047,200.00	=	\$1,344,503.29	\$78,503.29
4. School Districts										
SCH D OF RIVER VALLEY (SPRING GREEN)	\$1,785,110.40	/	190,250,000.00	=	0.009382972	Х	202,047,200.00	=	\$1,895,803.22	\$110,692.82
5. Technical College Distri	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$153,485.21	/	190,250,000.00	=	0.000806755	Х	202,047,200.00	=	\$163,002.59	\$9,517.38
6. Tax Increment Total										
	\$3,907,411.02								\$4,149,705.40	\$242,294.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Wendy Crary	Title Administrator/Clerk/Treasurer							
Email wcrary@villageofspringgreen.com	Phone (608) 588-2335							
Comments								
Signature Statement								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56182

Submission date: 11-23-2021 12:49 PM

Confirmation: TIW20211530O1637693394152

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56206

County

Muni Type

SAUK

CITY

Municipality BARABOO

Account No. 1532

Total Equalized TID Value Increment 50,315,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SAUK	\$3,469,996.38 /	939,317,500.00	=	0.003694168	Х	989,632,800.00	=	\$3,655,869.82	\$185,873.44
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BARABOO	\$8,999,901.00 /	939,317,500.00	=	0.009581319	Х	989,632,800.00	=	\$9,481,987.55	\$482,086.55
4. School Districts									
SCH D OF BARABOO	\$8,992,091.74 /	939,317,500.00	=	0.009573006	Х	989,632,800.00	=	\$9,473,760.73	\$481,668.99
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$757,799.42 /	939,317,500.00	=	0.000806755	Х	989,632,800.00	=	\$798,391.21	\$40,591.79
6. Tax Increment Total									
	\$22,219,788.54							\$23,410,009.31	\$1,190,220.77

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Brenda M. Zeman Title City Clerk								
Email bzeman@cityofbaraboo.com Phone (608) 355-2700								
Comments	Comments							
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56206

Submission date: 11-24-2021 10:12 AM

Confirmation: TIW20211532O1637770340801

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 56276

County SAUK Muni Type

Municipality

CITY

REEDSBURG

Account No. 1533

Total Equalized TID Value Increment 39,114,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SAUK	\$2,531,699.95 /	685,323,500.00	=	0.003694168	Х	724,438,100.00	=	\$2,676,196.05	\$144,496.10
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
REEDSBURG	\$6,156,927.00 /	685,323,500.00	=	0.008983972	Х	724,438,100.00	=	\$6,508,331.61	\$351,404.61
4. School Districts									
SCH D OF REEDSBURG	\$5,230,059.00 /	685,323,500.00	=	0.007631519	X	724,438,100.00	=	\$5,528,563.12	\$298,504.12
5. Technical College Distri	cts								
MADISON AREA TECHNICAL COLLEGE MADN	\$552,888.40 /	685,323,500.00	=	0.000806755	Х	724,438,100.00	=	\$584,444.06	\$31,555.66
6. Tax Increment Total									
	\$14,471,574.35							\$15,297,534.84	\$825,960.49

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information							
Name Jacob Crosetto	Title Finance Director							
Email jcrosetto@ci.reedsburg.wi.us	Phone (608) 524-5404							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56276

Submission date: 11-23-2021 10:58 AM

Confirmation: TIW20211533O1637686695881

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 56291

County

Muni Type

SAUK

CITY

Municipality WISCONSIN DELLS

Account No. 1534

Total Equalized TID Value Increment 29,987,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SAUK	\$330,333.95	/	89,420,400.00	=	0.003694168	Х	119,408,200.00	=	\$441,113.95	\$110,780.00
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
WISCONSIN DELLS	\$843,006.47	/	89,420,400.00	=	0.009427451	Х	119,408,200.00	=	\$1,125,714.95	\$282,708.48
4. School Districts										
SCH D OF WISCONSIN DELLS	\$693,987.55	/	89,420,400.00	=	0.007760953	Х	119,408,200.00	=	\$926,721.43	\$232,733.88
5. Technical College Distric	cts									
MADISON AREA TECHNICAL COLLEGE MADN	\$72,140.39	/	89,420,400.00	=	0.000806755	Х	119,408,200.00	=	\$96,333.16	\$24,192.77
6. Tax Increment Total										
	\$1,939,468.36								\$2,589,883.49	\$650,415.13

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sarah L Brown	Title Clerk/Treasurer							
Email sbrown@dellscitygov.com	Phone (608) 254-2012							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 56291

Submission date: 11-30-2021 02:38 PM

Confirmation: TIW20211534O1638304688971

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 57236

County

Muni Type

ty SAWYER
ype CITY

Municipality HAYWARD

Account No. 1556

Total Equalized TID Value Increment 3,829,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SAWYER	\$752,828.32 /	232,596,400.00	=	0.003236629	Х	236,426,000.00	=	\$765,223.25	\$12,394.93
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HAYWARD	\$1,323,484.00 /	232,596,400.00	=	0.005690045	Х	236,426,000.00	=	\$1,345,274.58	\$21,790.58
4. School Districts									
SCH D OF HAYWARD COMMUNITY	\$1,435,241.03 /	232,596,400.00	=	0.006170521	Х	236,426,000.00	=	\$1,458,871.60	\$23,630.57
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$74,653.00 /	232,596,400.00	=	0.000320955	Х	236,426,000.00	=	\$75,882.11	\$1,229.11
6. Tax Increment Total									
	\$3,586,206.35							\$3,645,251.54	\$59,045.19

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information								
Name LISA POPPE	Title Clerk-Treasurer							
Email dpty969@centurytel.net	Phone (715) 634-2311							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES	SNO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 57236

Submission date: 11-24-2021 06:22 AM

Confirmation: TIW20211556O1637701341757

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 58107

County

Muni Type

Municipality

SHAWANO

VILLAGE

BONDUEL

Account No. 1585

Total Equalized TID Value Increment 16,802,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHAWANO	\$363,623.87	/	73,902,500.00	=	0.004920319	X	90,705,400.00	=	\$446,299.50	\$82,675.63
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BONDUEL	\$641,118.00 /	/	73,902,500.00	=	0.008675187	Х	90,705,400.00	=	\$786,886.31	\$145,768.31
4. School Districts										
SCH D OF BONDUEL	\$623,539.12 /	/	73,902,500.00	=	0.008437321	Х	90,705,400.00	=	\$765,310.58	\$141,771.46
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$54,568.44 /	/	73,902,500.00	=	0.000738384	Х	90,705,400.00	=	\$66,975.42	\$12,406.98
6. Tax Increment Total										
	\$1,682,849.43								\$2,065,471.81	\$382,622.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name MICHELLE MAROSZEK	Title Clerk -Treasuer					
Email villagehall@villageofbonduel.com Phone (715) 758-2402						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 58107

Submission date: 11-29-2021 10:23 AM

Confirmation: TIW20211585O1638202403341

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 58108 County

Muni Type

SHAWANO

e VILLAGE

Municipality BOWLER

Account No. 1586

Total Equalized TID Value Increment 194,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHAWANO	\$50,266.96	/	10,216,200.00	=	0.004920319	Х	10,410,600.00	=	\$51,223.47	\$956.51
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BOWLER	\$16,158.00	/	10,216,200.00	=	0.001581606	Х	10,410,600.00	=	\$16,465.47	\$307.47
4. School Districts										
SCH D OF BOWLER	\$78,583.89	/	10,216,200.00	=	0.007692086	Х	10,410,600.00	=	\$80,079.23	\$1,495.34
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$12,368.38	/	10,216,200.00	=	0.001210663	Х	10,410,600.00	=	\$12,603.73	\$235.35
6. Tax Increment Total										
	\$157,377.23								\$160,371.90	\$2,994.67

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name KERRY BREITRICK	Title VILLAGE CLERK						
Email villageofbowler@frontier.com	Phone (715) 793-4910						
Comments							
Signature Statement							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 58108

Submission date: 11-28-2021 09:10 PM

Confirmation: TIW20211586O1637723159916

Form	
PC-202	

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 58131

County **SHAWANO** Muni Type

Municipality

VILLAGE

GRESHAM

Account No. 1589

Total Equalized TID Value Increment 1,675,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHAWANO	\$102,866.65	/	20,906,500.00	=	0.004920319	Х	22,581,600.00	=	\$111,108.68	\$8,242.03
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
GRESHAM	\$72,386.00	/	20,906,500.00	=	0.003462368	Х	22,581,600.00	=	\$78,185.81	\$5,799.81
4. School Districts										
SCH D OF GRESHAM	\$303,475.58	/	20,906,500.00	=	0.014515848	Х	22,581,600.00	=	\$327,791.07	\$24,315.49
5. Technical College Distri	cts									
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$15,437.03	/	20,906,500.00	=	0.000738384	Х	22,581,600.00	=	\$16,673.89	\$1,236.86
6. Tax Increment Total										
	\$494,165.26								\$533,759.45	\$39,594.19

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Judith Kristof	Title Clerk/Treasurer						
Email clerk@villageofgresham.us	Phone (715) 787-3991						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you a man with the atatament of ave?							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 58131

Submission date: 11-24-2021 10:09 AM

Confirmation: TIW20211589O1637770107178

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 58186

County

Muni Type

Municipality

SHAWANO

VILLAGE

TIGERTON

Account No. 1592

Total Equalized TID Value Increment 2,718,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHAWANO	\$100,231.32 /	20,370,900.00	=	0.004920319	Х	23,089,500.00	=	\$113,607.71	\$13,376.39
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
TIGERTON	\$122,295.00 /	20,370,900.00	=	0.006003417	Х	23,089,500.00	=	\$138,615.90	\$16,320.90
4. School Districts									
SCH D OF TIGERTON	\$163,839.27 /	20,370,900.00	=	0.00804281	Х	23,089,500.00	=	\$185,704.46	\$21,865.19
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$24,662.31 /	20,370,900.00	=	0.001210664	Х	23,089,500.00	=	\$27,953.63	\$3,291.32
6. Tax Increment Total									
	\$411,027.90							\$465,881.70	\$54,853.80

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name TRISHA HOFFMAN	Title CLERK/TREASURER						
Email tigerton@frontiernet.net	Phone (715) 535-2262						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 58186

Submission date: 11-30-2021 10:05 AM

Confirmation: TIW20211592O1638288335148

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 58191 County

Muni Type

SHAWANO

VILLAGE

Municipality WITTENBERG

Account No. 1593

Total Equalized TID Value Increment 15,678,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHAWANO	\$240,732.50	/	48,926,200.00	=	0.004920319	X	64,605,100.00	=	\$317,877.70	\$77,145.20
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WITTENBERG	\$258,366.00	/	48,926,200.00	=	0.005280729	Х	64,605,100.00	=	\$341,162.03	\$82,796.03
4. School Districts										
SCH D OF WITTENBERG-BIRNAMWOO	\$402,060.00	/	48,926,200.00	=	0.008217683	Х	64,605,100.00	=	\$530,904.23	\$128,844.23
5. Technical College Distri	cts									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$59,233.18	/	48,926,200.00	=	0.001210664	Х	64,605,100.00	=	\$78,215.07	\$18,981.89
6. Tax Increment Total										
	\$960,391.68								\$1,268,159.03	\$307,767.35

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information					
Name Traci Matsche	Title Clerk/Treasurer				
Email wittbrg@gmail.com	Phone (715) 253-6063				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?					
XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 58191

Submission date: 11-23-2021 12:19 PM

Confirmation: TIW20211593O1637691597226

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 58281 County SH

Muni Type CI7

Municipality

SHAWANO

CITY SHAWANO Account No. 1595

Total Equalized TID Value Increment 61,209,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHAWANO	\$2,614,133.87 /	531,293,600.00	=	0.004920319	X	592,502,700.00	=	\$2,915,302.29	\$301,168.42
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SHAWANO	\$5,259,605.00 /	531,293,600.00	=	0.00989962	Х	592,502,700.00	=	\$5,865,551.58	\$605,946.58
4. School Districts									
SCH D OF SHAWANO	\$5,081,498.79 /	531,293,600.00	=	0.009564389	X	592,502,700.00	=	\$5,666,926.31	\$585,427.52
5. Technical College Distri	cts								
NORTHEAST WISCONSIN TECH COLLEGE GNBY	\$392,298.83 /	531,293,600.00	=	0.000738384	Х	592,502,700.00	=	\$437,494.51	\$45,195.68
6. Tax Increment Total									
	\$13,347,536.49							\$14,885,274.69	\$1,537,738.20

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Gregory Smith	Title Finance Director					
Email gsmith@cityofshawano.com	Phone (715) 701-8905					
Comments						
Signature Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 58281

Submission date: 11-24-2021 08:46 AM

Confirmation: TIW20211595O1637765184769

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59024

County

Muni Type

Municipality

SHEBOYGAN

SHEBOYGAN

TOWN

Account No. 1608

Total Equalized TID Value Increment 1,241,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Cal E
	Col. A	L	* * * * =		C01. C		**** =			Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHEBOYGAN	\$4,609,896.89	/	923,257,800.00	=	0.004993077	X	924,498,900.00	=	\$4,616,094.19	\$6,197.30
2. Special Districts (metro,	sanitary, lake)									
SHEBOYGAN SANITARY DISTRICT #2	\$102,456.29	/	886,140,314.00	=	0.000115621	Х	887,849,814.00	=	\$102,654.08	\$197.79
TOWN OF SHEBOYGAN SANITARY DISTRICT #3	\$100,000.00	/	907,444,927.00	=	0.0001102	X	908,648,827.00	=	\$100,133.10	\$133.10
3. Tax District (town, village	e, city)									
SHEBOYGAN	\$1,922,709.00	/	923,257,800.00	=	0.002082527	X	924,498,900.00	=	\$1,925,293.92	\$2,584.92
4. School Districts										
SCH D OF SHEBOYGAN AREA	\$7,309,424.00	/	882,992,720.00	=	0.008278012	X	884,233,820.00	=	\$7,319,698.17	\$10,274.17
5. Technical College Distric	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$671,839.00	/	923,257,800.00	=	0.000727683	Х	924,498,900.00	=	\$672,742.13	\$903.13
6. Tax Increment Total										
	\$14,716,325.18								\$14,736,615.59	\$20,290.41

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information						
Name Peggy Fischer	Title Clerk					
Email peggy@townofsheboygan.org	Phone (920) 451-2320					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59024

Submission date: 11-23-2021 12:36 PM

Confirmation: TIW20211608O1637692575517

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 59111

County **SHEBOYGAN** Muni Type

Municipality

VILLAGE

CASCADE

Account No. 1613

Total Equalized TID Value Increment 652,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$226,525.84 /	45,588,800.00) =	0.004968892	Х	46,241,500.00	=	\$229,769.02	\$3,243.18
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
CASCADE	\$157,498.00 /	45,588,800.00) =	0.003454752	Х	46,241,500.00	=	\$159,752.91	\$2,254.91
4. School Districts									
SCH D OF PLYMOUTH	\$356,893.06 /	45,588,800.00) =	0.007828525	Х	46,241,500.00	=	\$362,002.74	\$5,109.68
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$33,174.19 /	45,588,800.00) =	0.000727683	Х	46,241,500.00	=	\$33,649.15	\$474.96
6. Tax Increment Total									
	\$774,091.09							\$785,173.82	\$11,082.73

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kayla Simanovski	Title CLERK							
Email cascade53011@gmail.com Phone (920) 528-8642								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59111

Submission date: 11-24-2021 11:04 AM

Confirmation: TIW20211613O1637773274083

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59112

County

Muni Type

Municipality

SHEBOYGAN

CEDAR GROVE

vpe VILLAGE

Account No. 1614

Total Equalized TID Value Increment 634,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHEBOYGAN	\$768,876.82	/	166,946,900.00	=	0.004605517	Х	167,580,900.00	=	\$771,796.68	\$2,919.86
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
CEDAR GROVE	\$1,195,930.60	/	166,946,900.00	=	0.007163539	Х	167,580,900.00	=	\$1,200,472.31	\$4,541.71
4. School Districts										
SCH D OF CEDAR GROVE-BELGIUM AREA	\$1,300,441.00	/	166,946,900.00	=	0.007789549	X	167,580,900.00	=	\$1,305,379.63	\$4,938.63
5. Technical College Distri	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$121,484.42	/	166,946,900.00	=	0.000727683	Х	167,580,900.00	=	\$121,945.77	\$461.35
6. Tax Increment Total										
	\$3,386,732.84								\$3,399,594.39	\$12,861.55

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Julie Brey	Title Village Clerk Treasurer						
Email jbrey@cedargrovewi.com	Phone (920) 668-6523						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59112

Submission date: 11-23-2021 11:13 AM

Confirmation: TIW20211614O1637687528069

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59121 County

Muni Type

unty SHEBOYGAN

ni Type VILLAGE

Municipality ELKHART LAKE

Account No. 1615

Total Equalized TID Value Increment 39,709,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)		Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$1,553,290.82 /	337,267,400.	00 =	0.004605517	Х	376,976,400.00	=	\$1,736,171.22	\$182,880.40
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ELKHART LAKE	\$1,396,704.00 /	337,267,400.	00 =	0.004141236	Х	376,976,400.00	=	\$1,561,148.24	\$164,444.24
4. School Districts									
SCH D OF ELKHART LAKE-GLENBEULAH	\$2,527,970.00 /	337,267,400.	00 =	0.007495447	Х	376,976,400.00	=	\$2,825,606.63	\$297,636.63
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$245,423.75 /	337,267,400.	00 =	0.000727683	Х	376,976,400.00	=	\$274,319.32	\$28,895.57
6. Tax Increment Total									
	\$5,723,388.57							\$6,397,245.41	\$673,856.84

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Jessica Reilly	Title Administrator/Clerk-Treasurer						
Email jreilly@elkhartlakewi.gov	Phone (920) 876-2122						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59121

Submission date: 11-23-2021 11:48 AM

Confirmation: TIW20211615O1637689619336

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59131 County

Muni Type

SHEBOYGAN VILLAGE

Municipality GLENBEULAH

Account No. 1616

Total Equalized TID Value Increment 2,291,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$182,264.95 /	36,681,200.00	=	0.004968893	Х	38,973,100.00	=	\$193,653.16	\$11,388.21
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
GLENBEULAH	\$207,739.00 /	36,681,200.00	=	0.005663364	Х	38,973,100.00	=	\$220,718.85	\$12,979.85
4. School Districts									
SCH D OF ELKHART LAKE-GLENBEULAH	\$274,942.00 /	36,681,200.00	=	0.007495447	Х	38,973,100.00	=	\$292,120.81	\$17,178.81
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$26,692.29 /	36,681,200.00	=	0.000727683	Х	38,973,100.00	=	\$28,360.06	\$1,667.77
6. Tax Increment Total									
	\$691,638.24							\$734,852.88	\$43,214.64

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Michele Bertram	Title Clerk/Treasurer					
Email mbertram@glenbeulahwi.gov Phone (920) 838-2673						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59131

Submission date: 11-25-2021 07:59 AM

Confirmation: TIW20211616O1637848680798

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59135

e N

County SHEBOYGAN

Muni Type VILLAGE

Municipality HOWARDS GROVE

Account No. 1617

Total Equalized TID Value Increment 5,078,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$1,477,466.79	297,343,300.00	=	0.004968892	Х	302,421,300.00	=	\$1,502,698.78	\$25,231.99
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
HOWARDS GROVE	\$813,416.00 /	297,343,300.00	=	0.002735612	Х	302,421,300.00	=	\$827,307.34	\$13,891.34
4. School Districts									
SCH D OF HOWARDS GROVE	\$2,587,516.27 /	297,343,300.00	=	0.008702117	Х	302,421,300.00	=	\$2,631,705.54	\$44,189.27
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$216,371.66 /	297,343,300.00	=	0.000727683	Х	302,421,300.00	=	\$220,066.84	\$3,695.18
6. Tax Increment Total									
	\$5,094,770.72							\$5,181,778.50	\$87,007.78

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Christan Brandt	Title ClerkTreasurer							
Email clerktreasurer@howardsgrove.org	Phone (920) 234-0304							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59135

Submission date: 11-24-2021 08:38 AM

Confirmation: TIW20211617O1637763984264

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59165

County

Muni Type

Municipality

SHEBOYGAN

OOSTBURG

ype VILLAGE

Account No. 1619

Total Equalized TID Value Increment 54,801,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$1,055,441.32 /	229,168,900.00	=	0.004605517	Х	283,970,400.00	=	\$1,307,830.50	\$252,389.18
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
OOSTBURG	\$1,365,000.00 /	229,168,900.00	=	0.005956306	Х	283,970,400.00	=	\$1,691,414.60	\$326,414.60
4. School Districts									
SCH D OF OOSTBURG	\$1,839,244.00 /	229,168,900.00	=	0.008025714	X	283,970,400.00	=	\$2,279,065.21	\$439,821.21
5. Technical College Distriction	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$166,762.31 /	229,168,900.00	=	0.000727683	Х	283,970,400.00	=	\$206,640.43	\$39,878.12
6. Tax Increment Total									
	\$4,426,447.63							\$5,484,950.74	\$1,058,503.11

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information										
Name Jill E Ludens	Title Clerk Treasurer									
Email jill.ludens@oostburg.org Phone (920) 564-3214										
Comments										
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
X YES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59165

Submission date: 11-23-2021 11:26 AM

Confirmation: TIW20211619O1637688386379

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59176

County

Muni Type

County SHEBOYGAN

Muni Type VILLAGE

Municipality RANDOM LAKE

Account No. 1620

Total Equalized TID Value Increment 1,746,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHEBOYGAN	\$801,149.52	/	173,954,300.00	=	0.004605517	Х	175,701,200.00	=	\$809,194.86	\$8,045.34
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
RANDOM LAKE	\$974,219.00	/	173,954,300.00	=	0.005600431	Х	175,701,200.00	=	\$984,002.45	\$9,783.45
4. School Districts										
SCH D OF RANDOM LAKE	\$1,607,427.00	/	173,954,300.00	=	0.009240513	Х	175,701,200.00	=	\$1,623,569.22	\$16,142.22
5. Technical College Distric	cts									
LAKESHORE TECHNICAL COLLEGE CLEV	\$126,583.59	/	173,954,300.00	=	0.000727683	Х	175,701,200.00	=	\$127,854.78	\$1,271.19
6. Tax Increment Total										
	\$3,509,379.11								\$3,544,621.31	\$35,242.20

Fo	r	m	١
PC.	-2	n	2

WI Dept of Revenue

Preparer Information									
Name Jo Ann Lesser	Title Clerk/Treasurer								
Email clerktreasurer@randomlakewi.com	Phone (920) 994-4852								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59176

Submission date: 11-29-2021 09:55 AM

Confirmation: TIW20211620O1637695439329

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59271 County

Muni Type

Municipality

SHEBOYGAN

CITY

PLYMOUTH

Account No. 1622

Total Equalized TID Value Increment 168,673,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$3,416,561.96 /	741,841,100.00	=	0.004605517	Х	910,514,600.00	=	\$4,193,390.47	\$776,828.51
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PLYMOUTH	\$4,508,042.00 /	741,841,100.00	=	0.00607683	Х	910,514,600.00	=	\$5,533,042.44	\$1,025,000.44
4. School Districts									
SCH D OF PLYMOUTH	\$5,807,521.51 /	741,841,100.00	=	0.007828525	Х	910,514,600.00	=	\$7,127,986.31	\$1,320,464.80
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$539,825.15 /	741,841,100.00	=	0.000727683	Х	910,514,600.00	=	\$662,566.00	\$122,740.85
6. Tax Increment Total									
	\$14,271,950.62							\$17,516,985.22	\$3,245,034.60

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Anna Voigt	Title City Clerk						
Email avoigt@plymouthgov.com Phone (920) 893-3738							
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59271

Submission date: 12-01-2021 01:28 PM

Confirmation: TIW20211622O1637781568617

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59281 County

SHEBOYGAN

Muni Type CITY

Municipality SHEBOYGAN

Account No. 1623

Total Equalized TID Value Increment 276,617,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
SHEBOYGAN	\$14,496,788.84 /	3,147,701,000.00	=	0.004605516	Х	3,424,318,000.00	=	\$15,770,751.34	\$1,273,962.50
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SHEBOYGAN	\$25,967,449.00 /	3,147,701,000.00	=	0.008249656	Х	3,424,318,000.00	=	\$28,249,445.53	\$2,281,996.53
4. School Districts									
SCH D OF SHEBOYGAN AREA	\$23,515,905.00 /	2,840,767,187.00	=	0.008278012	Х	3,117,384,187.00	=	\$25,805,743.71	\$2,289,838.71
5. Technical College Distri	cts								
LAKESHORE TECHNICAL COLLEGE CLEV	\$2,290,528.50 /	3,147,701,000.00	=	0.000727683	Х	3,424,318,000.00	=	\$2,491,818.00	\$201,289.50
6. Tax Increment Total									
	\$66,270,671.34							\$72,317,758.58	\$6,047,087.24

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Kaitlyn Krueger	Title Finance Director						
Email kaitlyn.krueger@sheboyganwi.gov	Phone (920) 459-3304						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59281

Submission date: 11-24-2021 02:11 PM

Confirmation: TIW20211623O1637766925989

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 59282 County SHEBOYGAN

Muni Type CITY

Municipality SHEBOYGAN FALLS

Account No. 1624

Total Equalized TID Value Increment 73,092,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
SHEBOYGAN	\$3,249,005.42	/	705,459,400.00	=	0.004605517	X	778,552,000.00	=	\$3,585,634.47	\$336,629.05
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
SHEBOYGAN FALLS	\$3,818,486.35	/	705,459,400.00	=	0.005412766	Х	778,552,000.00	=	\$4,214,119.79	\$395,633.44
4. School Districts										
SCH D OF SHEBOYGAN FALLS	\$6,178,319.12	/	705,459,400.00	=	0.008757866	Х	778,552,000.00	=	\$6,818,454.09	\$640,134.97
5. Technical College Distric	ots									
LAKESHORE TECHNICAL COLLEGE CLEV	\$513,350.81	/	705,459,400.00	=	0.000727683	Х	778,552,000.00	=	\$566,539.06	\$53,188.25
6. Tax Increment Total										
	\$13,759,161.70								\$15,184,747.41	\$1,425,585.71

F	= 0	r	m	1
Р	C.	.2	'n	2

WI Dept of Revenue

Preparer Information								
Name Paul Seymour	Title Deputy Clerk							
Email paul@shebfalls.com	Phone (920) 467-7900							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
Do you agree with the statement above:								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 59282

Submission date: 11-23-2021 11:04 AM

Confirmation: TIW20211624O1637687073696

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 60176

County Muni Type

TAYLOR VILLAGE Municipality **RIB LAKE**

Account No. 1650

Total Equalized TID Value Increment 1,925,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TAYLOR	\$289,937.24	/	37,358,600.00	=	0.007760924	Х	39,283,900.00	=	\$304,879.36	\$14,942.12
2. Special Districts (metro,	sanitary, lake)									
RIB LAKE PUBLIC INLAND LAKE PRO & REHAB DIST	\$6,000.00	/	37,358,600.00	=	0.000160606	Χ	39,283,900.00	=	\$6,309.23	\$309.23
3. Tax District (town, village	e, city)									
RIB LAKE	\$197,890.00	/	37,358,600.00	=	0.00529704	Х	39,283,900.00	=	\$208,088.39	\$10,198.39
4. School Districts										
SCH D OF RIB LAKE	\$290,624.43	/	37,358,600.00	=	0.007779318	Х	39,283,900.00	=	\$305,601.95	\$14,977.52
5. Technical College District	ots									
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$45,228.71	/	37,358,600.00	=	0.001210664	Х	39,283,900.00	=	\$47,559.60	\$2,330.89
6. Tax Increment Total										
	\$829,680.38								\$872,438.53	\$42,758.15

F	0	rı	n	١
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information							
Name Kristin Lueck	Title Clerk/Treasurer						
Email villagehall@riblakewisconsin.com	Phone (715) 427-5404						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 60176

Submission date: 11-23-2021 12:38 PM

Confirmation: TIW20211650O1637692725594

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 60181 County

Muni Type

TAYLOR VILLAGE

Municipality STETSONVILLE

Account No. 1651

Total Equalized TID Value Increment 804,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
TAYLOR	\$188,620.70 /	24,303,900.00	=	0.007760923	Х	25,108,700.00	=	\$194,866.69	\$6,245.99
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
STETSONVILLE	\$78,421.00 /	24,303,900.00	=	0.003226684	Х	25,108,700.00	=	\$81,017.84	\$2,596.84
4. School Districts									
SCH D OF MEDFORD AREA	\$147,413.60 /	24,303,900.00	=	0.00606543	Х	25,108,700.00	=	\$152,295.06	\$4,881.46
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$29,423.85 /	24,303,900.00	=	0.001210664	Х	25,108,700.00	=	\$30,398.20	\$974.35
6. Tax Increment Total									
	\$443,879.15							\$458,577.79	\$14,698.64

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information						
Name Jan Tischendorf	Title Clerk/Treasurer					
Email stetsdata@tds.net	Phone (715) 678-2191					
Comments						
Signature Statement						
Olginatar o Giatomoni						
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.					
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 60181

Submission date: 11-23-2021 12:38 PM

Confirmation: TIW20211651O1637692717142

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 60251

County Muni Type

Municipality

TAYLOR CITY

MEDFORD

Account No. 1652

Total Equalized TID Value Increment 56,585,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
TAYLOR	\$2,213,130.53 /	285,163,300.00	=	0.007760923	X	341,748,500.00	=	\$2,652,283.79	\$439,153.26
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MEDFORD	\$1,759,502.00 /	285,163,300.00	=	0.006170156	Х	341,748,500.00	=	\$2,108,641.56	\$349,139.56
4. School Districts									
SCH D OF MEDFORD AREA	\$1,729,637.94 /	285,163,300.00	=	0.00606543	X	341,748,500.00	=	\$2,072,851.60	\$343,213.66
5. Technical College Distri	cts								
NORTH CENTRAL TECHNICAL COLLEGE WAUS	\$345,236.90 /	285,163,300.00	=	0.001210664	Х	341,748,500.00	=	\$413,742.61	\$68,505.71
6. Tax Increment Total									
	\$6,047,507.37							\$7,247,519.56	\$1,200,012.19

F	= 0	r	m	1
Р	C.	.2	'n	2

WI Dept of Revenue

Preparer Information					
Name Kathy Tom	Title Treasurer				
Email ktom@medfordwi.us	Phone (715) 748-4321				
Comments					
Signature Statement					
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.				
Do you agree with the statement above?					
XYES	SNO				

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 60251

Submission date: 12-09-2021 11:45 AM

Confirmation: TIW20211652O1637766460544

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61181 County

Municipality

TREMPEALEAU

Muni Type VILLAGE

STRUM

Account No. 1672

Total Equalized TID Value Increment 3,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TREMPEALEAU	\$398,462.33	/	66,929,400.00	=	0.005953472	Х	66,933,200.00	=	\$398,484.93	\$22.60
2. Special Districts (metro,	sanitary, lake)									
CRYSTAL LAKE DISTRICT	\$64,665.00	/	66,929,400.00	=	0.000966167	X	66,933,200.00	=	\$64,668.65	\$3.65
3. Tax District (town, village, city)										
STRUM	\$336,963.62	/	66,929,400.00	=	0.005034613	Х	66,933,200.00	=	\$336,982.76	\$19.14
4. School Districts										
SCH D OF ELEVA-STRUM	\$686,321.47	/	66,929,400.00	=	0.010254409	Х	66,933,200.00	=	\$686,360.41	\$38.94
5. Technical College District	ots									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$54,269.61	/	66,929,400.00	=	0.000810849	Х	66,933,200.00	=	\$54,272.72	\$3.11
6. Tax Increment Total										
	\$1,540,682.03								\$1,540,769.47	\$87.44

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Michelle Loken	Title Clerk/Treasurer						
Email strumvillage@tcc.coop	Phone (715) 695-3601						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61181

Submission date: 12-01-2021 09:21 AM

Confirmation: TIW20211672O1638284469468

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61186 County

Muni Type

TREMPEALEAU

Muni Type VILLAGE

Municipality TREMPEALEAU

Account No. 1673

Total Equalized TID Value Increment 3,334,900

Taxing Jurisdiction	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TREMPEALEAU	\$898,055.70	/	150,845,700.00	=	0.005953472	Χ	154,180,600.00	=	\$917,909.89	\$19,854.19
2. Special Districts (metro, sanitary, lake)										
V TREMPEALEAU PUB INLAND LAKE & REHAB DIST	\$0.00	/	150,845,700.00	=	0	Х	154,180,600.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)										
TREMPEALEAU	\$731,433.00	/	150,845,700.00	=	0.004848882	Х	154,180,600.00	=	\$747,603.54	\$16,170.54
4. School Districts										
SCH D OF GALESVILLE-ETTRICK	\$1,423,540.93	/	150,845,700.00	=	0.009437067	Х	154,180,600.00	=	\$1,455,012.65	\$31,471.72
5. Technical College Districts										
WESTERN TECHNICAL COLLEGE LACR	\$191,832.13	/	150,845,700.00	=	0.001271711	Х	154,180,600.00	=	\$196,073.17	\$4,241.04
6. Tax Increment Total										
	\$3,244,861.76								\$3,316,599.25	\$71,737.49

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Isaac Pooler	Title Treasurer							
Email treasurer@trempealeauwi.com	Phone (608) 534-6434							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61186

Submission date: 12-06-2021 12:06 PM

Confirmation: TIW20211673O1637702806030

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61201 County

Muni Type

TREMPEALEAU

CITY

Municipality ARCADIA

Account No. 1674

Total Equalized TID Value Increment 46,035,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TREMPEALEAU	\$975,303.19 /	/	163,820,900.00	=	0.005953472	Х	209,855,900.00	=	\$1,249,371.22	\$274,068.03
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ARCADIA	\$912,654.00 /	/	163,820,900.00	=	0.005571047	Х	209,855,900.00	=	\$1,169,117.08	\$256,463.08
4. School Districts										
SCH D OF ARCADIA	\$1,753,401.11 /	/	163,820,900.00	=	0.010703159	X	209,855,900.00	=	\$2,246,121.06	\$492,719.95
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$208,332.83 /	/	163,820,900.00	=	0.001271711	Х	209,855,900.00	=	\$266,876.06	\$58,543.23
6. Tax Increment Total										
	\$3,849,691.13								\$4,931,485.42	\$1,081,794.29

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information								
Name	Angela Berg	Title Clerk-Treasurer							
Email	cityclerk@cityofarcadiawi.com	Phone (608) 323-3359							

Comments

Levy includes \$100,000 for debt service which the city has not levied for previously.

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61201

Submission date: 12-06-2021 08:24 AM

Confirmation: TIW20211674O1638563348485

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61206 County

Muni Type

TREMPEALEAU

CITY

Municipality BLAIR

Account No. 1675

Total Equalized TID Value Increment 9,296,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TREMPEALEAU	\$637,175.73	/	107,025,900.00	=	0.005953472	Х	116,322,700.00	=	\$692,523.94	\$55,348.21
2. Special Districts (metro,	sanitary, lake)									
LAKE HENRY PRO & REHAB DISTRICT	\$0.00	/	107,025,900.00	=	0	Х	116,322,700.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
BLAIR	\$574,049.00	/	107,025,900.00	=	0.005363646	Х	116,322,700.00	=	\$623,913.78	\$49,864.78
4. School Districts										
SCH D OF BLAIR-TAYLOR	\$927,134.00	/	106,930,629.00	=	0.008670425	X	116,227,429.00	=	\$1,007,741.21	\$80,607.21
5. Technical College Distric	cts									
WESTERN TECHNICAL COLLEGE LACR	\$136,106.01	/	107,025,900.00	=	0.001271711	Х	116,322,700.00	=	\$147,928.86	\$11,822.85
6. Tax Increment Total										
	\$2,274,464.74								\$2,472,107.79	\$197,643.05

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Susan Frederixon	Title clerk/deputy treasurer							
Email blairclerk@cityofblair.org	Phone (608) 989-2517							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61206

Submission date: 11-24-2021 12:05 PM

Confirmation: TIW20211675O1637777106807

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61231

County

Muni Type

County TREMPEALEAU

pe CITY

Municipality GALESVILLE

Account No. 1676

Total Equalized TID Value Increment 12,071,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TREMPEALEAU	\$617,280.41	/	103,684,100.00	=	0.005953472	Х	115,755,900.00	=	\$689,149.51	\$71,869.10
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)									
LAKE MARINUKA PUBLIC PRO & REHAB DISTRICT	\$0.00	/	103,684,100.00	=	0	Х	115,755,900.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
GALESVILLE	\$782,856.00	/	103,684,100.00	=	0.007550396	Х	115,755,900.00	=	\$874,002.88	\$91,146.88
4. School Districts										
SCH D OF GALESVILLE-ETTRICK	\$978,473.77	/	103,684,100.00	=	0.009437067	Х	115,755,900.00	=	\$1,092,396.18	\$113,922.41
5. Technical College Distric	cts									
WESTERN TECHNICAL COLLEGE LACR	\$131,856.21	/	103,684,100.00	=	0.001271711	Х	115,755,900.00	=	\$147,208.05	\$15,351.84
6. Tax Increment Total										
	\$2,510,466.39								\$2,802,756.62	\$292,290.23

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information									
Name Jennifer Hess	Title Clerk/Treasurer								
Email jjhess@cityofgalesville.com	Phone (608) 582-2475								
Comments	Comments								
Cimpatura Ctatament									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61231

Submission date: 12-03-2021 02:29 PM

Confirmation: TIW20211676O1637695151440

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61241 County

Muni Type

TREMPEALEAU

CITY

Municipality INDEPENDENCE

Account No. 1677

Total Equalized TID Value Increment 13,822,400

Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Apportioned Levy			=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
\$513,020.83	/	86,171,700.00	=	0.005953472	Х	99,994,100.00	=	\$595,312.07	\$82,291.24
anitary, lake)									
\$20,000.00	/	86,171,700.00	=	0.000232095	Х	99,994,100.00	=	\$23,208.13	\$3,208.13
city)									
\$724,074.00	/	86,171,700.00	=	0.008402689	Х	99,994,100.00	=	\$840,219.32	\$116,145.32
\$484,635.58	/	85,390,248.00	=	0.005675538	Х	99,212,648.00	=	\$563,085.15	\$78,449.57
S									
\$109,585.50	/	86,171,700.00	=	0.001271711	Х	99,994,100.00	=	\$127,163.60	\$17,578.10
\$1,851,315.91								\$2,148,988.27	\$297,672.36
	\$513,020.83 anitary, lake) \$20,000.00 city) \$724,074.00 \$484,635.58	\$513,020.83 / anitary, lake) \$20,000.00 / city) \$724,074.00 / \$484,635.58 / s \$109,585.50 /	### Equalized Value (less TID Value Increment) ### \$513,020.83	Apportioned Levy / Equalized Value (less TID Value Increment) = \$513,020.83 / \$6,171,700.00 = \$20,000.00 / \$6,171,700.00 = \$724,074.00 / \$6,171,700.00 = \$484,635.58 / \$85,390,248.00 = \$109,585.50 / \$6,171,700.00 = \$109,585.50 / \$6,171,700.00 = \$109,585.50 / \$109,585.5	Apportioned Levy / (less TID Value Increment) = Interim Rate Increment)	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate X \$513,020.83 / 86,171,700.00 = 0.005953472 X anitary, lake)	Apportioned Levy / (less TID Value Interim Rate X (with TID Value Increment)	Apportioned Levy / Equalized Value (less TID Value Increment) = Interim Rate	Apportioned Levy

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Lenice Pronschinske	Title CLERK/TREASURER					
Email indchall@triwest.net Phone (715) 985-3055						
Comments	Comments					
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61241

Submission date: 12-07-2021 03:11 PM

Confirmation: TIW20211677O1637768110458

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61265

County

Muni Type

ty TREMPEALEAU

CITY

Municipality OSSEO

Account No. 1678

Total Equalized TID Value Increment 38,492,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
TREMPEALEAU	\$780,918.75	/	131,170,300.00	=	0.005953472	Х	169,662,800.00	=	\$1,010,082.73	\$229,163.98
2. Special Districts (metro,	sanitary, lake)									
C OSSEO PUBLIC INLAND & REHAB DISTRICT	\$0.00	/	131,170,300.00	=	0	Х	169,662,800.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
OSSEO	\$984,784.00	/	131,170,300.00	=	0.007507675	Х	169,662,800.00	=	\$1,273,773.16	\$288,989.16
4. School Districts										
SCH D OF OSSEO-FAIRCHILD	\$1,245,607.00	/	131,170,300.00	=	0.009496105	Х	169,662,800.00	=	\$1,611,135.76	\$365,528.76
5. Technical College Distric	ots									
CHIPPEWA VALLEY TECHNICAL COLLEGE EAUC	\$106,359.25	/	131,170,300.00	=	0.000810849	Х	169,662,800.00	=	\$137,570.91	\$31,211.66
6. Tax Increment Total										
	\$3,117,669.00								\$4,032,562.56	\$914,893.56

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Blyann E. Johnson	Title City Clerk Treasurer					
Email cityofosseo@triwest.net Phone (715) 597-2207						
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61265

Submission date: 11-29-2021 02:45 PM

Confirmation: TIW20211678O1637692748937

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 61291 County

Muni Type

TREMPEALEAU

Muni Type CITY

Municipality WHITEHALL

Account No. 1679

Total Equalized TID Value Increment 18,454,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
TREMPEALEAU	\$579,643.76	97,362,300.00	=	0.005953472	X	115,817,100.00	=	\$689,513.86	\$109,870.10
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WHITEHALL	\$866,865.00 /	97,362,300.00	=	0.008903498	Х	115,817,100.00	=	\$1,031,177.32	\$164,312.32
4. School Districts									
SCH D OF WHITEHALL	\$867,392.00 /	96,126,328.00	=	0.009023459	Х	114,581,128.00	=	\$1,033,918.11	\$166,526.11
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$123,816.70	97,362,300.00	=	0.001271711	Х	115,817,100.00	=	\$147,285.88	\$23,469.18
6. Tax Increment Total									
	\$2,437,717.46							\$2,901,895.17	\$464,177.71

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Title Clerk-Treasurer							
Email kwitte@whitehallwi.com Phone (715) 538-4353							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 61291

Submission date: 11-30-2021 09:07 AM

Confirmation: TIW20211679O1637767684832

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 62116 County VERNON

Muni Type VILLAGE

DE SOTO

Municipality

Account No. 1704

Total Equalized TID Value Increment 397,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
VERNON	\$87,318.05	/	17,786,300.00	=	0.004909287	X	18,183,600.00	=	\$89,268.51	\$1,950.46
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
DE SOTO	\$56,556.80	/	17,786,300.00	=	0.003179796	Х	18,183,600.00	=	\$57,820.14	\$1,263.34
4. School Districts										
SCH D OF DE SOTO AREA	\$144,584.59	/	17,786,300.00	=	0.008128986	Х	18,183,600.00	=	\$147,814.23	\$3,229.64
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$22,619.03	/	17,786,300.00	=	0.001271711	Х	18,183,600.00	=	\$23,124.28	\$505.25
6. Tax Increment Total										
	\$311,078.47								\$318,027.16	\$6,948.69

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Carrie Brudos	Title Clerk/Treasurer						
Email vdesoto@mwt.net	Phone (608) 648-2700						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
Do you agree with the statement above?							
WYES THO							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62116

Submission date: 12-15-2021 08:10 AM

Confirmation: TIW20211704A1639577441752

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 62146 County VERNON

Muni Type VILLAGE

LA FARGE

Municipality

Account No. 1706

Total Equalized TID Value Increment 11,252,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
VERNON	\$149,758.78	/	30,505,200.00	=	0.004909287	X	41,757,500.00	=	\$204,999.55	\$55,240.77
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
LA FARGE	\$164,679.00	/	30,505,200.00	=	0.005398391	Х	41,757,500.00	=	\$225,423.31	\$60,744.31
4. School Districts										
SCH D OF LA FARGE	\$308,433.00	/	30,505,200.00	=	0.010110834	Х	41,757,500.00	=	\$422,203.15	\$113,770.15
5. Technical College Distri	cts									
WESTERN TECHNICAL COLLEGE LACR	\$38,793.80	/	30,505,200.00	=	0.001271711	Х	41,757,500.00	=	\$53,103.47	\$14,309.67
6. Tax Increment Total										
	\$661,664.58								\$905,729.48	\$244,064.90

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kimberly S Walker	Title Village Clerk/Treasurer							
Email vlglaf@mwt.net	Phone (608) 625-4422							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62146

Submission date: 12-15-2021 09:36 AM

Confirmation: TIW20211706A1639582613274

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 62165 County VERNON

Muni Type VILLAGE

ONTARIO

Municipality

Account No. 1707

Total Equalized TID Value Increment 3,408,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
VERNON	\$86,689.17	/ 17,658,200.00	=	0.004909287	X	21,066,900.00	=	\$103,423.46	\$16,734.29
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
ONTARIO	\$152,095.00	/ 17,658,200.00	=	0.008613279	Х	21,066,900.00	=	\$181,455.09	\$29,360.09
4. School Districts									
SCH D OF NORWALK-ONTARIO-WILTO	9N \$142,951.16	/ 17,658,200.00	=	0.008095455	Х	21,066,900.00	=	\$170,546.14	\$27,594.98
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$22,456.13	/ 17,658,200.00	=	0.001271711	Х	21,066,900.00	=	\$26,791.01	\$4,334.88
6. Tax Increment Total									
	\$404,191.46							\$482,215.70	\$78,024.24

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Terri Taylor	Title Clerk/Treasurer							
Email villageofontario@centurytel.net	Phone (608) 337-4381							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62165

Submission date: 12-15-2021 11:30 AM

Confirmation: TIW20211707A1639589404154

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
AMENDED

Co-muni Code 62186 County VERNON

Muni Type VILLAGE

VIOLA

Municipality

Account No. 1710

Total Equalized TID Value Increment 5,699,900

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
VERNON	\$31,804.32	/	6,478,400.00	=	0.004909286	X	12,178,300.00	=	\$59,786.76	\$27,982.44
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
VIOLA	\$22,415.13	/	6,478,400.00	=	0.003459979	Х	12,178,300.00	=	\$42,136.66	\$19,721.53
4. School Districts										
SCH D OF KICKAPOO AREA (VIOLA)	\$52,789.98	/	6,478,400.00	=	0.008148614	X	12,178,300.00	=	\$99,236.27	\$46,446.29
5. Technical College Distri	cts									
SOUTHWEST WISCONSIN TECH COLLEGE FENN	\$7,301.79	/	6,478,400.00	=	0.001127098	Х	12,178,300.00	=	\$13,726.14	\$6,424.35
6. Tax Increment Total										
	\$114,311.22								\$214,885.83	\$100,574.61

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Dana George	Title Clerk/Treasurer							
Email violaclerk@vi.viola.wi.gov	Phone (608) 627-1831							
Comments	Commonto							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?								
bo you agree with the statement above:								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62186

Submission date: 12-15-2021 07:46 AM

Confirmation: TIW20211710A1639575965333

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 62236 County

Muni Type

Municipality

VERNON

HILLSBORO

CITY

Account No.

Total Equalized TID Value Increment 28,640,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
VERNON	\$271,491.91	/	55,301,700.00	=	0.004909287	Х	83,941,900.00	=	\$412,094.88	\$140,602.97
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
HILLSBORO	\$485,339.00	/	55,301,700.00	=	0.008776204	Х	83,941,900.00	=	\$736,691.24	\$251,352.24
4. School Districts										
SCH D OF HILLSBORO	\$491,870.27	/	55,301,700.00	=	0.008894307	X	83,941,900.00	=	\$746,605.03	\$254,734.76
5. Technical College Distriction	cts									
WESTERN TECHNICAL COLLEGE LACR	\$70,327.78	/	55,301,700.00	=	0.001271711	Х	83,941,900.00	=	\$106,749.84	\$36,422.06
6. Tax Increment Total										
	\$1,319,028.96								\$2,002,140.99	\$683,112.03

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name SHEILA SCHRAUFNAGEL	Title City Clerk						
Email clerk@hillsborowi.com	Phone (608) 489-2521						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62236

Submission date: 12-15-2021 08:47 AM

Confirmation: TIW20211711A1639579570391

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 62286 County VERNON

Muni Type CITY

VIROQUA

Municipality

Account No. 1712

Total Equalized TID Value Increment 32,690,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
VERNON	\$1,490,239.55 /	303,555,200.00	=	0.004909287	Х	336,245,200.00	=	\$1,650,724.19	\$160,484.64
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
VIROQUA	\$2,505,277.00 /	303,555,200.00	=	0.008253118	Х	336,245,200.00	=	\$2,775,071.31	\$269,794.31
4. School Districts									
SCH D OF VIROQUA AREA	\$2,445,257.66 /	303,555,200.00	=	0.008055397	X	336,245,200.00	=	\$2,708,588.58	\$263,330.92
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$386,034.47 /	303,555,200.00	=	0.001271711	X	336,245,200.00	=	\$427,606.72	\$41,572.25
6. Tax Increment Total									
	\$6,826,808.68							\$7,561,990.80	\$735,182.12

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information							
Name Lori Polhamus	Title City Clerk						
Email Ipolhamus@viroqua-wisconsin.com	Phone (608) 637-7154						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62286

Submission date: 12-15-2021 07:43 AM

Confirmation: TIW20211712A1639575818353

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 62291 County VERNON

Muni Type CITY

WESTBY

Municipality

Account No. 1713

Total Equalized TID Value Increment 20,174,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
VERNON	\$668,457.33	136,161,800.00	=	0.004909287	Х	156,335,800.00	=	\$767,497.31	\$99,039.98
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WESTBY	\$615,673.00 /	136,161,800.00	=	0.004521628	Х	156,335,800.00	=	\$706,892.33	\$91,219.33
4. School Districts									
SCH D OF WESTBY AREA	\$1,477,426.93	136,161,800.00	=	0.010850524	X	156,335,800.00	=	\$1,696,325.35	\$218,898.42
5. Technical College Distri	cts								
WESTERN TECHNICAL COLLEGE LACR	\$173,158.45	136,161,800.00	=	0.001271711	X	156,335,800.00	=	\$198,813.96	\$25,655.51
6. Tax Increment Total									
	\$2,934,715.71							\$3,369,528.95	\$434,813.24

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Roxy Wedwick	Title City Clerk/Treasurer						
Email rwedwick@cityofwestby.org	Phone (608) 634-3214						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 62291

Submission date: 12-15-2021 07:02 AM

Confirmation: TIW20211713A1639573343836

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 63221

County Muni Type

Municipality

VILAS

CITY

EAGLE RIVER

Account No. 1729

Total Equalized TID Value Increment 22,173,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
VILAS	\$419,436.68 /	189,484,900.00	=	0.002213563	X	211,658,700.00	=	\$468,519.87	\$49,083.19
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
EAGLE RIVER	\$1,579,556.00 /	189,484,900.00	=	0.008336052	Х	211,658,700.00	=	\$1,764,397.93	\$184,841.93
4. School Districts									
SCH D OF NORTHLAND PINES (EAGLE RIVER)	\$1,023,163.55 /	189,484,900.00	=	0.00539971	Х	211,658,700.00	=	\$1,142,895.60	\$119,732.05
5. Technical College Distri	cts								
NICOLET TECHNICAL COLLEGE RHIN	\$36,491.23 /	189,484,900.00	=	0.000192581	Х	211,658,700.00	=	\$40,761.44	\$4,270.21
6. Tax Increment Total									
	\$3,058,647.46							\$3,416,574.84	\$357,927.38

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Becky Bolte	Title Clerk						
Email bbolte@ci.eagle-river.wi.us	Phone (715) 479-8682						
Comments							
Ciamatuma Otatamamt							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 63221

Submission date: 12-14-2021 03:07 PM

Confirmation: TIW20211729O1637693090730

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64115 County WALWORTH

Muni Type VILLAGE

Muni Type VILLAGE

Municipality BLOOMFIELD

Account No. 1986

Total Equalized TID Value Increment 92,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WALWORTH	\$1,631,967.43 /	464,238,700.00	=	0.003515363	Х	464,330,900.00	=	\$1,632,291.67	\$324.24
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BLOOMFIELD	\$2,135,600.00 /	464,238,700.00	=	0.00460022	Χ	464,330,900.00	=	\$2,136,024.29	\$424.29
4. School Districts									
UHS D OF LAKE GENEVA-GENOA CITY U HIGH	\$1,670,686.00 /	464,238,700.00	=	0.003598765	Х	464,330,900.00	=	\$1,671,017.79	\$331.79
SCH D OF LAKE GENEVA J 1	\$1,517,046.00 /	277,133,965.00	=	0.005474053	Х	277,226,165.00	=	\$1,517,550.72	\$504.72
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$334,920.64 /	464,238,700.00	=	0.000721441	Х	464,330,900.00	=	\$334,987.35	\$66.71
6. Tax Increment Total									
	\$7,290,220.07							\$7,291,871.82	\$1,651.75

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information						
Name Candace Kinsch	Title Clerk					
Email ckinsch@bloomfield-wi.us	Phone (262) 279-6039					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64115

Submission date: 12-01-2021 02:44 PM

Confirmation: TIW20211986O1637703466354

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 64116

County WALWORTH

VILLAGE

Muni Type Municipality DARIEN Account No. 1747

Total Equalized TID Value Increment 7,247,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WALWORTH	\$446,920.04	/	133,948,000.00	=	0.003336519	X	141,195,500.00	=	\$471,101.47	\$24,181.43
2. Special Districts (metro,	sanitary, lake)									
WALWORTH COUNTY METRO SEWER DISTRICT	\$0.00	/	133,948,000.00	=	0	Х	141,195,500.00	=	\$0.00	\$0.00
3. Tax District (town, village, city)										
DARIEN	\$1,603,722.00	/	133,948,000.00	=	0.011972721	Х	141,195,500.00	=	\$1,690,494.33	\$86,772.33
4. School Districts										
SCH D OF DELAVAN-DARIEN	\$1,022,482.25	/	133,948,000.00	=	0.007633427	X	141,195,500.00	=	\$1,077,805.54	\$55,323.29
5. Technical College Distric	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$96,635.52	/	133,948,000.00	=	0.000721441	Х	141,195,500.00	=	\$101,864.22	\$5,228.70
6. Tax Increment Total										
	\$3,169,759.81								\$3,341,265.56	\$171,505.75

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Lindsey Peterson	Title Administrator-Clerk/Treasurer						
Email Ipeterson@darienwi.com	Phone (262) 882-5055						
Comments							
0'							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64116

Submission date: 11-23-2021 12:28 PM

Confirmation: TIW20211747O1637692114961

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 64121

County WALWORTH Muni Type

VILLAGE

Municipality EAST TROY Account No. 1748

Total Equalized TID Value Increment 36,515,600

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WALWORTH	\$1,308,965.45 /	392,314,700.00	=	0.003336519	Х	428,830,300.00	=	\$1,430,800.44	\$121,834.99
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
EAST TROY	\$2,411,612.00 /	392,314,700.00	=	0.006147136	Х	428,830,300.00	=	\$2,636,078.18	\$224,466.18
4. School Districts									
SCH D OF EAST TROY COMMUNITY	\$3,271,489.50 /	392,314,700.00	=	0.008338942	X	428,830,300.00	=	\$3,575,991.00	\$304,501.50
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$283,031.75 /	392,314,700.00	=	0.000721441	Х	428,830,300.00	=	\$309,375.76	\$26,344.01
6. Tax Increment Total									
	\$7,275,098.70							\$7,952,245.38	\$677,146.68

Fo	r	m	١
PC.	-2	n	2

WI Dept of Revenue

Preparer Information							
Name Kathy Strebe Title Deputy Treasurer/Accounting Assistant							
Email kstrebe@easttroywi.gov	Phone (262) 684-5481						
Comments							
0'							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64121

Submission date: 11-30-2021 02:48 PM

Confirmation: TIW20211748O1637763728411

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 64126

County WALWORTH Muni Type

Municipality

VILLAGE

FONTANA

Account No. 1749

Total Equalized TID Value Increment 113,256,800

Taxing Jurisdiction	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WALWORTH	\$4,689,058.03 /	1,405,374,300.00	=	0.003336519	Х	1,518,631,100.00	=	\$5,066,941.52	\$377,883.49
2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, village, city)									
FONTANA	\$4,204,242.00 /	1,405,374,300.00	=	0.002991546	Х	1,518,631,100.00	=	\$4,543,054.79	\$338,812.79
4. School Districts									
SCH D OF FONTANA J 8	\$3,016,030.21 /	1,297,600,059.00	=	0.002324314	X	1,410,856,859.00	=	\$3,279,274.35	\$263,244.14
UHS D OF BIGFOOT UNION HIGH	\$4,158,321.11 /	1,405,374,300.00	=	0.002958871	X	1,518,631,100.00	=	\$4,493,433.52	\$335,112.41
5. Technical College Districts									
GATEWAY TECHNICAL COLLEGE KENO	\$1,013,894.06 /	1,405,374,300.00	=	0.000721441	Х	1,518,631,100.00	=	\$1,095,602.74	\$81,708.68
6. Tax Increment Total									
	\$17,081,545.41							\$18,478,306.92	\$1,396,761.51

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name SCOTT VILONA	Title treasurer							
Email scott@villageoffontana.com	Phone (262) 275-6136							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64126

Submission date: 11-23-2021 02:56 PM

Confirmation: TIW20211749O1637701009075

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64153 County

Muni Type

WALWORTH

Muni Type VILLAGE

Municipality MUKWONAGO

Account No. 1751

Total Equalized TID Value Increment 38,043,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WALWORTH	\$87,350.51	/	26,396,500.00	=	0.00330917	Χ	64,440,100.00	=	\$213,243.25	\$125,892.74
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MUKWONAGO	\$187,677.65	/	26,396,500.00	=	0.007109945	Х	64,440,100.00	=	\$458,165.57	\$270,487.92
4. School Districts										
SCH D OF MUKWONAGO	\$0.00	/	0.00	=	0	X	40,157,985.00	=	\$0.00	\$0.00
5. Technical College Distri	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$17,300.36	/	23,980,300.00	=	0.000721441	Х	64,440,100.00	=	\$46,489.73	\$29,189.37
6. Tax Increment Total										
	\$292,328.52								\$717,898.55	\$425,570.03

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Diana Doherty	Title Finance Director								
Email ddoherty@villageofmukwonago.com	Phone (262) 363-6420								
Comments									
Oi-marking Otatamant									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64153

Submission date: 11-23-2021 01:23 PM

Confirmation: TIW20211751O1637695437188

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64181 County

Muni Type

Municipality

WALWORTH

VILLAGE

SHARON

Account No. 1752

Total Equalized TID Value Increment 41,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)		Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WALWORTH	\$282,441.34 /	84,651,500.0	00 =	0.003336519	Х	84,692,500.00	=	\$282,578.14	\$136.80
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SHARON	\$924,916.00 /	84,651,500.0	00 =	0.010926162	Х	84,692,500.00	=	\$925,363.98	\$447.98
4. School Districts									
SCH D OF SHARON J 11	\$753,604.74 /	84,651,500.0	00 =	0.008902438	Х	84,692,500.00	=	\$753,969.73	\$364.99
UHS D OF BIGFOOT UNION HIGH	\$250,472.86 /	84,651,500.0	00 =	0.002958871	X	84,692,500.00	=	\$250,594.18	\$121.32
5. Technical College Distri	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$61,071.03 /	84,651,500.0	00 =	0.000721441	Х	84,692,500.00	=	\$61,100.64	\$29.61
6. Tax Increment Total									
	\$2,272,505.97							\$2,273,606.67	\$1,100.70

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Dawn Redenius	Title Clerk/Treas Assist								
Email dawnredenius@gmail.com	Phone (262) 736-4888								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64181

Submission date: 12-22-2021 11:49 AM

Confirmation: TIW20211752O1640195143824

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64191 County

Muni Type

WALWORTH

Muni Type VILLAGE

Municipality WALWORTH

Account No. 1753

Total Equalized TID Value Increment 1,607,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WALWORTH	\$874,346.80 /	262,053,600.00	=	0.003336519	Х	263,661,500.00	=	\$879,711.60	\$5,364.80
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WALWORTH	\$1,777,717.00 /	262,053,600.00	=	0.006783792	Х	263,661,500.00	=	\$1,788,624.77	\$10,907.77
4. School Districts									
UHS D OF BIGFOOT UNION HIGH	\$775,382.77 /	262,053,600.00	=	0.002958871	Х	263,661,500.00	=	\$780,140.37	\$4,757.60
SCH D OF WALWORTH J 1	\$1,306,587.00 /	262,053,600.00	=	0.004985953	X	263,661,500.00	=	\$1,314,603.85	\$8,016.85
5. Technical College Distric	cts								
GATEWAY TECHNICAL COLLEGE KENO	\$189,056.10 /	262,053,600.00	=	0.000721441	Х	263,661,500.00	=	\$190,216.22	\$1,160.12
6. Tax Increment Total									
	\$4,923,089.67							\$4,953,296.81	\$30,207.14

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Lisa Rogers	Title Clerk Treasurer							
Email clerk@villageofwalworth.us Phone (262) 581-7738								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64191

Submission date: 12-08-2021 02:24 PM

Confirmation: TIW20211753O1638994813541

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64206 County WALWORTH

Muni Type

CITY

Municipality BURLINGTON

Account No. 1755

Total Equalized TID Value Increment 9,048,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WALWORTH	\$6,995.34	/	2,335,600.00	=	0.002995093	Х	11,383,800.00	=	\$34,095.54	\$27,100.20
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
BURLINGTON	\$15,000.00	/	2,335,600.00	=	0.006422333	Х	11,383,800.00	=	\$73,110.55	\$58,110.55
4. School Districts										
SCH D OF BURLINGTON AREA	\$18,846.03	/	2,335,600.00	=	0.008069032	X	11,383,800.00	=	\$91,856.25	\$73,010.22
5. Technical College Distric	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$1,685.00	/	2,335,600.00	=	0.000721442	Х	11,383,800.00	=	\$8,212.75	\$6,527.75
6. Tax Increment Total										
	\$42,526.37								\$207,275.09	\$164,748.72

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Steven J. DeQuaker	Title FINANCE DIRECTOR TREASURER								
Email sdequaker@burlington-wi.gov	Phone (262) 342-1170								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64206

Submission date: 12-08-2021 12:35 PM

Confirmation: TIW20211755O1638201729359

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 64216

County WALWORTH

CITY

Muni Type Municipality DELAVAN Account No. 1756

Total Equalized TID Value Increment 59,819,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
	COI. A		* * * * *		COI. C		* * * * *	Щ.	****	COI. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WALWORTH	\$2,339,802.34	/	701,270,500.00	=	0.003336519	Χ	761,089,800.00	=	\$2,539,390.58	\$199,588.24
2. Special Districts (metro,	sanitary, lake)									
WALWORTH COUNTY METRO SEWER DISTRICT	\$0.00	/	701,270,500.00	=	0	Х	761,089,800.00	=	\$0.00	\$0.00
LAKE COMUS PRO & REHAB DISTRICT	\$0.00	/	701,270,500.00	=	0	X	761,089,800.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
DELAVAN	\$6,119,272.00	/	701,270,500.00	=	0.008725979	Χ	761,089,800.00	=	\$6,641,253.61	\$521,981.61
4. School Districts										
SCH D OF DELAVAN-DARIEN	\$5,353,097.04	/	701,270,500.00	=	0.007633427	X	761,089,800.00	=	\$5,809,723.43	\$456,626.39
5. Technical College Distric	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$505,925.00	/	701,270,500.00	=	0.000721441	Х	761,089,800.00	=	\$549,081.39	\$43,156.39
6. Tax Increment Total										
	\$14,318,096.38								\$15,539,449.01	\$1,221,352.63

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Kelly Hayden	Title Finance Director					
Email financedir@ci.delavan.wi.us	Phone (262) 728-5585					
Comments						
Signatura Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64216

Submission date: 11-23-2021 12:56 PM

Confirmation: TIW20211756O1637692861115

Form	
PC-202	

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64221

County

Muni Type

WALWORTH

e CITY

Municipality ELKHORN

Account No. 1757

Total Equalized TID Value Increment 12,402,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WALWORTH	\$3,203,298.78	/	960,072,100.00	=	0.003336519	Х	972,474,300.00	=	\$3,244,678.98	\$41,380.20
2. Special Districts (metro,	sanitary, lake)									
WALWORTH COUNTY METRO SEWER DISTRICT	\$0.00	/	960,072,100.00	=	0	Х	972,474,300.00	=	\$0.00	\$0.00
3. Tax District (town, village	e, city)									
ELKHORN	\$7,060,122.00	/	960,072,100.00	=	0.007353741	Х	972,474,300.00	=	\$7,151,324.13	\$91,202.13
4. School Districts										
SCH D OF ELKHORN AREA	\$7,732,304.00	/	960,072,100.00	=	0.008053878	Х	972,474,300.00	=	\$7,832,189.37	\$99,885.37
5. Technical College Distric	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$692,634.98	/	960,072,100.00	=	0.000721441	Х	972,474,300.00	=	\$701,582.83	\$8,947.85
6. Tax Increment Total										
	\$18,688,359.76								\$18,929,775.31	\$241,415.55

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information						
Name James Heilman	Title City Administrator					
Email jheilman@cityofelkhorn.org	Phone (262) 723-2219					
Comments						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
Do you agree with the statement above:						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64221

Submission date: 11-29-2021 01:27 PM

Confirmation: TIW20211757O1638214026853

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 64291 County WALV

Muni Type CITY

WALWORTH

Muni Type CITY

Municipality WHITEWATER

Account No. 1759

Total Equalized TID Value Increment 65,062,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WALWORTH	\$2,126,126.65	/	637,229,000.00	=	0.003336519	Х	702,291,600.00	=	\$2,343,209.27	\$217,082.62
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
WHITEWATER	\$3,795,413.28	/	637,229,000.00	=	0.005956121	Х	702,291,600.00	=	\$4,182,933.75	\$387,520.47
4. School Districts										
SCH D OF WHITEWATER	\$7,009,518.00	/	637,229,000.00	=	0.010999998	Х	702,291,600.00	=	\$7,725,206.20	\$715,688.20
5. Technical College Distric	cts									
GATEWAY TECHNICAL COLLEGE KENO	\$459,722.86	/	637,229,000.00	=	0.000721441	Х	702,291,600.00	=	\$506,661.95	\$46,939.09
6. Tax Increment Total										
	\$13,390,780.79								\$14,758,011.17	\$1,367,230.38

	Fo	rr	n	
Р	C.	-2	02	

WI Dept of Revenue

Preparer Information	Preparer Information						
Name Karen Dieter	Title Comptroller						
Email kdieter@whitewater-wi.gov	Phone (262) 473-1382						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 64291

Submission date: 11-23-2021 12:09 PM

Confirmation: TIW20211759O1637690971243

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 65106 County

Muni Type

Municipality

WASHBURN

BIRCHWOOD

VILLAGE

Account No. 1782

Total Equalized TID Value Increment 4,891,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHBURN	\$125,197.60 /	33,201,300.00	=	0.003770864	X	38,092,600.00	=	\$143,642.01	\$18,444.41
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
BIRCHWOOD	\$218,606.00 /	33,201,300.00	=	0.00658426	Х	38,092,600.00	=	\$250,811.58	\$32,205.58
4. School Districts									
SCH D OF BIRCHWOOD	\$212,452.95 /	33,201,300.00	=	0.006398935	X	38,092,600.00	=	\$243,752.07	\$31,299.12
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$10,656.13 /	33,201,300.00	=	0.000320955	Х	38,092,600.00	=	\$12,226.01	\$1,569.88
6. Tax Increment Total									
	\$566,912.68							\$650,431.67	\$83,518.99

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information	Preparer Information						
Name Ashley Beffa	Title CLERK/TREASURER						
Email ashley@birchwoodvillagewi.com	Phone (715) 354-3300						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 65106

Submission date: 12-09-2021 10:28 AM

Confirmation: TIW20211782O1639067334825

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 65151 County WASHBURN

Muni Type VILLAGE

Municipality MINONG

Account No. 1783

Total Equalized TID Value Increment 1,111,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHBURN	\$168,114.19 /	44,582,400.00	=	0.003770865	Х	45,693,400.00	=	\$172,303.64	\$4,189.45
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
MINONG	\$363,951.00 /	44,582,400.00	=	0.008163558	Х	45,693,400.00	=	\$373,020.72	\$9,069.72
4. School Districts									
SCH D OF NORTHWOOD (MINONG)	\$175,659.00 /	44,582,400.00	=	0.003940097	X	45,693,400.00	=	\$180,036.43	\$4,377.43
5. Technical College Distri	cts								
NORTHWOOD TECHNICAL COLLEGE	\$14,308.95 /	44,582,400.00	=	0.000320955	Х	45,693,400.00	=	\$14,665.53	\$356.58
6. Tax Increment Total									
	\$722,033.14							\$740,026.32	\$17,993.18

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information	Preparer Information							
Name Janel Lee	Title Clerk Treasurer							
Email clerkvillageofminong@gmail.com	Phone (715) 466-2322							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 65151

Submission date: 12-07-2021 11:35 AM

Confirmation: TIW20211783O1637701931422

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 65281 County WASI
Muni Type CITY

WASHBURN

Municipality SPOONER

Account No. 1784

Total Equalized TID Value Increment 27,520,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WASHBURN	\$583,277.14	/	158,723,700.00	=	0.003674796	Х	186,243,800.00	=	\$684,407.97	\$101,130.83
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
SPOONER	\$1,382,870.73	/	158,723,700.00	=	0.00871244	Х	186,243,800.00	=	\$1,622,637.93	\$239,767.20
4. School Districts										
SCH D OF SPOONER	\$1,374,980.50	/	158,723,700.00	=	0.00866273	X	186,243,800.00	=	\$1,613,379.75	\$238,399.25
5. Technical College Distri	cts									
NORTHWOOD TECHNICAL COLLEGE	\$50,943.18	/	158,723,700.00	=	0.000320955	Х	186,243,800.00	=	\$59,775.88	\$8,832.70
6. Tax Increment Total										
	\$3,392,071.55								\$3,980,201.53	\$588,129.98

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Krista Lyons-Hartwig	Title City Clerk/Treasurer						
Email klyons@cityofspooner.org	Phone (715) 635-8769						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 65281

Submission date: 11-29-2021 11:03 AM

Confirmation: TIW20211784O1638205432448

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 66131 County

Muni Type

WASHINGTON

Municipality GERMANTOWN

VILLAGE

Account No. 1800

Total Equalized TID Value Increment 137,549,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHINGTON	\$6,217,625.67 /	3,020,445,200.00	=	0.002058513	Х	3,157,994,500.00	=	\$6,500,772.73	\$283,147.06
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
GERMANTOWN	\$13,669,201.00 /	3,020,445,200.00	=	0.004525558	Х	3,157,994,500.00	=	\$14,291,687.27	\$622,486.27
4. School Districts									
SCH D OF GERMANTOWN	\$27,501,451.00 /	3,020,445,200.00	=	0.009105098	X	3,157,994,500.00	=	\$28,753,849.41	\$1,252,398.41
5. Technical College Distri	cts								
MILWAUKEE AREA TECHNICAL COLLEGE MILW	\$3,048,852.26 /	3,020,445,200.00	=	0.001009405	Х	3,157,994,500.00	=	\$3,187,695.44	\$138,843.18
6. Tax Increment Total									
	\$50,437,129.93							\$52,734,004.85	\$2,296,874.92

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Deanna Braunschweig	Title Village Clerk Treasurer							
Email dbraunschweig@village.germantown.wi.us Phone (252) 250-4745								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 66131

Submission date: 11-23-2021 01:45 PM

Confirmation: TIW20211800O1637696588222

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 66141 County WASHINGTON

VILLAGE

Municipality JACKSON

Muni Type

Account No. 1801

Total Equalized TID Value Increment 64,536,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHINGTON	\$1,911,656.35 /	852,019,000.00	=	0.002243678	Х	916,555,900.00	=	\$2,056,456.31	\$144,799.96
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
JACKSON	\$5,754,955.00 /	852,019,000.00	=	0.006754491	Х	916,555,900.00	=	\$6,190,868.58	\$435,913.58
4. School Districts									
SCH D OF WEST BEND	\$5,729,368.00 /	718,851,404.00	=	0.00797017	Х	783,388,304.00	=	\$6,243,737.96	\$514,369.96
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$415,660.89 /	773,924,154.00	=	0.000537082	Х	838,461,054.00	=	\$450,322.34	\$34,661.45
6. Tax Increment Total									
	\$13,811,640.24							\$14,941,385.19	\$1,129,744.95

2021 Tax Increment Worksheet

WI Dept of Revenue

Prep	arer Information								
Name	Darlene Smith	Title Treasurer							
Email	darlene.smith@villageofjackson.com	Phone (262) 677-9001							
Com	ments								
Signa	ature Statement								
Unde	r penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief.							
	Do you garge with t	he etatement above?							
	Do you agree with t	he statement above?							
	XYES	S NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 66141

Submission date: 12-03-2021 10:16 AM

Confirmation: TIW20211801O1638207337410

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 66142 County WASHINGTON

Muni Type VILLAGE

Municipality KEWASKUM

Account No.

Total Equalized TID Value Increment 29,795,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHINGTON	\$746,710.15 /	362,742,500.00	=	0.002058513	Х	392,538,400.00	=	\$808,045.40	\$61,335.25
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
KEWASKUM	\$2,303,852.00 /	362,742,500.00	=	0.006351205	Х	392,538,400.00	=	\$2,493,091.85	\$189,239.85
4. School Districts									
SCH D OF KEWASKUM	\$2,546,146.35 /	362,742,500.00	=	0.007019156	Х	392,538,400.00	=	\$2,755,288.27	\$209,141.92
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$194,822.54 /	362,742,500.00	=	0.000537082	Х	392,538,400.00	=	\$210,825.31	\$16,002.77
6. Tax Increment Total									
	\$5,791,531.04							\$6,267,250.83	\$475,719.79

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Tammy Butz	Title Village Clerk/Deputy Treasurer								
Email tbutz@village.kewaskum.wi.us	Phone (262) 626-8484								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 66142

Submission date: 11-30-2021 12:54 PM

Confirmation: TIW20211802A1638298456560

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 66181 County

Muni Type

WASHINGTON

Muni Type VILLAGE

Municipality SLINGER

Account No. 1804

Total Equalized TID Value Increment 19,923,300

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHINGTON	\$1,504,269.48 /	730,755,400.00	=	0.002058513	Х	750,678,700.00	=	\$1,545,281.86	\$41,012.38
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
SLINGER	\$3,522,744.00 /	730,755,400.00	=	0.004820688	Х	750,678,700.00	=	\$3,618,787.80	\$96,043.80
4. School Districts									
SCH D OF SLINGER	\$5,085,215.37 /	730,755,400.00	=	0.006958847	X	750,678,700.00	=	\$5,223,858.22	\$138,642.85
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$392,475.72 /	730,755,400.00	=	0.000537082	Х	750,678,700.00	=	\$403,176.02	\$10,700.30
6. Tax Increment Total									
	\$10,504,704.57							\$10,791,103.90	\$286,399.33

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information	Preparer Information								
Name Valerie Knetzger	Title Treasurer								
Email vknetzger@vi.slinger.wi.gov	Phone (262) 644-5265								
Comments	Comments								
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 66181

Submission date: 12-03-2021 01:57 PM

Confirmation: TIW20211804O1638208622630

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 66236 County WASHINGTON

Muni Type CITY

Municipality HARTFORD

Account No. 1805

Total Equalized TID Value Increment 34,962,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	<u>'</u>	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WASHINGTON	\$3,126,337.38 /	/	1,518,735,800.00	=	0.002058513	Х	1,553,698,100.00	=	\$3,198,307.74	\$71,970.36
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
HARTFORD	\$7,840,316.86 /	/	1,518,735,800.00	=	0.005162397	Х	1,553,698,100.00	=	\$8,020,806.41	\$180,489.55
4. School Districts										
UHS D OF HARTFORD UNION HIGH	\$3,731,380.53 /	/	1,479,909,163.00	=	0.002521358	Х	1,514,871,463.00	=	\$3,819,533.28	\$88,152.75
SCH D OF HARTFORD J 1	\$7,846,043.35 /	/	1,479,909,163.00	=	0.005301706	Х	1,514,871,463.00	=	\$8,031,403.12	\$185,359.77
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$815,685.97 /	/	1,518,735,800.00	=	0.000537082	Х	1,553,698,100.00	=	\$834,463.28	\$18,777.31
6. Tax Increment Total										
	\$23,359,764.09								\$23,904,513.83	\$544,749.74

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Lori Hetzel	Title City Clerk						
Email lorihetzel@hartford.wi.gov	Phone (262) 673-8201						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 66236

Submission date: 11-23-2021 01:25 PM

Confirmation: TIW20211805O1637695465722

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 66291 County WASHINGTON

WEST BEND

Muni Type CITY

Municipality

Account No. 1807

Total Equalized TID Value Increment 303,712,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WASHINGTON	\$6,545,178.95 /	3,179,566,500.00	=	0.002058513	Х	3,483,278,500.00	=	\$7,170,374.07	\$625,195.12
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WEST BEND	\$21,163,943.00 /	3,179,566,500.00	=	0.006656235	Х	3,483,278,500.00	=	\$23,185,520.27	\$2,021,577.27
4. School Districts									
SCH D OF WEST BEND	\$25,341,684.00 /	3,179,566,500.00	=	0.00797017	X	3,483,278,500.00	=	\$27,762,321.80	\$2,420,637.80
5. Technical College Distri	cts								
MORAINE PARK TECHNICAL COLLEGE FDLC	\$1,707,688.58 /	3,179,566,500.00	=	0.000537082	Х	3,483,278,500.00	=	\$1,870,806.18	\$163,117.60
6. Tax Increment Total									
	\$54,758,494.53							\$59,989,022.32	\$5,230,527.79

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Angel Rettler	Title Chief Deputy City Clerk							
Email wbclk@ci.west-bend.wi.us	Phone (262) 335-5102							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 66291

Submission date: 11-23-2021 01:05 PM

Confirmation: TIW20211807O1637694013047

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 67002

County Muni Type

Municipality

WAUKESHA

TOWN

BROOKFIELD

Account No. 1809

Total Equalized TID Value Increment 252,999,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	<u>'</u>	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUKESHA	\$2,275,729.64	/	1,189,190,300.00	=	0.00191368	Х	1,442,189,900.00	=	\$2,759,889.97	\$484,160.33
2. Special Districts (metro,	sanitary, lake)									
BROOKFIELD SANITARY DISTRICT #4	\$0.00	/	1,187,565,610.00	=	0	Х	1,440,565,210.00	=	\$0.00	\$0.00
3. Tax District (town, villag	e, city)									
BROOKFIELD	\$4,420,792.00	/	1,189,190,300.00	=	0.003717481	Х	1,442,189,900.00	=	\$5,361,313.55	\$940,521.55
4. School Districts										
SCH D OF WAUKESHA	\$7,501,087.17	/	1,000,673,383.00	=	0.007496039	X	1,253,672,983.00	=	\$9,397,581.57	\$1,896,494.40
5. Technical College Distri	cts									
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$359,363.75	/	1,189,190,300.00	=	0.000302192	Х	1,442,189,900.00	=	\$435,818.25	\$76,454.50
6. Tax Increment Total										
	\$14,556,972.56								\$17,954,603.34	\$3,397,630.78

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Tom Hagie	Title Administrator/Treasurer							
Email administrator@townofbrookfield.com	Phone (262) 796-3788							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67002

Submission date: 11-29-2021 09:54 AM

Confirmation: TIW20211809O1638201141873

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 67010

County Muni Type

Municipality

WAUKESHA

TOWN

LISBON

Account No. 1813

Total Equalized TID Value Increment 1,377,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$2,965,561.73 /	1,549,664,400.00	=	0.00191368	X	1,551,041,800.00	=	\$2,968,197.67	\$2,635.94
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
LISBON	\$4,499,400.00 /	1,549,664,400.00	=	0.002903467	Х	1,551,041,800.00	=	\$4,503,398.68	\$3,998.68
4. School Districts									
SCH D OF HAMILTON (LISBON)	\$6,417,555.22 /	809,446,904.00	=	0.007928321	Х	810,824,304.00	=	\$6,428,475.36	\$10,920.14
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$468,296.12 /	1,549,664,400.00	=	0.000302192	Х	1,551,041,800.00	=	\$468,712.42	\$416.30
6. Tax Increment Total									
	\$14,350,813.07							\$14,368,784.13	\$17,971.06

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kathy Nickolaus	Title Administrator							
Email knickolaus@townoflisbonwi.com	Phone (262) 246-6100							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67010

Submission date: 11-29-2021 12:39 PM

Confirmation: TIW20211813O1638210975137

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67106

County

Muni Type

WAUKESHA

Muni Type VILLAGE

Municipality BIG BEND

Account No. 1822

Total Equalized TID Value Increment 753,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUKESHA	\$353,792.02	/	210,017,500.00	=	0.001684584	Х	210,770,500.00	=	\$355,060.61	\$1,268.59
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BIG BEND	\$1,487,000.00	/	210,017,500.00	=	0.007080362	Х	210,770,500.00	=	\$1,492,331.44	\$5,331.44
4. School Districts										
SCH D OF MUKWONAGO	\$1,588,969.00	/	210,017,500.00	=	0.007565889	Х	210,770,500.00	=	\$1,594,666.21	\$5,697.21
5. Technical College Distri	cts									
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$63,465.60	/	210,017,500.00	=	0.000302192	Х	210,770,500.00	=	\$63,693.16	\$227.56
6. Tax Increment Total										
	\$3,493,226.62								\$3,505,751.42	\$12,524.80

F	0	rı	η	1
PC	`-	2	ი	2

WI Dept of Revenue

Preparer Information									
Name Laura Mecha	Title Deputy Clerk Treasurer								
Email treasurer@villageofbigbend.com	Phone (262) 662-2747								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67106

Submission date: 12-10-2021 11:38 AM

Confirmation: TIW20211822O1639155759963

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67122 County

Muni Type

WAUKESHA VILLAGE

Municipality ELM GROVE

Account No. 1827

Total Equalized TID Value Increment 36,985,500

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	1	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUKESHA	\$2,126,559.96 /	/	1,262,365,300.00	=	0.001684584	Х	1,299,350,800.00	=	\$2,188,865.57	\$62,305.61
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
ELM GROVE	\$7,444,435.00 /	/	1,262,365,300.00	=	0.005897211	Х	1,299,350,800.00	=	\$7,662,545.83	\$218,110.83
4. School Districts										
SCH D OF ELMBROOK (BROOKFIELD)	\$11,356,759.16 /	/	1,262,365,300.00	=	0.008996413	Х	1,299,350,800.00	=	\$11,689,496.43	\$332,737.27
5. Technical College Distri	cts									
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$381,476.64 /	/	1,262,365,300.00	=	0.000302192	Х	1,299,350,800.00	=	\$392,653.42	\$11,176.78
6. Tax Increment Total										
	\$21,309,230.76								\$21,933,561.25	\$624,330.49

2021 Tax Increment Worksheet

WI Dept of Revenue

Prepa	Preparer Information								
Name	Michelle Luedtke	Title Clerk							
Email	mluedtke@elmgrovewi.org	Phone (262) 782-6700							
Com	Comments								
Page 9	of document								

Signature Statement

Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.

Do you agree with the statement above?

XYES NO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67122

Submission date: 12-02-2021 09:11 AM

Confirmation: TIW20211827O1638457886836

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67136 County WAUKESHA

Muni Type VILLAGE

HARTLAND

Municipality

VILLAGE 13

Account No. Total Equalized TID Value Increment 15,682,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$2,560,943.96 /	1,520,223,700.00	=	0.001684584	Х	1,535,906,500.00	=	\$2,587,363.52	\$26,419.56
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
HARTLAND	\$6,591,517.15 /	1,520,223,700.00	=	0.004335886	Х	1,535,906,500.00	=	\$6,659,515.49	\$67,998.34
4. School Districts									
UHS D OF ARROWHEAD UNION HIGH	\$3,562,236.00 /	1,520,223,700.00	=	0.002343231	Х	1,535,906,500.00	=	\$3,598,983.72	\$36,747.72
SCH D OF HARTLAND-LAKESIDE J3	\$4,054,554.54 /	948,575,070.00	=	0.004274363	X	962,990,070.00	=	\$4,116,169.12	\$61,614.58
SCH D OF LAKE COUNTRY	\$716,409.00 /	221,188,864.00	=	0.003238902	X	222,456,664.00	=	\$720,515.33	\$4,106.33
5. Technical College Distric	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$459,399.38 /	1,520,223,700.00	=	0.000302192	Х	1,535,906,500.00	=	\$464,138.66	\$4,739.28
6. Tax Increment Total									
	\$17,945,060.03							\$18,146,685.84	\$201,625.81

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Ryan Bailey	Title Interim Village Administrator								
Email ryanb@villageofhartland.com	Phone (262) 367-2714								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67136

Submission date: 11-29-2021 09:14 AM

Confirmation: TIW20211828O1638198890608

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67147 County WAUKESHA

Muni Type VILLAGE

LANNON

Municipality

Account No. 1830

Total Equalized TID Value Increment 18,230,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$310,558.07	162,283,200.00	=	0.00191368	X	180,513,900.00	=	\$345,445.84	\$34,887.77
2. Special Districts (metro,	2. Special Districts (metro, sanitary, lake)								
3. Tax District (town, villag	e, city)								
LANNON	\$489,763.00 /	162,283,200.00	=	0.003017953	Χ	180,513,900.00	=	\$544,782.47	\$55,019.47
4. School Districts									
SCH D OF HAMILTON (LISBON)	\$1,242,431.33 /	156,707,992.00	=	0.007928321	Х	176,684,392.00	=	\$1,400,810.58	\$158,379.25
SCH D OF MENOMONEE FALLS	\$31,370.37	3,817,108.00	=	0.008218361	X	3,829,508.00	=	\$31,472.28	\$101.91
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$48,509.39	160,525,100.00	=	0.000302192	Х	180,513,900.00	=	\$54,549.86	\$6,040.47
6. Tax Increment Total									
	\$2,122,632.16							\$2,377,061.03	\$254,428.87

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Brenda Klemmer	Title Clerk/Treasurer						
Email bklemmer@villageoflannon.com	Phone (262) 251-7690						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67147

Submission date: 11-23-2021 06:50 PM

Confirmation: TIW20211830O1637714938254

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 67151 County WAUKESHA

Muni Type

VILLAGE

Municipality MENOMONEE FALLS

Account No. 1831

Total Equalized TID Value Increment 321,223,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$9,819,477.02 /	5,829,023,100.00	=	0.001684584	Х	6,150,246,600.00	=	\$10,360,607.02	\$541,130.00
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MENOMONEE FALLS	\$25,046,000.00 /	5,829,023,100.00	=	0.004296775	Х	6,150,246,600.00	=	\$26,426,225.83	\$1,380,225.83
4. School Districts									
SCH D OF MENOMONEE FALLS	\$36,014,130.60 /	4,382,155,097.00	=	0.008218361	Х	4,703,378,597.00	=	\$38,654,063.23	\$2,639,932.63
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$1,761,483.92 /	5,829,023,100.00	=	0.000302192	Х	6,150,246,600.00	=	\$1,858,555.32	\$97,071.40
6. Tax Increment Total									
	\$72,641,091.54							\$77,299,451.40	\$4,658,359.86

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information						
Name Julie Multhauf	Title Director of Finance					
Email jmulthauf@menomonee-falls.org	Phone (262) 532-4233					
Comments						
Signature Statement						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67151

Submission date: 11-30-2021 02:39 PM

Confirmation: TIW20211831A1638304746911

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67153 County

Muni Type

WAUKESHA

Muni Type VILLAGE

Municipality MUKWONAGO

Account No. 1833

Total Equalized TID Value Increment 68,433,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$1,524,550.77 /	905,001,500.00	=	0.001684584	Х	973,435,000.00	=	\$1,639,833.03	\$115,282.26
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
MUKWONAGO	\$6,434,510.35 /	905,001,500.00	=	0.007109944	Х	973,435,000.00	=	\$6,921,068.34	\$486,557.99
4. School Districts									
SCH D OF MUKWONAGO	\$6,847,138.00 /	905,001,500.00	=	0.007565886	Х	973,435,000.00	=	\$7,364,898.24	\$517,760.24
5. Technical College Distric	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$273,484.18 /	905,001,500.00	=	0.000302192	Х	973,435,000.00	=	\$294,164.27	\$20,680.09
6. Tax Increment Total									
	\$15,079,683.30							\$16,219,963.88	\$1,140,280.58

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Diana Doherty	Title Finance Director					
Email ddoherty@villageofmukwonago.com	Phone (262) 363-6420					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67153

Submission date: 11-23-2021 01:20 PM

Confirmation: TIW20211833O1637695202545

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67171 County WAUKESHA

Muni Type VILLAGE

Municipality PEWAUKEE

Account No. 1837

Total Equalized TID Value Increment 9,482,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$1,885,554.62 /	1,119,300,100.00	=	0.001684584	Х	1,128,782,800.00	=	\$1,901,529.44	\$15,974.82
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
PEWAUKEE	\$5,214,453.66 /	1,119,300,100.00	=	0.004658673	Х	1,128,782,800.00	=	\$5,258,629.95	\$44,176.29
4. School Districts									
SCH D OF PEWAUKEE	\$9,968,773.00 /	1,119,300,100.00	=	0.008906256	X	1,128,782,800.00	=	\$10,053,228.59	\$84,455.59
5. Technical College Distric	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$338,243.49 /	1,119,300,100.00	=	0.000302192	Х	1,128,782,800.00	=	\$341,109.13	\$2,865.64
6. Tax Increment Total									
	\$17,407,024.77							\$17,554,497.11	\$147,472.34

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Scott Gosse	Title Village Administrator					
Email sgosse@villageofpewaukee.com	Phone (262) 691-5660					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES	□NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67171

Submission date: 11-23-2021 02:45 PM

Confirmation: TIW20211837O1637693970489

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67181 County WAUKESHA

Muni Type VILLAGE

Municipality SUSSEX

Account No. 1838

Total Equalized TID Value Increment 56,198,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$2,704,515.13 /	1,605,450,200.00	=	0.001684584	X	1,661,648,200.00	=	\$2,799,185.97	\$94,670.84
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, village	e, city)								
SUSSEX	\$8,374,379.00 /	1,605,450,200.00	=	0.005216218	Χ	1,661,648,200.00	=	\$8,667,519.25	\$293,140.25
4. School Districts									
SCH D OF HAMILTON (LISBON)	\$12,364,702.80 /	1,559,561,242.00	=	0.007928321	X	1,609,252,742.00	=	\$12,758,672.31	\$393,969.51
UHS D OF ARROWHEAD UNION HIGH	\$107,528.00 /	45,888,958.00	=	0.002343222	X	52,395,458.00	=	\$122,774.19	\$15,246.19
SCH D OF RICHMOND	\$209,770.47 /	45,888,958.00	=	0.004571262	X	52,395,458.00	=	\$239,513.37	\$29,742.90
5. Technical College District	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$485,154.14 /	1,605,450,200.00	=	0.000302192	Х	1,661,648,200.00	=	\$502,136.79	\$16,982.65
6. Tax Increment Total									
	\$24,246,049.54							\$25,089,801.88	\$843,752.34

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sam Liebert Title Village Clerk								
Email sliebert@villagesussex.org Phone (262) 246-5211								
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67181

Submission date: 11-24-2021 09:00 AM

Confirmation: TIW20211838O1637692179859

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67191 County WAUKESHA

Muni Type VILLAGE

Municipality WALES

Account No. 1839

Total Equalized TID Value Increment 42,604,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUKESHA	\$842,644.95	/	440,327,000.00	=	0.00191368	X	482,931,600.00	=	\$924,176.54	\$81,531.59
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
WALES	\$1,333,300.00	/	440,327,000.00	=	0.003027977	Х	482,931,600.00	=	\$1,462,305.78	\$129,005.78
4. School Districts										
SCH D OF KETTLE MORAINE (DELAFIELD)	\$3,954,136.00	/	440,327,000.00	=	0.008979999	Х	482,931,600.00	=	\$4,336,725.29	\$382,589.29
5. Technical College Distri	cts									
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$133,063.28	/	440,327,000.00	=	0.000302192	Х	482,931,600.00	=	\$145,938.07	\$12,874.79
6. Tax Increment Total										
	\$6,263,144.23								\$6,869,145.68	\$606,001.45

F	= 0	r	m	1
P	C.	.2	'n	2

WI Dept of Revenue

Preparer Information						
Name Michael Rotroff	Title CPAQ					
Email mike@rotroffjeanson.com Phone (262) 366-6212						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
VVES INO						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67191

Submission date: 11-23-2021 01:48 PM

Confirmation: TIW20211839O1637696904417

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67195 County WA

Muni Type VIL

Municipality

WAUKESHA

WAUKESHA

VILLAGE

Account No. 1821

Total Equalized TID Value Increment 796,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$2,364,958.03 /	1,235,816,900.00	=	0.00191368	X	1,236,613,000.00	=	\$2,366,481.57	\$1,523.54
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WAUKESHA	\$1,710,402.00 /	1,235,816,900.00	=	0.001384025	Х	1,236,613,000.00	=	\$1,711,503.31	\$1,101.31
4. School Districts									
SCH D OF WAUKESHA	\$9,263,732.25 /	1,235,816,900.00	=	0.007496039	X	1,236,613,000.00	=	\$9,269,699.28	\$5,967.03
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$373,453.93 /	1,235,816,900.00	=	0.000302192	Х	1,236,613,000.00	=	\$373,694.56	\$240.63
6. Tax Increment Total									
	\$13,712,546.21							\$13,721,378.72	\$8,832.51

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Kris Snyder	Title Clerk/Treasurer							
Email ksnyder@villageofwaukesha.com Phone (262) 542-5030								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
X YES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67195

Submission date: 11-30-2021 08:31 AM

Confirmation: TIW20211821O1637792749618

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67206

County

Muni Type

County WAUKESHA

CITY

Municipality BROOKFIELD

Account No. 1840

Total Equalized TID Value Increment 225,391,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$13,420,475.44 /	7,966,642,400.00	=	0.001684584	X	8,192,033,600.00	=	\$13,800,168.73	\$379,693.29
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
BROOKFIELD	\$41,935,000.00 /	7,966,642,400.00	=	0.005263824	Х	8,192,033,600.00	=	\$43,121,423.07	\$1,186,423.07
4. School Districts									
SCH D OF ELMBROOK (BROOKFIELD)	\$70,627,168.08 /	7,850,592,321.00	=	0.008996413	X	8,075,983,521.00	=	\$72,654,883.14	\$2,027,715.06
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$2,407,455.30 /	7,966,642,400.00	=	0.000302192	Х	8,192,033,600.00	=	\$2,475,567.02	\$68,111.72
6. Tax Increment Total									
	\$128,390,098.82							\$132,052,041.96	\$3,661,943.14

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sarah Kitsembel	Title Deputy Finance Director							
Email kitsembel@ci.brookfield.wi.us Phone (262) 787-3505								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67206

Submission date: 11-23-2021 01:37 PM

Confirmation: TIW20211840O1637693068096

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67216 County WAUKESHA

Muni Type CITY

Municipality DELAFIELD

Account No.

Total Equalized TID Value Increment 8,246,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$2,952,144.10 /	1,752,447,300.00	=	0.001684584	Х	1,760,693,400.00	=	\$2,966,035.93	\$13,891.83
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
DELAFIELD	\$6,668,080.00 /	1,752,447,300.00	=	0.00380501	Х	1,760,693,400.00	=	\$6,699,455.99	\$31,375.99
4. School Districts									
SCH D OF KETTLE MORAINE (DELAFIELD)	\$10,890,779.00 /	1,212,781,533.00	=	0.008980001	Х	1,221,027,633.00	=	\$10,964,829.37	\$74,050.37
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$529,575.48 /	1,752,447,300.00	=	0.000302192	Х	1,760,693,400.00	=	\$532,067.46	\$2,491.98
6. Tax Increment Total									
	\$21,040,578.58							\$21,162,388.75	\$121,810.17

Form
PC-202

WI Dept of Revenue

Preparer Information										
Name Molly Schneider	Title City Clerk									
Email mschneider@ci.delafield.wi.us	Phone (262) 646-6220									
Comments	Comments									
Signature Statement										
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.										
Do you agree with the statement above?										
XYES NO										

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67216

Submission date: 11-23-2021 12:47 PM

Confirmation: TIW20211841O1637693279754

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67251 County

Muni Type

Municipality

WAUKESHA

CITY MUSKEGO Account No. 1843

Total Equalized TID Value Increment 107,679,200

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUKESHA	\$6,044,380.99	/	3,588,056,300.00	=	0.001684584	Х	3,695,735,500.00	=	\$6,225,776.89	\$181,395.90
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
MUSKEGO	\$13,628,679.00 /	/	3,588,056,300.00	=	0.003798346	Х	3,695,735,500.00	=	\$14,037,682.15	\$409,003.15
4. School Districts										
SCH D OF MUSKEGO-NORWAY	\$25,548,546.92 /	/	3,586,592,934.00	=	0.007123347	Х	3,694,272,134.00	=	\$26,315,582.32	\$767,035.40
5. Technical College Distric	cts									
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$1,084,281.77	/	3,588,056,300.00	=	0.000302192	Х	3,695,735,500.00	=	\$1,116,821.70	\$32,539.93
6. Tax Increment Total										
	\$46,305,888.68								\$47,695,863.06	\$1,389,974.38

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Sharon Mueller	Title Finance & Administration Director							
Email smueller@cityofmuskego.org	Phone (262) 679-5622							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67251

Submission date: 11-29-2021 09:41 AM

Confirmation: TIW20211843O1638200463272

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67261 County

Muni Type

Municipality

WAUKESHA

CITY

NEW BERLIN

Account No. 1844

Total Equalized TID Value Increment 37,339,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$10,500,903.00 /	6,233,530,200.00	=	0.001684584	Х	6,270,870,100.00	=	\$10,563,807.44	\$62,904.44
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
NEW BERLIN	\$29,748,131.00 /	6,233,530,200.00	=	0.004772277	Х	6,270,870,100.00	=	\$29,926,329.15	\$178,198.15
4. School Districts									
SCH D OF NEW BERLIN	\$43,412,556.00 /	5,736,657,174.00	=	0.00756757	Χ	5,773,997,074.00	=	\$43,695,127.04	\$282,571.04
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$1,769,316.52 /	5,854,942,406.00	=	0.000302192	Х	5,892,282,306.00	=	\$1,780,600.57	\$11,284.05
6. Tax Increment Total									
	\$85,430,906.52							\$85,965,864.20	\$534,957.68

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Ralph Chipman	Title Finance Director								
Email rchipman@newberlin.org	Phone (262) 754-1701								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67261

Submission date: 11-23-2021 01:42 PM

Confirmation: TIW20211844O1637696554186

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 67265 County WAL Muni Type CITY

WAUKESHA CITY

Municipality OCONOMOWOC

Account No. 1845

Total Equalized TID Value Increment 87,716,500

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value	= In	terim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$4,572,295.89 /	2,714,199,400.00	=	0.001684584	Х	2,801,915,900.00	=	\$4,720,062.69	\$147,766.80
2. Special Districts (metro,	sanitary, lake)								
LAC LA BELLE LAKE MGT. DISTRICT	\$8,179.13 /	170,585,458.00	=	0.000047947	Х	206,857,158.00	=	\$9,918.18	\$1,739.05
FOWLER LAKE PROT & REHAB DISTRICT	\$53,990.00 /	2,543,613,942.00	=	0.000021226	X	2,595,058,742.00	=	\$55,082.72	\$1,092.72
3. Tax District (town, village	e, city)								
осономомос	\$12,755,173.00 /	2,714,199,400.00	=	0.004699424	X	2,801,915,900.00	=	\$13,167,390.83	\$412,217.83
4. School Districts									
SCH D OF OCONOMOWOC AREA	\$23,145,937.62 /	2,714,199,400.00	=	0.008527722	X	2,801,915,900.00	=	\$23,893,959.86	\$748,022.24
5. Technical College Distric	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$820,209.24 /	2,714,199,400.00	=	0.000302192	Х	2,801,915,900.00	=	\$846,716.57	\$26,507.33
6. Tax Increment Total									
	\$41,355,784.88							\$42,693,130.85	\$1,337,345.97

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Hannah Brasch	Title Accounting Manager					
Email hbrasch@oconomowoc-wi.gov Phone (262) 569-6425						
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67265

Submission date: 11-29-2021 09:34 AM

Confirmation: TIW20211845O1638196840150

Form
PC-202

WI Dept of Revenue

Report Type

AMENDED

Co-muni Code 67291 County WAUKESHA

Muni Type CITY

Muni Type CITY

Municipality WAUKESHA

Account No. 1846

Total Equalized TID Value Increment 397,427,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUKESHA	\$12,407,618.81 /	7,365,391,900.00	=	0.001684584	Х	7,762,818,900.00	=	\$13,077,120.51	\$669,501.70
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WAUKESHA	\$72,125,919.00 /	7,365,391,900.00	=	0.009792543	Х	7,762,818,900.00	=	\$76,017,737.88	\$3,891,818.88
4. School Districts									
SCH D OF WAUKESHA	\$55,211,268.33 /	7,365,391,900.00	=	0.007496039	Х	7,762,818,900.00	=	\$58,190,393.22	\$2,979,124.89
5. Technical College Distri	cts								
WAUKESHA COUNTY AREA TECH COLLEGE PEWA	\$2,225,762.21 /	7,365,391,900.00	=	0.000302192	Х	7,762,818,900.00	=	\$2,345,861.77	\$120,099.56
6. Tax Increment Total									
	\$141,970,568.35							\$149,631,113.38	\$7,660,545.03

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Gina Kozlik	Title Clerk Treasurer						
Email gkozlik@waukesha-wi.gov	Phone (262) 524-3547						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 67291

Submission date: 12-15-2021 11:56 AM

Confirmation: TIW20211846A1639590905471

Submission type: AMENDED

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 68028

County

Muni Type

y WAUPACA
pe TOWN

Municipality MATTESON

Account No. 1861

Total Equalized TID Value Increment 12,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUPACA	\$492,004.70 /	77,636,300.00	=	0.006337302	X	77,648,300.00	=	\$492,080.73	\$76.03
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MATTESON	\$202,017.00 /	77,636,300.00	=	0.002602095	Х	77,648,300.00	=	\$202,048.25	\$31.25
4. School Districts									
SCH D OF CLINTONVILLE	\$833,813.94 /	77,636,300.00	=	0.010740001	Х	77,648,300.00	=	\$833,942.82	\$128.88
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$70,098.33 /	77,636,300.00	=	0.000902907	Х	77,648,300.00	=	\$70,109.19	\$10.86
6. Tax Increment Total									
	\$1,597,933.97							\$1,598,180.99	\$247.02

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Patti Shambeau Hill	Title Clerk						
Email clerk@townofmatteson.com Phone (715) 823-2792							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 68028

Submission date: 11-23-2021 02:25 PM

Confirmation: TIW20211861O1637699135792

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 68042 County

Muni Type

WAUPACA

Muni Type TOWN

Municipality WEYAUWEGA

Account No. 1868

Total Equalized TID Value Increment 5,761,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUPACA	\$378,366.72	/	59,704,700.00	=	0.006337302	Х	65,465,700.00	=	\$414,875.91	\$36,509.19
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
WEYAUWEGA	\$117,877.00	/	59,704,700.00	=	0.001974334	Х	65,465,700.00	=	\$129,251.16	\$11,374.16
4. School Districts										
SCH D OF WEYAUWEGA-FREMONT	\$589,285.40	/	59,704,700.00	=	0.00987	Х	65,465,700.00	=	\$646,146.46	\$56,861.06
5. Technical College Distric	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$53,907.77	/	59,704,700.00	=	0.000902907	Х	65,465,700.00	=	\$59,109.44	\$5,201.67
6. Tax Increment Total										
	\$1,139,436.89								\$1,249,382.97	\$109,946.08

Form	
PC-202	

WI Dept of Revenue

Preparer Information							
Name SoniaLynn Thede-Kramer	Title Clerk						
Email townofweyauwega@outlook.com Phone (920) 572-0318							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 68042

Submission date: 11-27-2021 12:07 PM

Confirmation: TIW20211868O1638036444873

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 68211 County

Muni Type

WAUPACA

Muni Type CITY

Municipality CLINTONVILLE

Account No. 1876

Total Equalized TID Value Increment 6,075,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUPACA	\$1,525,458.46	/	254,749,800.00	=	0.005988065	X	260,825,400.00	=	\$1,561,839.45	\$36,380.99
2. Special Districts (metro,	sanitary, lake)									
PIGEON LAKE PRO & REHAB DISTRICT	\$44,878.12	/	254,008,770.00	=	0.000176679	X	260,084,370.00	=	\$45,951.45	\$1,073.33
3. Tax District (town, village	e, city)									
CLINTONVILLE	\$2,469,978.00	/	254,749,800.00	=	0.009695701	Х	260,825,400.00	=	\$2,528,885.09	\$58,907.09
4. School Districts										
SCH D OF CLINTONVILLE	\$2,736,013.12	/	254,749,800.00	=	0.010740001	Х	260,825,400.00	=	\$2,801,265.06	\$65,251.94
5. Technical College Distric	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$230,015.30	/	254,749,800.00	=	0.000902907	Х	260,825,400.00	=	\$235,501.08	\$5,485.78
6. Tax Increment Total										
	\$7,006,343.00								\$7,173,442.13	\$167,099.13

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information	
Name Peggy Johnson	Title Clerk-Treasurer
Email pjohnson@clintonvillewi.org	Phone (715) 823-7602
Comments	
Signature Statement	
Under penalties of law, I declare this form and all attachments are true	, correct and complete to the best of my knowledge and belief. the statement above?
Do you agree with	no statement above:
XYES	SNO

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 68211

Submission date: 12-06-2021 03:39 PM

Confirmation: TIW20211876O1638826799020

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 68251 County

Muni Type

Municipality

WAUPACA

MANAWA

CITY

Account No.

Total Equalized TID Value Increment 3,700,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	/ (le	qualized Value ess TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUPACA	\$513,679.75	/	85,581,600.00	=	0.006002222	Х	89,282,400.00	=	\$535,892.79	\$22,213.04
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
MANAWA	\$889,886.00 /	/	85,581,600.00	=	0.0103981	Х	89,282,400.00	=	\$928,367.32	\$38,481.32
4. School Districts										
SCH D OF MANAWA	\$725,341.00	/	85,581,600.00	=	0.008475432	Х	89,282,400.00	=	\$756,706.91	\$31,365.91
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$77,272.20 /	/	85,581,600.00	=	0.000902907	Х	89,282,400.00	=	\$80,613.70	\$3,341.50
6. Tax Increment Total										
	\$2,206,178.95								\$2,301,580.72	\$95,401.77

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Logan Hass	Title Clerk Treasurer								
Email cityclerk@manawawi.gov	Phone (920) 596-2577								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 68251

Submission date: 11-24-2021 03:51 PM

Confirmation: TIW20211877O1637700280138

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 68291 County

Muni Type

WAUPACA

CITY

Municipality WAUPACA

Account No. 1880

Total Equalized TID Value Increment 88,256,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUPACA	\$2,317,432.79	/	387,008,600.00	=	0.005988065	Х	475,264,900.00	=	\$2,845,917.11	\$528,484.32
2. Special Districts (metro, sanitary, lake)										
C WAUPACA PUBLIC INLAND LAKES PRO & REHAB DIST	\$10,000.00	/	387,008,600.00	=	0.000025839	Х	475,264,900.00	=	\$12,280.37	\$2,280.37
3. Tax District (town, village	e, city)									
WAUPACA	\$3,341,887.00	/	387,008,600.00	=	0.008635175	Х	475,264,900.00	=	\$4,103,995.58	\$762,108.58
4. School Districts										
SCH D OF WAUPACA	\$2,753,852.03	/	387,008,600.00	=	0.007115739	Х	475,264,900.00	=	\$3,381,860.98	\$628,008.95
5. Technical College Distric	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$349,432.65	/	387,008,600.00	=	0.000902907	Х	475,264,900.00	=	\$429,120.01	\$79,687.36
6. Tax Increment Total										
	\$8,772,604.47								\$10,773,174.05	\$2,000,569.58

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name KATHY KASZA	Title Finance Director								
Email kkasza@cityofwaupaca.org	Phone (715) 942-9901								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 68291

Submission date: 11-23-2021 12:54 PM

Confirmation: TIW20211880O1637693637783

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 68292 County WAUPACA

Muni Type CITY

Municipality WEYAUWEGA

Account No.

Total Equalized TID Value Increment 11,894,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUPACA	\$614,175.54 /	102,324,700.00	=	0.006002222	Х	114,218,700.00	=	\$685,565.99	\$71,390.45
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WEYAUWEGA	\$813,000.00 /	102,324,700.00	=	0.007945296	Х	114,218,700.00	=	\$907,501.38	\$94,501.38
4. School Districts									
SCH D OF WEYAUWEGA-FREMONT	\$1,009,944.80 /	102,324,700.00	=	0.00987	Х	114,218,700.00	=	\$1,127,338.57	\$117,393.77
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$92,389.66 /	102,324,700.00	=	0.000902907	Х	114,218,700.00	=	\$103,128.86	\$10,739.20
6. Tax Increment Total									
	\$2,529,510.00							\$2,823,534.80	\$294,024.80

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Jeremy Schroeder	Title City Administrator						
Email jschroeder@cityofweyauwega-wi.gov Phone (920) 867-2630							
Comments							
Ciamatuma Otatamamt							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 68292

Submission date: 11-30-2021 09:57 AM

Confirmation: TIW20211881O1638206292591

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69111 County WAUSHARA

Muni Type VILLAGE

COLOMA

Municipality

Account No. 1901

Total Equalized TID Value Increment 4,089,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUSHARA	\$188,038.68 /	28,459,800.00	=	0.006607168	Х	32,549,500.00	=	\$215,060.01	\$27,021.33
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
COLOMA	\$281,727.00 /	28,459,800.00	=	0.009899121	Х	32,549,500.00	=	\$322,211.44	\$40,484.44
4. School Districts									
SCH D OF WESTFIELD	\$173,153.00 /	28,459,800.00	=	0.006084126	X	32,549,500.00	=	\$198,035.26	\$24,882.26
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$25,696.54 /	28,459,800.00	=	0.000902907	Х	32,549,500.00	=	\$29,389.17	\$3,692.63
6. Tax Increment Total									
	\$668,615.22							\$764,695.88	\$96,080.66

	F	0	r	m	1
F	9	3.	.2	20	2

WI Dept of Revenue

Preparer Information									
Name Brenda Walker	Title Clerk Treasurer								
Email brenda.walker@colomawi.org Phone (715) 228-2871									
Comments									
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
WINE INO									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69111

Submission date: 11-24-2021 02:53 PM

Confirmation: TIW20211901O1637692406979

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69136 County

Muni Type

Municipality

WAUSHARA VILLAGE

HANCOCK

Account No. 1902

Total Equalized TID Value Increment 502,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUSHARA	\$135,445.61	/	20,499,800.00	=	0.006607167	Х	21,002,500.00	=	\$138,767.02	\$3,321.41
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
HANCOCK	\$121,562.00	/	20,499,800.00	=	0.005929912	Х	21,002,500.00	=	\$124,542.98	\$2,980.98
4. School Districts										
SCH D OF TRI-COUNTY AREA (PLAINFIELD)	\$126,817.58	/	20,499,800.00	=	0.006186284	Х	21,002,500.00	=	\$129,927.43	\$3,109.85
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$18,327.34	/	20,499,800.00	=	0.000894025	Х	21,002,500.00	=	\$18,776.76	\$449.42
6. Tax Increment Total										
	\$402,152.53								\$412,014.19	\$9,861.66

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information							
Name Kelley Kemnetz	Title Clerk/Treasurer						
Email vhancock@uniontel.net Phone (715) 249-5525							
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69136

Submission date: 11-23-2021 01:14 PM

Confirmation: TIW20211902O1637694851794

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69171 County WAUSHARA

Muni Type VILLAGE

Municipality PLAINFIELD

Account No. 1904

Total Equalized TID Value Increment 2,318,300

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUSHARA	\$250,815.36	/	37,961,100.00	=	0.006607168	X	40,279,400.00	=	\$266,132.76	\$15,317.40
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
PLAINFIELD	\$250,651.00	/	37,961,100.00	=	0.006602838	Х	40,279,400.00	=	\$265,958.35	\$15,307.35
4. School Districts										
SCH D OF TRI-COUNTY AREA (PLAINFIELD)	\$234,838.15	/	37,961,100.00	=	0.006186284	Х	40,279,400.00	=	\$249,179.81	\$14,341.66
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$33,938.19	/	37,961,100.00	=	0.000894025	Х	40,279,400.00	=	\$36,010.79	\$2,072.60
6. Tax Increment Total										
	\$770,242.70								\$817,281.71	\$47,039.01

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Brenda Black	Title Village Clerk								
Email vilplain@hotmail.com	Phone (715) 335-6501								
Comments									
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
X YES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69171

Submission date: 11-23-2021 02:45 PM

Confirmation: TIW20211904O1637700311913

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69176 County WAUSHARA

Muni Type VILLAGE

REDGRANITE

Municipality

Account No. 1905

Total Equalized TID Value Increment 11,945,400

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Va (less TID Val Increment)	ue =	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUSHARA	\$279,053.07 /	42,234,90	0.00 =	0.006607168	X	54,180,300.00	=	\$357,978.34	\$78,925.27
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
REDGRANITE	\$303,843.00 /	42,234,90	0.00 =	0.007194121	Х	54,180,300.00	=	\$389,779.63	\$85,936.63
4. School Districts									
SCH D OF WAUTOMA AREA	\$271,340.00 /	42,234,90	0.00 =	0.006424545	X	54,180,300.00	=	\$348,083.78	\$76,743.78
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$38,134.17 /	42,234,90	0.00 =	0.000902907	Х	54,180,300.00	=	\$48,919.77	\$10,785.60
6. Tax Increment Total									
	\$892,370.24							\$1,144,761.52	\$252,391.28

F	0	rı	n	
PC	`-	2	O	2

WI Dept of Revenue

Preparer Information						
Name Christy Groskreutz	Title Clerk					
Email clerk@redgranitewisconsin.com	Phone (920) 566-2381					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
bo you agree with the statement above:						
VVEC INO						
XIE	XYES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69176

Submission date: 12-08-2021 11:47 AM

Confirmation: TIW20211905O1638985637241

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69191 County WAUSHARA

Muni Type VILLAGE

Municipality WILD ROSE

Account No. 1906

Total Equalized TID Value Increment 3,120,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUSHARA	\$230,041.10	/	34,816,900.00	=	0.006607168	Х	37,937,300.00	=	\$250,658.11	\$20,617.01
2. Special Districts (metro,	sanitary, lake)									
WILD ROSE INLAND LAKE PRO & REHAB DISTRICT	\$0.00	/	34,816,900.00	=	0	X	37,937,300.00	=	\$0.00	\$0.00
3. Tax District (town, villag	3. Tax District (town, village, city)									
WILD ROSE	\$278,931.00	/	34,816,900.00	=	0.008011368	Χ	37,937,300.00	=	\$303,929.67	\$24,998.67
4. School Districts										
SCH D OF WILD ROSE	\$236,693.76	/	34,816,900.00	=	0.006798243	X	37,937,300.00	=	\$257,906.98	\$21,213.22
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$31,436.41	/	34,816,900.00	=	0.000902907	Х	37,937,300.00	=	\$34,253.85	\$2,817.44
6. Tax Increment Total										
	\$777,102.27								\$846,748.61	\$69,646.34

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Lindsey Inda	Title Clerk/Treasurer						
Email villageofwildrose@outlook.com	Phone (920) 622-4183						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69191

Submission date: 12-02-2021 02:22 PM

Confirmation: TIW20211906O1637695671666

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69206 County

Muni Type

Municipality

WAUSHARA

CITY

BERLIN

Account No. 1907

Total Equalized TID Value Increment 8,235,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WAUSHARA	\$47,162.62	/	7,138,100.00	=	0.006607167	X	15,373,100.00	=	\$101,572.64	\$54,410.02
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
BERLIN	\$48,144.69	/	7,138,100.00	=	0.006744749	Х	15,373,100.00	=	\$103,687.70	\$55,543.01
4. School Districts										
SCH D OF BERLIN AREA	\$64,276.29	/	7,138,100.00	=	0.009004678	X	15,373,100.00	=	\$138,429.82	\$74,153.53
5. Technical College Distri	cts									
MORAINE PARK TECHNICAL COLLEGE FDLC	\$3,833.75	/	7,138,100.00	=	0.000537083	Х	15,373,100.00	=	\$8,256.63	\$4,422.88
6. Tax Increment Total										
	\$163,417.35								\$351,946.79	\$188,529.44

Form	
PC-202	

WI Dept of Revenue

Preparer Information						
Name Jodie Olson	Title City Administrator/Clerk-Treasurer					
Email jolson@cityofberlin.net	Phone (920) 361-5400					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
bo you agree with the statement above?						
W VEC						
<u>x</u> YES	SNO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69206

Submission date: 11-23-2021 04:02 PM

Confirmation: TIW20211907O1637704956267

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 69291 County WAUS

Muni Type CITY

WAUSHARA

Municipality WAUTOMA

Account No. 1908

Total Equalized TID Value Increment 26,423,800

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WAUSHARA	\$621,521.09 /	94,067,700.00	=	0.006607168	Х	120,491,500.00	=	\$796,107.58	\$174,586.49
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WAUTOMA	\$910,000.00 /	94,067,700.00	=	0.009673884	Х	120,491,500.00	=	\$1,165,620.79	\$255,620.79
4. School Districts									
SCH D OF WAUTOMA AREA	\$604,342.00 /	94,067,700.00	=	0.006424543	X	120,491,500.00	=	\$774,102.82	\$169,760.82
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$84,934.35 /	94,067,700.00	=	0.000902907	Х	120,491,500.00	=	\$108,792.62	\$23,858.27
6. Tax Increment Total									
	\$2,220,797.44							\$2,844,623.81	\$623,826.37

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Thomas Bohler	Title City Administrator						
Email tommybohler@cityofwautoma.com	Phone (920) 787-4044						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 69291

Submission date: 11-30-2021 09:19 AM

Confirmation: TIW20211908O1638285554043

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70006 County

Muni Type

ty WINNEBAGO

TOWN

Municipality CLAYTON

Account No. 1912

Total Equalized TID Value Increment 4,844,700

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	/	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WINNEBAGO	\$2,931,301.86	/	601,737,200.00	=	0.004871399	Х	606,581,900.00	=	\$2,954,902.46	\$23,600.60
2. Special Districts (metro,	sanitary, lake)									
CLAYTON SANITARY DISTRICT #1 (WINNEBAGO)	\$100,000.00	/	91,838,016.00	=	0.001088874	Х	96,023,016.00	=	\$104,556.97	\$4,556.97
3. Tax District (town, villag	e, city)									
CLAYTON	\$2,428,746.00	/	601,737,200.00	=	0.004036224	Χ	606,581,900.00	=	\$2,448,300.42	\$19,554.42
4. School Districts										
SCH D OF NEENAH	\$3,756,310.00	/	501,335,910.00	=	0.007492601	X	506,180,610.00	=	\$3,792,609.34	\$36,299.34
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$543,312.54	/	601,737,200.00	=	0.000902907	Х	606,581,900.00	=	\$547,687.04	\$4,374.50
6. Tax Increment Total										
	\$9,759,670.40								\$9,848,056.23	\$88,385.83

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Todd Liebergen	Title Treasurer					
Email treasurer@townofclayton.net	Phone (920) 836-2007					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
X YES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70006

Submission date: 12-22-2021 11:44 AM

Confirmation: TIW20211912O1640195041021

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70121 County

Muni Type

WINNEBAGO

VILLAGE

Municipality FOX CROSSING

Account No. 1913

Total Equalized TID Value Increment 120,807,800

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	/	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WINNEBAGO	\$9,280,501.96 /	/	1,909,136,700.00	=	0.004861099	X	2,029,944,500.00	=	\$9,867,761.18	\$587,259.22
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, villag	e, city)									
FOX CROSSING	\$9,464,728.00 /	/	1,909,136,700.00	=	0.004957596	Χ	2,029,944,500.00	=	\$10,063,644.73	\$598,916.73
4. School Districts										
SCH D OF NEENAH	\$10,281,808.00 /	/	1,372,261,390.00	=	0.007492602	X	1,493,069,190.00	=	\$11,186,973.20	\$905,165.20
5. Technical College Distri	cts									
FOX VALLEY TECHNICAL COLLEGE APPL	\$1,723,772.28 /	/	1,909,136,700.00	=	0.000902907	Х	2,029,944,500.00	=	\$1,832,851.10	\$109,078.82
6. Tax Increment Total										
	\$30,750,810.24								\$32,951,230.21	\$2,200,419.97

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Myra Piergrossi	Title Finance Director						
Email mpiergrossi@foxcrossingwi.gov	Phone (920) 720-7106						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70121

Submission date: 12-03-2021 01:18 PM

Confirmation: TIW20211913O1638559084126

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70191 County WINNEBAGO

Muni Type VILLAGE

Municipality

VILLAGE WINNECONNE Account No. 1926

Total Equalized TID Value Increment 25,543,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WINNEBAGO	\$1,044,663.52 /	231,684,100.00	=	0.004509	Х	257,227,100.00	=	\$1,159,836.99	\$115,173.47
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WINNECONNE	\$1,810,741.00 /	231,684,100.00	=	0.00781556	Х	257,227,100.00	=	\$2,010,373.83	\$199,632.83
4. School Districts									
SCH D OF WINNECONNE COMMUNITY	\$1,643,749.46 /	231,684,100.00	=	0.007094788	Х	257,227,100.00	=	\$1,824,971.74	\$181,222.28
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$209,189.12 /	231,684,100.00	=	0.000902907	Х	257,227,100.00	=	\$232,252.15	\$23,063.03
6. Tax Increment Total									
	\$4,708,343.10							\$5,227,434.71	\$519,091.61

F	= 0	r	m	1
P	C.	.2	'n	2

WI Dept of Revenue

Preparer Information	Preparer Information						
Name Holly Stevens	Title Clerk						
Email clerk@winneconnewi.gov	Phone (920) 582-4381						
Comments	Comments						
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70191

Submission date: 12-02-2021 12:04 PM

Confirmation: TIW20211926O1638395292827

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70201 County

Muni Type

WINNEBAGO

CITY

Municipality APPLETON

Account No. 1927

Total Equalized TID Value Increment 15,055,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WINNEBAGO	\$337,473.73 /	77,613,500.00	=	0.004348132	Х	92,669,400.00	=	\$402,938.78	\$65,465.05
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
APPLETON	\$609,982.00 /	77,613,500.00	=	0.007859226	Х	92,669,400.00	=	\$728,309.76	\$118,327.76
4. School Districts									
SCH D OF MENASHA	\$731,917.00 /	62,641,545.00	=	0.011684211	Х	77,697,445.00	=	\$907,833.34	\$175,916.34
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$70,077.75 /	77,613,500.00	=	0.000902907	Х	92,669,400.00	=	\$83,671.85	\$13,594.10
6. Tax Increment Total									
	\$1,749,450.48							\$2,122,753.73	\$373,303.25

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information							
Name Jeri A. Ohman	Title Deputy Director of Finance						
Email jeri.ohman@appleton.org	Phone (920) 832-5742						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70201

Submission date: 11-24-2021 11:36 AM

Confirmation: TIW20211927O1637689506415

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70251 County WINNEBAGO

Muni Type CITY

Municipality MENASHA

Account No. 1928

Total Equalized TID Value Increment 32,117,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WINNEBAGO	\$4,060,025.18 /	933,740,100.00	=	0.004348132	Х	965,858,000.00	=	\$4,199,678.08	\$139,652.90
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
MENASHA	\$8,414,104.75 /	933,740,100.00	=	0.009011185	Х	965,858,000.00	=	\$8,703,525.12	\$289,420.37
4. School Districts									
SCH D OF MENASHA	\$10,910,017.00 /	933,740,100.00	=	0.011684212	Х	965,858,000.00	=	\$11,285,289.63	\$375,272.63
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$843,080.18 /	933,740,100.00	=	0.000902907	Х	965,858,000.00	=	\$872,079.95	\$28,999.77
6. Tax Increment Total									
	\$24,227,227.11							\$25,060,572.78	\$833,345.67

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Jennifer Sassman	Title Finance Director						
Email jsassman@ci.menasha.wi.us	Phone (920) 967-3631						
Comments							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70251

Submission date: 12-12-2021 11:40 AM

Confirmation: TIW20211928O1638815129680

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70261 County WINNEBAGO

Muni Type CITY

Municipality NEENAH

Account No. 1929

Total Equalized TID Value Increment 251,899,900

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WINNEBAGO	\$10,283,702.25 /	2,295,215,500.00	=	0.004480495	Х	2,547,115,400.00	=	\$11,412,337.81	\$1,128,635.56
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
NEENAH	\$18,079,330.00 /	2,295,215,500.00	=	0.007876964	Х	2,547,115,400.00	=	\$20,063,536.31	\$1,984,206.31
4. School Districts									
SCH D OF NEENAH	\$17,197,134.00 /	2,295,215,500.00	=	0.007492601	X	2,547,115,400.00	=	\$19,084,519.39	\$1,887,385.39
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$2,072,365.41 /	2,295,215,500.00	=	0.000902907	Х	2,547,115,400.00	=	\$2,299,808.32	\$227,442.91
6. Tax Increment Total									
	\$47,632,531.66							\$52,860,201.83	\$5,227,670.17

Fo	r	m	١
PC.	-2	n	2

WI Dept of Revenue

Preparer Information						
Name Michael K. Easker	Title Director of Finance					
Email measker@ci.neenah.wi.us	Phone (920) 886-6141					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70261

Submission date: 12-14-2021 04:31 PM

Confirmation: TIW20211929O1639521065841

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70265 County \\
Muni Type C

WINNEBAGO

CITY

Municipality OMRO

Account No. 1930

Total Equalized TID Value Increment 4,173,100

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WINNEBAGO	\$981,983.01	/	217,782,900.00	=	0.004509	Х	221,956,000.00	=	\$1,000,799.60	\$18,816.59
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
OMRO	\$1,944,271.00	/	217,782,900.00	=	0.008927565	Х	221,956,000.00	=	\$1,981,526.62	\$37,255.62
4. School Districts										
SCH D OF OMRO	\$1,892,820.61	/	217,782,900.00	=	0.008691319	Х	221,956,000.00	=	\$1,929,090.40	\$36,269.79
5. Technical College Districts										
FOX VALLEY TECHNICAL COLLEGE APPL	\$196,637.64	/	217,782,900.00	=	0.000902907	Х	221,956,000.00	=	\$200,405.63	\$3,767.99
6. Tax Increment Total										
	\$5,015,712.26								\$5,111,822.25	\$96,109.99

	F	0	r	r	n	١
Р	C).	2	2(0	2

WI Dept of Revenue

Preparer Information						
Name Linda Kutchenriter	Title City Administrator/Treasurer					
Email Ikutch@omro-wi.com	Phone (920) 685-7000					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70265

Submission date: 11-23-2021 03:47 PM

Confirmation: TIW20211930O1637704033587

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 70266 County

Muni Type

WINNEBAGO

Muni Type CITY

Municipality OSHKOSH

Account No. 1931

Total Equalized TID Value Increment 258,409,200

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WINNEBAGO	\$20,443,170.66 /	4,562,703,300.00	=	0.004480495	Х	4,821,112,500.00	=	\$21,600,970.45	\$1,157,799.79
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
OSHKOSH	\$43,892,500.00 /	4,562,703,300.00	=	0.009619845	Х	4,821,112,500.00	=	\$46,378,354.98	\$2,485,854.98
4. School Districts									
SCH D OF OSHKOSH AREA	\$42,916,637.00 /	4,562,701,223.00	=	0.009405971	X	4,821,110,423.00	=	\$45,347,224.83	\$2,430,587.83
5. Technical College Distri	cts								
FOX VALLEY TECHNICAL COLLEGE APPL	\$4,119,695.30 /	4,562,703,300.00	=	0.000902907	Х	4,821,112,500.00	=	\$4,353,016.22	\$233,320.92
6. Tax Increment Total									
	\$111,372,002.96							\$117,679,566.48	\$6,307,563.52

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Jennifer Messerschmidt	Title Asst Finance Director							
Email jmesserschmidt@ci.oshkosh.wi.us	Phone (920) 236-5007							
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 70266

Submission date: 12-09-2021 08:40 AM

Confirmation: TIW20211931O1638490431174

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 71101

County

Muni Type

WOOD

VILLAGE

Municipality AUBURNDALE

Account No. 1956

Total Equalized TID Value Increment 3,692,000

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	,	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WOOD	\$229,434.87	/	41,472,200.00	=	0.005532257	Х	45,164,200.00	=	\$249,859.96	\$20,425.09
2. Special Districts (metro,	sanitary, lake)									
3. Tax District (town, village	e, city)									
AUBURNDALE	\$147,523.00	/	41,472,200.00	=	0.003557154	Х	45,164,200.00	=	\$160,656.01	\$13,133.01
4. School Districts										
SCH D OF AUBURNDALE	\$331,824.16	/	41,472,200.00	=	0.008001123	Х	45,164,200.00	=	\$361,364.32	\$29,540.16
5. Technical College Distric	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$37,077.20	/	41,472,200.00	=	0.000894025	Х	45,164,200.00	=	\$40,377.92	\$3,300.72
6. Tax Increment Total										
	\$745,859.23								\$812,258.21	\$66,398.98

	F	0	rı	m	1
Р	C	;-	2	0	2

WI Dept of Revenue

Preparer Information								
Name Lynn Lingford	Title clerk							
Email barrylynn318315@gmail.com	Phone (715) 652-3387							
Comments								
Signature Statement	Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71101

Submission date: 11-25-2021 07:27 AM

Confirmation: TIW20211956O1637846872178

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 71106 County WOOD

Muni Type VILLAGE

BIRON

Municipality

Account No. 1957

Total Equalized TID Value Increment 43,142,400

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WOOD	\$478,650.88	/	86,520,000.00	=	0.005532257	Х	129,662,400.00	=	\$717,325.72	\$238,674.84
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
BIRON	\$800,645.00	/	86,520,000.00	=	0.009253872	Х	129,662,400.00	=	\$1,199,879.25	\$399,234.25
4. School Districts										
SCH D OF WISCONSIN RAPIDS	\$788,511.00	/	86,520,000.00	=	0.009113627	Х	129,662,400.00	=	\$1,181,694.75	\$393,183.75
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$77,351.08	/	86,520,000.00	=	0.000894025	X	129,662,400.00	=	\$115,921.43	\$38,570.35
6. Tax Increment Total										
	\$2,145,157.96								\$3,214,821.15	\$1,069,663.19

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information									
Name Anne Arndt	Title Village Clerk								
Email clerk@bironwisconsin.org	Phone (715) 423-6584								
Comments	Comments								
Signature Statement									
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.									
Do you agree with the statement above?									
XYES NO									

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71106

Submission date: 11-24-2021 07:42 AM

Confirmation: TIW20211957O1637694919987

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 71171

County

Muni Type

WOOD

VILLAGE

Municipality PORT EDWARDS

Account No. 1960

Total Equalized TID Value Increment 9,373,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WOOD	\$593,923.20 /	107,356,400.00	=	0.005532257	Х	116,730,100.00	=	\$645,780.91	\$51,857.71
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PORT EDWARDS	\$1,263,324.00 /	107,356,400.00	=	0.01176757	Х	116,730,100.00	=	\$1,373,629.62	\$110,305.62
4. School Districts									
SCH D OF PORT EDWARDS	\$1,055,462.00 /	107,356,400.00	=	0.009831384	Х	116,730,100.00	=	\$1,147,618.44	\$92,156.44
5. Technical College Distri	cts								
MID-STATE TECHNICAL COLLEGE WRAP	\$95,979.36 /	107,356,400.00	=	0.000894026	Х	116,730,100.00	=	\$104,359.74	\$8,380.38
6. Tax Increment Total									
	\$3,008,688.56							\$3,271,388.71	\$262,700.15

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Diane M Tremmel Title Clerk-Treasurer							
Email diane.tremmel@port-edwards.org	Phone (715) 887-3513						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief. Do you agree with the statement above?							
XYES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71171

Submission date: 12-01-2021 09:27 AM

Confirmation: TIW20211960O1638372474603

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 71186

County

Muni Type

County WOOD

VILLAGE

Municipality VESPER

Account No. 1962

Total Equalized TID Value Increment 1,489,100

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	Х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WOOD	\$162,986.14 /	31,751,100.00	=	0.005133244	X	33,240,200.00	=	\$170,630.06	\$7,643.92
2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)								
VESPER	\$124,320.00 /	31,751,100.00	=	0.003915455	Х	33,240,200.00	=	\$130,150.51	\$5,830.51
4. School Districts									
SCH D OF WISCONSIN RAPIDS	\$289,368.00 /	31,751,100.00	=	0.009113637	Х	33,240,200.00	=	\$302,939.12	\$13,571.12
5. Technical College Distri	cts								
MID-STATE TECHNICAL COLLEGE WRAP	\$28,386.29 /	31,751,100.00	=	0.000894025	Х	33,240,200.00	=	\$29,717.57	\$1,331.28
6. Tax Increment Total									
	\$605,060.43							\$633,437.26	\$28,376.83

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information						
Name Dixie Slovensky	Title Village Clerk					
Email villageofvesper@tds.net	Phone (715) 569-4530					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
	X YES NO					

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71186

Submission date: 11-23-2021 06:02 PM

Confirmation: TIW20211962O1637712109913

Form
PC-202

Account No.

1963

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 71251 County WOOD

Muni Type CITY

Municipality

CITY MARSHFIELD Total Equalized TID Value Increment 125,716,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	x	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WOOD	\$8,064,291.78 /	1,570,993,300.00	=	0.005133244	Х	1,696,709,300.00	=	\$8,709,622.83	\$645,331.05
2. Special Districts (metro, sanitary, lake)									
3. Tax District (town, villag	e, city)								
MARSHFIELD	\$13,787,377.01 /	1,570,993,300.00	=	0.008776216	Х	1,696,709,300.00	=	\$14,890,687.31	\$1,103,310.30
4. School Districts									
SCH D OF MARSHFIELD	\$12,130,093.25 /	1,570,993,300.00	=	0.007721289	Х	1,696,709,300.00	=	\$13,100,782.85	\$970,689.60
5. Technical College Distri	cts								
MID-STATE TECHNICAL COLLEGE WRAP	\$1,404,508.03 /	1,570,993,300.00	=	0.000894025	Х	1,696,709,300.00	=	\$1,516,900.53	\$112,392.50
6. Tax Increment Total									
	\$35,386,270.07							\$38,217,993.52	\$2,831,723.45

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information								
Name Jennifer Selenske	Title Interim Finance Director							
Email jennifer.selenske@ci.marshfield.wi.us	Phone (715) 486-2067							
Comments								
Comments								
Signature Statement								
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.								
Do you agree with the statement above?								
XYES NO								

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71251

Submission date: 12-03-2021 12:12 PM

Confirmation: TIW20211963O1638554720325

Form
PC-202

WI Dept of Revenue

Report Type
ORIGINAL

Co-muni Code 71261 County WOOD

Muni Type CITY

NEKOOSA

Municipality

Account No. 1964

Total Equalized TID Value Increment 17,796,600

	Col. A		Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy	1	Equalized Value (less TID Value Increment)	=	Interim Rate	х	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County										
WOOD	\$544,535.02	/	106,080,100.00	=	0.005133244	Х	123,876,700.00	=	\$635,889.33	\$91,354.31
2. Special Districts (metro, sanitary, lake)										
3. Tax District (town, villag	e, city)									
NEKOOSA	\$1,480,905.00	/	106,080,100.00	=	0.013960253	Х	123,876,700.00	=	\$1,729,350.07	\$248,445.07
4. School Districts										
SCH D OF NEKOOSA	\$1,079,302.81	/	105,775,769.00	=	0.010203687	Х	123,572,369.00	=	\$1,260,893.78	\$181,590.97
5. Technical College Distri	cts									
MID-STATE TECHNICAL COLLEGE WRAP	\$94,838.31	/	106,080,100.00	=	0.000894025	Х	123,876,700.00	=	\$110,748.87	\$15,910.56
6. Tax Increment Total										
	\$3,199,581.14								\$3,736,882.05	\$537,300.91

	F	0	r	n	n	
P)).	2	2()	2

WI Dept of Revenue

Preparer Information						
Name Joseph Rusch	Title CITY CLERK					
Email jrusch@nekoosawi.com	Phone (715) 886-7877					
Comments						
Signature Statement						
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.						
Do you agree with the statement above?						
XYES NO						

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71261

Submission date: 12-01-2021 04:25 PM

Confirmation: TIW20211964O1638302583509

Form
PC-202

WI Dept of Revenue

Report Type ORIGINAL Co-muni Code 71271

County WOOD Muni Type

CITY

Municipality PITTSVILLE Account No. 1965

Total Equalized TID Value Increment 37,817,000

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WOOD	\$157,144.00 /	30,613,000.00	=	0.005133244	Χ	68,430,000.00	=	\$351,267.89	\$194,123.89
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
PITTSVILLE	\$318,678.00 /	30,613,000.00	=	0.010409891	Х	68,430,000.00	=	\$712,348.84	\$393,670.84
4. School Districts									
SCH D OF PITTSVILLE	\$257,465.65 /	30,613,000.00	=	0.008410337	X	68,430,000.00	=	\$575,519.36	\$318,053.71
5. Technical College Districts									
MID-STATE TECHNICAL COLLEGE WRAP	\$27,368.80 /	30,613,000.00	=	0.000894025	Х	68,430,000.00	=	\$61,178.13	\$33,809.33
6. Tax Increment Total									
	\$760,656.45							\$1,700,314.22	\$939,657.77

F	0	r	m	1
P	`-	2	'n	2

WI Dept of Revenue

Preparer Information							
Name Tami Hahn	Title Clerk/Treasurer						
Email cofpitts@tds.net	Phone (715) 884-2422						
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
bo you agree with the statement above:							
X YES NO							
KILS INO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71271

Submission date: 11-30-2021 08:29 AM

Confirmation: TIW20211965O1638123913908

Form
PC-202

WI Dept of Revenue

Report Type **AMENDED**

Co-muni Code 71291

County Muni Type

Municipality

WOOD

CITY WISCONSIN RAPIDS Account No. 1966

Total Equalized TID Value Increment 47,329,700

	Col. A	Col. B		Col. C		Col. D		Col. E	Col. F
Taxing Jurisdiction	Apportioned Levy /	Equalized Value (less TID Value Increment)	=	Interim Rate	X	Equalized Value (with TID Value Increment)	=	Total Levy Amount (use on Mill Rate Worksheet)	Col. E - A = Tax Increment
1. County									
WOOD	\$5,998,704.19 /	1,168,599,100.00	=	0.005133244	Х	1,215,928,800.00	=	\$6,241,659.22	\$242,955.03
2. Special Districts (metro,	sanitary, lake)								
3. Tax District (town, villag	e, city)								
WISCONSIN RAPIDS	\$13,523,441.00 /	1,168,599,100.00	=	0.011572353	Х	1,215,928,800.00	=	\$14,071,157.30	\$547,716.30
4. School Districts									
SCH D OF WISCONSIN RAPIDS	\$10,650,181.00 /	1,168,599,100.00	=	0.009113631	Х	1,215,928,800.00	=	\$11,081,526.41	\$431,345.41
5. Technical College Districts									
MID-STATE TECHNICAL COLLEGE WRAP	\$1,044,757.36 /	1,168,599,100.00	=	0.000894025	Х	1,215,928,800.00	=	\$1,087,070.75	\$42,313.39
6. Tax Increment Total									
	\$31,217,083.55							\$32,481,413.68	\$1,264,330.13

2021 Tax Increment Worksheet

WI Dept of Revenue

Preparer Information							
Name Timothy Desorcy	Title Finance Director						
Email tdesorcy@wirapids.org Phone (715) 421-8242							
Comments							
Signature Statement							
Under penalties of law, I declare this form and all attachments are true, correct and complete to the best of my knowledge and belief.							
Do you agree with the statement above?							
X YES NO							

Submission Information

You successfully submitted your worksheet. Print a copy for your records.

Co-muni code: 71291

Submission date: 11-30-2021 01:07 PM

Confirmation: TIW20211966A1638299229345

Submission type: AMENDED